Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

H>% INDEX

2] TYPE 84 PART NO TR PAGE
NI AMB L0 B T T B 1E 1
METRIC MALE O-RING

90° il FMERZCO 7Y B - i 3% &= 1E9 2
90° METRIC MALE O-RING

90° N HIMELL0ZY FE Y- 1 % 2E9 2
90° METRIC MALE O-RING

N ANER SO P 11 5 b Sk 4E 3
METRIC MALE O-RING PLUG

NI P BR ST TR E 3k 9E 4
METRIC FEMALE FLAT FACE PLUG

N ANR S 078 BT T 4 i AR A Sk 6E 4
METRIC MALE O-RING BULKHEAD

90° AR AN SO B - 1 25 B i AR Sk 6E9 5
90° METRIC MALE O-RING BULKHEAD

N HHIAMZ S0 FE ST 4 5 B R 4 1EH 5
METRIC MALE O-RING

45° ISR SC07R B ST T 2 b/ ] R 1) R B R 1 1EH4-0G 6
45° METRIC MALE O-RING/ADJUSTABLE STUD

90° A HIANZRSOR BT 1 25 B/ 1] i ) A R A 1EH9-0G 6
90° METRIC MALE O-RING/ADJUSTABLE STUD

NI MBSO B - T 25 355 /60 ° Y HESS F i 1 44 H 1EM 7
METRIC MALE O-RING/60° SEAT BONDED SEAL

N HRIAMZ L0 R /A4 A AMIZLL 1EN 7
METRIC MALE O-RING/NPT MALE

IS HIANR SO P /DAY AN AL 1ET 8
METRIC MALE O-RING/BSPT MALE

NI AMB S0 R ST 5 st /AR 1EW 9
METRIC MALE O-RING/BUTT-WELD TUBE

90° A HIAMRSLOMY Fel 1 1 B B /IR 1EW9 9
90° METRIC MALE O-RING/BUTT-WELD TUBE

O ANER ST O P - 111 5 it /S MR AU A B 1EZ 10
METRIC MALE O-RING/BSP MALE DIN 3852-2 TYREA

YRR 10N ) Y MBSO TR Bl ST T 5 2WE 11
BUTT-WELD TUBE/METRIC FEMALE O-RING

N ANBR S0 8 ] T T 4 DO Sl 9 3k XE 12
METRIC MALE O-RING CROSS

O MR S0 078 B T i 4 s =l Sk AE 12
METRIC MALE O-RING TEE

NI ANR SO B /A 1) P MR S0V T 4 =Sk BE 13
METRIC MALE O-RING/METRIC FEMALE TEE

NI ANR SO B /A 1) P RS0V T 4 s = il Sk CE 13

METRIC MALE O-RING/METRIC FEMALE TEE



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

H>% INDEX

25 TYPE %5  PART NO JLIK  PAGE
O\ AN L0 FE S T 95 3/ 0] 1) AT B R A S =l AEEH-0G 14
METRIC MALE O-RING/METIRC MALE ADJUSTABLE STUD S-SERIES RUN TEE

I I AMBSCORY Bl ST T 4 35/ 7] W ) A BE R 2 43 32—l AEHE-0G 14
METRIC MALE O-RING/METIRC MALE ADJUSTABLE STUD S-SERIES BRANCH TEE

90° il AME L0 Bl Y- i s s i Sk AEEGE 15
90° METRIC MALE O-RING BULKHEAD RUN TEE

NI AME LSO PE - 1 2 ) I AR S = =l AEGEE 15
METRIC MALE O-RING BULKHEAD BRANCH TEE

NHISMRL24° T RYIABR 1C 16
METRIC MALE 24° L.T.REDUCERS

INHISMBL24° 7 R 1C 17
METRIC MALE 24° L.T.

INHISMBL24° H R 1D 17
METRIC MALE 24° H.T.

INEISMBL24° T RYIAFZ 1D 18
METRIC MALE 24° H.T. REDUCERS

90° AHSMNREL24° FRY 1C9 19
90° METRIC MALE 24° L.T.

90° AlSMNREL24° FHARY 1D9 19
90° METRIC MALE 24° H.T.

ANHINIRG24° FATIIMNEL24° B RY 2C 20
METRIC FEMALE 24° /METRIC MALE 24° L.T.

ANHINIRG24° FATIIMNEL24° TRY 2D 21
METRIC FEMALE 24° /METRIC MALE 24° H.T.

90° AHINIRL24° /T AHIIMEL24° B RY) 2C9 22
90° METRIC FEMALE 24° /METRIC MALE 24° L.T.

90° AHINIRL24° /T AHIIMEL24° ERY) 2D9 22
90° METRIC FEMALE 24° /METRIC MALE 24° H.T.

INHEINIRL24° B R 3C 23
METRIC FEMALE 24° L.T.

ANHINIBL24° F RS 3D 23
METRIC FEMALE 24° H.T.

ATHNRL24° F ALK 4C 24
METRIC MALE 24° L.T. PULG

NHRL24° RNk 4D 24
METRIC MALE 24° H.T. PLUG

ATHIIMEL24° 7RI MK 6C 25
METRIC MALE 24° L.T. BULKHEAD

INHISMBL24 ° RS K 6D 25
METRIC MALE 24° H.T. BULKHEAD

90° AHIAMEL24 ° % AT Mk 6C9 26

90° METRIC MALE 24° L.T. BULKHEAD



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

H 2%

K5 TYPE

90° AikISMRL24° ALK
90° METRIC MALE 24° H.T. BULKHEAD

KRB
METRIC LOCK NUT

NI IRLI24° 7RI Sk
METRIC FEMALE 24° L.T. PLUG

AHINIRER4° BRIk
METRIC FEMALE 24° H.T. PLUG

RNHISMRE24° RPN/ AHEE SMERL60 ©
METRIC MALE 24° L.T./NPT MALE 60 °

NHISMRLS24° TR/ ATHEE SMRE60 °
METRIC MALE 24° H.T./NPT MALE 60°

90° AihIAMRLI24° ARSI/ AHEE SMRL60 °
90° METRIC MALE 24° L.T./NPT MALE 60°

90° AHISMERS24° ARSI/ ATHEE SMERLS60 °
90° METRIC MALE 24° H.T./NPT MALE 60°

NSRG4 R/ FHEE SMREL60 °
METRIC MALE 24° L.T./BSPT MALE 60 °

NHISMRE24° TR/ GAHEE SNRL60 ©
METRIC MALE 24° H.T./BSPT MALE 60 °

90° NHIAMEZEL24° 5 R/ HAHEE SMEL60 ©
90° METRIC MALE 24° L_T./BSPT MALE 60 °

90° NHIFMRD24° [IHER SMRALI60 © AT

90° METRIC MALE 24° /BSPT MALE 60° H.T.

NHISNRLI24° BRI/ IREI60 © HE 4L A E

(97

METRIC MALE 24° SEAL L.T./BSP MALEDOUBLE 60 ° SEAT BONDED SEAL

NHIIMEL24° TRV G RE60 ° HE 2

METRIC MALE 24° SEALH.T./BSP MALEDOUBLE 60 ° SEAT BONDED SEAL

90° AHISMERL24° T RIN/FAEIRL60 ° HE T H S
90° METRIC MALE 24° L.T./BSP MALE 60° CONE

90° AHISMERLR24° FERI/JEEFIRS60 © HEHI %
90° METRIC MALE 24° H.T./BSP MALE BSP MALE 60 ° CONE

WNFISMRL24° BRI/ FAEIRA60 ° P HE R
METRIC MALE 24° L.T./BSP THREAD WITH CAPTIVE SEAL

NSRG4 TR/ GAEIRE60 ° A HERIE
METRIC MALE 24° H.T./BSP THREAD WITH CAPTIVE SEAL

RNHISMRE24° R I GE IMREOR
METRIC MALE 24° L.T./BSP MALE O-RING

NHISMRL24° TR/ GCE MR E
METRIC MALE 24° H.T./BSP MALE O-RING

45° JLEIRL24° B AL AT AL
45° BSP THREAD 24° L.T.ADJUSTABLE STUD.

PART NO

6D9

8C

9C

D

1CN

1DN

1CN9

1DN9

1CT

10T

1CT9

1079

1CB

1DB

1CB9

1DB9

1CB-WD

1DB-WD

1CG

1DG

1CG4-0G

UK PAGE
26
27
28
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44

45



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

KA TYPE &5 PART NO LUK PAGE
45° FLERRL24° TR ] R 1) A 1DG4-06G 45
45° BSP THREAD 24° H.T.ADJUSTABLE STUD.

90° JUETIRLI24° RN [ KE U 1C69-06 46
90° BSP THREAD 24° L.T.ADJUSTABLE STUD

90° JEAFIRL24° AL Al I ) K 1D69-06 46
90° BSP THREAD 24° H.T.ADJUSTABLE STUD.

ANTHISMBRLE24° B RV /7 F ity 1O ] % & 1CH 47
METRIC MALE 24° L_T./METRIC MALE WITH O-RING

INIAMNBL24 ° RS /MRS F i T 0% B 25 & 1DH 48
METRIC MALE 24° H.T./METRIC MALE WITH O-RING

45° NHIAMEL24 0 5 R A ] AT 1CH4-06 49
45° METRIC MALE 24° L.T.ADJUSTABLE STUD

45° NHIAMEL4 ° ST A 1DH4-0G 49
45° METRIC MALE 24° H.T.ADJUSTABLE STUD

90° AHISMEL24° B R B AT R A 1CH9-06 50
90° METRIC MALE 24° L.T.ADJUSTABLE STUD

90° AIFMNRL24° FRF P R A 1DH9-06 50
90° METRIC MALE 24° H.T.ADJUSTABLE STUD

ANHIIMNREL24° BRYI/FEHIINCTL° HE%E 1CJ 51
METRIC MALE 24° L.T./JIC 74° CONE SEAL

NTIIMERZ24° ERYI/FEHINCTA . HEE 1DJ 52
METRIC MALE 24° H.T./JIC 74° CONE SEAL

INEIAMBL24° HRYI/60° PHET B4 & 1CM 53
METRIC MALE 24° L.T./60° CONE BONDED SEAL

ATHISMRL24° FARSI/60° WAHE SR E 1CM-WD 54
METRIC MALE 24° L.T./60° CONE CAPTIVE SEAL

INHISMBL24° FTRA/60° WAETELL & 1DM 55
METRIC MALE 24° H.T./60° CONE BONDED SEAL

NHIAMNBL24° BARS|/60° Py HER E R RS 1DM-WD 55
METRIC MALE 24° H.T./60° CONE CAPTIVE SEAL

INHISMBL24° 52 R A /S IMBEL0R B % & 1C0 56
METRIC MALE 24° L.T./SAE MALE O-RING

AN HIIMEL24° TR/ IMBELOR ] % & 1D0 57
METRIC MALE 24° H.T./SAE MALE O-RING

90° AHIFMNRL24° FRH/FEHIHMRLCRT I [F) A 1C09-06 58
90° METRIC 24° L.T./SAE MALE ADJUSTABLE STUD

90° AHIFMRL24° TR/ FEHIHMRLCRT I R A 1D09-06 58
90° METRIC 24° H.T./SAE MALE ADJUSTABLE STUD

INHISMERL24° 87 RV MRk 1CW 59
METRIC MALE 24° L.T./WELD FITTINGS

INHISMEBL24° T RY /R 1DW 59

METRIC MALE 24° H.T./WELD FITTINGS



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

H>% INDEX

25 TYPE {5  PART NO UK PAGE
NHMRL24° BRARY/IEIRL60 ° HEML 5% S 2BC-WD 60
METRIC FEMALE 24° L.T./BSP MALEDOUBLE 60 ° SEAT BONDED SEAL

ATHINEL24° FRY/GAFIRL60 ° HEML A RS 2BD-WD 60
METRIC FEMALE 24° H.T./BSP MALEDOUBLE 60 ° SEAT BONDED SEAL

FHIINC 74° HERE/ NHINIRS24 © HEORY P8 7 R 51 2JC 61
JIC 74° CONE SEALING/METRIC FEMALE 24 °© CONE O-RING SEALING L.T.

FEWIIIC 74° HEB I/ NHINIRL24 © HEOR P8 £ R 51 2JD 62
JIC 74° CONE SEALING/METRIC FEMALE 24 ° CONE O-RING SEALING H.T.

INEIMRL24° B R A HEOR Bl / TE MRS 0% P 55 2GC 63
METRIC FEMALE 24° L.T.CONE O-RING/BSP MALEO-RING

INHIMEL24° TR AIFEORY Bl /S BB Ay 0 w5 & 2GD 63
METRIC FEMALE 24° H.T.CONE O-RING/BSP MALEO-RING

AN NSRRI IRS24 © HETTORY P8 % 1 5 R 1) 2MC-WD 64
METRIC THREAD /METRIC FEMALE24 ° CONE O-RING SEAL L.T.

A HNBESUR R AL I N IRS24 © HETTORY P ‘% 4 T R 1) 2MD-WD 64
METRIC THREAD /METRIC FEMALE24 ° CONE O-RING SEAL H.T.

NHRL24° B RF/TE NIRLL 5CB 65
METRIC MALE 24° L.T./BSP FEMALE

NHINRL24° FRA| /A IR 5DB 66
METRIC MALE 24° H.T./BSP FEMALE

NHEIRL24° BRF N HINIRL 5CM 67
METRIC MALE 24° L.T./METRIC FEMALE

WNHERL24° TERF N HINIRL 5DM 67
METRIC MALE 24° H.T./METRIC FEMALE

NHEIIMEBL24° RS = AC 68
METRIC MALE 24° L.T. TEE

INEIMZS24° T E S| = AD 68
METRIC MALE 24° H.T. TEE

ANHINIRG24° JAHIIMNRL24° B RY| =il BC 69
METRIC FEMALE 24° /METRIC MALE 24° L.T. TEE

ANHINBRL24° /AHISMNELR24° RS 18 BD 69
METRIC FEMALE 24° /METRIC MALE 24° H.T. TEE

ATHIIMEL24° JATINIRG24° BRIV =18 cc 70
METRIC MALE 24° /METRIC FEMALE 24° L.T. TEE

ANTHIIMEL24° 1ATINIBEGR24° TR =18 CD 70
METRIC MALE 24° /METRIC FEMALE 24° H.T. TEE

INEIIMBL24° 1% 25U XC 71
METRIC MALE 24° L.T. CROSS

INEIAMBS24° TR DY E XD 71
METRIC MALE 24° H.T. CROSS

AHIAMREL24 ° B R 5 AT [a) kit 43 S =0 ACHC-0G 72

METRIC MALE 24° L.T.ADJUSTABLE STUD BRADCH TEE



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

KA TYPE 8% PART NO LUK PAGE
INRISNZRL24 0 TR L 0] AR 4 3 =08 ADHD-0G 72
METRIC MALE 24° H_T.ADJUSTABLE STUD BRADCH TEE

ANTHIIMBELS24 ° 1 R Y AT [ £t 32 S =38 ACCH-0G 73
METRIC MALE 24° L_T.ADJUSTABLE STUD RUN TEE

INRISNZRL24 0 AR S ] AR S =8 ADDH-0G 73
METRIC MALE 24° H_T.ADJUSTABLE STUD RUN TEE

IHIAMEL24° B2 RPN /D TR ) A 32 S 0 ACCG-0G 74
METRIC MALE 24° L_T./BSP MALE ADJUSTABLE STUD RUN TEE

INRISNRLL24 0 AR H/TERE A AR R S = ADDG-0G 74
METRIC MALE 24° H.T./BSP MALE ADJUSTABLE STUD RUN TEE

INRISNREL24 0 d8 R A/ A ) A 4 S =0l ACGC-0G 75
METRIC MALE 24° L.T./BSP MALE ADJUSTABLE STUD BRANCH TEE

NHIANIRZ24 ° ARG/ A ) kR 4 S =l ADGD-0G 75
METRIC MALE 24° H.T./BSP MALE ADJUSTABLE STUD BRANCH TEE

NHI24° R R A/ FEH T AR S =0 ACCO-06 76
METRIC MALE 24° L.T./SAE MALE ADJUSTABLE STUD RUN TEE

Nil24° TR/ SEHI TR A S ADDO-0G 76
METRIC MALE 24° H.T./SAE MALE ADJUSTABLE STUD RUN TEE

AN24° B2 ZRBN /S TT I ) A 2 S 08 ACOC-0G 77
METRIC MALE 24° L.T./SAE MALE ADJUSTABLE STUD BRANCH TEE

A24° TERBN /S AT I [ A 5 S 08 ADOD-0G 77
METRIC MALE 24° H.T./SAE MALE ADJUSTABLE STUD BRANCH TEE

INHIRE24° 1R R Y| /TG Bk 1CL-B 78
METRIC MALE 24° L.T./BSP BANJO

NHMRL24° TRY /TGRS Rk 1DL-B 78
METRIC MALE 24° H.T./BSP BANJO

INHIRL24° B RHNAFIMRSU Rk 1CL 79
METRIC MALE 24° L.T./METRIC BANJO

NEINBL24° FRY/ AR SU R Rk 10L 79
METRIC MALE 24° H.T./METRIC BANJO

BB IR AR 720B 80
BSP BOLT

NIRGE Y o 700M 80
METRIC BOLT

REIBER R R NL 81
RETAINING NUTS L.T.

REIBR T RY) NS 81
RETAINING NUTS H.T.

RERRY RL 82
CUTTING RING L.T.

FEERY RS 82

CUTTING RING H.T.



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

H>% INDEX

KM TYPE 5 PART NO JUK PAGE
INHIAMNBLT4° A 1Q 83
METRIC MALE 74° CONE

INHIFNRLTA S HMERE Sk 4Q 84
METRIC MALE 74° CONE PLUG

NN ELTA S AN i ek 60 85
METRIC MALE 74° CONE BULKHEAD

90° ATHISNELTA  HME BBk 6Q9 86
90° METRIC MALE 74° CONE BULKHEAD

INHISMBLTA° AN/ AT SMB L 10N 87
METRIC MALE 74° CONE/NPT MALE

45° NEISMBLTAC AN/ AT HER SMELL 10N4 88
45° METRIC MALE 74° CONE/NPT MALE

90° AHISMBELTA HME/ATHES SMB L 10N9 89
90° METRIC MALE 74° CONE/NPT MALE

INHIAMBLTA° AN/ SRR SMB L 1QT 90
METRIC MALE 74° CONE/BSPT MALE

90° AHISMBLTA SIS TS SMB L 1QT9 91
90° METRIC MALE 74° CONE/BSPT MALE

ANTIIMBELTA° SNEES S SMEL60 © N HET S A i T4 A B & 108 92
METRIC MALE 74° CONE/BSP MALE DOUBLE FOR 60 ° SEAT BONDED SEAL

AT4° HMIE/ B HMERSI0TY P 1Q6 93
METRIC 74° CONE/BSP MALE O-RING

90° NHfl74° HWHE/ S HMZ L0 B wT i 1] ki 1069-06 93
90° METRIC 74° CONE/BSP MALE O-RING ADJUSTABLE STUD

lTA° HMES A I AMERS 10H 94
METRIC 74° CONE/METRIC MALE

90° AHITA° HMIES A HIHNBS AT ) AT 1QH9-0G 94
90° METRIC 74° CONE/METRIC MALE ADJUSTABLE STUD

INTHISMRLTA ANES NI AMRE60 © P HEDIS A i T 2H B 3 1QM 95
METRIC MALE 74° CONE/METRIC MALE DOUBLE FOR 60 ° SEAT BONDED SEAL

ANHIIMESTA° HMEESSAESME S0 Bl 100 96
METRIC MALE74° CONE/SAE MALE O-RING

90° ATHIAMRL74° HMHE/SAESMZR S0 1009-06 96
90° METRIC MALE74° CONE/SAE MALE O-RING ADJUSTABLE STUD

90° AHIANRLTA AMESATINBRET4° HHE 2Q9 97
90° METRIC MALE 74° CONE/METRIC FEMALE 74 ° SEAT

INEISMBL T4 AMVE=TE AQ 97
METRIC MALE 74° CONE TEE

ONTRIAMBEITA . BN/ T AR 2 S =3 AQHQ-0G 98
METRIC MALE74° CONE/ADJUSTABLE STUD BRANCH TEE

ONHIAMZREITA AR/ T A S =0 AQQH-0G 98

METRIC MALE74° CONE/ADJUSTABLE STUD RUN TEE



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

H>% INDEX

KM TYPE 5 PART NO JUK PAGE
HANHIZMRL60 ° HhE 1K 99
JIS METRIC MALE60° CONE

90° HAAHMRL60° #hE 2K9 99
90° JIS METRIC MALE60° CONE

HANHIZMEL60 ° HhfERE Sk 4K 100
JIS METRIC MALE6O° CONE PLUG

H A2 1 N B2 40 k60 © 9K 100
JIS METRIC FEMALE 60 ° SEAT PLUG

H AN HBISNZL60 © AN/ A4 SMELL 1KN 101
JIS METRIC MALE 60 ° CONE/NPT MALE

FIARAHISMRLE60 ° FMHES A HIFMRE60 © %5 E Bl & 8 1KM 101
JIS METRIC MALE60O° CONE/METRIC MALE 60° CONE BONDED SEAL

HAS A HISMEL60 © /T4EE S B L 1KT 102
JIS METRIC MALE6O° CONE/BSPT MALE

AR A RISMRLZ60 © A/ 2 HIAMESE R 5 1KH 102
JIS METRIC MALE6O° CONE/METRIC MALE S-SERIES

90° HARAHISMELE0 ° HMES /A Tl HMESCAT I R A i 1KH9-0G 103
90° JIS METRIC MALE 60 ° CONE/METRIC ALE ADJUSTABLE STUD

HANHISMZL60 ° S/ SMZ L0 P 1KG 104
JIS METRIC MALE 60 ° CONE/BSP MALE O-RING

90° HANHISMEL60 ° /U HMRL0RY FE nl i 1) FE 1KG9-06 104
90° JIS MERIC MALE/BSP MALE O-RING ADJUSTABLE STUD

HARAHISMEAL60 ° AhE— 18 AK 105
JIS METRIC MALE6O° CONE TEE

HAA HIZMERS60 © AME/ H A2 ) Y BRE060 Py HE 57 — il BK 105
JIS METRIC MALE6O° CONE/JIS METRIC FEMALE 60 °© SEAT BRANCH TEE

H A I AMR S/ SR S0 Bl mT i ) Aty 3257 =18 AKKG-0G 106
JIS METRIC MALE/BSP MALE O-RING RUN TEE ADJUSTABLE STUD

HARNHISMERL60 ° M/ 28 HIAMNRESCRT I ) A 52 =18 AKKH-0G 107
JIS METRIC MALE 60 ° CONE/ADJUSTABLE STUD RUN TEE

FUAR A I AR A0/ 5 AR 2 O B vl ) 1) A 43 3 =18 AKGK-0G 107
JIS METRIC MALE/BSP MALE O-RING ADJUSTABLE STUD BRANCH TEE

AR A HIANRZC60 © AMES 2 I AR LR] 1R 1) #3543 52 =38 AKHK-0G 108
JIS METRIC MALE 60 ° CONE/ADJUSTABLE STUD BRANCHTEE

ONRIAMEZRLTA S AT v 109
METRIC MALE 74° CONE SEAT

NHIANRETA PYHETHL DA SMIREL T 109
METRIC MALE 74° CONE SEAT/BSPT MALE

HATEE SMRL60° FhE 1S 110
JIS GAS MALE 60° CONE

H A4 SMZL60 ° MRk 45 110

JIS GAS MALE 60 ° CONE PLUG



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

H>% INDEX

KM TYPE 5 PART NO JUK PAGE
HARTEE N IRL60° P HELE Sk 9s 111
JIS GAS FEMALE 60° SEAT PLUG

H AT SMEL60 ° AME ARk 6S 111
JIS GAS MALE 60 ° CONE BULKHEAD

H AT SMZL60 © AN/ T4l SR L 1ST 112
JIS GAS MALE 60 ° CONE/BSPT MALE

45° H AR HMEL60 °© M/ TEHER SR 1ST4 113
45° JIS GAS MALE 60° CONE/BSPT MALE

90° HARTERAMBELI60 ° HME/JEHER B AL 1ST9 114
90° JIS GAS MALE 60° CONE/BSPT MALE

H AT SR L60 © AN/ A4l 5 SMB L 1SN 115
JIS GAS MALE 60° CONE/NPT MALE

45° ARG HMBEL60 ° FME/ATHER SMBLL 1SN4 116
45° JIS GAS MALE 60° CONE/NPT MALE

90° HATLEHMBEL60 ° AME/ATHER SMELL 1SN9 117
90° JIS GAS MALE 60° CONE/NPT MALE

H A SAE SMZL60 ° /S SMZ L0784 1SG 118
JIS GAS MALE 60° CONE/BSP MALE O-RING

90° HATEESMZLI60 ° HMIE/TEE HMEL60 ° 0% B8l v i [ K3k 15G69-0G 118
90° JIS GAS MALE 60° CONE/BSP MALE O-RING ADJUSTABLE STUD

H AT HMAL60 ° HME— 18 AS 119
JIS GAS FEMALE 60° SEAT TEE

HATEE AMRL60 ° AME/ H A TS N ERA60 o N #E 432 — i BS 119
JIS GAS MALE 60° CONE/JIS GAS FEMALE 60 ° SEAT BRANCH TEE

H AT AMERL60 ° AME/ H AT INIRA60 ° PWHEE S — i CcS 120
JIS GAS MALE 60° CONE/JIS GAS FEMALE 60 ° SEAT RUN TEE

H A S IZL60 ° P HE =1 DS 120
JIS GAS FEMALE 60° SEAT TEE

H A4S SMZL60 ° M/ S HMNR L0 8l i 1) #1340 3 =il ASGS-06 121
JIS GAS MALE 60° CONE/BSP MALEO-RING ADJUSTABLE STUD BRANCH TEE

H A ST SMZL60 ° M/ S HMNR L0 8 ml i [7) #1332 7 =3l ASSG-06 121
JIS GAS MALE 60° CONE/BSP MALEO-RING ADJUSTABLE STUD END RUN TEE

JEETAMEL60 ° P HEDI N s T 2 4 R 1B 122
BSP MALE DOUBLE FOR 60 ° SEAT BONDED SEAL

45° JEEHMEL60° NAE 1B4 123
45° BSP MALE 60° SEAT

90° WLEAMEL60° WHE 1B9 124
90° BSP MALE 60° SEAT

YU HMZL60° PYHEDL S A T 41 A TR B /9 N IRL60 © AME 2B 125
BSP MALE DOUBLE FOR 60 ° SEAT BONDED SEAL /BSP FEMALE 60 ° CONE

45° TJEEAMEL60° PHHE/TUE A IRE60 © HhE 2B4 126

45° BSP MALE 60° SEAT/BSP FEMALE 60 ° CONE



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

H>% INDEX

KM TYPE 5 PART NO JUK PAGE
90° JEAEFHMEAI60° WHE/DEE NIRL60 ° AHME 2B9 127
90° BSP MALE 60° SEAT/BSP FEMALE 60 ° CONE

YL N IRL60 ° A 3B 128
BSP FEMALE 60° CONE

45° L NUIRL60° AhE 3B4 129
45° BSP FEMALE 60° CONE

90° TEFFNMRL60° HhE 3B9 129
90° BSP FEMALE 60° CONE

JEEFAMEL60 ° P HEDL S A s T 20 G S b Sk 48 130
BSP MALE DOUBLE FOR 60 ° SEAT OR BONDED SEAL PLUG

WEE RRA60° AL Sk 98 130
BSP FEMALE 60° CONE PLUG

WA HMEL60° PN HE Rk 6B 131
BSP MALE 60° SEAT BULKHEAD

90° WEAEFHMEL60° P bRk 6B9 131
90° BSP MALE 60° SEAT BULKHEAD

T RS BE 8B 132
BSP LOCK NUT

G HMZL60° PYHEDE S A T 41 A T B /G SR L 1BT 133
BSP MALE DOUBLE FOR 60 ° SEAT BONDED SEAL/BSPT MALE

45° T HMEL60° P HE/TLHEE SRSl 1BT4 134
45° BSP MALE 60° SEAT /BSPT MALE

90° TEEFHMEL60° PIHE/TEHER SRS 1BT9 135
90° BSP MALE 60° SEAT /BSPT MALE

TEEFAMEL60 ° P HE SN A B T 2H 5 8 B A HE R AR L 1BN 136
BSP MALE DOUBLE FOR 60 ° SEAT BONDED SEAL/NPT MALE

45° B HMBLI60° NAHE/ARHEE AMBLL 1BN4 137
45° BSP MALE 60° SEAT /NPT MALE

90° DLEFAMZRLI60° PN HE/ A HER SMEBLL 1BN9 138
90° BSP MALE 60° SEAT /NPT MALE

B HMZRL60° PNAHEDE S A T 4L A TR B /S HE R AMZZ0 AR 1BG 139
BSP MALE DOUBLE FOR 60 ° SEAT BONDED SEAL/BSPT MALE O-RING

45° U AMEL60° P HE/ S SR L0 RE T i 1) R 1BG4-06 140
45° BSP MALE 60° SEAT/BSP MALE O-RING ADJUSTABLE STUD END

90° HAFAMZLI60° PHE/ILE SMZR L0 FE Rl I n) A 1BG9-06 141
90° BSP MALE 60° SEAT/BSP MALE O-RING ADJUSTABLE STUD END

G HMZL60° NHESL S AT AL A R B/ A RIAMB LR R ) 1BH 142
BSP MALE DOUBLE FOR 60 ° SEAT BONDED SEAL/METRIC MALE L-SERIES

45° GUEAMEL60° WHE/ A HISMRLER RS 1BH4-06 143
45° BSP MALE 60° SEAT/METRIC MALE O-RING

90° HAEFHMEL60° WHE/AHIINBRLIRE RS 1BH9-06 144

90° BSP MALE 60° SEAT/METRIC MALE O-RING



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

H>% INDEX

KA TYPE 8% PART NO LUK PAGE
P HMZL60° PNHED S A IR AL A R /S5 HIINC SMRLT4 SR 1BJ 145
BSP MALE DOUBLE FOR 60 ° SEATBONDED SEAL/JIC MALE 74 ° CONE

HLEAMRL60° PYAEEL NS A T A A R B/ HITNC AMBLTA HhE 1BJ 146
BSP MALE DOUBLE FOR 60 ° SEATBONDED SEAL/JIC MALE 74 ° CONE

45° GLEHMEA60° PHE/SEHIIICHMEBELT4 ° SMHE 1BJ4 147
45° BSP MALE 60° SEAT/JIC MALE 74° CONE

90° W HMEL60° WHE/SEHIIICHMBELT4 ° S 1BJ9 148
90° BSP MALE 60° SEAT/JIC MALE 74° CONE

BAFHMEAI60° N HESZS A i 1AL B B/ AT SME S0 © 1BM 149

P HEE 7 A s T 4L S s
BSP MALE 60° SEAT DOUBLE 60 ° SEAT BONDED SEAL
/METRIC MALE DOUBLE 60 ° SEAT BONDED SEAL

Y HMREI60 ° PIHEBR N F i 120 A 3 B/ 5 HISAE 1B0 150

SMRLCHT O P 2 R 51
BSP MALE 60° SEAT BONDED SEAL/SAE O-RING BOSS L-SERIES

GEREAMIRLL60 ° PHED N Ff i T AL R B R 1BW 151
BSP MALE 60° SEAT BONDED SEAL/BUTT-WELD TUBE

TR 19558 WIBL60 ° Mk 2WB 151
BUTT-WELD TUBE/BSP FEMALE 60 © CONE

GEFHMZL60 ° AR ER N A o I LA R St S AMB G R 1B-WD 152
BSP MALE 60° SEAT BONDED SEAL/BSP MALE CAPTIVE SEAL

YL SMRLL60 ° PHESR NS M I 4 A IR B/ L RIIC IR A74 © AFE 2B] 153
BSP MALE DOUBLE FOR 60 ° SEATBONDED SEAL/JIC FEMALE 74 ° SEAT

Y AMBRAUR R/ HIINICHIRLGL T4 ° NAHE 2BJ-WD 154
BSP MALE CAPTIVE SEAL/JIC FEMALE 74 ° SEAT

GLHER AME LU/ FEE NIBL60 ° A 2TB 155
BSPT MALE/BSP FEMALE 60 ° CONE

45° MR AMZL/ S N IRL60 © A 2TB4 156
45° BSPT MALE/BSP FEMALE 60 ° CONE

90° SLMEAY HMBLL/ A NIBLI60 ° AR 2TB9 156
90° BSPT MALE/BSP FEMALE 60 ° CONE

e SMRLL/ HEE WIRSI60 ° AhE 2NB 157
NPT MALE/BSP FEMALE 60 ° CONE

45° AR MBS/ B N IRL60 © A 2NB4 158
45° NPT MALE/BSP FEMALE 60 ° CONE

90° ARHEAES SMBLL/ A NIBLI60 ° AR 2NB9 159
90° NPT MALE/BSP FEMALE 60 ° CONE

YL AN R d Y N 3 Sk 4BN-WD 160
BSP MALE CAPTIVE SEAL HOLLOW HEX PLUG

Y AMBR AT B Sk 4B-WD 160
BSP MALE CAPTIVE SEAL PLUG

HEEHMRL60 ° P HEDI N i TR 2 S A PR AL 5B 161

BSP MALE DOUBLE FOR 60 ° SEATBONDED SEAL/BSP FEMALE



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

H>% INDEX

KM TYPE 5 PART NO JUK PAGE
90° HLEAMEBL60° WHE/ I NIRLL 5B9 162
90° BSP MALE 60° SEAT/BSP FEMALE

GEAFHMZLI60 ° P AEERN A o T AL A R st SR I HE A IR L 5BN 163
BSP MALE DOUBLE FOR 60 ° EATBONEDE SEAL/NPT FEMALE

GEE AMBRLL60 ° P HE DN N A T 4 R R PR AL 5BT 163
BSP MALE DOUBLE FOR 60 ° EATBONEDE SEAL/BSPT FEMALE

YL HNZ L AR df /A IR 5B-WD 164
BSP MALE CAPTIVE SEAL/BSP FEMALE

YL HMZ S0 FE| /955 N IR LL 5GB 165
BSP MALE O-RING/BSP FEMALE

HEHE PR/ T PUMRE60 © AhE 778 165
BSPT FEMALE/BSP FEMALE 60 ° CONE

B P IR AL 7B 166
BSP FEMALE

90° A Py IRLL 7B9 167
90° BSP FEMALE

G N IRL = GB 167
BSP FEMALE TEE

B AMEBLI60° NHE=IE AB 168
BSP MALE 60° SEAT TEE

G HMZLI60° PR/ IR SY 37 =l BB 168
BSP MALE 60° SEAT/BSP FEMALE 60° CONE BRANCH TEE

BEE AMRLL60 0 PYHE/ U NIREUME S =l CcB 169
BSP MALE 60° SEAT/BSP FEMALE 60° CONE RUN TEE

Y RSN =0 DB 169
BSP FEMALE 60° CONE TEE

B PBRL60 ° AMHE/TERE AMRL60 ° Sy S =l EB 170
BSP FEMALE 60° CONE/BSP MALE 60° BRANCH TEE

B ABRLI60 ° AMHE/TLE SMIBA60 ° Ay S =il FB 170
BSP FEMALE 60° CONE/BSP MALE 60° BRANCH TEE

Y AMEAT60 ° N HE/ DL SME SO P T ) A 3 S = ABBG-06 171
BSP MALE 60° SEAT/BSP MALEO-RING ADJUSTABLE STUD END RUN TEE

HCEAMERL60 ° PAHE/ D SR S0 R v R 1) R 43 57 =03 ABGB-0G 171
BSP MALE 60° SEAT/BSP MALEO-RINGADJUSTABLE STUD END BRANCH TEE

BEHEE AN L T 172
BSPT MALE

45° SLHEREAMERSL 174 173
45° BSPT MALE

90° HCHEE FMZLL 179 173
90° BSPT MALE

GOAEE SMRSU 3k 47 174

BSPT MALE PLUG



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

H>% INDEX

KM TYPE 5 PART NO JUK PAGE
GEHER SMB L 7S 3 Sk 47N 174
BSPT MALE HOLLOW HEX PLUG

HEAE T SNBSS/ THE R R AL 5T 175
BSPT MALE/BSPT FEMALE

90° HEHER SN/ TEHERE P BRAL 5T9 176
90° BSPT MALE/BSPT FEMALE

BEHER IR 7T 177
BSPT FEMALE

90° EHEE PIRLL 779 178
90° BSPT FEMALE

BEHEE IR ar GT 178
BSPT FEMALE TEE

YRR IR G Y Al 179
BSPT FEMALE CROSS

YL HNZ LT FE /S P IR AL 56T 179
BSP MALE O-RING/BSPT FEMALE

2 AT HEE SN AL N 180
NPT MALE

45° SEAHARHERE SRS N4 181
45° NPT MALE

90° EHIARHER SMERAL 1N9 181
90° NPT MALE

S A HE R MBS N B Sk ANN 182
NPT MALE HOLLOW HEX PLUG

AT HE R MRS K AN 182
NPT MALE PLUG

AT HE R AMR S AT HEE N IR AL 5N 183
NPT MALE/NPT FEMALE

45° A HEE AMR LS AR N IR 5N4 184
45° NPT MALE/NPT FEMALE

90° EHIATHE R AMB L/ AT HER N IRLL 5N9 184
90° NPT MALE/NPT FEMALE

AT HER IR AL 7N 185
NPT FEMALE

90° &Il HER Py IR AL 7N9 186
90° NPT FEMALE

S AT AR R G 3k 9N-CAP 186
NPT FEMALE PLUG

S HHISAES MRS O R BB /5 il Am #1E 7 AR AL 1NO 187
NPT MALE/SAE 0-RING BOSS

A4 SME L/ HINPSMPY R Z60 ° A4 2NU 188

NPT MALE/NPSM FEMALE 60 ° CONE



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

H>% INDEX

KA TYPE f£5  PART NO LUK PAGE
45° AHEE MRS/ ZE HINPSMPA BRZ60 © #hE 2NU4 189
45° NPT MALE/NPSM FEMALE 60 ° CONE

90° AR SMRSL/ FHINPSMPA IRLAL60 ° A1k 2NU9 190
90° NPT MALE/NPSM FEMALE 60 ° CONE

S AR L0 P /S5 A HE RS Y BR AL 5GN 191
BSP MALE O-RING/NPT FEMALE

I AME S 2R A /T IR R N IR AL 5HN 192
METRIC MALE L-SERIES/NPT FEMALE

INHRIAMZ S A B/ S A A YR 5MN 192
METRIC MALE WITH BONDED SEAL/NPT FEMALE

2 AT HER SNBSS I SAE Y IR AL 5NO 193
NPT MALE/SAE FEMALE

SEHISAEA MR SO el £ R B/ 92 AT HE T Y IR AL 50N 194
SAE 0-RING BOSS L-SERIES/NPT FEMALE

YHEEF SMRSL ST HE R N IR 5TN 195
BSPT MALE/NPT FEMALE

SEHIATHERT N RS N 195
NPT FEMALE CROSS

A e P RS0/ HINPSMP B LL60 © Ah4fE 7NU 196
NPT FEMALE/NPSM FEMALE 60 °© CONE

LA A MBE L = AN 197
NPT MALE TEE

FiE R WIRgr =l GN 197
NPT FEMALE TEE

AT HE R IR/ A A SMZ Sy 37 =0l IN 198
NPT FEMALE/NPT MALE BRANCH TEE

AT HER N IRSU/ATHEE MBS F S =T HN 198
NPT FEMALE/NPT MALE RUN TEE

SEHIINICHMERS74° HME 1J 199
JIC MALE 74° CONE

45° EHIIJNICHMRET74° A 134 200
45° JIC MALE 74° CONE

90° FEHIJICHMERLG T4 Ak 139 200
90° JIC MALE 74° CONE

90° FEHIJICHMERLG T4 HIE 1J9 200
90° JIC MALE 74° CONE

FWIINICHMELT4° HMEE/IICHIRST4 ° PHE 2J 201
JIC MALE 74° CONE/JIC FEMALE 74 ° SEAT

45° FEHIINCHMBEL74° AMHE/INICNIRL74° NHE 2J4 202
45° JIC MALE 74° CONE/JIC FEMALE 74° SEAT

90° SEHIJICHMEZEL74 ° AME/IICHIRET4° P 2J9 203

90° JIC MALE 74° CONE/JIC FEMALE 74 ° SEAT



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

H>% INDEX

KM TYPE 5  PART NO UK PAGE
FHIINICHBRE T4 PNHE 3J 204
JIC FEMALE 74° SEAT

45° ZEHIIICHIBLT74° Wi 3J4 204
45° JIC FEMALE 74° SEAT

90° EHIJICHIRL74° WHE 3J9 205
90° JIC FEMALE 74° SEAT

LHIINCHMBEL 74 ° HMELE Sk 4] 205
JIC MALE 74° CONE PLUG

FEHIINCHMRS/ K HITNIC P BRSL 5J 206
JIC MALE/JIC FEMALE

EHIINICHMELT74 ° SN AR B2k 6J 207
JIC MALE 74° CONE BULKHEAD

45° EHIINCHMRETA ° AMTE ARk 6J4 207
45° JIC MALE 74° CONE BULKHEAD

90° SEHIJICHMELT74° AN M dz Sk 6J9 208
90° JIC MALE 74° CONE BULKHEAD

BN (851 8J 208
JIC LOCK NUT

FHITICHIRST74° PHERE kL 9J 209
JIC FEMALE 74° SEAT PLUG

JIC74° WIRLUE Sk 9J-CAP 209
JIC 74° FEMALE PLUG

JICHMBLLTA HMHES SEHESE SMBLL JT 210
JIC MALE 74° CONE/BSPT MALE

45° JICHMEZLIT74° AP/ SHE S SMZ L 1JT4 211
45° JIC MALE 74° CONE/BSPT MALE

90° JICHMEZRL74° AN/ TEHER FMRLL 1JT9 212
90° JIC MALE 74° CONE/BSPT MALE

JICHMBLLTA HMHE/ A HE S SMIBEL 1IN 213
JIC MALE 74° CONE/NPT MALE

45° JICHMZLITA® S/ A SMBLL 1IN4 214
45° JIC MALE 74° CONE/NPT MALE

90° JICHMBLT74° HMIE/AHERS SMIB L 1IN9 215
90° JIC MALE 74° CONE/NPT MALE

90° JICHMBLT74° HMIES IN-KATHERS SMEB 2L 1JIN9-L 216
90° JIC MALE 74° CONE/LONG NPT MALE

90° JICHMEZLT4° AN/ R KA HE S AMZ L 1IN9-LL 217
90° JIC MALE 74° CONE/LONGGER NPT MALE

FEHIIICHMRELTA° HMIE/ DL N IRLSI60 ° HME 2JB 218
JIC MALE 74° CONE/BSP FEMALE 60 ° CONE

EHIIICHMZLTA° AN/ IERE HMBE L0 136 219

JIC MALE 74° CONE/BSP MALE O-RING



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

KM TYPE 5 PART NO JUK PAGE
45° FEHIJICHMELITA  HMES TS HMBE L0 Pl 1J64-06 220
45° JIC MALE 74° CONE/BSP MALE O-RING

90° EIHIIICHMBLIT74° HINE/ L HMELI0RY B 1JG9-06 221
90° JIC MALE 74° CONE/BSP MALE O-RING

LHIINCHMBLLTA° HME/ORFSHMEB ST 1JF 222
JIC MALE 74° CONE/ORFS MALE

JICHMBLLTA ML NI MR L0 B 25 1JH 223
JIC MALE 74° CONE/ METRIC MALE END O-RING

45° EHIINCHMRALTA * ANES 2 AR ST 1 ) AL 3ty 1JH4-0G 224
45° JIC MALE 74° CONE/METRIC MALEADJUSTABLE STUD END

90° FEHIJICHMNERLGLTA ° ANES N HHIANE ST I ) AL ity 1JH9-06 225
90° JIC MALE 74° CONE/METRIC MALEADJUSTABLE STUD END

JICHMERLLTA° HMIES N HIAMBREI60 ° NHED S i [ 415 B T 1M 226
JIC MALE 74° CONE/METRIC MALE DOUBLEUSE FOR 60 ° SEAT OR BONDED SEAL

JICHMBLLTA° HNHES NI AME S 1IM-WD 227
JIC MALE 74° CONE/METRIC MALE CAPTIVE SEAL

FEHIINCHMIRST74 ° HMIE/SAES MRS 07 ] 130 228
JIC MALE 74° CONE/SAE O-RING BOSS

FEHIINCHMIRST74 ° HMIE/SAES MRS Y 07 ] 1J0 229
JIC MALE 74° CONE/SAE O-RING BOSS

K SEHITICHMBLT4 © HME/SAESMEZ L0 ] 1J0-L 229
LONG JIC MALE 74° CONE/SAE O-RING BOSS

45° JICHMBLLT4° HMNE/SAESMB L0 Bl 1J04-06 230
45° JIC MALE 74° CONE/SAE O-RING BOSS

90° JICHMBL74° HMHE/SAESME S0 1J09-06 231
90° JIC MALE 74° CONE/SAE O-RING BOSS

90° FEHIJICHMERLGLTA° HMIE/ NS SAES MRS 02 [l 1J09-06G/L 232
90° JIC MALE 74° CONE/LONG SAE O-RING BOSS

P AMBLLIR S B/ IICHMBLT74 ° HVE 1BJ-WD 233
BSP MALE CAPTIVE SEAL/JIC MALE 74 ° CONE

TUHERT SMIREL/INCHIRLTA ° N HE 273 234
BSPT MALE/JIC FEMALE 74 ° SEAT

FHEG SNBSS INCNIBLL T4 ° Y HE 2NJ 235
NPT MALE/JIC FEMALE 74 ° SEAT

W MBSO FE /INICINIBL 74 ° HETH 26J 236
BSP MALE O-RING/JIC FEMALE 74 ° CONE

2 HISAESMB SO B /I ICH BB 4074 ° 4 20J 237
SAE O-RING BOSS/JIC FEMALE 74 ° SEAT

PR /R HIIICIRLT4 ° A 20J 237
BUTT-WELD TUBE/JIC FEMALE 74 ° SEAT

FHIINCHMBLLTA HINES P48 P IBLL 5JB 238

JIC MALE 74° CONE/BSP FEMALE



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

H>% INDEX

KA TYPE f£5  PART NO LUK PAGE
FHIINICHMRLTA > HMIESJEHER P IRLL 5JT 239
JIC MALE 74° CONE/BSPT FEMALE

EHIIICHMBLT4° SNHE/ATHERS N IRLL 5IN 240
JIC MALE 74° CONE/NPT FEMALE

90° 2KHIJICHMBLITA > HMNHE/ AR HER IR LT 5IN9 241
90° JIC MALE 74° CONE/NPT FEMALE

S HINPTAME S/ 26 51 1 CHME ST A Mk 1 M Sk 6NJ 242
NPT MALE/JIC MALE 74 ° CONE BULKHEAD

T WIRSL/IICHIRET74 © 4k 7NJ 242
NPT FEMALE/JIC FEMALE 74 ° SEAT

LHIINICHMBELT4° S =8 AJ 243
JIC MALE 74° CONE TEE

LHITICHMRET4° AMHE/SEHIIICHIRLT4 © PAES 32 =0 BJ 243
JIC MALE 74° CONE/JIC FEMALE BRANCH TEE

LHIINCHMBEL 74 HMHE/FEHIINICNIRL74 ° NHET 2 =18 cJ 244
JIC MALE 74° CONE/JIC FEMALE 74 ° SEAT RUN TEE

LHIIICIRL74° NAE =T DJ 244
JIC FEMALE 74° SEAT TEE

HHIIICHIRLT74° HE/FEHIINICHMBLT4 ° SVHESY =3 EJ 245
JIC FEMALE 74° SEAT/JIC MALE 74° CONE BRANCH TEE

EHIINCHIBLEITA > NHE/FEHIJICHMBLI74 ° AMESN ST =i FJ 245
JIC FEMALE 74° SEAT/JIC MALE 74° CONE BRANCH TEE

FWIINICHMRELLTA° HMIE/ AR HEE SMBR S5y 32—l AJINJ 246
JIC MALE 74° CONE/NPT MALE BRANCH TEE

FEHIINCHMBEL74 ° AME/ A AMR L 57 =il AJIN 247
JIC MALE 74° CONE/NPT MALE RUN TEE

SEHIIICHMZEL74° AMERI RSk 2 =8 AJJI6J 248
JIC MALE 74° CONE BULKHEAD RUN TEE

FHIINCHMRAT4 ° AMEEII AR B3k 43 = = AJBJJ 248
JIC MALE 74° CONE BULKHEAD BRANCH TEE

FHIINCHMRELLTA° AN/ AR HES W IRSL5)r 32—l KINJ 249
JIC MALE 74° CONE/NPT FEMALE BRANCH TEE

LHIINCHMBELLT7A ° HINE/ A HERE WIRS 57 =il LJIIN 250
JIC MALE 74° CONE/NPT FEMALE RUN TEE

L RIINCHMBLITA° HME/SAES M ST 0 43 37 =11 AJOJ-06 251
JIC MALE 74° CONE/SAE O-RING BOSS BRANCH TEE

EHIJICHMELIT4 ° HMHE/SAEAMEB L 0T P 3= 7 =il AJJO-0G 252
JIC MALE 74° CONE/SAE O-RING BOSS RUN TEE

JICHMRLLTA° HMIE/ I SRRSO ] 4y 32 =08 AJGJI-0G 253
JIC MALE 74° CONE/BSP MALE O-RING BRANCH TEE

JICHMERLLTA° HMIE/ T HMRSI0R el 3 37 =18 AJJIG-0G 253

JIC MALE 74° CONE/BSP MALE O-RING RUN TEE



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

KA TYPE f£%  PART NO LUK PAGE
SEHIINICHMERLT74 ° HMHES N ) AN SCRT I ) b 25 S =l AJJIH-0G 254
JIC MALE 74° CONE/METRIC MALE ADJUSTABLE STUD END

JICAHIE R4 NB500 255
JIC METRIC SLEEVE

JICHLHIE o 42 NB300 256
JIC INCH SLEEVE

FHIINCY L e LR B 00TSUM-NB 256
JIC FLARE TUBE END NUT

& HHIORFSHME SO ] *F- 1] % 4 1F 257
ORFS MALE O-RING

45° SEHHIORFSAME A0 [l - [H] % 4 1F4 258
45° ORFS MALE O-RING

90° & HIORFSHMERLLOMY Rl - 1 %% 4 1F9 258
90° ORFS MALE O-RING

& HHORFSAME A0 ] *F- 11 % 41 /ORFS N R 4L 2F 259
ORFS MALE O-RING/ORFS FEMALE

45° JETHIORFSAHME S0 6] T~ 1H] % 51 /ORFS P R 4L 2F4 260
45° ORFS MALE O-RING/ORFS FEMALE

90° & HIORFSAMERSLOMY Fl > [ % £ /ORFS Py R 4C 2F9 260
90° ORFS MALE O-RING/ORFS FEMALE

22 3HIORFS N B 4L 3F 261
ORFS FEMALE

& HIORFSHME S0 6] 1~ 1HI % ) 1 3k 4F 261
ORFS MALE O-RING PLUG

& HIORFSHIME S0 ] 1~ 1HI % il AR B2k 6F 262
ORFS MALE O-RING BULKHEAD

45° ZEH|ORFSHMZ L 07 B -1 2% 5 3 R 322 3k 6F4 262
45° ORFS MALE O-RING BULKHEAD

90° EHIORFSAMEZ L0 P - i 5 daf 1 i 42 3k 6F9 263
90° ORFS MALE O-RING BULKHEAD

2 HIORFSH B 8F 264
ORFS LOCK NUT

L HIORFS IR LU oF 264
ORFS FEMALE PLUG

& HIORFSHIME SO Pl T~ 1HI B F / A HE 45 AMIB L 1FN 265
ORFS MALE O-RING/NPT MALE

45° SETHIORFSAME SO o T~ 1H] % Jf /A1 HE B AN AL 1FN4 266
45° ORFS MALE O-RING/NPT MALE

90° & HIORFSAMERSLOMY Bl - 1] 2 4 /AT HE B AR SL 1FN9 267
90° ORFS MALE O-RING/NPT MALE

2= I ORFSAMZ L0 Z ] -1 25 5/ N il FMR L 1FH 268

ORFS MALE O-RING/METRIC MALE O-RING



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

H>% INDEX

K5 TYPE

45° SEAHIORFSHMERLLOMY Fal 1 1f s b/ 22 il SR SU AT T 1 K v
45° ORFS MALE O-RING/ METRIC MALE ADJUSTABLE STUD END

90° SEHIORFSHMERLOM Fel V11 /22 H S MRS HT I 1 i
90° ORFS MALE O-RING/ METRIC MALE ADJUSTABLE STUD END

% THIORFSHMRATOTY [l [l 5 /5% 1 MR LU O B el T AR 51
ORFS MALE 0-RING/SAE O-RING BOSS S-SERIES

45° K THIORFSHMRLLOMY Pl [f 5 /S I AR LU O el T A< 51
45° ORFS MALE O-RING/SAE O-RING BOSS S-SERIES

90° SEHHIORFSHMELLORY [l V1 1 / 5 Tl SMR LU O 1Y el R 57
90° ORFS MALE O-RING/SAE O-RING BOSS S-SERIES

FEHIORFSHMERLLOMY [l 1 [l 11 / Sy MR ELO T e
ORFS MALE O-RING/BSP MALE O-RING

45° SEHHIORFSHMRLLOM el Y [fi ¥ b / 9 MR L0 e
45° ORFS MALE O-RING/BSP MALE 0-RING

90° SETHIORFSHMIRZLOMY el Y [fi i / 9 MR L0 e
90° ORFS MALE O-RING/BSP MALE O-RING

S THISAESMR SO e B A 51 /ORFS P IREL
SAE O-RING BOSS S-SERIES/ORFS FEMALE

S HIORFSH MR ALY el - 1f b ind 1 3k 3232 =l
ORFS MALE O-RING BULKHEAD RUN TEE

S HHIORFSHMERZLOMY e 1 [f s ek AR 2 Sk 79 5 =3
ORFS MALE 0-RING BULKHEAD BRANCH TEE

S THIORFSHMELLOMY ] V11 /5 SRS 01 o] = 57 — 3
ORFS MALE O-RING/BSP MALE O-RING RUN TEE

S HH|ORFSHMELLO Y 8] V- i1 /55 AMR SO o] /) 3 — 3
ORFS MALE O-RING/BSP MALE O-RING RUN TEE

& HIORFSH MR ALY W6l T 1% - / 5% THISAE /MR LU AT O L Pl 73 = — i
ORFS MALE O-RING/SAE O-RING BOSS BRANCH TEE

& THIORFSAMERLLO Y el P 1111 f /5% HISAESMRZCHF O L P 57 — 3
ORFS MALE O-RING/SAE O-RING BOSS RUN TEE

& THIORFS MR LLOY Pl ~F- [f] 2% H5F / /2 il MRS AT I o) Ay 32 52—

ORFS MALE O-RING/ METRIC MALE ADJUSTABLE STUD END RUN TEE

T HIORFSH MR ZLOMY [l 1 [f 2% ] / 2 Tl SN AT T U i) #2352~

A5 PART NO

1FH4-0G
1FH9-0G
1FO
1F04-06
1F09-0G
1FG
1FG4-0G
1FG9-0G
20F
AFF6F
AF6FF
AFFG-0G
AFGF-0G
AFOF-06
AFF0-0G
AFFH-0G

AFHF-0G

ORFS MALE O-RING/ METRIC MALE ADJUSTABLE STUD END BRANCH TEE

JEE HMRE0M el
BSP MALE O-RING

T HMRSL0TY Pl i Sk
BSP MALE O-RING PLUG

T HMRLLOM el /SR SMRLL
BSP MALE O-RING/BSPT MALE

NHISMREURE R I Nk
METRIC MALE L-SERIES HOLLOW HEX PLUG

1G

4G

1GT

4HN

=

~

X PAGE
269
269
270
271
272
273
274
275
276
277
277
278
278
279
280
281
281
282
282
283

283



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

H>% INDEX

KM TYPE 5 PART NO JUK PAGE
PNHIFMELEE R 1H 284
METRIC MALE L-SERIES

ATHIIMRSUIRE RT3k 4H 284
METRIC MALE L-SERIES PLUG

INHIAMBL60 ° P HEE N £ i T 2H A s M 285
METRIC MALE DOUBLE FOR 60 ° CONE SEAT BONDED SEAL

INTHIANRZC60 ° PYHEDK N i T 4 R B Sk aM 286
METRIC MALE DOUBLE FOR 60 ° CONE SEAT BONDED SEAL PLUG

N HIAMB LB B S Sk AMN-WD 286
METRIC MALE CAPTIVE SEAL HOLLOW HEX PLUG

EHHISAESMEZ LA 07 ] 10 287
SAE 0-RING BOSS

2 HISAE B O 1Y [ /S HE A AMIZ 4 10T 287
SAE 0-RING BOSS/BSPT MALE

SAEAME LY 01 FEl / JE HINPSMPN BRAL60 © AIME 20U 288
SAE O-RING BOSS /NPSM FEMALE 60 ° CONE

FHISAES MRS 02 | 15 40 289
SAE O-RING BOSS PLUG

FEHISAES MR ST O P8l P4 7 Ff b Sk 40N 289
SAE O-RING BOSS HOLLOW HEX PLUG

FEHISAESMIRS90 ° A 1P 290
SAE MALE 90° CONE

FEHISAESMIZ L0 ° AR Sk 4p 290
SAE MALE 90° CONE PLUG

BRI T FL 291
L-SERIES SPLIT FLANGE CLAMPS

BRI T FS 291
S-SERIES SPLIT FLANGE CLAMPS

BRI IR FL-W 292
L-SERIES WHOLE FLANGE CLAMPS

BRI FS-W 292
S-SERIES WHOLE FLANGE CLAMPS

N LA SE WA 8- M R 1CFL 293
METRIC MALE BITE TYPE/L-SERIES FLANGE

AR R BB R Y)EL 1DFL 203
METRIC MALE BITE TYPE/L-SERIES FLANGE

90° AHRSRER/RERINLE 1CFL9 294
90° METRIC MALE BITE TYPE/L-SERIES FLANGE

90° ANNRL KL/ AT 1DFL9 294
90° METRIC MALE BITE TYPE/L-SERIES FLANGE

INHNBL R B FERA)EE 1DFS 295

METRIC MALE BITE TYPE/S-SERIES FLANGE



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

H 2%

K5 TYPE

90° AHIRLCREX/ERINTLS

90° METRIC MALE BITE TYPE/S-SERIES FLANGE
R HIORFSHMRLLO Rl 1 i 3 By /4 R A3 %
ORFS MALE O-RING/L-SERIES FLANGE

90° JEHIORFSHMERLIOM el Vi1 B V4 R FTA >
90° ORFS MALE O-RING/L-SERIES FLANGE
FEHIORFSHMERLLOMY el 1 [f i B / LR T4
ORFS MALE O-RING/S-SERIES FLANGE

90° JEHIORFSHMERLLOM el Vil bt / AR FIVA
90° ORFS MALE O-RING/S-SERIES FLANGE

FHNINCHMBLTA° IR/ F A4
JIC MALE 74° CONE/L-SERIES FLANGE

45° SEHIJICHMRATA® S/ R AL
45° JIC MALE 74° CONE/L-SERIES FLANGE

90° SEHIIICHMRLTA SMHES 2 R AN
90° JIC MALE 74° CONE/L-SERIES FLANGE

FEHIINCHMRLTA® HMHES RG22
JIC MALE 74° CONE/S-ERIES FLANGE

45° EHIIICHMBLT74° HMES B R Y2
45° JIC MALE 74° CONE/S-ERIES FLANGE

90° EHIJICHMRLTA° HMHE/ TR AL
90° JIC MALE 74° CONE/S-ERIES FLANGE
LEE NPV

L-SERIES FLANGE/BUTT-WELD TUBE
BRI/

S-SERIES FLANGE/BUTT-WELD TUBE

e Rk
L-SERIES FLANGE PLUG

HARINE Ik
S-SERIES FLANGE PLUG

L IR PR P
L-SERIES FLANGE PLUG

TRV A ik
S-SERIES FLANGE PLUG

(97

PART NO

1DFS9

1FFL

1FFL9

1FFS

1FFS9

1JFL

1JFL4

1JFL9

1JFS

1JFS4

1JFS9

1FLW

1FSW

4FL

4FS

AFL-M

4FS-M

—Dﬁ‘\

~

K

PAGE

295

296

296

296

297

297

298

299

300

301

302

303

304

305

305

306

306



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

NN

1E

I IR ELO T Pl - 1 i s
METRIC MALE O-RING

R U4 THREADE JU <) DIMENSIONS

PART NO. E A s1 L
1E-12 M12x1.5 11 14 28
1E-14 M14x1.5 11 17 28
1E-16 M16x1.5 11 17 28
1E-18 M18x1.5 11 19 28
1E-22 M22x1.5 12 24 32
1E-27 M27x1.5 13 30 35
1E-30 M30x1.5 14 32 38
1E-36 M36x2 16 36 43
1E-39 M39x2 18 41 48
1E-45 M45x2 20 46 53
1E-52 M52x2 22 55 59
1E-60 MBOx2 24 65 65
1E-64 MB4x2 28 70 73




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

%_
) —~ 1E9
% .
o i | 00° /A HHISMELOTI BT Bk
] 90° METRIC MALE O-RING
A s1
= #2470 THREADE JU ~F DIMENSIONS
PART NO. E A s1
1E9-12 M12x1.5 25 11
1E9-14 M14x1.5 27 14
1E9-16 M16x1.5 29 17
1E9-18 M18x1.5 32 19
1E9-22 M22x1.5 37 22
1E9-27 M27x1.5 41 27
1E9-30 M30x1.5 49 33
1E9-36 M36x2 47 33
1E9-39 M39x2 57 44
1E9-45 M45x2 55 44
1E9-52 M52x2 59 55
‘—“|F 2
. 2E9
“ , o \ e
w 90° ATHIBRSLORY Pl - [HI %
90° METRIC MALE O-RING
A s1
= #24 THREADE JU < DIMENSIONS
PART NO. E F A C s1 S2
2E9-14 M14x1.5 | M14x1.5 29 9 14 19
2E9-16 M16x1.5 | M16x1.5 30 | 9.5 17 22
2E9-18 M18x1.5 | M18x1.5 33 | 9.5 19 24
2E9-22 M22x1.5 | M22x1.5 37 10 22 27
2E9-27 M27x1.5 | M27x1.5 41 |10.5 | 27 32
2E9-30 M30x1.5 | M30x1.5 49 |11.5 | 33 36
2E9-36 M36x2 M36x2 47 |13.5 | 33 41
2E9-39 M39x2 M39x2 57 | 13.5 | 44 46
2E9-45 M45x2 M45x2 55 | 15.5 | 44 55
2E9-52 M52x2 M52x2 59 |17.5 | 55 60




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

S1

oy T SMR SO el 1 e B 4 Sk
METRIC MALE O-RING PLUG

4E

R U4 THREADE JU s} DIMENSIONS
PART NO. E A s1 L
4E-12 M12x1.5 11 14 17
4E-14 M14x1.5 11 17 17
4E-16 M16x1.5 11 17 17
4E-18 M18x1.5 11 19 17
4E-22 M22x1.5 12 24 20
4E-27 M27x1.5 13 30 22
4E-30 M30x1.5 14 32 24
4E-36 M36x2 16 4 28
4E-39 M39x2 18 41 30
4E-45 M45x2 20 46 33
4E-52 M52x2 22 55 37
4E-60 MBOX2 24 65 M
4E-64 MB4x2 28 70 45




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

S1

/d

2

OE

I N IRECT T Sk
METRIC FEMALE FLAT FACE PLUG

C
= 240 THREADE J& <} DIMENSIONS
PART NO. E c s1
9E-12 M12x1.5 8 14
9E-14 M14x1.5 8 17
9E-16 M16x1.5 8 19
9E-18 M18x1.5 8.5 22
9E-22 M22x1.5 10 27
9E-27 M27x1.5 10.5 32
9E-30 M30x1.5 11 36
9E-36 M36x2 13 4
9E-39 M39x2 13 46
9E-45 M45x2 15 55
9E-52 M52x2 17 60

OE

O3 ISR ELORY ] F B AR ek
METRIC MALE O-RING BULKHEAD

= 4 THREADE JU f DIMENSIONS
PART NO. E A B s1 L
6E-12 M12x1.5 11 | 31.5| 14 48.5
6E-14 M14x1.5 11 | 32.5 | 17 49.5
6E-16 M16x1.5 11 | 32.5 | 17 49.5
6E-18 M18x1.5 11 33 19 50
6E-22 M22x1.5 12 | 35.5 | 24 55
6E-27 M27x1.5 13 37 30 59
6E-30 M30x1.5 14 38 32 62
6E-36 M36x2 16 42 41 70
6E-39 M39x2 18 44 41 74
B6E-45 M45x2 20 46 46 79
6E-52 M52x2 22 49 55 86

WA BRELT B, WIS ZEAR 5 5 LN 4 6E-30LN

In case if you are interested to order the adapter with lock nut,please insert suffix"LN" after our part
NO.,for example 6E-30LN.

-4 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

6E9

y
w f ’ | 90° I AMERLLOMY ]~ i b i A Sk
__5<) 90° METRIC MALE O-RING BULKHEAD
A st
R 422 THREADE 07! JE] (SMEXER ) JU <} DIMENSIONS
PART NO. E Edi A B S1
BE9-12 M12x1.5 8x1.9 25 | 445 | 11
6E9-14 M14x1.5 10x1.9 27 | 46.5 | 14
BE9-16 M16x1.5 11x1.9 29 48 17
6E9-18 M18x1.5 13x1.9 32 50 19
6E9-22 M22x1.5 16x2.4 37 54 22
6E9-27 M27x1.5 18x2.4 41 | 58.5 | 27
6E9-30 M30x1.5 24x2.4 49 | 61.5 | 33
6E9-36 M36x2 30x3.1 47 71 33
6E9-39 M39x2 32x3.1 57 76 44
BE9-45 M45x2 38x3.1 55 81 44
BE9-52 M52x2 40x3.1 59 86 55
L
: B 1EH
w " w AT SR SO P S T 5
RNHISMRELE RS
. W METRIC MALE O-RING
st/
fo= 240 THREADE JU ~] DIMENSIONS
PART NO. E F A B s1 L
1EH-12-10 | M12x1.5 | M10x1 11 11 14 28
1EH-14-12 | M14x1.5 | M12x1.5 11 11 17 28
1EH-16-14 | M16x1.5 | M14x1.5 11 11 19 28
1EH-18-16 | M18x1.5 | M16x1.5 11 11 22 29
1EH-22-18 | M22x1.5 | M18x1.5 12 11 24 31
1EH-27-22 | M27x1.5 | M22x1.5 13 12 30 34
1EH-30-27 | M30x1.5 | M27x1.5 14 13 32 37




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

2
1EH4-0G
45° NI AMZESC0R BB 1 H S
wi AT ) A iy R B
45° METRIC MALE O-RING/
ARt ADJUSTABLE STUD
s U240 THREADE R~ DINENSIONS
PART NO. E F A B S1 S2
1EH4-12-100G | M12x1.5 M10x1 20 25.5 11 14
1EH4-14-120G | M14x1.5 | M12x1.5 22 30 14 17
1EH4-16-140G | M16x1.5 | M14x1.5 22 30.5 17 19
1EH4-18-160G | M18x1.5 | M16x1.5 24 34 19 22
1EH4-22-180G | M22x1.5 | M18x1.5 27 38 22 24
1EH4-27-220G | M27x1.5 | M22x1.5 33 40.5 27 27
1EH4-30-270G | M30x1.5 | M27x1.5 33 48 27 32
1EH4-36-330G M36x2 M33x2 37 49.5 33 41
1EH4-39-330G M39x2 M33x2 41 52 44 41
1EH4-45-420G M45x2 M42x2 41 54 44 50
1EH4-52-480G M52x2 M48x2 47 58.5 53 55
2 1EH9-0G
-
7 ‘ 90° il ANERECORY P - T 2 F)/
w AT ) A g R A
_% 90° METRIC MALE O-RING/
; oy ADJUSTABLE STUD
e 1245 THREADE R <} DIMENSIONS
PART NO. E F A B S1 S2
1EH9-12-10 M12x1.5 M10x1 25 28.5 11 14
1EH9-14-12 M14x1.5 | M12x1.5 29 33.2 14 17
1EH9-16-14 M16x1.5 | M14x1.5 30 36 17 19
1EH9-18-16 M18x1.5 | M16x1.5 33 39 19 22
1EH9-22-18 M22x1.5 | M18x1.5 37 44 22 24
1EH9-27-22 M27x1.5 | M22x1.5 41 48 27 32
1EH9-30-27 M30x1.5 | M27x1.5 41 57 27 41
1EH9-36-33 M36x2 M33x2 49 60.5 33 41
1EH9-39-33 M39x2 M33x2 57 64 44 44
1EH9-45-42 M45x2 M42x2 57 67.5 44 50
1EH9-52-48 M52x2 M48x2 59 73.5 55 55




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

N\

|
s A

s/

60°

1EM

Ix ISR SO Pl - 1/
60° PUHE/N Ay S I 4L 5 2 1
METRIC MALE O-RING/
60° SEAT BONDED SEAL

5 124 THREADE JU =) DIMENSIONS

PART NO. E F A B S1 L
1EM-14-12 | M14x1.5 | M12x1.5 11 10 17 28

1EM-14 M14x1.5 | M14x1.5 11 11 19 28
1EM-22-16 | M22x1.5 | M16x1.5 11 12 22 30
1EM-22-18 | M22x1.5 | M18x1.5 11 12 24 31

1EM-22 M22x1.5 | M22x1.5 12 14 27 35

L
A B
T 1EN
: | ] 8 OISR LLOT B /A5 4 UM
7 METRIC MALE O-RING/NPT MALE
£
s

fRE 24 THREADE ]~ DIMENSIONS

PART NO. E F A B S1 L
1EN-14-04 | M14x1.5 | Z1/4" 11 14 17 31
1EN-14-06 | M14x1.5 | Zz3/8" 11 14 19 31
1EN-16-04 | M16x1.5 | Z1/4" 11 14 17 31
1EN-16-08 | M16x1.5 | z1/2" 11 19 24 38
1EN-18-06 | M18x1.5 | Z3/8" 11 14 19 31
1EN-22-08 | M22x1.5 | z1/2" 12 19 24 39
1EN-24-08 | M24x1.5 | Zz1/2" 13 19 30 41
1EN-27-12 | M27x1.5 | Z3/4" 13 | 19.5 | 32 42.5
1EN-30-12 | M30x1.5 | Zz3/4" 14 | 19.5 | 32 43.5
1EN-36-16 M36x2 71" 16 24 41 52
1EN-39-16 M39x2 71" 18 24 41 54
1EN-45-20 M45x2 | z1.1/4" 20 25 46 58
1EN-52-20 M52x2 | z1.1/4" 22 25 55 62
1EN-60-24 MeOx2 | z1.1/2"




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

1ET

I ISR EI0 Y [l / S HEE AMREL
METRIC MALE O-RING/BSPT MALE

s
e W24, THREADE JU <} DIMENSIONS
PART NO. E F A B s1 L
1ET-14-04 | M14x1.5 | ZG1/4" 11 14 | 17 31
1ET-14-06 | M14x1.5 | Z63/8" 11 14 | 19 31
1ET-16-04 | M16x1.5 | ZG1/4" 11 14 | 17 31
1ET-16-08 | M16x1.5 | Z61/2" 11 19 24 38
1ET-18-06 | M18x1.5 | ZG3/8" 11 14 | 19 31
1ET-22-08 | M22x1.5 | ZG1/2" 12 19 24 39
1ET-27-08 | M24x1.5 | Z61/2" 13 19 27 41
1ET-27-12 | M27x1.5 | ZG3/4" 13 |19.5 | 32 42.5
1ET-30-12 | M30x1.5 | Z63/4" 14 |19.5 | 32 43.5
1ET-36-16 M36x2 761" 16 24 | M@ 52
1ET-39-16 M39x2 761" 18 24 | M@ 54
1ET-45-20 M45x2 | Z61.1/4" 20 | 25 | 46 58
1ET-52-20 M52x2 | Z61.1/4" 2 | 25 | 55 62
1ET-60-24 M60x2 | Z61.1/2" 24 | 25 | 70 66




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

A B
— 1EW
T
AT AR L0 B 111 2% B R
METRIC MALE O-RING/BUTT-WELD TUBE
S1

o 24 THREADE JX 5 DIMENSIONS
PART NO. E A B D S1 L
1EW-12-06 M12x1.5 11 8 6 14 25
1EW-14-08 M14x1.5 11 8 8 17 25
1EW-16-10 M16x1.5 11 8 10 17 25
1EW-18-12 M18x1.5 11 12 12 19 29
1EW-22-14 M22x1.5 12 12 14 24 32
1EW-27-18 M27x1.5 13 12 18 30 34
1EW-30-22 M30x1.5 14 14 22 32 38
1EW-36-28 M36x2 16 16 28 41 44
1EW-39-30 M39x2 18 16 30 41 46
1EW-45-38 M45x2 20 18 38 46 51
1EW-52-42 M52x2 22 18 42 55 55

D
1EW9
) o
O 90° A AMERELLORY BBV ] 2 5 /AR
"Bzx\__ 90° METRIC MALE O-RING/
BUTT-WELD TUBE
A S1

fom BR4L THREADE JU <} DIMENSIONS

PART NO. E A B D S1

1EW9-12-06 M12x1.5 25 16.5 6 11

1EW9-14-08 M14x1.5 29 17.5 8 14

1EW9-16-10 M16x1.5 30 19.5 10 17

1EW9-18-12 M18x1.5 33 25 12 19

1EW9-22-14 M22x1.5 37 27 14 22

1EW9-27-18 M27x1.5 41 29.5 18 27

1EW9-30-22 M30x1.5 41 33.5 22 27

1EW9-36-28 M36x2 47 39 28 33

1EW9-39-30 M39x2 57 43 30 44

1EW9-45-38 M45x2 57 47.5 38 44

1EW9-52-42 M52x2 59 50 42 55




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

S IRAA

1EZ

A MELLORY Pl Y- i ]/

A Fh R

[ = S = 2

‘% METRIC MALE O-RING/

s1/ BSP MALE
= 240 THREADE J& <} DIMENSIONS
PART NO. E F A B s1 L
1EZ-14-04 | M14x1.5 |G1/4"X19 11 12 19 29
1EZ-16-04 | M16x1.5 |G1/4"X19 11 12 19 29
1EZ-16-06 | M16x1.5 |G3/8"X19 11 12 22 30
1EZ-18-06 | M18x1.5 |G3/8"X19 11 12 22 30
1EZ-18-08 | M18x1.5 |G1/2"X14 11 14 27 34
1EZ-22-08 | M22x1.5 |G1/2"X14 12 14 27 35
1EZ-27-08 | M27x1.5 |G1/2"X14 13 14 27 36
1EZ-27-12 | M27x1.5 |G3/4"X14 13 16 32 39
1EZ-30-12 | M30x1.5 |G3/4"X14 14 16 32 40
1EZ-30-16 | M30x1.5 | G1"X11 14 18 4 | 44
1EZ-36-16 M36x2 | G1"X11 16 18 4 46

- 10 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

S1

2WE

FREZE /2 I IR ET0 BY el 1 1 5 s
BUTT-WELD TUBE/METRIC FEMALE O-RING

c

= W20 THREADE | T E 4% JU -] DIMENSIONS
PART NO. E TUBE 0.D. c D s1
2WE-06-12 | M12x1.5 6 8 6 14
2WE-08-14 | M14x1.5 8 8 8 17
2WE-10-16 | M16x1.5 10 8 10 19
2WE-12-18 | M18x1.5 12 8.5 | 12 22
2WE-14-22 | M22x1.5 14 10 14 27
2WE-18-27 | M27x1.5 18 10.5 | 18 32
2WE-22-30 | M30x1.5 22 11 22 36
2WE-28-36 M36x2 28 13 28 4
2WE-30-39 M39x2 30 13 30 46
2WE-38-52 M52x2 38 17 38 60
2WE-42-52 M52x2 42 17 42 60
2WE-50-60 MBOX2 50 20 50 70
2WE-52-64 MB4x2 52 23 52 75

- 11 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

%ﬂ

A T ¥

XE

23 MR L0 TR ] - e DU T Sk
METRIC MALE O-RING CROSS

R 24T THREADE JU <} DIMENSIONS
PART NO. E A s1
XE-14 M14x1.5 22.5 14
XE-16 M16x1.5 24 17
XE-18 M18x1.5 26 19
XE-22 M22x1.5 29 22
XE-27 M27x1.5 32.5 27
XE-30 M30x1.5 35.5 30
XE-36 M36x2 42 33
XE-39 M39x2 47.5 41
XE-45 M45x2 52.5 46
XE-52 M52x2 57 55
E
T
AE
7
wi O3 AMER ST O Pl 1 1 2 b —3d e Sk
; METRIC MALE O-RING TEE
v \g

fRE B4 THREADE JL <} DIMENSIONS
PART NO. E A S1
AE-12 M12x1.5 25 11
AE-14 M14x1.5 27 14
AE-16 M16x1.5 29 17
AE-18 M18x1.5 31 19
AE-22 M22x1.5 34 22
AE-27 M27x1.5 40 27
AE-30 M30x1.5 40 27
AE-36 M36x2 46 33
AE-39 M39x2 57 44

- 12 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

47 N
BE

" IZ 1] ., AN THIAME S0 RE /25 il

| RSP 1% B =3 ek

\ METRIC MALE O-RING

A \s1 /METRIC FEMALE TEE

= 24 THREADE JU <t DIMENSIONS
PART NO. E F A C S1 S2
BE-12 M12x1.5 | M12x1.5 25 8 11 17
BE-14 M14x1.5 | M14x1.5 27 9 14 19
BE-16 M16x1.5 | M16x1.5 29 9.5 17 22
BE-18 M18x1.5 | M18x1.5 31 9.5 19 24
BE-22 M22x1.5 | M22x1.5 34 10 22 27
BE-27 M27x1.5 | M27x1.5 40 10.5 27 32
BE-30 M30x1.5 | M30x1.5 40 11.5 27 36
BE-36 M36x2 M36x2 46 13.5 33 41
BE-39 M39x2 M39x2 57 13.5 44 46

i 1/
CE

| ‘Mz ' . NI MIZSLOR P/ 5 4 Y

| _E%g WRELY T A =Sk

A METRIC MALE O-RING

A s1 52 /METRIC FEMALE TEE

= B240 THREADE JU ~F DIMENSIONS
PART NO. E F A C S1 S2
CE-12 M12x1.5 | M12x1.5 25 8 11 17
CE-14 M14x1.5 | M14x1.5 27 9 14 19
CE-16 M16x1.5 | M16x1.5 29 9.5 17 22
CE-18 M18x1.5 | M18x1.5 31 9.5 19 24
CE-22 M22x1.5 | M22x1.5 34 10 22 27
CE-27 M27x1.5 | M27x1.5 40 10.5 27 32
CE-30 M30x1.5 | M30x1.5 40 11.5 27 36
CE-36 M36x2 M36x2 46 13.5 33 41
CE-39 M39x2 M39x2 57 13.5 44 46

- 13 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

T AEEH-0G
0 /%%g%7—' I HIAME SO Y Tk

w e RIS MRS I 1 R T R A %

- METRIC MALE O-RING/

k s g METIRC MALE ADJUSTABLE STUD

S-SERIES RUN TEE
= 240 THREADE JU ~] DIMENSIONS
PART NO. E F A B S1 S2
AEEH-12-12-100G | M12x1.5 M10x1 25 28.5 11 14
AEEH-14-14-120G | M14x1.5 | M12x1.5 27 33.2 14 17
AEEH-16-16-140G | M16x1.5 | M14x1.5 29 36 17 19
AEEH-18-18-160G | M18x1.5 | M16x1.5 31 39 19 22
AEEH-22-22-180G | M22x1.5 | M18x1.5 34 44 22 24
AEEH-27-27-220G | M27x1.5 | M22x1.5 40 48 27 27
AEEH-30-30-270G | M30x1.5 | M27x1.5 40 57 27 32
AEEH-36-36-330G M36x2 M33x2 46 60.5 33 41
AEEH-39-39-330G M39x2 M33x2 57 64 44 41
F
. AEHE-0G
” | Z% NI MRLLOT BB 8 5 1/
%y 7 ONHIA N SCAT U ) A R S 4 S 0

w | L METRIC MALE O-RING/

\ METIRC MALE ADJUSTABLE STUD
vy S-SERIES BRANCH TEE

A A

AR5 I#40 THREADE R~} DIMENSIONS
PART NO. E F A B S1 | s2
AEHE-12-10-120G | M12x1.5 M10x1 25 28.5 11 14
AEHE-14-12-140G | M14x1.5 | M12x1.5 27 33.2 14 17
AEHE-16-14-160G | M16x1.5 | M14x1.5 29 36 17 19
AEHE-18-16-180G | M18x1.5 | M16x1.5 31 39 19 22
AEHE-22-18-220G | M22x1.5 | M18x1.5 34 44 22 24
AEHE-27-22-270G | M27x1.5 | M22x1.5 40 48 27 27
AEHE-30-27-300G | M30x1.5 | M27x1.5 40 57 27 32
AEHE-36-33-360G M36x2 M33x2 46 60.5 33 41
AEHE-39-33-390G M39x2 M33x2 57 64 44 41

- 14 -



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

> || == AEEGE

B I| B 90° /A MHIAME SO Pl - 2 o A 2 3
90° METRIC MALE O-RING BULKHEAD RUN TEE
A B
= B240 THREADE JU ~F DIMENSIONS
PART NO. E A B S1
AEEGE-12 | M12x1.5 25 | 44.5 | 11
AEEGE-14 | M14x1.5 27 | 46.5 | 14
AEEGE-16 | M16x1.5 29 48 17
AEEGE-18 | M18x1.5 31 50 19
AEEGE-22 | M22x1.5 34 54 22
AEEGE-27 | M27x1.5 40 |58.5 | 27
AEEGE-30 | M30x1.5 40 |61.5 | 27
AEEGE-36 M36x2 46 71 33
AEEGE-39 M39x2 57 76 44
E
AEGEE
o g s1
1% é%_f AT AR SO R 1 1 % i A 4 S =
. | | 4 METRIC MALE O-RING BULKHEAD
BRANCH TEE
A A
= 24 THREADE JU <t DIMENSIONS

PART NO. E A B s1
AEGEE-12 | M12x1.5 25 | 445 | 11
AEGEE-14 | M14x1.5 27 | 46.5 | 14
AEGEE-16 | M16x1.5 29 48 17
AEGEE-18 | M18x1.5 31 50 19
AEBEE-22 | M22x1.5 34 54 22
AEBEE-27 | M27x1.5 40 | 58.5 | 27
AEGEE-30 | M30x1.5 40 |61.5 | 27
AEGEE-36 M36x2 46 71 33
AEGEE-39 M39x2 57 76 44

- 15 -



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

f[ean

S1

D2
E

NIAMESR24° R R YA

1C

METRIC MALE 24° L.T. REDUCERS

fom 24 THREADE ET Mt TUBE 0.D. JU ~f DIMENSIONS
PART NO. D1 D2 A B s1 L
1C-12-14 | M12x1.5 | M14x1.5 6 8 10 10 14 26
1C-12-16 | M12x1.5 | M16x1.5 6 10 10 11 17 27
1C-12-18 | M12x1.5 | M18x1.5 6 12 10 11 19 27
1C-14-16 | M14x1.5 | M16x1.5 8 10 11 11 17 28
1C-14-18 | M14x1.5 | M18x1.5 8 12 11 11 19 28
1C-16-18 | M16x1.5 | M18x1.5 10 12 11 11 19 28
1C-16-22 | M16x1.5 | M22x1.5 10 15 11 12 24 30
1C-16-26 | M16x1.5 | M26x1.5 10 18 11 12 27 33
1C-18-22 | M18x1.5 | M22x1.5 12 15 11.5 | 12 24 31
1C-18-26 | M18x1.5 | M26x1.5 12 18 11.5 | 12 27 32
1C-18-30 | M18x1.5 | M30x2 12 22 11.5 | 14 32 35.5
1C-22-26 | M22x1.5 | M26x1.5 15 18 12.5 | 12 27 33
1C-22-30 | M22x1.5 | M30x2 15 22 12.5 | 14 32 36.5
1C-26-30 | M26x1.5 | M30x2 18 22 12 14 32 37
1C-26-36 | M26x1.5 | M36x2 18 28 12 14 36 37
1C-30-36 M30x2 M36x2 22 28 14 14 36 39
1C-30-45 M30x2 M45x2 22 35 14 16 46 43
1C-33-45 M33x2 M45x2 25 35 16 16 46 45

B R SRR R B, WA A4 5 RN, 41 1C-22-26RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1C-22-26RN.

- 16 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

A - A
1C
w| = = w
NHIFMELR4° R
7 METRIC MALE 24° L.T.
Sl
e #2240 THREADE | % 1*4M?% TUBE 0.D. JU_~J DIMENSIONS
PART NO. E D1 A S1 L
1C-12 M12x1.5 10 12 26
1C-14 M14x1.5 8 11 14 28
1C-16 M16x1.5 10 11 17 28
1C-18 M18x1.5 12 11.5 19 29
1C-22 M22x1.5 15 12.5 24 33
1C-26 M26x1.5 18 12 27 34
1C-30 M30x2 22 14 32 39
1C-36 M36x2 28 16 36 43
1C-45 M45x2 35 16 46 45
1C-52 M52x2 42 16 55 49
L
A - A
1D
w| = = w
%// AHIGMEL24° F R
METRIC MALE 24° H.T.
st/
= RZL THREADE | J°4M#% TUBE 0.D. JU <} DIMENSIONS
PART NO. E D1 A s1 L
1D-14 M14x1.5 6 12 14 30
1D-16 M16x1.5 8 12 17 30
10-18 M18x1.5 10 12 19 30
1D-20 M20x1.5 12 12 22 31
1D-22 M22x1.5 14 14 24 36
1D-24 M24x1.5 16 14 27 38
1D-30 M30x2 20 16 32 43
1D-36 M36x2 25 18 36 47
1D-42 M42x2 30 20 46 52
1D-52 M52x2 38 22 55 61
FlE it R R R IR R T B, SRS 5N RN, 41 1D-22RN" ([ 1)

Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1D-22RN. (the same with

above)

- 17 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

1D

w| = ' Ny
> AHSMBEL TRIVER
METRIC MALE 24° H.T. REDUCERS
S
o5 WREL THREADE - 74M% TUBE 0.D. JU I DIMENSIONS

PART NO. E D1 D2 A B s1 L
10-14-16 | M14x1.5 | M16x1.5 6 8 12 12 17 30
10-14-18 | M14x1.5 | M18x1.5 6 10 12 12 19 30
1D-14-20 | M14x1.5 | M20x1.5 6 12 12 12 22 32
1D-16-18 | M16x1.5 | M18x1.5 8 10 12 12 19 30
10-16-20 | M16x1.5 | M20x1.5 8 12 12 12 22 32
1D-18-20 | M18x1.5 | M20x1.5 10 12 12 12 22 32
1D-18-22 | M18x1.5 | M22x1.5 10 14 12 14 24 34
10-18-30 | M18x1.5 | M30x2 10 20 12 16 32 39
10-20-22 | M20x1.5 | M22x1.5 12 14 12 14 24 34
1D0-20-24 | M20x1.5 | M24x1.5 12 16 12 14 27 36
10-20-30 | M20x1.5 | M30x2 12 20 12 16 32 39
1D0-22-24 | M22x1.5 | M24x1.5 14 16 14 14 27 38
10-24-30 | M24x1.5 | M30x2 16 20 14 16 32 4
1D-24-36 | M24x1.5 | M36x2 16 25 14 18 36 43
1D-30-36 M30x2 | M36x2 20 25 16 18 36 45
1D-30-42 M30x2 | M42x2 20 30 16 20 46 48
1D-36-42 M36x2 | M42x2 25 30 18 20 46 50
1D-42-52 M42x2 | M52x2 30 38 20 22 55 59

ik s WA R SRR R AT BT, WS AR5 J5 RN, 101 1D-22-24RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1D-22-24RN.

- 18 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

E
- D1
) . 1C9
s 90° AHISMERL24° R
y\y 90° METRIC MALE 24° L.T.
A .Sl
e BE4L THREADE 4% TUBE 0.D. J& <} DIMENSIONS
PART NO. E D1 A S1
1C9-12 M12x1.5 6 25 11
1C9-14 M14x1.5 8 29 14
1C9-16 M16x1.5 10 30 17
1C9-18 M18x1.5 12 33 19
1€9-22 M22x1.5 15 37 22
1C9-26 M26x1.5 18 41 27
1C9-30 M30x2 25 41 27
1C9-36 M36x2 28 46 33
1C9-45 M45x2 35 55 44
1C9-52 M52x2 42 59 55
E
D1

T 109

\’ 90° Aiil4hiEL24° EHART
90° METRIC MALE 24° H.T.

= |l
wl

A .S
e UR4L THREADE | % 14p% TUBE 0.D. R I DIMENSIONS
PART NO. E D1 A s1
109-14 M14x1.5 6 29 14
109-16 M16x1.5 8 30 17
109-18 M18x1.5 10 33 19
109-20 M20x1.5 12 37 22
109-22 M22x1.5 14 37 22
109-24 M24x1.5 16 33 24
109-30 M30x2 20 41 27
109-42 M42x2 30 57 44
109-52 M52x2 38 59 50

FVE DT R S RERIR R B, WIRELEAR S 5 RN, 1" 1D9-22RN™ ([ )

Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1D9-22RN.(the same with
above)

- 19 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

S2 s1
2C
" | =
W ; | AHINIZER4" 1ARIINEER4 RS
METRIC FEMALE 24° /METRIC MALE 24° L.T.
C
o 24 THREADE 1 4M#% TUBE 0.D. JU <t DIMENSIONS
PART NO. E F D1 C S1 S2
2C-12 M12x1.5 | M12x1.5 6 12 17
2C-12-14 M12x1.5 | M14x1.5 6 3.5 14 19
2C-12-16 M12x1.5 | M16x1.5 6 3.5 14 22
2C-14 M14x1.5 | M14x1.5 8 3.5 14 19
2C-14-16 M14x1.5 | M16x1.5 8 3.5 14 22
2C-14-18 M14x1.5 | M18x1.5 8 3.5 17 24
2C-16 M16x1.5 | M16x1.5 10 3.5 17 22
2C-16-18 M16x1.5 | M18x1.5 10 3.5 17 24
2C-16-22 M16x1.5 | M22x1.5 10 3 22 27
2C-18 M18x1.5 | M18x1.5 12 3.5 17 24
2C-18-22 M18x1.5 | M22x1.5 12 3 22 27
2C-12-26 M12x1.5 | M26x1.5 6 3.5 24 32
2C-22-26 M22x1.5 | M26x1.5 15 3.5 24 32
2C-26 M26x1.5 | M26x1.5 18 3.5 24 32
2C-26-30 M26x1.5 M30x2 18 4.5 30 36
2C-26-36 M26x1.5 M36x2 18 4.5 36 41
2C-30 M30x2 M30x2 22 4.5 30 36
2C-30-36 M30x2 M36x2 22 4.5 36 41
2C-30-45 M30x2 M45x2 22 5.5 46 55
2C-36-45 M36x2 M45x2 28 5.5 46 55
2C-45 M45x2 M45x2 35 5.5 46 55
2C-45-52 M45x2 M52x2 35 6.5 55 60
2C-52 M52x2 M52x2 42 6.5 55 60
W R R IR BT O, W AEACS S N RN, 12C-22-26RN™
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 2C-22-26RN.

- 20 -



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

S2 s1
2D
n | = w
W ‘ | INIRIRLRA° JATIANRL24° RS
METRIC FEMALE 24° /METRIC MALE 24° H.T.
C
R MB4r THREADE | #%F-4M#% TUBE 0.D. JU st DIMENSIONS
PART NO. E F D1 C S1 S2
2D-14-16 M14x1.5 | M16x1.5 6 3.5 14 22
2D-14-18 M14x1.5 | M18x1.5 6 3 17 24
2D-14-20 M14x1.5 | M20x1.5 6 3 19 27
2D-16-18 M16x1.5 | M18x1.5 8 3 17 24
2D-16-20 M16x1.5 | M20x1.5 8 3 19 27
2D-16-22 M16x1.5 | M22x1.5 8 2.5 22 27
2D-18-20 M18x1.5 | M20x1.5 10 3 19 27
2D-18-22 M18x1.5 | M22x1.5 10 2.5 22 27
2D-20-22 M20x1.5 | M22x1.5 12 2.5 22 27
2D-16-24 M16x1.5 | M24x1.5 8 3.5 22 30
2D-18-24 M18x1.5 | M24x1.5 10 3.5 22 30
2D-20-24 M20x1.5 | M24x1.5 12 3.5 22 30
2D-20-30 M20x1.5 M30x2 12 4.5 30 36
2D-22-24 M22x1.5 | M24x1.5 14 3.5 22 30
2D-22-30 M22x1.5 M30x2 14 4.5 30 36
2D-24-30 M24x1.5 M30x2 16 4.5 27 36
2D-30-36 M30x2 M36x2 20 3.5 36 41
2D-30-42 M30x2 M42x2 20 5.5 41 50
2D-33-42 M33x2 M42x2 22 5.5 41 50
2D-33-52 M33x2 M52x2 22 7 50 60
2D-42-52 M42x2 M52x2 30 7 50 60
Flk D IR R SRR R AT BT, WS AEAX 5 J5 RN, 412D -22-30RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 2D-22-30RN.

- 21 -



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

- E .
I

Y S2

2C9

90° AN IRZ24° /

NHIIMEL24° 1% AR A
90° METRIC FEMALE 24° /

METRIC MALE 24° L.T.

A s1
fo= U240 THREADE & -F4M% TUBE 0.D. J& <} DIMENSIONS
PART NO. E F D1 A c S1 S2
2C9-12 M12x1.5 | M12x1.5 6 25 2 11 17
29-14 M14x1.5 | M14x1.5 8 29 | 3.5 | 14 19
2C9-16 M16x1.5 | M16x1.5 10 30 | 3.5 | 17 22
2C9-18 M18x1.5 | M18x1.5 12 33 | 3.5 | 19 24
2C9-22 M22x1.5 | M22x1.5 15 37 3 22 27
2C9-26 M26x1.5 | M26x1.5 18 41 | 3.5 27 32
2C9-30 M30x2 M30x2 22 41 | 4.5 | 27 36
2C9-36 M36x2 M36x2 28 46 | 4.5 | 33 41
2C9-45 M45x2 M45x2 35 55 | 5.5 | 44 55
2C9-52 M52x2 M52x2 42 5 | 6.5 | 55 60

-—E

e

2D9

90° AhINIRL24° /

INHIAMEL24° B R
90° METRIC FEMALE 24° /

METRIC MALE 24° H.T.

A s1
foE U240 THREADE | % 1-4}% TUBE 0.D. JU <} DIMENSIONS
PART NO. E F D1 A c s1 s2
2D9-14 M14x1.5 | M14x1.5 6 29 3 14 19
2D9-16 M16x1.5 | M16x1.5 8 30 | 3.5 | 17 22
2D9-18 M18x1.5 | M18x1.5 10 33 3 19 24
2D9-20 M20x1.5 | M20x1.5 12 37 3 22 27
2D9-22 M22x1.5 | M22x1.5 14 37 | 2.5 | 22 27
2D9-30 M30x2 | M30x2 20 41 | 45 | 27 36
2D9-36 M36x2 | M36x2 25 46 | 3.5 | 33 1
2D9-42 MA2x2 | M42x2 30 55 | 5.5 | 44 | 50
2D9-52 M52x2 | M52x2 38 59 7 55 60

A TR B KRBT B, W AEAC S J5 RN, 2172D9-22RN™ - (JA] L)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 2D9-22RN.(the same with

above)

- 22 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

S1 S1

3C

NN IRZ24° RS
METRIC FEMALE 24° L.T.

=) 124 THREADE & T4MzE TUBE 0.D. JU st DIMENSIONS
PART NO. E D1 C S1
3C-12 M12x1.5 6 2 17
3C-14 M14x1.5 8 3.5 | 19
3C-16 M16x1.5 10 3.5 | 22
3c-18 M18x1.5 12 3.5 | 24
3C-22 M22x1.5 15 3 27
3C-26 M26x1.5 18 3.5 | 32
3C-30 M30x2 22 4.5 | 36
3C-36 M36x2 28 4.5 | 41
3C-45 M45x2 35 5.5 | 55
3C-52 M52x2 42 6.5 | 60
s1 s1

3D

NHINIRZ24° AR

E
D1
N
§:
D1
E

) METRIC FEMALE 24° H.T.
e
o BRZL THREADE B 14M= TUBE 0.D. JU <} DIMENSIONS
PART NO. E D1 C S1
3D-14 M14x1.5 6 3 19
3D-16 M16x1.5 8 3.5 | 22
3D-18 M18x1.5 10 3 24
3D-20 M20x1.5 12 3 27
3D-22 M22x1.5 14 2.5 | 27
3D-24 M24x1.5 16 3.5 | 30
3D-30 M30x2 20 4.5 | 36
3D-36 M36x2 25 3.5 | 4
3D-42 M42x2 30 5.5 | 50
3D-52 M52x2 38 7 60

- 23 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

L
A
y— \
4C
=
NHEL24° 2Rk
METRIC MALE 24° L.T. PULG
S1
o= 4L THREADE & 4% TUBE 0.D. JU <) DIMENSIONS
PART NO. E D1 A S1 L
4C-12 M12x1.5 6 10 12 16
4C-14 M14x1.5 8 1 14 17
4C-16 M16x1.5 10 11 17 17
4C-18 M18x1.5 12 11.5 19 17.5
4C-22 M22x1.5 15 12.5 24 20
4C-26 M26x1.5 18 12 27 22
4C-30 M30x2 22 14 32 25
4C-36 M36x2 28 16 36 27
4C-45 M45x2 35 18 46 31
4C-52 M52x2 42 19 55 36
L
A
= 4D
N ;.
NRIRS24° TR
METRIC MALE 24° H.T. PLUG
s1
5 I24r THREADE ETHM% TUBE 0.D. JU ~J DIMENSIONS
PART NO. E D1 A s1 L
4D-14 M14x1.5 6 12 14 18
4D-16 M16x1.5 8 12 17 18
4D-18 M18x1.5 10 12 19 18
4D-20 M20x1.5 12 12 22 19
4D-22 M22x1.5 14 14 24 22
4D-30 M30x2 20 16 32 26
4D-36 M36x2 25 18 36 29
4D-42 M42x2 30 20 46 32
4D-52 M52x2 38 22 55 39
B TR B RIS B, W AEA S )5 RN, 4i1m4D-22RN" () 1)

Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 4D-22RN. (the same with

above)

- 24 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

A s1

—

H\ H\ 6C
7 Vo ABAMBLI2A" R I Bk
7

METRIC MALE 24° L.T. BULKHEAD

e RZL THREADE 4% TUBE 0.D. JU <} DIMENSIONS
PART NO. E D1 A S1
6C-12 M12x1.5 6 10 12
6C-14 M14x1.5 8 11 14
6C-16 M16x1.5 10 11 17
6C-18 M18x1.5 12 11.5 19
6C-22 M22x1.5 15 12.5 24
6C-26 M26x1.5 18 12 27
6C-30 M30x2 22 14 32
6C-33 M33x2 25 16 36
6C-45 M45x2 35 18 46
6C-52 M52x2 42 19 55
A s1

6D
“{%u 7 %%7ﬂm AIIMES4° T RTAE

METRIC MALE 24° H.T. BULKHEAD

e U247 THREADE FHM% TUBE 0.D. JU <} DIMENSIONS
PART NO. E D1 A s1
6D-14 M14x1.5 6 12 14
6D-16 M16x1.5 8 12 17
6D-18 M18x1.5 10 12 19
6D-20 M20x1.5 12 12 22
6D-22 M22x1.5 14 14 24
6D-24 M24x1.5 16 14 27
6D-30 M30x2 20 16 32
6D-36 M36x2 25 18 36
6D-42 M42x2 30 20 46
6D-52 M52x2 38 22 55

ol DA R REIR BT B, WIS AEAC S 5 N RN™, J16D-22RN" Al iy B RRT B, TEAERS S
JRULN", an6D-22LN" ([F] L)

Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 6D-22RN.order the
adapter with cutting ring and nut,insert suffix"LN"after part NO for example "6D-22LN"(the same
with above)

- 25 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

E
~D1
i 6C9
j =
MS\F'V ) 00° AIAMBLRA® HFFIITH
) . 90° METRIC MALE 24° L.T. BULKHEAD
R 247 THREADE J& <} DIMENSIONS
PART NO. E & fpMz [TUBE 0.D. A s1
6C9-12 M12x1.5 6 25 11
6C9-14 M14x1.5 8 29 14
6C9-16 M16x1.5 10 30 17
6C9-18 M18x1.5 12 33 19
6C9-22 M22x1.5 15 37 22
6C9-26 M26x1.5 18 4 27
6C9-30 M30x2 22 41 27
6C9-36 M36x2 28 46 33
6C9-45 MA5X2 35 55 44
6C9-52 M52x2 42 59 55
E
~DL
T 6D9
=
MS(F'WH_ 00° AAHIAMBLA" TRFI B
) s1 90° METRIC MALE 24° H.T. BULKHEAD
o BRZL THREADE #4M+= TUBE 0.D. JX <] DIMENSIONS
PART NO. E D1 A Sl
6D9-14 M14x1.5 6 29 14
6D9-16 M16x1.5 8 30 17
6D9-18 M18x1.5 10 33 19
6D9-20 M20x1.5 12 37 22
6D9-22 M22x1.5 14 37 22
6D9-30 M30x2 20 41 27
6D9-36 M36x2 25 41 27
6D9-42 M42x2 30 55 44
6D9-52 M52x2 38 59 55

BVE N R R IT O, WIS AE AT 5 N RN™, W16D9-22RN" I BRI B, WS A
JnULNT, 4neD9-22LN ([ 1)

Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 6D9-22RN.order the
adapter with cutting ring and nut,insert suffix"LN"after part NO for example "6D9-22LN"(the same
with above)

- 26 -



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

8C

P TIRECR]

METRIC LOCK NUT

=) IR4 THREADE JU =) DIMENSIONS
PART NO. E A S1
8C-10 M10x1 14
8C-12 M12x1.5 7.5 17
8C-14 M14x1.5 7.5 19
8C-16 M16x1.5 7.5 22
8C-18 M18x1.5 7.5 24
8C-20 M20x1.5 8 27
8C-22 M22x1.5 8 27
8C-24 M24x1.5 8 30
8C-26 M26x1.5 8 32
8C-27D M27x1.5 10 32
8C-30 M30x2 10 36
8C-30D M30x1.5 10 36
8C-36 M36x2 10 41
8C-38 M38x2 10 46
8C-42 M42x2 10 50
8C-45 M45x2 10 55
8C-52 M52x2 10 60

- 27 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

s1
9C
AFINIEL24° BRIk
7 METRIC FEMALE 24° L.T. PLUG
c
o B4 THREADE B14M+ TUBE 0.D. JU <t DIMENSIONS
PART NO. E D1 c s1
9C-12 M12x1.5 6 2 14
9C-14 M14x1.5 8 2 17
9C-16 M16x1.5 10 2 19
9c-18 M18x1.5 12 2.5 | 22
9C-22 M22x1.5 15 3 27
9Cc-26 M26x1.5 18 3.5 | 32
9C-30 M30x2 22 3.5 | 36
9C-36 M36x2 28 4 M
9C-45 M45x2 35 5 55
9C-52 M52x2 42 6 60
S1
9D
w 3
NHINEL24° FHRYEE K
-~ 27 METRIC FEMALE 24° H.T. PLUG
c
= 22 THREADE & 14M# TUBE 0.D. JU <] DIMENSIONS
PART NO. E D1 o s1
9D-16 M16x1.5 8 2 19
9D-18 M18x1.5 10 2 22
9D-20 M20x1.5 12 3 24
9D-22 M22x1.5 14 2.5 27
9D-24 M24x1.5 16 3 30
9D-30 M30x2 20 3.5 | 36
9D-36 M36x2 25 3 4
9D-42 M42x2 30 5 50
9D-52 M52x2 38 6.5 60

- 28 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

L

3:

1CN

v 8 2 [ ¢ ARISMELA° KRG
722 A e HMEZL60 °
% NE METRIC MALE 24° L.T.
1 /NPT MALE 60°
fo= 124 THREADE E4ME TUBE 0.D. &~} DIMENSIONS
PART NO. E F D1 A B S1 L
10N-12-02 | M12x1.5 | 71/8"X27 6 10 | 10 | 12 26
1CN-12-04 | M12x1.5 | z1/4"X18 6 10 | 14 | 14 31
1CN-14-04 | M14x1.5 | z1/4"X18 8 11 | 14 | 14 31
1CN-16-04 | M16x1.5 | Zz1/4X18 10 1 | 14 | 17 32.5
1CN-16-06 | M16x1.5 | Z73/8"X18 10 11 | 14 | 17 32.5
1CN-18-04 | M18X1.5 | z1/4"X18 12 11.5 | 14 | 19 31.5
1CN-18-06 | M18x1.5 | Zz3/8"X18 12 11.5 | 14 | 19 31.5
1CN-18-08 | M18x1.5 | z1/2"X14 12 115 | 19 | 22 38
1CN-22-08 | M22x1.5 | z1/2"X14 15 125 | 19 | 24 39
1CN-22-20 | M22x1.5 |z1.1/4"X11.5| 15 125 | 25 | 46 50.5
1CN-26-08 | M26x1.5 | z1/2"X14 18 12 | 19 | 27 40
1CN-26-12 | M26x1.5 | Z73/4"X14 18 12 |19.5 | 27 40
1CN-30-08 | M30x2 | z1/2"X14 22 14 | 19 | 32 43
10N-30-12 | M30x2 | z3/4"X14 22 14 |19.5 | 32 43.5
1CN-36-16 | M36x2 | Z1"X11.5 28 16 | 24 | 36 51
1CN-36-20 | M36x2 |z1.1/4"X11.5| 28 16 | 25 | 46 54
1CN-45-20 | M45x2 |71.1/4"X11.5| 35 18 | 25 | 46 56
1CN-52-20 | M52x2 |71.1/4"X11.5| 42 19 | 25 | 55 61
1CN-52-24 | M52x2 |z1.1/2"X11.5| 42 19 | 25 | 55 61

kWA R SRR B, W AEAX 5 5 RN, 401 1CN-22-08RN"™
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1CN-22-08RN.

- 29 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

L

3:

D1

1DN

NISMES24° ERYI/
AT HER HMIZAL60 °
METRIC MALE 24° H.T.
/NPT MALE 60°

R MR THREADE & 14M% TUBE 0.D. JU < DIMENSIONS
PART NO. E F D1 A B S1 L
1DN-14-04 M14x1.5 Z1/4"X18 6 12 14 14 32
1DN-16-04 M16x1.5 Z1/4"X18 8 12 14 17 32
1DN-18-04 M18x1.5 Z21/4"X18 10 12 14 19 32
1DN-18-06 M18x1.5 Z3/8"X18 10 12 14 19 32
1DN-20-04 M20x1.5 Z71/4"X18 12 12 14 22 33
1DN-20-06 M20x1.5 Z3/8"X18 12 12 14 22 33
1DN-20-08 M20x1.5 71/2""X14 12 12 19 22 38
1DN-22-08 M22x1.5 Z21/2"X14 14 14 19 24 41
1DN-24-08 M24x1.5 21/2"X14 16 14 19 27 42
1DN-30-12 M30x2 73/4"X14 20 16 19.5 32 45.5
1DN-36-16 M36x2 Z1"X11.5 25 18 24 36 53
1DN-42-16 M42x2 Z1"X11.5 30 20 24 46 57
1DN-42-20 M42x2 (z1.1/4"X11.5 30 20 25 46 58
1DN-52-24 M52x2  [z1.1/2""X11.5 38 22 25 55 64
ok Tl R K RIS B, WIS AEAC S 5 N RN, 1™ 1DN-22-08RN™
Remark:In case if you are interested to order the adapter in complete set with cutting ring and

nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1DN-22-08RN.

- 30 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

m

D1
: — 1CN9
@
| % 00 AMIAMRLAS FERI/
2 A SR 2060
5{%\___ 90° METRIC MALE 24° L.T.
A S1 /NPT MALE 60°
= 247 THREADE 1 4M# TUBE 0.D. J& <} DIMENSIONS

PART NO. E F D1 A B S1

1CN9-12-02 | M12x1.5 | z1/8"X27 6 25 25 11
1CN9-12-04 | M12x1.5 | Zz1/4"X18 6 27 29 14
1CN9-14-04 | M14x1.5 | Zz1/4"X18 8 27 29 14
1CN9-16-06 | M16x1.5 | Z3/8"X18 10 29 30 17
1CN9-18-04 | M18x1.5 | Zz1/4"Xx18 12 33 33 19
1CN9-18-06 | M18x1.5 | Zz3/8"X18 12 33 33 19
1CN9-18-08 | M18x1.5 | z1/2"X14 12 37 37 22
1CN9-22-06 | M22x1.5 | Zz3/8"Xx18 15 37 37 22
1CN9-22-08 | M22x1.5 | Z71/2"X14 12 37 37 22
1CN9-26-08 | M26x1.5 | z1/2"X14 18 41 41 27
1CN9-26-12 | M26x1.5 | Z3/4"X14 18 41 41 27
1CN9-30-12 | M30x2 73/4"X14 22 41 41 27
1CN9-30-16 | M30x2 71"X11.5 22 49 49 33
1CN9-36-16 | M36x2 71"X11.5 28 46 46 33
1CN9-45-20 | M45x2 |71.1/4"X11.5| 35 55 55 44
1CN9-52-24 | M52x2 |71.1/2"X11.5| 42 57 60 55

FVE TN R R R IR R T B, WIS AEAC S 5 RN, 41" 1CN9-22-08RN™
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1CN9-22-08RN.

- 31 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

D1
= 1DN9
o
% 90° AffsMREL24° W R
3 /AT HEE SR Z60 °
5{%\___ 90° METRIC MALE 24° H.T.
. S1 /NPT MALE 60°
e R4 THREADE & 14Mt TUBE 0.D. ] ~F DIMENSIONS

PART NO. E F D1 A B S1
1DN9-14-04 | M14x1.5 | Z1/4"X18 6 27 29 14
1DN9-16-04 | M16x1.5 | Z1/4"X18 8 29 30 17
1DN9-18-06 | M18x1.5 | Z3/8"X18 10 33 33 19
1DN9-20-04 | M20x1.5 | Z1/4"X18 12 37 37 22
1DN9-20-06 | M20x1.5 | Z3/8"X18 12 37 37 22
1DN9-22-06 | M22x1.5 | Z3/8"X18 14 37 37 22
1DN9-22-08 | M22x1.5 | Z1/2"X14 14 37 37 22
1DN9-24-06 | M24x1.5 | Z3/8"X18 16 37 33 24
1DN9-24-08 | M24x1.5 | Z1/2"X14 16 33 37 24
1DN9-30-08 | M30x2 | Z1/2"X14 20 40 40 27
1DN9-30-12 | M30x2 | Z3/4"X14 20 40 40 27
1DN9-36-16 | M36x2 Z1"X11.5 28 49 49 33
1DN9-42-16 | M42x2 Z1"X11.5 30 57 57 44
1DN9-42-20 | M42x2 |z1.1/4"X11.5| 30 57 57 44
1DN9-52-20 | M52x2 |Z1.1/4"X11.5| 38 56 60 55
1DN9-52-24 | M52x2 |Z1.1/2"X11.5| 38 56 60 55

AVE TR BN R B IR AT B, W AE A5 /5 0 RN, 41" 1DN9-22-08RN"
Remark:1In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1DN9-22-08RN.

- 32 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

[
SE

1CT

NiFISMELGR4° AR/
SEHEE SMRE60°
METRIC MALE 24° L.T./

s1/ BSPT MALE 60°
= B240 THREADE &4M% TUBE 0.D. JU ~F DIMENSIONS
PART NO. E F D1 A B S1 L
1CT-12-02 | M12x1.5 | ZG1/8"X28 6 10 10 12 26
1CT-12-04 | M12x1.5 | ZG1/4"'X19 6 10 14 14 31
1CT-14-04 | M14x1.5 | ZG1/4"'X19 8 1 14 14 31
1CT-16-04 | M16x1.5 | ZG1/4"'X19 10 11 14 17 32.5
1CT-16-06 | M16x1.5 | ZG3/8"'X19 10 1 14 17 32.5
1CT-18-04 | M18x1.5 | ZG1/4"'X19 12 11.5 | 14 19 31.5
1CT-18-06 | M18x1.5 | ZG3/8"'X19 12 11.5 | 14 19 31.5
1CT-18-08 | M18x1.5 | ZG1/2"X14 12 11.5 | 19 22 38
1CT-22-08 | M22x1.5 | ZG1/2"'X14 15 12.5 | 19 24 39
1CT-22-20 | M22x1.5 |ZzG1.1/4"X11| 15 12.5 | 25 46 50.5
1CT-26-08 | M26x1.5 | zG1/2"X14 18 12 19 27 40
1CT-26-12 | M26x1.5 | ZG3/4"X14 18 12 | 19.5 | 27 40
1CT-30-08 M30x2 | ZG1/2"'X14 22 14 19 32 43
1CT-30-12 M30x2 | ZG3/4"'X14 22 14 | 19.5 | 32 43.5
1CT-36-16 M36x2 Z61"X11 28 16 24 36 51
1CT-36-20 M36x2 | Zz61.1/4"X11 28 16 25 46 54
1CT-45-20 M45x2 | zG1.1/4"X11| 35 18 25 46 56
1CT-52-20 M52x2 | Z61.1/4"X11 42 19 25 55 61
1CT-52-24 M52x2 | z61.1/2"X11 42 19 25 55 61

Foi s WA R KRR R AT BT, WS AEAC S J5 RN, 41 1CT-22-08RN™
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1CT-22-08RN.

- 33 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

1DT

= : | ¢ NHISMREG24° HRA/
o1/ 7 \L BSPT MALE 60°

e 24 THREADE B ¥5Mz TUBE 0.D. JU < DIMENSIONS
PART NO. E F D1 A B s1 L
1DT-14-04 | M14x1.5 | ZG1/4"X19 6 12 14 14 32
1DT-16-04 | M16x1.5 | ZG1/4"X19 8 12 14 17 32
1DT-18-04 | M18x1.5 | ZG1/4"X19 10 12 14 19 32
1DT-18-06 | M18x1.5 | ZG3/8"X19 10 12 14 19 32
1DT-20-04 | M20x1.5 | ZG1/4"X19 12 12 14 22 33
1DT-20-06 | M20x1.5 | ZG3/8"X19 12 12 14 22 33
1DT-20-08 | M20x1.5 | ZG1/2"X14 12 12 19 22 38
1DT-22-08 | M22x1.5 | ZG1/2"X14 14 14 19 24 41
1DT-24-08 | M24x1.5 | Z61/2"X14 16 14 19 27 42
1DT-30-12 M30x2 | 7G3/4"X14 20 16 | 19.5 | 32 45.5
1DT-36-16 M36x2 Z61"X11 25 18 24 | 36 53
1DT-42-16 M42x2 Z61"X11 30 20 24 | 46 57
1DT-42-20 MA2x2 | Z61.1/4"X11| 30 20 25 | 46 58
1DT-52-24 M52x2 | Z61.1/4"X11| 38 22 25 | 55 64

Foik s WA R SRR R AT BT, WS AR5 J5 RN, 101 1CT-22-08RN™
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1CT-22-08RN.

- 34 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

m

D1
i — 1CT9
.
% 00° AHIIMELA® R/
2 SEHE R A1 2060
5%%\___ 90° METRIC MALE 24° L.T./
N S1 BSPT MALE 60°
foe W24 THREADE ¥ 15142 TUBE 0.D. I DIVENSIONS
PART NO. E F D1 A B S1
1CT9-12-02 M12x1.5 2G1/8''X28 6 25 25 11
1CT9-12-04 M12x1.5 2G1/4"X19 6 27 29 14
1CT9-14-04 M14x1.5 2G1/4"X19 8 27 29 14
1CT9-16-06 M16x1.5 Z2G3/8'"'X19 10 29 30 17
1CT9-18-04 M18x1.5 2G1/4"X19 12 33 33 19
1CT9-18-06 M18x1.5 2G3/8'"'X19 12 33 33 19
1CT9-18-08 M18x1.5 Z2G1/2""X14 12 37 37 22
1CT9-22-06 M22x1.5 Z2G3/8'"X19 15 37 37 22
1CT9-22-08 M22x1.5 2G1/2""X14 12 37 37 22
1CT9-26-08 M26x1.5 2G1/2""X14 18 41 41 27
1CT9-26-12 M26x1.5 Z2G3/4"X14 18 41 41 27
1CT9-30-12 M30x2 2G3/4"X14 22 41 41 27
1CT9-30-16 M30x2 ZG1"X11 22 49 49 33
1CT9-36-16 M36x2 ZG1"X11 28 46 46 33
1CT9-45-20 M45x2 ZG1.1/4"X11 35 55 55 44
1CT9-52-24 M52x2 ZG1.1/2"X11 42 57 60 55

VL W R L R IR R AT B, WS AE AT 5 RN, 1"1CT9-22-08RN™
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1CT9-22-08RN.

- 35 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

E
D1
= 1DT9
@
%' 90° AiilFMREL24° /
2 JEHERE SMIRZ60° H AR
EXXQH__ 90° METRIC MALE 24° /
A S1 BSPT MALE 60° H.T.
e #2470 THREADE &1 4M+% TUBE 0.D. JU <t DIMENSIONS

PART NO. E F D1 A B s1
1DT9-14-04 | M14x1.5 | ZG1/4"'X19 6 27 29 14
1DT9-16-04 | M16x1.5 | ZG1/4"'X19 8 29 30 17
1DT9-18-06 | M18x1.5 | ZG3/8"'X19 10 33 33 19
1DT9-20-04 | M20x1.5 | ZG1/4"'X19 12 37 37 22
1DT9-20-06 | M20x1.5 | ZG3/8"'X19 12 37 37 22
1DT9-22-06 | M22x1.5 | ZG3/8"'X19 14 37 37 22
1DT9-22-08 | M22x1.5 | ZG1/2"X14 14 37 37 22
1DT9-24-06 | M24x1.5 | ZG3/8"X19 16 37 33 24
1DT9-24-08 | M24x1.5 | zG1/2"X14 16 33 37 24
1DT9-30-08 | M30x2 | ZG1/2"X14 20 40 40 27
1DT9-30-12 | M30x2 | ZG3/4"X14 20 40 40 27
1DT9-36-16 | M36x2 Z61"X11 25 49 49 33
1DT9-42-16 | M42x2 Z61"x11 30 57 57 44
1DT9-42-20 | M42x2 |ZG1.1/4"'X11 30 57 57 44
1DT9-52-20 | M52x2 | ZG1.1/4"X11 38 56 60 55
1DT9-52-24 | M52x2 |ZG1.1/2"X11 38 56 60 55

ol DA R REIR R T B, WIS AEAC S 5 RN, 1™ 1DT9-22-08RN™
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1DT9-22-08RN.

- 36 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

o 1CB

NSRS 24° 12 R4/ HLE MRl

28 a60° HEMZH &KL

¢ 6%%2?/ - METRIC MALE 24° SEAL L.T./BSP MALE
s1/

60°

DOUBLE 60° SEAT BONDED SEAL

i 24 THREADE % T4M7 TUBE 0.D. )~k DIMENSIONS
PART NO. E F D1 A B s1 L
1CB-12-02 | M12x1.5 | G1/8"X28 6 10 | 10 | 14 26
1CB-12-04 | M12x1.5 | G1/4"X19 6 10 | 12 | 19 28
1CB-14-02 | M14x1.5 | G1/8"X28 8 11 | 10 | 14 27
1CB-14-04 | M14x1.5 | 61/4"X19 8 1 | 12 | 19 29
1CB-14-06 | M14x1.5 | G3/8"X19 8 11 | 13.5 | 22 32
1CB-16-04 | M16x1.5 | GL/4"X19 10 1 | 12 | 19 29
1CB-16-06 | M16x1.5 | G3/8"X19 10 11 |13.5 | 22 32.5
1CB-16-08 | M16x1.5 | G1/2"X14 10 11 | 16 | 27 37
1CB-18-04 | M18x1.5 | G1/4"X19 12 1.5 12 | 19 29.5
1CB-18-06 | M18x1.5 | G3/8"X19 12 11.5 [ 13.5 | 22 32
1CB-18-08 | M18x1.5 | G1/2"X14 12 1.5 | 16 | 27 36
1CB-18-12 | M18x1.5 | G3/4"X14 12 11.5 | 18.5 | 32 40
1CB-22-06 | M22x1.5 | G3/8"X19 15 12.5 | 13.5 | 22 33
1CB-22-08 | M22x1.5 | G1/2"X14 15 125 | 16 | 27 37
1CB-26-08 | M26x1.5 | GL/2"X14 18 12 | 16 | 27 37
1CB-26-12 | M26x1.5 | G3/4"X14 18 12 |18.5 | 32 41.5
1CB-30-12 | M30x2 | G3/4"X14 22 14 |18.5 | 32 42.5
1CB-36-16 | M36x2 G1"X11 28 16 |20.5 | 41 48.5
1CB-45-20 | M45x2 | Gl.1/4"X11| 35 18 | 20.5 | 50 55.5
1CB-52-24 | M52x2 | GL.1/72"X11| 42 19 | 23 | 55 59

BVE N R R IR AR T 6, WS AE AT JE RN, 41" 1CB-22-08RN™
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1CB-22-08RN.

- 37 -



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

e O 1DB

INFIAMBL24° RS /TG IELL
260 ° HEI EZH & Hy A

2 6%%2?/ 7222 - METRIC MALE 24° SEALH.T./BSP MALE
s1/

60°

DOUBLE 60° SEAT BONDED SEAL

e #24r THREADE & T4M% TUBE 0.D. JX <} DIMENSIONS
PART NO. E F D1 A B S1 L
1DB-14-04 | M14x1.5 | G1/4"X19 6 12 12 19 30
1DB-16-04 | M16x1.5 | G1/4"X19 8 12 12 19 30
1DB-16-06 | M16x1.5 | G3/8"X19 8 12 |13.5 | 22 33
1DB-18-04 | M18x1.5 | G1/4"X19 10 12 12 19 30
1DB-18-06 | M18x1.5 | 63/8"X19 10 12 [13.5 | 22 33
1DB-18-08 | M18x1.5 | G1/2"X14 10 12 16 27 37
1DB-20-04 | M20x1.5 | G1/4"X19 12 12 12 22 31
1DB-20-06 | M20x1.5 | G3/8"X19 12 12 [13.5 | 22 33
1DB-20-08 | M20x1.5 | G1/2"X14 12 12 16 27 37
1DB-22-08 | M22x1.5 | G1/2"X14 14 14 16 27 39
1DB-24-06 | M24x1.5 | G3/8"X19 16 14 |13.5 | 27 36
1DB-24-08 | M24x1.5 | G1/2"X14 16 14 16 27 39
1DB-24-12 | M24x1.5 | G3/4"X14 16 14 |18.5 | 32 42.5
1DB-30-12 M30x2 | G3/4"X14 20 16 |18.5 | 32 44.5
1DB-36-16 M36x2 G1"X11 25 18 | 20.5 | 41 50.5
1DB-42-20 M42x2 | 61.1/4"X11| 30 20 | 20.5 | 50 57.5
1DB-52-24 M52x2 | G1.1/2"X11| 38 22 23 55 62

VLT R BN R B R AT B, WA S /5 0 RN™, 41" 1DB-22-08RN"
Remark:1In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1DB-22-08RN.

- 38 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

m

D1
= 1CB9
y/T <
. L » 90° AfhlMEL24° BRI/
e PERTIRL60° HET
X& 90° METRIC MALE 24° L.T.
B S1 /BSP MALE 60° CONE
= U2 THREADE & 74M# TUBE 0.D. JU I DIMENSIONS
PART NO. E F D1 A B S
1CB9-12-04 M12x1.5 G1/4"X19 6 29 27 14
1CB9-14-04 M14x1.5 G1/4"X19 8 29 27 14
1CB9-14-06 M14x1.5 3/8"X19 8 30 29 17
1CB9-16-04 M16x1.5 G1/4"X19 10 30 29 17
1CB9-16-06 | M16x1.5 | G3/8"X19 10 30 29 17
1CB9-16-08 M16x1.5 G1/2"X14 10 37 37 22
1CB9-18-04 M18x1.5 G1/4"X19 12 33 33 19
1CB9-18-06 | M18x1.5 | G3/8"X19 12 33 33 19
1CB9-18-08 M18x1.5 G1/2"X14 12 37 37 22
1CB9-22-06 M22x1.5 G3/8"X19 15 37 37 22
1CB9-22-08 M22x1.5 G1/2"X14 15 37 37 22
1CB9-26-08 M26x1.5 G1/2"X14 18 41 41 27
1CB9-30-12 | M30x2 | G3/4"X14 22 40 40 27
1CB9-36-16 | M36x2 G1"X11 28 46 46 33
1CB9-45-20 M45x2 61.1/74"X11 35 55 55 44
1CB9-52-24 M52x2 61.1/2"X11 42 61 57 55

FVE W R R R IR R AT B, WITEAE A5 5N RN™, 41" 1CB9-22-08RN™
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1CB9-22-08RN.

- 39 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

E
D1
j 1DB9
%/T <
. L » 90° AISMRL24° EAR/
3| G IRLL60 ° HE [ % &
X& 90° METRIC MALE 24° H.T./
B S1 BSP MALE BSP MALE 60° CONE
= 247 THREADE & -F4ME TUBE 0.D. J& <} DIMENSIONS
PART NO. E F D1 A B S1
1DB9-14-04 | M14x1.5 | G1/4"X19 6 29 27 14
1DB9-16-04 | M16x1.5 | G1/4"X19 8 30 29 17
1DB9-16-06 | M16x1.5 | G3/8"X19 8 30 29 17
1DB9-18-04 | M18x1.5 | G1/4"X19 10 33 33 19
1DB9-18-06 | M18x1.5 | G3/8"X19 10 33 33 19
1DB9-18-08 | M18x1.5 | G1/2"X14 10 37 37 22
1DB9-20-04 | M20x1.5 | G1/4"X19 12 37 37 22
1DB9-20-06 | M20x1.5 | G3/8"X19 12 37 37 22
1DB9-20-08 | M20x1.5 | G1/2"X14 12 37 37 22
1DB9-22-08 | M22x1.5 | G1/2"X14 14 37 37 22
1DB9-24-06 | M24x1.5 | G3/8"X19 16 37 33 24
1DB9-24-08 | M24x1.5 | G1/2"X14 16 37 33 24
1DB9-24-12 | M24x1.5 | G3/4"X14 16 41 41 27
1DB9-30-12 | M30x2 63/4"X14 20 41 41 27
1DB9-36-08 | M36x2 G1/2"X14 25 49 49 33
1DB9-36-12 | M36x2 63/4"X14 25 49 49 33
1DB9-36-16 | M36x2 61"X11 25 49 49 33
1DB9-42-20 | M42x2 | G1.1/4"X11 30 55 55 44
1DB9-52-24 | M52x2 | G1.1/2"X11 38 61 57 55

Foid s WA RS SRR R T B, WS AEAC S J5 N RN, 41" 1DB9-22-08RN™
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1DB9-22-08RN.

- 40 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

1CB-WD

INHIAMEL24° RN YIRS
) 60° iy T e

< METRIC MALE 24° L.T./BSP THREAD
WITH CAPTIVE SEAL

60°

s1
R 22 THREADE & Y41t TUBE 0.D. JU <} DIMENSIONS
PART NO. E F D1 A B s1
1CB-12-02WD | M12x1.5 | G1/8"X28 6 10 10 12
1CB-12-04WD | M12x1.5 | G1/4"X19 6 10 12 19
1CB-12-06WD | M12x1.5 | G3/8"X19 6 10 | 13.5 | 22
1CB-14-02WD | M14x1.5 | G1/8"X28 8 11 10 14
1CB-14-04WD | M14x1.5 | G1/4"X19 8 11 12 19
1CB-14-06WD | M14x1.5 | G3/8"X19 8 11 | 13.5 | 22
1CB-16-04WD | M16x1.5 | G1/4"X19 10 11 12 19
1CB-16-06WD | M16x1.5 | G3/8"X19 10 11 | 13.5 | 22
1CB-16-08WD | M16x1.5 | G1/2"X14 10 11 16 27
1CB-18-04WD | M18x1.5 | G1/4"X19 12 11.5 | 12 19
1CB-18-06WD | M18x1.5 | G3/8"X19 12 11.5 | 13.5 | 22
1CB-18-08WD | M18x1.5 | G1/2"X14 12 11.5 | 16 27
1CB-22-04WD | M22x1.5 | G1/4"X19 15 12.5 | 12 22
1CB-22-06WD | M22x1.5 | G3/8"X19 15 12.5 | 13.5 | 22
1CB-22-08WD | M22x1.5 | G1/2"X14 15 12.5 | 16 27
1CB-22-12WD | M22x1.5 | G3/4"X14 15 12.5 | 18.5 | 32
1CB-26-08WD | M26x1.5 | G1/2"X14 18 12 16 27
1CB-26-12WD | M26x1.5 | G3/4"X14 18 12 |18.5 | 32
1CB-30-12WD | M30x2 | G3/4"X14 22 14 | 18.5 | 32
1CB-36-16WD | M36x2 G1"X11 28 16 | 20.5 | 41
1CB-45-20WD | M45x2 | G1.1/4"X11| 35 18 | 20.5 | 50
1CB-52-24WD | M52x2 | G1.1/2"X11| 42 19 23 55

B s TR KR R R T B8, WA TEAC S S5 RN, 41" 1CB-22-08WD/RN"™
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut, it is necessary to insert suffix"RN" arter our part NO.,for example 1CB-22-08WD/RN.

- 41 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

A B
1DB-WD
W s “g NHISMRL24° H R/ FEIRLL
o 60° WHEM R
< METRIC MALE 24° H.T./BSP THREAD
o WITH CAPTIVE SEAL
RE U2 THREADE & T4Mz TUBE 0.D. JU ~) DIMENSIONS
PART NO. E F D1 A B s1
1DB-14-04WD | M14x1.5 | G1/4"X19 6 12 12 19
1DB-16-04WD | M16x1.5 | G1/4"X19 8 12 | 12 19
1DB-16-06WD | M16x1.5 | G3/8"X19 12 | 13.5 | 22
1DB-18-04WD | M18x1.5 | G1/4"X19 10 12 | 12 19
1DB-18-06WD | M18x1.5 | G3/8"X19 10 12 | 13.5 | 22
1DB-18-08WD | M18x1.5 | G1/2"X14 10 12 | 16 27
1DB-20-04WD | M20x1.5 | G1/4"X19 12 12 | 12 22
1DB-20-06WD | M20x1.5 | G3/8"X19 12 12 | 13.5 | 22
1DB-20-08WD | M20x1.5 | G1/2"X14 12 12 | 16 27
1DB-22-08WD | M22x1.5 | G1/2"X14 14 14 16 27
1DB-24-06WD | M24x1.5 | G3/8"X19 16 14 | 13.5 | 27
1DB-24-08WD | M24x1.5 | G1/2"X14 16 14 | 16 27
1DB-24-12WD | M24x1.5 | G3/4"X14 16 14 | 18.5 | 32
1DB-30-12WD | M30x2 | G3/4"X14 20 16 | 18.5 | 32
1DB-42-20WD | M42x2 | Gl.1/4"X11| 30 20 | 20.5| 50
1DB-52-24WD | M52x2 | Gl.1/2"X11| 38 22 23 | 55

BVE Nl R R IR AT 6, WS AEAC S JE RN, 41" 1DB-22-08RN™
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1DB-22-08RN.

- 42 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

A B
1CG
W a m ATHIIMRL24° BZ R/
YU AR SO I &
% METRIC MALE 24° L.T./
51 BSP MALE O-RING
Re 24 THREADE ¥ 14M% TUBE 0.D. S~} DIMENSIONS
PART NO. E F D1 A B S1 L
1CG-12-02 M12x1.5 61/8"X28 6 10 9 14 25
1CG-12-04 M12x1.5 G1/4"X19 6 10 12 14 28
1CG-14-04 M14x1.5 G1/4"X19 8 11 12 14 29
1CG-14-06 M14x1.5 G3/8"X19 8 11 13.5 22 32
1CG-14-08 M14x1.5 G1/2""X14 8 11 16 27 36
1CG-16-04 M16x1.5 G1/4"X19 10 11 12 19 29
1CG-16-06 M16x1.5 G3/8"X19 10 11 13.5 22 32
1CG-16-08 M16x1.5 G1/2"X14 10 11 16 27 36
1CG-18-06 M18x1.5 G3/8"X19 12 11.5 | 13.5 22 32
1CG-18-08 M18x1.5 G1/2"X14 12 11.5 16 27 36
1CG-22-06 M22x1.5 G3/8"X19 15 12.5 | 13.5 22 33
1CG-22-08 M22x1.5 G1/2"X14 15 12.5 16 27 37
1CG-22-12 M22x1.5 G3/4"X14 15 12.5 | 18.5 32 41
1CG-26-08 M26x1.5 G1/2"X14 18 12 16 27 37
1CG-26-12 M26x1.5 G3/4"X14 18 12 18.5 32 40.5
1CG-30-12 M30x2 G3/4"X14 22 14 18.5 32 42.5
1CG-30-16 M30x2 G1"X11 22 14 20.5 41 46.5
1CG-36-16 M36x2 G1"X11 28 16 20.5 41 48.5
1CG-45-20 M45x2 G1.1/74"X11 35 18 20.5 50 55
1CG-52-20 M52x2 G1.1/4"X11 42 19 20.5 55 56.5
1CG-52-24 M52x2 G1.1/2"X11 42 19 23 55 59
1CG-52-32 M52x2 G2 42 19 25.5 70 62.5
U R SR EIR R T B, W AR RN RN, 1 1CG-22-08RN"

Remark:In case if you are interested to order the adapter in complete set with cutting ring and

nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1CG-22-08RN.

- 43 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

A B
1DG
s . AHISNZL4° ERII/
A HMREZOMY B % 4
% METRIC MALE 24° H.T./
s1 BSP MALE O-RING
= U247 THREADE & 14M% TUBE 0.D. JU <} DIMENSIONS
PART NO. E F D1 A B S1 L
1DG-14-04 M14x1.5 G1/4"X19 12 12 19 30
1DG-16-04 M16x1.5 G1/4"X19 8 12 12 19 30
1DG-18-04 M18x1.5 G1/4"X19 10 12 12 19 30
1DG-18-06 M18x1.5 G3/8"X19 10 12 13.5 22 33
1DG-20-06 M20x1.5 G3/8"X19 12 12 13.5 22 33
1DG-20-08 M20x1.5 | G1/2"X14 12 12 16 27 37
1DG-22-06 M22x1.5 G3/8"X19 14 14 13.5 24 35
1DG-22-08 M22x1.5 G1/2"X14 14 14 16 27 39
1DG-24-08 M24x1.5 G1/2"X14 16 14 16 27 39
1DG-30-12 M30x2 G3/4"X14 20 16 18.5 32 445
1DG-36-16 M36x2 G1"X11 25 18 20.5 41 51.5
1DG-42-16 M42x2 G1"X11 30 20 20.5 46 53.5
1DG-42-20 M42x2 G1.1/4"X11 30 20 20.5 50 57.5
1DG-52-24 M52x2 G1.1/2"X11 38 22 23 55 62
FlE DA R R IR R T B, WIS AEAC S 5 N RN, 1™ 1DG-22-08RN™

Remark:1In case if you are interested to order the adapter in complete set with cutting ring and

nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1DG-22-08RN.

- 44 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

S2 <
1CG4-0G
T ki b 45° YOEIRL24° R FI NI K
— 45° BSP THREAD 24° L.T.ADJUSTABLE STUD.
\st
R 22 THREADE & Y4ME TUBE 0.D JU <} DIMENSIONS
PART NO. E F D1 A B S1 S2
1C64-12-020G | M12x1.5 | G1/8"X28 20 24 11 14
1C64-14-040G | M14x1.5 | G1/4"X19 8 22 27 14 19
1C64-16-040G | M16x1.5 | G1/4"X19 10 22 27 17 19
1C64-16-060G | M16x1.5 | G3/8"X19 10 22 30 17 22
1C64-18-060G | M18x1.5 | G3/8"X19 12 24 31 19 22
1C64-22-080G | M22x1.5 | G1/2"X14 15 27 36 22 27
1C64-26-080G | M26x1.5 | G1/2"X14 18 33 |37.5 | 27 27
1C64-26-120G | M26x1.5 | G3/4"X14 18 33 42 27 32
1C64-30-120G | M30x2 | G3/4"X14 22 33 |42.5 | 27 32
1C64-36-160G | M36x2 G1"X11 28 37 |44.5 | 33 41
1C64-45-200G | M45x2 | G1.1/4"X11| 35 41 |50.5 | 44 50
S2 <
1DG4-06
s
= 8( | ) 45° TERFIRL24° AR kL
— 45° BSP THREAD 24° H.T.ADJUSTABLE STUD.
\st
= HRZL THREADE B 14z TUBE 0.D. JU5J DIMENSIONS
PART NO. E F D1 A B s1 S2
1DG4-14-040G | M14x1.5 | G1/4"X19 6 22 27 14 19
1DG4-16-040G | M16x1.5 | G1/4"X19 8 22 27 17 19
1DG4-18-060G | M18x1.5 | G3/8"X19 10 24 31 19 22
1DG4-20-060G | M20x1.5 | G3/8"X19 12 27 31 22 22
1DG4-22-080G | M22x1.5 | G1/2"X14 14 27 36 22 27
1DG4-30-120G | M30x2 | G3/4"X14 20 33 | 42.5 | 27 32
1DG4-36-160G | M36x2 G1"X11 25 37 | 44.5 | 33 41
1DG4-42-200G | M42x2 | G1.1/4"X11 | 30 41 | 475 | 44 50

FVE T R RAERIR R T B, WIS TEAC S 5 RN, 1™ 1DG4-22-080G/RN™( [F] |)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1DG4-22-080G/RN. (the

same with above)




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

J2 T

1CGO-0G

90° HEIRL24° o ARH NT I [ Kb
90° BSP THREAD 24° L.T.ADJUSTABLE STUD

o #2227 THREADE % T-5M% TUBE 0.D ]~} DIMENSIONS

PART NO. E F D1 A B s1 | s2
1069-12-0206 | M12x1.5 | G1/8"X28 25 2.2 | 11 | 14
1C69-14-0406 | M14x1.5 | G1/4"X19 8 29 |31.3| 14 | 19
1C69-16-0406 | M16x1.5 | G1/4"X19 10 30 |32.5 | 17 | 19
1069-16-060G | M16x1.5 | G3/8"X19 10 30 |35.8 | 17 | 22
1C69-18-060G | M18x1.5 | G3/8"X19 12 33 |36.8| 19 | 22
1C69-22-080G | M22x1.5 | G1/2"X14 15 37 | 43.2 | 22 | 27
1C69-26-080G | M26x1.5 | G1/2"X14 18 41 | 46 | 27 | 27
1C69-30-1206 | M30x2 | G3/4"x14 22 40 | 52 | 27 | 32
1069-36-160G | M36x2 G1"X11 28 46 | 56 | 33 | 41
1C69-45-2006 | M45x2 | G1.1/4"X11| 35 55 | 63 | 44 | 50
1069-52-2406 | M52x2 | G1.1/2"X11| 42 59 | 68.5 | 55 | 55

s

1DG9-0G

90° JLEIRL24° TARFI AT I ) A3
90° BSP THREAD 24° H.T.ADJUSTABLE STUD

= HRZL THREADE & 14z TUBE 0.D. JU ~J" DIMENSIONS
PART NO. E F D1 A B S1 | s2
1DG9-14-040G | M14x1.5 | G1/4"X19 6 29 |31.3| 14 | 19
1DG9-16-040G | M16x1.5 | G1/4"X19 8 30 |32.5 | 17 19
1DG9-18-060G | M18x1.5 | G3/8"X19 10 33 |36.8 | 19 22
1DG9-20-060G | M20x1.5 | G3/8"X19 12 37 |36.8 | 22 22
1DG9-22-080G | M22x1.5 | G1/2"X14 14 37 | 43.2 | 22 27
1DG9-30-120G | M30x2 | G3/4"X14 20 40 52 | 27 | 32
1DG9-36-160G | M36x2 G1"X11 25 46 56 | 33 | 41
1D69-42-2006 | M42x2 |61.1/4"X11| 30 55 58 | 44 | 50

v TR AR E R T, WSS 5 I RN", 41" 1DG9-22-080G/RN" ([A] I)

Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1DG9-22-080G/RN. (the
same with above)

- 46 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

1CH

w3 w INHIAMERL24° B R/
7~ FH vt [ O 24 P %% s
¢ \//%/ METRIC MALE 24° L.T./
) METRIC MALE WITH O-RING
o 1240 THREADE &1 4M+% TUBE 0.D. JU <t DIMENSIONS
PART NO. E F D1 A B s1 L
1CH-12-10 | M12x1.5 | M1Ox1 6 10 | 8.5 | 12 24.5
1CH-14 M14x1.5 | M14x1.5 8 11 11 19 28
1CH-14-12 | M14x1.5 | M12x1.5 8 11 11 17 28
1CH-16-14 | M16x1.5 | M14x1.5 10 11 11 19 28
1CH-18-14 | M18x1.5 | M14x1.5 12 11.5 | 11 19 28.5
1CH-14-18 | M14x1.5 | M18x1.5 8 11 11 24 30
1CH-16 M16x1.5 | M16x1.5 10 11 11 22 29
1CH-16-18 | M16x1.5 | M18x1.5 10 11 11 24 30
1CH-18-16 | M18x1.5 | M16x1.5 12 1.5 | 11 22 30
1CH-22-16 | M22x1.5 | M16x1.5 12 12.5 | 11 24 31
1CH-22-18 | M22x1.5 | M18x1.5 15 12.5 | 11 24 31
1CH-16-22 | M16x1.5 | M22x1.5 10 11 12 27 32
1CH-22-20 | M22x1.5 | M20x1.5 15 12.5 | 12 27 33
1CH-22 M22x1.5 | M22x1.5 12 12.5 | 12 27 33
1CH-26-22 | M26x1.5 | M22x1.5 18 12 12 27 33
1CH-26 M26x1.5 | M26x1.5 18 12 13 32 35
1CH-26-27 | M26x1.5 | M27x2 18 12 13 32 35
1CH-30-22 M30x2 | M22x1.5 22 14 12 32 36
1CH-30-27 M30x2 M27x2 22 14 13 32 37
1CH-30 M30x2 M30x2 22 14 14 36 39
1CH-36-27 M36x2 M27x2 28 16 13 36 40

ik s WA R R IR R T BT, W A4S J5 RN, 41 1CH-22-08RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1CH-22-08RN.

- 47 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

1DH

NHISMEL24° ERY/

o
e } SMBLON AR TN 35
: W METRIC MALE 24° H.T./
by, METRIC MALE WITH O-RING
= R4 THREADE & 4% TUBE 0.D. JU ~J" DIMENSIONS
PART NO. E F D1 A B S1 L
1DH-14 M14x1.5 | M14x1.5 6 12 11 19 29
1DH-14-12 M14x1.5 | M12x1.5 6 12 11 17 29
1DH-16-14 M16x1.5 | M14x1.5 8 12 11 19 29
1DH-18-16 M18x1.5 | M16x1.5 10 12 11 22 30
1DH-20-14 M20x1.5 | M14x1.5 12 12 11 22 30
1DH-20-16 M20x1.5 | M16x1.5 12 12 11 22 30
1DH-20-18 M20x1.5 | M18x1.5 12 12 11 24 31
1DH-20-22 M20x1.5 | M22x1.5 12 12 12 27 33
1DH-24-22 M24x1.5 | M22x1.5 16 14 12 27 35
1DH-30 M30x2 M30x2 20 16 14 36 41
1DH-30-27 M30x2 M27x2 20 16 13 32 39
1DH-36-27 M36x2 M27x2 25 18 13 36 42

ok Tl R REIR R T B, WIS QS 5 RN, 1™ 1DH-22-08RN™
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1DH-22-08RN.

- 48 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

1CH4-0G

45° NiRISMRLI24° B A A AT AT g
45° METRIC MALE 24° L.T.ADJUSTABLE STUD

A \s1
R 24 THREADE “F5Mz TUBE 0.D. J& ~F DIMENSIONS
PART NO. E F D1 A B s1 S2
1CH4-12-1006 | M12x1.5 | M10x1 6 20 | 25.5 | 11 14
1CH4-14-1206 | M14x1.5 | M12x1.5 8 22 30 14 17
1CH4-16-1406 | M16x1.5 | M14x1.5 10 22 | 30.5 | 17 19
1CH4-18-160G | M18x1.5 | M16x1.5 12 24 34 19 22
1CH4-22-180G | M22x1.5 | M18x1.5 15 27 38 22 24
1CH4-26-2206 | M26x1.5 | M22x1.5 18 33 | 40.5 | 27 27
1CH4-30-2706 | M30x2 M27x2 25 33 48 27 32
1CH4-36-330G | M36x2 M33x2 28 37 | 49.5 | 33 M
1CH4-45-4206 | M45x2 M42x2 35 4 55 44 50
S2 <

1DH4-0G

45° NiRISMRLI24° TR S AT AT O
45° METRIC MALE 24° H.T.ADJUSTABLE STUD

A \s1

fo= 240 THREADE B 75ME TUBE 0.D. JU <} DIMENSIONS
PART NO. E F D1 A B s1 S2
1DH4-14-120G | M14x1.5 | M12x1.5 6 22 30 14 17
1DH4-16-140G | M16x1.5 | M14x1.5 8 22 |30.5 | 17 19
1DH4-18-160G | M18x1.5 | M16x1.5 10 24 34 19 22
1DH4-20-180G | M20x1.5 | M18x1.5 12 27 37 22 24
1DH4-24-220G | M24x1.5 | M22x1.5 16 33 40 27 27
1DH4-30-270G | M30x2 | M27x2 20 33 48 27 32
1DH4-36-330G | M36x2 M33x2 25 37 |49.5 | 33 41
1DH4-42-420G | M42x2 M42x2 30 41 54 44 50

ok Tl R K RIS R B, WS /405 5 RN, 1™ 1DH4-24-220G/RN™ (IA] L)

Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1DH4-24-220G/RN. (the
same with above)

- 49 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

|

- 1CH9-0G
mﬁﬁ? $Q¥_ 00° /AMRISMEL24° RIIAT IR
S1

90° METRIC MALE 24° L.T. ADJUSTABLE STUD

A
e HRZL THREADE FHM% TUBE 0.D. JU <} DIMENSIONS
PART NO. E F D1 A B s1 S2
1CH9-12-100G | M12x1.5 | M1Ox1 6 25 | 26.5 | 11 14
1CH9-14-120G | M14x1.5 | M12x1.5 8 29 32 14 17
1CH9-16-140G | M16x1.5 | M14x1.5 10 30 34 17 19
1CH9-18-160G | M18x1.5 | M16x1.5 12 33 36 19 22
1CH9-22-180G | M22x1.5 | M18x1.5 15 37 |39.5 | 22 24
1CH9-26-220G | M26x1.5 | M22x1.5 18 41 | 43.5 | 27 27
1CH9-30-270G | M30x2 M27x2 25 40 50 27 32
1CH9-36-330G | M36x2 M33x2 28 46 54 33 41
F
S2

;%m 1DH9-0G

3&\_ 90° AHIAMELG24° TS AT [ ke
S1

J2 [

90° METRIC MALE 24° H.T. ADJUSTABLE STUD

A
e 240 THREADE 5% TUBE 0.D. JU <} DIMENSIONS
PART NO. E F D1 A B S1 S2
1DH9-14-120G | M14x1.5 | M12x1.5 6 29 32 14 17
1DH9-16-140G | M16x1.5 | M14x1.5 8 30 34 17 19
1DH9-18-160G | M18x1.5 | M16x1.5 10 33 36 19 22
1DH9-20-180G | M20x1.5 | M18x1.5 12 37 37 22 24
1DH9-22-200G | M22x1.5 | M20x1.5 14 37 40 22 27
1DH9-24-220G | M24x1.5 | M22x1.5 16 37 37.5 24 27
1DH9-30-270G M30x2 M27x2 20 41 50 27 32
1DH9-36-330G M36x2 M33x2 25 46 54 33 41
1DH9-420G M42x2 M42x2 30 55 57.2 44 50
FolE DA R R IR R T B, WIS AEAC S 5 RN, 1™ 1CB-22-08RN" (I L)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1CB-22-08RN. (the same
with above)

- 50 -



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

—

!‘_

1CJ

NHISMRL24° R

Y 8 SN JEHIINCTA° HEBE
%/‘ 7 METRIC l\ilALE 24° L.T./
JIC 74° CONE SEAL
s1/
R B4 THREADE B-f4M& TUBE 0.D. JU <F DIMENSIONS
PART NO. E F D1 A B S1 L
1CJ-12-04 M12x1.5 U7/16X20 6 10 14 14 30
1CJ-14-04 M14x1.5 U7/16"X20 8 11 14 14 31
1CJ-14-06 M14x1.5 U9/16X18 8 11 14 17 31
1CJ-16-06 M16x1.5 U9/16"X18 10 11 14 17 31
1CJ-18-06 M18x1.5 U9/16"X18 12 11.5 14 19 31.5
1CJ-18-08 M18x1.5 U3/4"X16 12 11.5 | 16.7 22 35
1CJ-22-08 M22x1.5 U3/4"X16 15 12.5 | 16.7 24 37
1CJ-22-10 M22x1.5 U7/8"X14 15 12.5 | 19.5 24 40
1CJ-26-10 M26x1.5 U7/8"X14 18 12 19.5 27 40
1CJ-26-12 M26x1.5 | U1.1/16"X12 18 12 19.5 30 41.5
1CJ-30-12 M30x2 U1.1/16"X12 22 14 22 32 46
1CJ-36-16 M36x2 U1.5/16"X12 28 16 23 36 50
1CJ-45-20 M45x2 U1.5/8"X12 35 18 24.5 46 55.5
1CJ-52-20 M52x2 U1.5/8"X12 42 19 24.5 55 60.5
1CJ-52-24 M52x2 U1.7/8"X12 42 19 27.5 55 63.5
U A R A R IR BT B, W AEACS RN RN™, 41 1CJ-22-08RN™

Remark:In case if you are interested to order the adapter in complete set with cutting ring and

nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1CJ-22-08RN.

- 51 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

—

!‘_

1DJ

NHIIMRL24° RS

48 S JEMINCTAS HEB
%/‘ 7P METRIC MéLE 24° H.T./
JIC 74° CONE SEAL
s1/
R IRZL THREADE B F4MZ TUBE 0.D. JU I DIMENSIONS

PART NO. E F D1 A B S1 L
1DJ-14-04 M14x1.5 | U7/16"X20 12 14 14 32
1DJ-16-04 M16x1.5 | U7/16"X20 8 12 14 17 32
1DJ-16-06 M16x1.5 | U9/16"X18 8 12 14 17 32
1DJ-18-04 M18x1.5 | U7/16"X20 10 12 14 19 32
1DJ-18-06 M18x1.5 | U9/16"X18 10 12 14 19 32
1DJ-20-06 M20x1.5 | U9/16"X18 12 12 14 22 33
1DJ-20-08 M20x1.5 U3/4"X16 12 12 16.7 22 36
1DJ-22-08 M22x1.5 U3/4"X16 14 14 16.7 24 38
1DJ-24-08 M24x1.5 | U3/4"X16 16 14 16.7 27 39
1DJ-24-10 M24x1.5 U7/8"X14 16 14 19.5 30 42.5
1DJ-30-12 M30x2 |U1.1/16"X12 20 16 22 32 48
1DJ-36-16 M36x2 |U1.5/16"X12 25 18 23 32 52
1DJ-42-20 MA2x2 | U1.5/8"X12 30 20 24.5 46 57.5
1DJ-52-24 M52x2 | U1.7/8"X12 38 22 27.5 55 66.5

T TR AR IR BT O, WA AEAC S JE N RN, 417*1DJ-22-08RN™

Remark:In case if you are interested to order the adapter in complete set with cutting ring and

nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1DJ-22-08RN.

- 52 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

: : 1CM
wl = nA NHIAMEL24° B RY
9 /60° PYHE B A s )
. %/ Z ) METRIC MALE 24° L.T.
7 /60° CONE BONDED SEAL
S1
o W24 THREADE ETFHME TUBE 0.D. JX <} DIMENSIONS

PART NO. E F D1 A B s1 L
1CM-14-12 | M14x1.5 | M12x1.5 8 11 10 17 29
1CM-14-18 | M14x1.5 | M18x1.5 8 11 12 24 33
1CM-16-14 | M16x1.5 | M14x1.5 10 11 11 19 30
1CM-16-16 | M16x1.5 | M16x1.5 10 11 12 22 32
1CM-16-18 | M16x1.5 | M18x1.5 10 11 12 24 33
1CM-16-22 | M16x1.5 | M22x1.5 10 11 14 27 36
1CM-18-14 | M18x1.5 | M14x1.5 12 1.5 | 11 19 30.5
1CM-18-16 | M18x1.5 | M16x1.5 12 11.5 | 12 22 33
1CM-18-18 | M18x1.5 | M18x1.5 12 11.5 | 12 24 33
1CM-18-22 | M18x1.5 | M22x1.5 12 11.5 | 14 27 36
1CM-22-16 | M22x1.5 | M16x1.5 15 12.5 | 12 22 34
1CM-22-18 | M22x1.5 | M18x1.5 15 12.5 | 12 24 34
1CM-22 M22x1.5 | M22x1.5 15 12.5 | 14 27 37
1CM-26-18 | M26x1.5 | M18x1.5 18 12 12 24 34
1CM-26-22 | M26x1.5 | M22x1.5 18 12 14 27 37
1CM-30-22 M30x2 | M22x1.5 22 14 14 30 39
1CM-36-33 M36x2 M33x2 28 16 18 4 49

FolE DA R REIR R T B, WIS AEAC S 5 N RN, 41" 1CM-18-16RN™
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1CM-18-16RN.

- 53 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

A B
1CM-WD
wi 3 g NHISMRL24° AR
o /60° P IR
< METRIC MALE 24° L.T./
s1 60° CONE CAPTIVE SEAL
RE SRLL THREADE | % *41M% TUBE 0.D. JU <} DIMENSIONS
PART NO. E F D1 A B S1
1CM-14-120D | M14x1.5 | M12x1.5 8 11 10 17
1CM-16-12WD | M16x1.5 | M12x1.5 10 11 10 17
1CM-16-14WD | M16x1.5 | M14x1.5 10 11 11 19
1CM-16-18WD | M16x1.5 | M18x1.5 10 11 12 24
1CM-18-16WD | M18x1.5 | M16x1.5 12 11.5 | 12 22
1CM-18WD | M18x1.5 | M18x1.5 12 11.5 | 12 24
1CM-18-22WD | M18x1.5 | M22x1.5 12 11.5 | 14 27
1CM-22-18WD | M22x1.5 | M18x1.5 15 12.5 | 12 24
1CM-22WD | M22x1.5 | M22x1.5 15 12.5 | 14 27
1CM-26-22WD | M26x1.5 | M22x1.5 18 12 14 27

FVE TR R SRR BT Y S AEAR S 5 RN, 1 1CM-18-16WD/RN™
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1CM-18-16WD/RN.

- 54 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

: B 1DM

NHIFMEL24° FEARY

wl g ul o
9 /60° PHEIRT AL & i s
% %/ 7 Nt METRIC MALE 24° H.T./
28 60° CONE BONDED SEAL
S1
foe 124 THREADE 1 4Mz TUBE 0.D. JU <} DIMENSIONS

PART NO. E F D1 A B s1 L
1DM-14-12 | M14x1.5 | M12x1.5 6 12 10 17 30
1DM-16-14 | M16x1.5 | M14x1.5 8 12 11 19 31
1DM-18-16 | M18x1.5 | M16x1.5 10 12 12 22 33
1DM-20-18 | M20x1.5 | M18x1.5 12 12 12 24 34
1DM-20-22 | M20x1.5 | M22x1.5 12 12 14 27 37
1DM-24-18 | M24x1.5 | M18x1.5 16 14 12 27 37
1DM-24-22 | M24x1.5 | M22x1.5 16 14 14 27 39

FVE N R R IR AT 6L, WS AE AT JE RN, 41 1DM-20-22RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1DM-20-22RN.

: B 1DM-WD

wl & - ul o AHISMRG24° FERY
/60° A I s I s

¢ 2 METRIC MALE 24° H.T./

60° CONE CAPTIVE SEAL

= 22 THREADE & 14M# TUBE 0.D. JU <] DIMENSIONS
PART NO. E F D1 A B s1
1DM-14-12WD | M14x1.5 | M12x1.5 6 12 10 17
1DM-16-14WD | M16x1.5 | M14x1.5 8 12 11 19
1DM-18-16WD | M18x1.5 | M16x1.5 10 12 12 22
1DM-20-18WD | M20x1.5 | M18x1.5 12 12 12 24
1DM-24-220D | M24x1.5 | M22x1.5 14 14 14 27

AT R E & RIS By, W 7EAC S )5 N RN, 41" 1DM-20-18WD/RN"
Remark:1In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1DM-20-18WD/RN.

- 55 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

1CO

w g n AIMRL24° R
/LT AMREOMY f| % &
% METRIC MALE 24° L.T./
S1 SAE MALE O-RING
e 24T THREADE #F5M% TUBE 0.D. JU <} DIMENSIONS
PART NO. E F D1 A B s1 L
1C0-14-04 | M14x1.5 | U7/16"X20 8 11 10 14 27
1C0-16-04 | M16x1.5 | U7/16"X20 10 11 10 17 27
1C0-18-06 | M18x1.5 | U9/16"X18 12 11.5 | 12 19 29.5
1C0-18-08 | M18x1.5 | U3/4"X16 12 11.5 | 12 24 31
1C0-18-10 | M18x1.5 | U7/8"X14 12 11.5 | 13.5 | 27 34
1C0-22-08 | M22x1.5 | U3/4"X16 15 12.5 | 12 24 32
1C0-22-10 | M22x1.5 | U7/8"X14 15 12.5 | 13.5 | 27 35
1C0-22-12 | M22x1.5 |U1.1/16"X12| 15 12.5 | 16 32 38.5
1C0-26-08 | M26x1.5 | U3/4"X16 18 12 12 27 33
1C0-26-10 | M26x1.5 | U7/8"X14 18 12 | 13.5 | 27 34
1C0-30-08 M30x2 U3/4"X16 22 14 12 32 36
1C0-30-10 M30x2 u7/8"x14 22 14 | 13.5 | 32 37.5
1C0-30-12 M30x2 |U1.1/16"X12 | 22 14 16 32 40
1C0-30-16 M30x2 |U1.5/16"X12 | 22 14 17 41 43
1C0-36-16 M36x2 |U1.5/16"X12| 28 16 17 41 45
1C0-45-16 M45x2 |U1.5/16"X12 | 35 18 17 46 48
1C0-45-20 M45x2 | U1.5/8"X12 35 18 18 50 53
1C0-52-20 M45x2 | U1.5/8"X12 42 19 18 55 54

BIE N R LRI AT B, WS AEAC S JE RN, 41 1C0-22-08RN"™
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1C0-22-08RN.

- 56 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

A B
1D0
W a N AHIFMRL24° FERY
/R HIH MBS OMY 8 3=
% METRIC MALE 24° H.T./
s1 SAE MALE O-RING

R 22 THREADE & T4M% TUBE 0.D. JU <} DIMENSIONS
PART NO. E F D1 A B S1 L
100-16-04 | M16x1.5 | U7/16"X20 8 12 10 17 28
1D0-18-06 | M18x1.5 | U9/16"X18 10 12 12 19 30
1D0-20-06 | M20x1.5 | U9/16"X18 12 12 12 22 31
1D0-20-08 | M20x1.5 | U3/4"X16 12 12 12 24 32
1D0-24-08 | M24x1.5 | U3/4"X16 16 14 12 24 34
1D0-24-10 | M24x1.5 | U7/8"X14 16 14 | 13.5 | 27 36
1D0-30-08 M30x2 U3/4"X16 20 16 12 32 38
1D0-30-10 M30x2 U7/8"x14 20 16 | 13.5 | 32 39.5
1D0-30-12 M30x2 |U1.1/16"X12 | 20 16 16 32 42
1D0-36-16 M36x2 |U1.5/16"X12 | 25 18 17 41 47
1D0-42-16 M42x2 |U1.5/16"X12 | 30 20 17 46 50
1D0-42-20 M42x2 | U1.5/8"X12 30 20 18 50 55
1D0-52-20 M52x2 | U1.5/8"X12 38 22 18 55 57

FIE N R LRI AT B, WS AEACS JE RN, 41 1D0-24-08RN"™
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1D0-24-08RN.

- 57 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

b7
P5<L:_
@

1C09-0G

90° AtflFMEL24° FRY
/NS MELGCT W ) K i
90° METRIC 24° L.T.
/SAE MALE ADJUSTABLE STUD

R R4 THREADE 1AMz TUBE 0.D. JU =} DIMENSIONS
PART NO. E F D1 A B S1 S2
1C09-12-040G | M12x1.5 | U7/16"X20 6 25 |27.2| 11 17
1C09-14-060G | M14x1.5 | U9/16"X18 8 29 | 31.8| 14 19
1C09-16-060G | M16x1.5 | U9/16"X18 10 30 | 33.3| 17 19
1C09-18-080G | M18x1.5 | U3/4"X16 12 33 | 37.5| 19 24
1C09-22-080G | M22x1.5 | U3/4"X16 15 37 | 44 22 27
1C09-22-100G | M22x1.5 | U7/8"X14 15 37 [39.5 | 22 24
1€09-26-120G | M26x1.5 |U1.1/16"X12| 18 41 51 27 32
1C09-30-120G | M30x2 |U1.1/16"X12| 22 41 | 53.5 | 27 32
1C09-36-160G | M36x2 |U1.5/16"X12| 28 49 | 57.5 | 33 41
1C09-45-200G | M45x2 | U1.5/8"X12 35 55 | 63 44 50
1C09-52-240G | M52x2 | U1.7/8"X12 42 59 | 70.5 | 55 55
F
Y] % 1D09_OG
1%

| ){&

90° AHISNRL24° HARY
/IS MRECAT Y [ AT 5
90° METRIC 24° H.T.
/SAE MALE ADJUSTABLE STUD

foe #245 THREADE % T4M% TUBE 0.D. K~} DIMENSIONS

PART NO. E F D1 A B s1 | s
1D09-14-040G | M14x1.5 | U7/16"X20 6 29 | 30 | 14 | 17
1D09-16-060G | M16x1.5 | U9/16"X18 8 30 |33.3 | 17 19
1D09-18-060G | M18x1.5 | U9/16"X18 | 10 33 [33.5 | 19 | 19
1D09-20-080G | M20x1.5 | U3/4"X16 12 37 375 | 22 | 24
1D09-24-100G | M24x1.5 | U7/8"X14 16 37 |46.5 | 24 | 27
1D09-30-120G | M30x2 |U1.1/716"X12| 20 41 |53.5 | 27 | 32
1D09-36-1606 | M36x2 |U1.5/16"X12| 25 49 |57.5 | 33 | 41
1D09-42-200G | M42x2 |U1.5/8"X12 | 30 57 | 59.5 | 44 | 50

2V AT R SRR R T Y, TE /R4S J5 N RN, 21" 1D09-20-08RN" (JA] L)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1D09-20-08RN. (the same

with above)

- 58 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

A - B
1 1CW
w| = N a
7/ ATHIIMELD24° 17 RANIRFAEEK
: % : METRIC MALE 24° L.T./WELD FITTINGS
s1/
re Y24 THREADE & T4M# TUBE 0.D. JU < DIMENSIONS
PART NO. E D1 D2 A B D s1 L
1CW-12-06 | M12x1.5 6 6 10 7 10 12 23
1CW-14-08 | M12x1.5 8 8 11 8 12 14 25
1CW-16-10 | M16x1.5 10 10 11 8 14 17 25
1CW-18-12 | M18x1.5 12 12 11.5 | 8 16 19 | 25.5
1CW-22-15 | M22x1.5 15 15 2.5 | 10 | 19 22 30
1CW-26-22 | M26x1.5 18 22 12 10 27 27 32
1CW-30-22 M30x2 22 22 14 12 27 32 37
1CW-30-25 M30x2 22 25 14 12 31 32 37
1CW-36-28 M36x2 28 28 16 12 32 36 39
1CW-45-35 M45x2 35 35 18 14 40 46 45
1CW-52-42 M52x2 42 42 19 16 46 55 52
L
A - B
1DW
i N a
7 AHIIMEL24° TR /IEEASK
% METRIC MALE 24° H.T./WELD FITTINGS
s1/
R R4 THREADE - 74M% TUBE 0.D. JU <} DIMENSIONS
PART NO. E D1 D2 A B D s1 L
1DW-14-06 | M14x1.5 6 6 12 7 11 14 25
1DW-16-08 | M16x1.5 8 8 12 8 13 17 26
1DW-18-10 | M18x1.5 10 10 12 8 15 19 26
1DW-20-12 | M20x1.5 12 12 12 10 17 22 29
1DW-24-16 | M24x1.5 16 16 14 10 21 27 33
1DW-30-20 M30x2 20 20 16 12 26 32 38
1DW-36-25 M36x2 25 25 18 12 31 41 42
1DW-42-30 M42x2 30 30 20 14 36 46 47
1DW-52-38 M52x2 38 38 22 16 44 55 55

F TR R E KRR AT B, WRETEAC S J5 RN, Z171DW-20-12RN" (7] |)

Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1DW-20-12RN. (the same
with above)

- 59 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

S2

60°

2BC-WD

NHBRE24° BRI/ FAEIRE
60° HEMZ HHE E

% METRIC FEMALE 24° L.T./BSP MALE

c DOUBLE 60° SEAT BONDED SEAL
o 422 THREADE T4 TUBE 0.D. JU <} DIMENSIONS
PART NO. E F D1 A C s1 s2
2BC-02-12WD | G1/8"X28 | M12x1.5 10 2 14 17
2BC-04-14WD | G1/4"X19 | M14x1.5 8 12 | 3.5 | 19 19
2BC-04-16WD | G1/4"X19 | M16x1.5 10 12 | 3.5 | 19 22
2BC-06-18WD | G3/8"X19 | M18x1.5 12 13.5 | 3.5 | 22 24
2BC-08-22WD | G1/2"X14 | M22x1.5 15 16 3 27 27
2BC-08-26WD | G1/2"X14 | M26x1.5 18 16 | 3.5 | 27 32
2BC-12-30WD | G3/4"X14 | M30x2 22 18.5 | 4.5 | 32 36
2BC-16-36WD 61"X11 M36x2 28 205 | 45 | 41 41
2BC-20-45WD | G1.1/4"X11 | M45x2 35 20.5 | 5.5 | 50 55
2BC-24-52WD | G1.1/2"X11 | M52x2 42 23 | 6.5 | 55 60

s2
— 2BD-WD
- — 1 Rk AHNRL4° TR/ SR
/// 4 60° HEfZH & A
é7_J42%%%212227”A3 METRIC FEMALE 24° H.T./BSP MALE

c éﬁj/ DOUBLE 60° SEAT BONDED SEAL
R 22 THREADE & T4M% TUBE 0.D. JU <} DIMENSIONS
PART NO. E F D1 A C S1 S2
2BD-04-14WD | G1/4"X19 | M14x1.5 6 12 3 19 19
2BD-04-16WD | G1/4"X19 | M16x1.5 8 12 | 3.5 | 19 22
2BD-06-18WD | G3/8"X19 | M18x1.5 10 13.5 | 3 22 24
2BD-06-20WD | G3/8"X19 | M20x1.5 12 13.5 | 3 22 27
2BD-08-22WD | G1/2"X14 | M22x1.5 14 16 | 2.5 | 27 27
2BD-08-24WD | G1/2"X14 | M24x1.5 16 16 | 3.5 | 27 30
2BD-12-30WD | G3/4"X14 | M30x2 20 18.5 | 4.5 | 32 36
2BD-16-36WD G1"X11 M36x2 25 20.5 | 3.5 | 41 41
2BD-20-42WD | G1.1/4"X11| M42x2 30 20.5 | 5.5 | 50 50
2BD-24-52WD | G1.1/2"X11 | M52x2 38 23 7 55 60

- 60 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

S2 A
/ @ 2JC
“ 8 i} Sl . SERIINC 74° HEBEL/ I PIZ
/ 7 L24° HEOM B 1 R4
7 JIC 74° CONE SEALING/METRIC
</ FEMALE 24° CONE O-RING SEALING L.T.

= 24 THREADE % 1-4M% TUBE 0.D. JU )" DIMENSIONS
PART NO. E F D1 A C S1 S2
2JC-04-12 U7/16"X20 | M12x1.5 6 14 2 14 17
2JC-04-14 U7/16"X20 | M14x1.5 8 14 3.5 14 19
2JC-05-14 U1/2"X20 M14x1.5 8 14 3.5 14 19
2JC-05-16 U1/2"X20 M16x1.5 10 14 3.5 17 22
2JC-06-14 U9/16'X18 | M14x1.5 8 14 3.5 17 19
2JC-06-16 U9/16"X18 | M16x1.5 10 14 3.5 17 22
2JC-06-18 U9/16"X18 | M18x1.5 12 14 3.5 17 24
2JC-08-18 U3/4"X16 M18x1.5 12 16.7 3.5 22 24
2JC-08-22 U3/4"X16 M22x1.5 15 16.7 3 22 27
2JC-10-22 u7/8"X14 M22x1.5 15 19.5 3 24 27
2JC-10-26 u7/8"X14 M26x1.5 18 19.5 3.5 27 32
2JC-12-26 U1.1/16"X12| M26x1.5 18 22 3.5 27 32
2JC-12-30 U1.1/716"X12| M30x2 22 22 4.5 30 36
2JC-16-36 U1.5/16"X12| M36x2 28 23 4.5 36 41
2JC-16-45 U1.5/16"X12| M45x2 35 23 5.5 46 55
2JC-20-45 U1.5/8"X12 M45x2 35 24.5 5.5 46 55
2JC-20-52 U1.5/8"X12 M52x2 42 24.5 6.5 50 60
2JC-24-52 U1.7/8"X12 M52x2 42 27.5 6.5 50 60

- 61 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

S2

2JD

‘1% ” i LHINC 74° HEB /A B
- W 2 Lroa® ORI RS
K Z) ' JIC 74° CONE SEALING/METRIC
c Q FEMALE 24° CONE O-RING SEALING H.T.
= 24 THREADE B 74M% TUBE 0.D. JU =} DIMENSIONS
PART NO. E F D1 A C S1 S2
2JD-04-14 | U7/16"X20 | M14x1.5 14 3 14 19
2JD-04-16 | U7/16"X20 | M16x1.5 8 14 | 3.5 | 17 22
2JD-04-18 | U7/16"X20 | M18x1.5 10 14 3 17 24
2JD-05-18 UL/2"X20 | M18x1.5 10 14 3 17 24
2JD-06-16 | U9/16"X18 | M16x1.5 8 14 | 3.5 | 17 22
2JD-06-18 | U9/16"X18 | M18x1.5 10 14 3 17 24
2JD-06-20 | U9/16"X18 | M20x1.5 12 14 3 19 27
2JD-06-22 | U9/16"X18 | M22x1.5 14 14 2.5 | 22 27
2JD-08-22 U3/4"X16 | M22x1.5 14 16.7 | 2.5 | 22 27
2JD-08-24 U3/4"X16 | M24x1.5 16 16.7 | 3.5 | 24 30
2JD-10-30 U7/8"X14 | M30x2 20 19.5 | 4.5 | 30 36
2JD-10-36 U7/8"X14 | M36x2 25 19.5 | 3.5 | 36 4
2JD-12-30  |U1.1/16"X12| M30x2 20 22 | 45| 30 36
2JD-12-36  |U1.1/16"X12| M36x2 25 22 | 3.5 | 36 4
2JD-16-42  |U1.5/16"X12| M42x2 30 23 | 55 | 4 50
2JD-20-42 | U1.5/8"X12 | M42x2 30 24.5 | 5.5 | 46 50
2JD-20-52 | U1.5/8"X12 | M52x2 38 24.5 | 7 50 60
2JD-24-52 | U1.7/8"X12 | M52x2 38 215 | 7 50 60

- 62 -



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

2GC

KNRE24° AR HEOR I/
SR O el
METRIC FEMALE 24° L.T.CONE O-RING/
BSP MALEO-RING

o 124 THREADE &14Mz TUBE 0.D. R~} DIMENSIONS
PART NO. E F D1 A C s1 S2
26C-02-12 61/8"X28 | M12x1.5 6 9 2 14 17
26C-04-14 G1/4"X19 | M14x1.5 8 12 3.5 | 19 19
26C-04-16 G1/4"X19 | M16x1.5 10 12 3.5 | 19 22
26C-06-18 G3/8"X19 | M18x1.5 12 13.5 | 3.5 | 22 24
26C-08-22 G1/2"X14 | M22x1.5 15 16 3 27 27
26C-08-26 G1/2"X14 | M26x1.5 18 16 | 3.5 | 27 32
26C-12-30 63/4"X14 | M30x2 22 18.5 | 4.5 | 32 36
26C-16-36 G1"X11 M36x2 28 20.5 | 4.5 | 4 41
26C-20-45 | G1.1/4"X11| M45x2 35 20.5 | 5.5 | 50 55
26C-24-52 | G1.1/2"X11| M52x2 42 23 | 6.5 | 55 60

S2 S1
Y 2GD

-

NiRE24° EARYIHEOMIE/
SR Ml s
METRIC FEMALE 24° H.T.CONE O-RING/
BSP MALEO-RING

5 IRZL THREADE B 74MZ TUBE 0.D. JU s} DIMENSIONS

PART NO. E F D1 A C s1 S2
2GD-04-14 G1/4"X19 | M14x1.5 6 12 3 19 19
2GD-04-16 G1/4"X19 | M16x1.5 8 12 3.5 | 19 22
2GD-06-18 G3/8"X19 | M18x1.5 10 13.5 | 3 22 24
2GD-06-20 63/8"X19 | M20x1.5 12 13.5 | 3 22 27
2GD-08-22 61/2"X14 | M22x1.5 14 16 | 2.5 | 27 27
2GD-08-24 61/2"X14 | M24x1.5 16 16 | 3.5 | 27 30
2GD-12-30 63/4"X14 | M30x2 20 18.5 | 4.5 | 32 36
2GD-16-36 G1"X11 M36x2 25 20.5 | 3.5 | 4 41
26D-20-42 | G1.1/4"X11| M42x2 30 20.5 | 5.5 | 50 50
26D-24-52 | G1.1/2"X11| M52x2 38 23 7 55 60

- 63 -



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

S2

(@]

60°

2MC-WD

I TRIRE AR B/ 2 1 A R L0240
HE I O] Pl 5 e R 71
METRIC THREAD /METRIC FEMALE
24° CONE O-RING SEAL L.T.

fR 24 THREADE F4M% TUBE 0.D. J& <} DIMENSIONS
PART NO. E F D1 A C S1 S2
2NMC-12-14WD | M12x1.5 | M14x1.5 8 10 | 3.5 | 17 19
2MC-14-16WD | M14x1.5 | M16x1.5 10 11 | 3.5 | 19 22
2MC-16-18WD | M16x1.5 | M18x1.5 12 12 3.5 | 22 24
2MC-18-22WD | M18x1.5 | M22x1.5 15 12 3 24 27
2MC-22-26WD | M22x1.5 | M26x1.5 18 14 3.5 | 27 32
) R
r T 2MD-WD
%'/, AR GURH S B/ A NI 4
| gy O 8 75
J METRIC THREAD /METRIC FEMALE
L S1 24° CONE O-RING SEAL H.T.
fo $Z4L THREADE -74Mz TUBE 0.D. JU 5] DIMENSIONS
PART NO. E F D1 A C S1 S2
2MD-12-14WD | M12x1.5 | M14x1.5 6 10 3 17 19
2MD-14-16WD | M14x1.5 | M16x1.5 8 11 3.5 | 19 22
2MD-16-18WD | M16x1.5 | M18x1.5 10 12 3 22 24
2MD-18-20WD | M18x1.5 | M20x1.5 12 12 3 24 27
2MD-22-24WD | M22x1.5 | M22x1.5 16 14 3.5 | 27 30

- 64 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

5CB

w| = | w
NHIMREL24° B2 R A/ HEE IR
ﬁl// METRIC MALE 24° L.T./BSP FEMALE
fo U240 THREADE & F4ME TUBE 0.D. J& <} DIMENSIONS
PART NO. E F D1 A S1
5CB-12-02 | M12x1.5 | G1/8"X28 6 10 14
5CB-12-04 | M12x1.5 | G1/4"X19 6 10 19
5CB-14-04 | M14x1.5 | G1/4"X19 8 11 19
5CB-14-06 | M14x1.5 | G3/8"X19 8 11 24
5CB-14-08 | M14x1.5 | G1/2"X14 8 11 27
5CB-16-04 | M16x1.5 | G1/4"X19 10 11 19
5CB-16-06 | M16x1.5 | G3/8"X19 10 11 24
5CB-16-08 | M16x1.5 | G1/2"X14 10 11 27
5CB-18-04 | M18x1.5 | G1/4"X19 12 11.5 19
5CB-18-06 | M18x1.5 | G3/8"X19 12 11.5 24
5CB-18-08 | M18x1.5 | G1/2"X14 12 11.5 27
5CB-22-06 | M22x1.5 | G3/8"X19 15 12.5 24
5CB-22-08 | M22x1.5 | G1/2"X14 15 12.5 27
5CB-26-08 | M26x1.5 | G1/2"X14 18 12 27
5CB-30-12 M30x2 | G3/4"X14 22 14 36
5CB-36-16 M36x2 G1"X11 28 16 41
5CB-45-20 M45x2 | G1.1/4"X11| 35 18 55
5CB-52-24 M52x2 | G1.1/2"X11 42 19 60

T R KR IR R B WIS TEAC 5 5 RN, 41"*5CB-22-08RN™

Remark:In case if you are interested to order the adapter in complete set with cutting ring and

nut,it is necessary to insert suffix"RN" arter our part NO.,for example 5CB-22-08RN.

- 65 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

oDB

wl = | w
INHIBRL24° TR A/ JEE IRLL
7% METRIC MALE 24° H.T./BSP FEMALE
s/
foe B2 THREADE T HME TUBE 0.D. JU ~F DIMENSIONS

PART NO. E F D1 A S1

5DB-14-04 | M14x1.5 | G1/4"X19 12 19

5DB-16-04 | M16x1.5 | G1/4"X19 8 12 19

5DB-18-06 | M18x1.5 | 63/8"X19 10 12 24

5DB-20-06 | M20x1.5 | G3/8"X19 12 12 24

5DB-20-08 | M20x1.5 | G1/2"X14 12 12 24

5DB-22-08 | M22x1.5 | G1/2"X14 14 14 30

5DB-24-08 | M24x1.5 | G1/2"X14 16 14 30

5DB-30-12 M30x2 G3/4"X14 20 16 36

5DB-36-16 M36x2 G1"X11 25 18 41

5DB-42-20 M42x2 | G1.1/4"X11 30 20 55

5DB-52-24 M52x2 | G1.1/2"X11 38 22 60

FlE DA R REIR R T B, WIS AEAC S 5 RN, u1"*5DB-22-08RN™
Remark:In case if you are interested to order the adapter in complete set with cutting ring and

nut,it is necessary to insert suffix"RN" arter our part NO.,for example 5DB-22-08RN.

- 66 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

A
5CM
wl = I
ATHIRE24° B2 R AV NI IREL
7% METRIC MALE 24° L.T./METRIC FEMALE
s/

= U247 THREADE -1-5M% TUBE 0.D. JU <} DIMENSIONS

PART NO. E F D1 A s1
5CM-12-10 | M12x1.5 | M10x1 6 10 14
5CM-14-12 | M14x1.5 | M12x1.5 8 1 17
5CM-16-14 | M16x1.5 | M14x1.5 10 1 19
5CM-18-16 | M18x1.5 | M16x1.5 12 11.5 22
5CM-22-18 | M22x1.5 | M18x1.5 15 12.5 24
5CM-26-22 | M26x1.5 | M22x1.5 18 12 30
5CM-30-26 M30x2 | M26x1.5 22 14 32
5CM-36-33 M36x2 M33x2 28 16 41
5CM-45-42 M45x2 M42x2 35 18 55
5CM-52-48 M52x2 M48x2 42 19 60

A
. 5DM
[P
%%7 NTHINEL24° TR/ I IREL
7% METRIC MALE 24° H.T./METRIC FEMALE
s/

= 240 THREADE | % 7#M#E TUBE 0.D. JU ~F DIMENSIONS
PART NO. E F D1 A S1
5DM-14-12 | M14x1.5 | M12x1.5 6 12 17
5DM-16-14 | M16x1.5 | M14x1.5 8 12 19
5DM-18-16 | M18x1.5 | M16x1.5 10 12 22
5DM-20-18 | M20x1.5 | M18x1.5 12 12 24
5DM-22-20 | M22x1.5 | M20x1.5 14 14 27
5DM-24-22 | M24x1.5 | M22x1.5 16 14 30
5DM-30-27 M30x2 | M27x1.5 20 16 36
5DM-36-33 M36x2 M33x2 25 18 41

5DM-42 M42x2 M42x2 30 20 55
5DM-52-48 M52x2 M48x2 38 22 60

FlE TN R R R IR R T B, WIS AEAC S 5 RN, 1™*5DM-20-18RN" (I L)
Remark:1In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 5DM-20-18RN. (the same

with above)

- 67 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

iy AC

AHIIMRL24° 7RG =18

\ METRIC MALE 24° L.T. TEE
A \ﬂA
fo= AL THREADE & -F4M% TUBE 0.D. J& <} DIMENSIONS
PART NO. E D1,D2,D3 A S1
AC-12 M12x1.5 6 23 11
AC-14 M14x1.5 8 27 14
AC-16 M16x1.5 10 29 17
AC-18 M18x1.5 12 32 19
AC-22 M22x1.5 15 33 22
AC-26 M26x1.5 18 40 27
AC-30 M30x2 22 40 27
AC-36 M36x2 28 46 33
E
—
L
4 AD

NHIIMEL24° TR =58

\ METRIC MALE 24° H.T. TEE
A \ﬂA
fo= U240 THREADE & F4ME TUBE 0.D. J& <} DIMENSIONS
PART NO. E D1,D2,D3 A s1
AD-14 M14x1.5 6 27 14
AD-16 M16x1.5 8 29 17
AD-18 M18x1.5 10 32 19
AD-20 M20x1.5 12 33 22
AD-22 M22x1.5 14 33 22
AD-24 M24x1.5 16 33 24
AD-30 M30x2 20 40 27
AD-33 M33x2 22 46 33
AD-42 M42x2 30 57 44

FVE T R BN R EIR R AT B, WAL 5 0 RN, a1™AD-22RN" (7] L)

Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example AD-22RN. (the same with
above)

- 68 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

F
s2
O
iz AHINIZER4° 1AM
. 8‘ | | g(m 224 4 RH =l
: METRIC FEMALE 24° /METRIC
\s1 MALE 24° L.T. TEE
A SLa
o= 24 THREADE 1AMz TUBE 0.D. JU =} DIMENSIONS
PART NO. E F D1 D2 A c s1 S2
BC-12 M12x1.5 | M12x1.5 6 6 23 2 11 17
BC-14 M14x1.5 | M14x1.5 8 8 27 | 3.5 | 14 19
BC-16 M16x1.5 | M16x1.5 10 10 29 | 3.5 | 17 22
BC-18 M18x1.5 | M18x1.5 12 12 32 3.5 | 19 24
BC-22 M22x1.5 | M22x1.5 15 15 33 3 22 27
BC-26 M26x1.5 | M26x1.5 18 18 40 | 3.5 27 32
BC-30 M30x2 M30x2 22 22 40 | 4.5 | 27 36
BC-36 M36x2 M36x2 28 28 46 | 4.5 | 33 4
F
S2
N Bl BD
Ni AHINIEL4° /A4
" 8{ | | g(m L24° TR
. METRIC FEMALE 24° /METRIC
1 MALE 24° H.T. TEE
A A
5 B4 THREADE B 14M= TUBE 0.D. JU =} DIMENSIONS
PART NO. E F D1 D2 A c s1 S2
BD-14 M14x1.5 | M14x1.5 6 6 27 3 14 19
BD-16 M16x1.5 | M16x1.5 8 8 29 | 3.5 | 17 22
BD-18 M18x1.5 | M18x1.5 10 10 32 3 19 24
BD-20 M20x1.5 | M20x1.5 12 12 33 3 22 27
BD-22 M22x1.5 | M22x1.5 14 14 33 | 2.5 | 22 27
BD-24 M24x1.5 | M24x1.5 16 16 33 | 3.5 | 24 30
BD-30 M30x2 M30x2 20 20 40 | 4.5 | 27 36
BD-36 M36x2 M36x2 25 25 46 | 3.5 | 33 41
BD-42 M42x2 M42x2 30 30 57 5.5 | 44 50

FVE DA R R R IR T B, W AEAC S 5 RN, 41*BD-22RN" (I L)

Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example BD-22RN. (the same with
above)

- 069 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

N b

\
\s1

s

CC

NFISNRL24° 1 AT
BRE24° RN =1
METRIC MALE 24° /METRIC
FEMALE 24° L.T. TEE

fee BR4L THREADE ETHM% TUBE 0.D. JU <] DIMENSIONS
PART NO. E F D1 D2 A C s1 S2
cc-12 M12x1.5 | M12x1.5 6 6 23 2 11 17
cc-14 M14x1.5 | M14x1.5 8 8 27 | 3.5 14 19
cC-16 M16x1.5 | M16x1.5 10 10 29 | 3.5 17 22
cc-18 M18x1.5 | M18x1.5 12 12 32 | 3.5 19 24
cC-22 M22x1.5 | M22x1.5 15 15 33 3 22 27
CC-26 M26x1.5 | M26x1.5 18 18 40 | 3.5 27 32
CcCc-30 M30x2 M30x2 22 22 40 | 4.5 27 36
cCc-36 M36x2 M36x2 28 28 46 | 4.5 33 41
E
D2
. CD
I </ %L 1 AtlsRg24° 1 AHIN
ng/ | || A 2y A
R - v 524° B RS —il
\ METRIC MALE 24° /METRIC
A \ﬁljib::;ég FEMALE 24° H.T. TEE
foe 24 THREADE T 4Mt TUBE 0.D. JU <} DIMENSIONS
PART NO. E F D1 D2 A c s1 S2
BD-14 M14x1.5 | M14x1.5 6 6 27 3 14 19
BD-16 M16x1.5 | M16x1.5 8 8 29 3.5 | 17 22
BD-18 M18x1.5 | M18x1.5 10 10 32 3 19 24
BD-20 M20x1.5 | M20x1.5 12 12 33 3 22 27
BD-22 M22x1.5 | M22x1.5 14 14 33 | 2.5 | 22 27
BD-24 M24x1.5 | M24x1.5 16 16 33 3.5 | 24 30
BD-30 M30x2 M30x2 20 20 40 4.5 | 27 36
BD-36 M36x2 M36x2 25 25 46 3.5 | 33 41
BD-42 M42x2 M42x2 30 30 57 5.5 | 44 50
FVE T R BN R B IR AT B, WA 5 0 RN, an™'BD-22RN™ ([

Remark:1In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffixRN" arter our part NO.,for example BD-22RN.

above)

(the same with

- 70 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

XC

NHIAMRG24° RS
METRIC MALE 24° L.T. CROSS

A
R U2£L THREADE &AMz TUBE 0.D. ~}* DIMENSIONS
PART NO. E D A s1
XC-12 M12x1.5 6 23 11
XC-14 M14x1.5 8 27 14
XC-16 M16x1.5 10 29 17
XC-18 M18x1.5 12 32 19
XC-22 M22x1.5 15 33 22
XC-26 M26x1.5 18 40 27
XC-30 M30x2 22 40 27
XC-33 M33x2 25 46 33
XD
NHIAMNEL24° FRHIPE
METRIC MALE 24° H.T. CROSS
A
= 240 THREADE B -75ME TUBE 0.D. <} DIMENSIONS
PART NO. E D A S1
XD-14 M14x1.5 6 27 14
XD-16 M16x1.5 8 29 17
XD-18 M18x1.5 10 32 19
XD-20 M20x1.5 12 32 19
XD-22 M22x1.5 14 33 22
XD-24 M24x1.5 16 33 24
XD-30 M30x2 20 40 27
XD-33 M33x2 22 46 33
XD-42 M42x2 30 57 44

BRI R LRI R T O WE AR5 J5 RN, 21" XD-22RN" ([F] 1)

Remark:1In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example XD-22RN. (the same with

above)

- 71 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

8l e ACHC-0G

wi g‘_ﬁf/ ﬁgm ATIHMRE24° B 25 AT [ A 70 5 18
|| : || METRIC MALE 24° L.T.ADJUSTABLE
| A S A | STUD BRADCH TEE

R WAZL THREADE |8 1°4M% TUBE 0.D.| 0%l JU s} DIMENSIONS
PART NO. E F D1 0-RING A B S1 S2
ACHC-12-10-120G| M12x1.5 | M10x1 6 8.1x1.6 | 23 |26.5 | 11 14
ACHC-14-12-140G| M14x1.5 | M12x1.5 8 9.3x2.4 | 27 32 14 17
ACHC-16-14-160G| M16x1.5 | M14x1.5 10 11.3x2.4 | 29 34 17 19
ACHC-18-16-180G| M18x1.5 | M16x1.5 12 13.3x2.4 | 32 36 19 22
ACHC-22-18-220G| M22x1.5 | M18x1.5 15 15.3x2.4 | 33 |[39.5 | 22 24
ACHC-26-22-260G| M26x1.5 | M22x1.5 18 19.3x2.4 | 40 | 43.5 | 37 27
ACHC-30-27-300G| M30x2 M27x2 22 23.5x3 | 40 50 27 32
ACHC-36-33-360G| M36x2 M33x2 28 29.5x3 | 46 54 33 40
-
- ADHD-0G
@ -
y gﬁf/ . AHISMEL24° T RGN IR =30
N METRIC MALE 24° H.T.ADJUSTABLE
A \st A STUD BRADCH TEE
fo= B2Z0 THREADE  [#-F*41M% TUBE 0.D.| oZifEl JU <} DIMENSIONS
PART NO. E F D1 0-RING A B s1 2
ADHD-14-12-140G| M14x1.5 | M12x1.5 6 9.3x2.4 | 27 32 14 17
ADHD-16-14-160G| M16x1.5 | M14x1.5 8 11.3x2.4 | 29 34 17 19
ADHD-18-16-180G| M18x1.5 | M16x1.5 10 13.3x2.4 | 32 36 19 22
ADHD-20-18-200G| M20x1.5 | M18x1.5 12 15.3x2.4 | 33 37 22 24
ADHD-24-22-240G| M24x1.5 | M22x1.5 16 19.3x2.4 | 33 |37.5 | 24 27
ADHD-30-27-300G| M30x2 M27x2 20 23.5x3 | 40 50 27 32
ADHD-36-33-360G| M36x2 M33x2 25 29.5x3 | 46 54 33 41
ADHD-42-42-420G|  M42x2 M42x2 30 38.5x3 | 57 |57.2 | 44 50

FVE R S R R B, WS AEAC S R N RN™, 41" ADHD-20-180G/RN™ ([ 1)

Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example ADHD-20-180G/RN. (the
same with above)

- 72 -



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

y ACCH-0G

< 7 2 %%éé
. Hﬁf 2222 | AHISNBL4° BRI
2 &Jﬁj A [ Ay 2 S 0
\ METRIC MALE 24° L.T.
A SL g ADJUSTABLE STUD RUN TEE
fom 240 THREADE  |#T4M% TUBE 0.D.| o7 U <) DIMENSIONS
PART NO. E F D1 O0-RING A B S1 52
ACCH-12-12-100G| M12x1.5 | M10x1 6 8.1x1.6 | 23 |[26.5 | 11 14
ACCH-14-14-120G| M14x1.5 | M12x1.5 8 9.3x2.4 | 27 32 14 17
ACCH-16-16-140G| M16x1.5 | M14x1.5 10 11.3x2.4 | 29 34 17 19
ACCH-18-18-160G| M18x1.5 | M16x1.5 12 13.3x2.4 | 32 36 19 22
ACCH-22-22-180G| M22x1.5 | M18x1.5 15 15.3x2.4 | 33 |[39.5 | 22 24
ACCH-26-26-220G| M26x1.5 | M22x1.5 18 19.3x2.4 | 40 |[43.5 | 27 27
ACCH-30-30-270G|  M30x2 M27x2 22 23.5x3 | 40 50 27 32
ACCH-36-36-330G| M36x2 M33x2 28 29.5x3 | 46 54 33 4
E
D1
] ADDH-0G
=< 7
m%ﬁ? , | AHISNEL24° TR
= Mﬂﬂj A ) A S
\ METRIC MALE 24° H.T.

A SL g ADJUSTABLE STUD RUN TEE
fo= B240 THREADE [ 1°4M% TUBE 0.D.| o7ilfg JU <} DIMENSIONS
PART NO. E F D1 O0-RING A B S1 52
ADDH-14-14-120G| M14x1.5 | M12x1.5 6 9.3x2.4 | 27 32 14 17
ADDH-16-16-140G| M16x1.5 | M14x1.5 8 11.3x2.4 | 29 34 17 19
ADDH-18-18-160G| M18x1.5 | M16x1.5 10 13.3x2.4 | 32 36 19 22
ADDH-20-20-180G| M20x1.5 | M18x1.5 12 15.3x2.4 | 33 37 22 24
ADDH-24-24-220G| M24x1.5 | M22x1.5 16 19.3x2.4 | 33 |37.5 | 24 27
ADDH-30-30-270G| M30x2 M27x2 20 23.5x3 | 40 50 27 32
ADDH-36-36-330G| M36x2 M33x2 25 29.5x3 | 46 54 33 41
ADDH-42-42-420G| M42x2 M42x2 30 38.5x3 | 57 |[57.2 | 44 50

Foi s WA RS SRR R AT BT, WS AEAC 5 J5 RN, 41ADDH-20-20-180G/RN™ ([] L)

Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut, it is necessary to insert suffix"RN" arter our part NO.,for example ADDH-20-20-180G/RN. (the
same with above)

- 73 -



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

E
D1
ACCG-0G
s2
=
R %/% AISMRLA RS
RE MH]D " JEEE AT =
, METRIC MALE 24° L.T.
A \5; B /BSP MALE ADJUSTABLE STUD RUN TEE
o2 W24 THREADE 4% TUBE 0.D. JU <} DIMENSIONS
PART NO. E F D1 A B s1 S2
ACCG-12-12-020G| M12x1.5 | G1/8"X28 6 23 | 26.2 | 11 14
ACCG-14-14-040G| M14x1.5 | G1/4"X19 8 27 | 31.3| 14 17
ACCG-16-16-040G| M16x1.5 | G1/4"X19 10 29 | 32.5 | 17 19
ACCG-18-18-060G| M18x1.5 | G3/8"X19 12 32 |36.8 | 19 22
ACCG-22-22-080G| M22x1.5 | G1/2"'X14 15 33 |43.2 | 22 24
ACCG-26-26-080G| M26x1.5 | G1/2"X14 18 33 | 46.5 | 27 27
ACCG-30-30-120G| M30x2 | G3/4"X14 22 40 52 27 32
ACCG-36-36-160G| M36x2 61"X11 28 46 56 33 41
E
D1
ADDG-0G
S2
< 7
e | aupira BR5
E M}D . FHEE TR %
X METRIC MALE 24° H.T.
A SIS /BSP MALE ADJUSTABLE STUD RUN TEE
= B240 THREADE &4M% TUBE 0.D. JU ~F DIMENSIONS
PART NO. E F D1 A B s1 S2
ADDG-14-14-040G| M14x1.5 | G1/4"X19 6 27 | 31.3 | 14 19
ADDG-16-16-040G| M16x1.5 | G1/4"X19 8 29 |32.5 | 17 19
ADDG-18-18-060G| M18x1.5 | G3/8"X19 10 32 |36.8 | 19 22
ADDG-20-20-060G| M20x1.5 | G3/8"X19 12 33 [36.8 | 22 22
ADDG-22-22-080G| M22x1.5 | G1/2"X14 14 33 |43.2 | 22 27
ADDG-24-24-080G| M24x1.5 | G1/2"'X14 16 33 44 24 27
ADDG-30-30-120G| M30x2 | G3/4"X14 20 40 52 27 32
ADDG-36-36-160G| M36x2 61"X11 25 46 56 33 4
ADDG-42-42-200G| M42x2 | G1.1/4"X11 30 57 58 44 50

Flk DA R R REIR R T B, WIS AEAC S 5 RN, 1™ ADDG-20-20-060G/RN™ ([7]_E)

Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example ADDG-20-20-060G/RN.(the
same with above)

- 74 -



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

I -
il %r ACGC-0G
- AHISMESRA" BRI
(Rl

/SR AT 1) A 23 52— 0

METRIC MALE 24° L.T.

A
| A \st p | /BSP MALE ADJUSTABLE STUD BRANCH TEE
= 240 THREADE - 74M% TUBE 0.D. JU <} DIMENSIONS
PART NO. E F D1 A B s1 S2
ACGC-12-02-120G| M12x1.5 | G1/8"X28 6 23 |26.2 | 11 14
ACGC-14-04-140G| M14x1.5 | G1/4"X19 8 27 |31.3 | 14 19
ACGC-16-04-160G| M16x1.5 | G1/4"X19 10 29 |32.5 | 17 19
ACGC-18-06-180G| M18x1.5 | G3/8"X19 12 32 [36.8 | 19 22
ACGC-22-08-220G| M22x1.5 | G1/2"X14 15 33 |43.2 | 22 27
ACGC-26-08-260G| M26x1.5 | G1/2"X14 18 33 | 46.5 | 27 27
ACGC-30-12-300G| M30x2 | G3/4"X14 22 40 52 27 32
ACGC-36-16-360G| M36x2 G1"X11 28 46 56 33 41
F
» ADGD-0G

{14/ ; % NHISMEL24° AR
|

o | 1NN SIS AT A R 43 3
: METRIC MALE 24° H.T.
A \st 4 /BSP MALE ADJUSTABLE STUD BRANCH TEE

o 1240 THREADE & F4Mz TUBE 0.D. R ~J DIMENSIONS
PART NO. E F D1 A B s1 2
ADGD-14-04-140G| M14x1.5 | G1/4"'X19 6 27 | 31.3 | 14 19
ADGD-16-04-160G| M16x1.5 | G1/4"'X19 8 29 | 325 | 17 19
ADGD-18-06-180G| M18x1.5 | G3/8"X19 10 32 |36.8 | 19 22
ADGD-20-06-200G| M20x1.5 | G3/8"X19 12 33 [36.8 | 22 22
ADGD-22-08-220G| M22x1.5 | G1/2"X14 14 33 |43.2 | 22 27
ADGD-24-08-240G| M24x1.5 | G1/2"X14 16 33 44 24 27
ADGD-30-12-300G| M30x2 | 63/4"'X14 20 40 52 27 32
ADGD-36-16-360G|  M36x2 61"X11 25 46 56 33 4
ADGD-42-20-420G| M42x2 | G1.1/4"X11 30 57 58 44 50

ol D W R R IR AT BT, W AR5 J5 RN, 401"ADGD-20-06-200G/RN™ ([ L)

Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example ADGD-20-06-200G/RN. (the
same with above)

- 75 -



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

: ACCO-0G
g[/l; . %%_ Afil24° F R

ES IR IDEE e =]
METRIC MALE 24° L.T.

E
Dl‘
Lv”
T
7T

A Sl g /SAE MALE ADJUSTABLE STUD RUN TEE
fo= U240 THREADE & F4ME TUBE 0.D. J& <} DIMENSIONS
PART NO. E F D1 A B S1 S2
ACCO-12-12-040G| M12x1.5 | U7/16"X20 6 23 27.2 11 17
ACCO-14-14-060G| M14x1.5 | U9/16"X18 8 27 31.8 14 19
IACC0-16-16-060G| M16x1.5 | U9/16"X18 10 29 33.3 17 19
[ACCO-18-18-080G| M18x1.5 U3/4"X16 12 32 37.5 19 24
[ACCO-22-22-100G| M22x1.5 U7/8'"X14 15 33 44 22 27
ACC0-26-26-120G| M26x1.5 |U1.1/16"X12 18 40 51 27 32
ACCO-30-30-120G| M30x2 |[U1.1/16"X12 22 40 53.5 27 32
[ACC0-36-36-160G| M36x2 |U1.5/16"X12 28 46 57.5 33 41
E
D1
2 ADDO-0G

i Wf% ' INH24° R 5

3 1l - /T i 3
\ g METRIC MALE 24° H.T.
A Sl g /SAE NALE ADJUSTABLE STUD RUN TEE
R W24 THREADE & T4ME TUBE 0.D. JU <} DIMENSIONS

PART NO. E F D1 A B S1 S2
ADDO-14-14-040G| M14x1.5 | U7/16"X20 6 27 30 14 17
ADDO-16-16-060G| M16x1.5 | U9/16"X18 8 29 33.3 17 19
ADDO-18-18-060G| M18x1.5 | U9/16"X18 10 32 33.5 19 19
ADDO-20-20-080G| M20x1.5 U3/4""X16 12 33 37.5 22 24
ADDO-22-22-100G| M22x1.5 U7/8"Xx14 14 33 44 22 27
ADDO-24-24-100G| M24x1.5 U7/8"Xx14 16 33 46.5 24 27
ADD0-30-30-120G| M30x2 |[U1.1/16"X12 20 40 53.5 27 32
ADD0-36-36-160G| M36x2 |[U1.5/16"X12 25 46 57.5 33 41
ADD0-42-42-200G| M42x2 | U1.5/8"X12 30 57 59.5 44 50
Foidi s WA R SRR BT BT, S AEAC 5 J5 RN, 41"ADDO-20-20-080G/RN™ (] L)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example ADDO-20-20-080G/RN.(the
same with above)

- 76 -



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

2 ACOC-0G
m| A
ey 7 — Nl24e % F 5
of o INE ST A 5 4
: METRIC MALE 24° L.T.
A \§1A /SAE MALE ADJUSTABLE STUD BRANCH TEE
foe 124 THREADE % T4ME TUBE 0.D. JU ~F DIMENSIONS
PART NO. E F D1 A B s1 S2
ACOC-12-04-120G| M12x1.5 | U7/16"X20 6 23 | 27.2| 11 17
ACOC-14-06-140G| M14x1.5 | U9/16"X18 8 27 | 31.8| 14 19
ACOC-16-06-160G| M16x1.5 | U9/16"X18 10 29 | 33.3| 17 19
ACOC-18-08-180G| M18x1.5 | U3/4"X16 12 32 | 37.5 | 19 24
ACOC-22-10-220G| M22x1.5 | U7/8"X14 15 33 44 22 27
ACOC-26-12-260G| M26x1.5 |U1.1/16"X12| 18 40 51 27 32
ACOC-30-12-300G| M30x2 |U1.1/16"X12| 22 40 | 53.5 | 27 32
ACOC-36-16-360G| M36x2 |U1.5/16"X12| 28 46 | 57.5 | 33 4
F
5 ADOD-0G
@
i 7 — Ail24° T FA
E(EL INE ST U RER 4 3 =3
: METRIC MALE 24° H.T.
A \glA /SAE MALE ADJUSTABLE STUD BRANCH TEE
fo= AL THREADE & -F4M% TUBE 0.D. J& <} DIMENSIONS
PART NO. E F D1 A B s1 S2
ADOD-14-04-140G| M14x1.5 | U7/16"X20 6 27 30 14 17
ADOD-16-06-160G| M16x1.5 | U9/16"X18 8 29 |33.3 | 17 19
ADOD-18-06-180G| M18x1.5 | U9/16"X18 10 32 |33.5| 19 19
ADOD-20-08-200G| M20x1.5 | U3/4"X16 12 33 |37.5 | 22 24
ADOD-22-10-220G| M22x1.5 | U7/8"X14 14 33 44 22 27
ADOD-24-10-240G| M24x1.5 | U7/8"X14 16 33 |46.5 | 24 27
ADOD-30-12-300G| M30x2 |U1.1/16"X12| 20 40 | 53.5 | 27 32
ADOD-36-16-360G| M36x2 |U1.5/16"X12| 25 46 |57.5 | 33 4
ADOD-42-20-420G| M42x2 | U1.5/8"X12 30 57 |59.5 | 44 50

VE T R BN R EIRRPE AT B, W ZEAC S 5 N RN™, 41"*ADOD-20-08-200G/RN™ ([ )

Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example ADOD-20-08-200G/RN. (the
same with above)

- 77 -



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

& A
1CL-B
I [
/J;%f NHMRG24° BRI G IR Ok
| METRIC MALE 24° L.T./BSP BANJO

e 84r THREADE | % T-4M#% TUBE 0.D. | i iz JU < DIMENSIONS

PART NO. E D1 BOLT A d D H
1CL-12-B02 | M12x1.5 6 7208B-02 | 10 | 9.9 | 22 16
1CL-14-B04 | M14x1.5 8 720B-04 | 11 |13.3 | 24 | 15
1CL-16-B04 | M16x1.5 10 720B-04 | 11 | 13.3 | 24 | 15
1CL-18-B06 | M18x1.5 12 720B-06 | 11.5 | 16.7 | 29 20
1CL-22-B08 | M22x1.5 15 720B-08 | 12.5 | 21 38 25
1CL-26-B08 | M26x1.5 18 720B-08 | 12 21 38 25
1CL-30-B12 M30x2 22 720B-12 | 14 | 26.5 | 46 31

{\ A
1DL-B
- = w
Z NHIMRZ24° TR Y/ SRR RS
] METRIC MALE 24° H.T./BSP BANJO

R U4 THREADE 747 TUBE 0.D. | it F e JU F DIMENSIONS

PART NO. E D1 BOLT A d D H
1DL-14-B04 | M14x1.5 6 720B-04 | 12 | 13.3 | 24 | 15
1DL-16-B04 | M16x1.5 8 720B-04 | 12 | 13.3 | 24 | 15
1DL-18-B06 | M18x1.5 10 720B-06 | 12 | 16.7 | 29 20
1DL-20-B06 | M20x1.5 12 720B-06 | 12 | 16.7 | 29 20
1DL-22-B08 | M22x1.5 14 720B-08 | 14 21 38 | 25
1DL-24-B08 | M24x1.5 16 720B-08 | 14 21 38 | 25
1DL-30-B12 | M30x2 20 720B-12 | 16 | 26.5 | 46 31

Tl s TR E MR ER R T, WS A S F RN, Wi 1DL-20-B06/RN" (A 1)

Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1DL-20-B06/RN. (the same

with above)

- 78 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

0 A
7 1CL
IS
/J;%f NHNRL24° BRI A TNRSCEFEE K
] METRIC MALE 24° L.T./METRIC BANJO
e 240 THREADE EFAME TUBE 0.D. | g f e JU <} DIMENSIONS
PART NO. E D1 BOLT A d D H
1CL-12-10 M12x1.5 6 700M-10 10 10 22 13
1CL-14-12 M14x1.5 8 700M-12 11 12 22 12
1CL-16-14 M16x1.5 10 700M-14 11 14 24 14
1CL-18-16 M18x1.5 12 700M-16 | 11.5 16 28 18
1CL-22-18 M22x1.5 15 700M-18 | 12.5 18 36 22
1CL-26-22 M26x1.5 18 700M-22 12 22 46 30
0 A
., 1DL
_ — —‘ | ﬂ'—“
% AHNRS24° TRINAHIREURE Bk
§ METRIC MALE 24° H.T./METRIC BANJO
foe 24 THREADE B 14M2 TUBE 0.D. | g Fj i 44 JL <) DIMENSIONS
PART NO. E D1 BOLT A d D H
1DL-14-12 M14x1.5 6 700M-12 12 12 22 12
1DL-16-14 M16x1.5 8 700M-14 12 14 24 14
1DL-18-16 M18x1.5 10 700M-16 12 16 28 18
1DL-20-18 M20x1.5 12 700M-18 12 18 36 22
1DL-22-18 M22x1.5 14 700M-18 14 20 36 22
1DL-24-22 M24x1.5 16 700M-22 14 22 46 30
FVE Nl RN R IR R AT B, WA /5 0 RN™, 4™ 1DL-22-18RN" (Jr]_E)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1DL-22-18RN. (the same
with above)

- 79 -



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

=

720B

el P Ui

BSP BOLT

=t SZ4L THREADE JU I DIMENSIONS
PART NO. E A B C S1
720B-02 61/8"-28 29.5 | 4.8 5 14
720B-04 61/4"-19 28.5 | 6 6 19
720B-06 63/8"-19 385 | 9 7 22
720B-08 G1/2"-14 44 13 | 8.5 | 27
720B-10 65/8"-14 48.5 | 15 10 30
720B-12 63/4"-14 56 18 10 32
720B-16 G1"-11 68.5 | 22 |12.5 | 41
c A
IR
METRIC BOLT
s1
= 240 THREADE JU ~] DIMENSIONS
PART NO. E A B C S1
700M-10 M10x1 19 5 6 14
700M-12 M12x1.5 24 6 6 17
700M-14 M14x1.5 26 8 7 19
700M-16 M16x1.5 28 9 7.5 | 22
700M-18 M18x1.5 32 11 8 24
700M-22 M22x1.5 39 14 27
700M-26 M26x1.5 45 18 10 32
700M-30 M30x2 51 22 11 38

- 80 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

S1

—f—

NL

BB R

& RETAINING NUTS L.T.
o= 24 THREADE &AMz TUBE 0.D. JU f DIMENSIONS
PART NO. E D1 d S1
NL-12 M12x1.5 6 6 14
NL-14 M14x1.5 8 8 17
NL-16 M16x1.5 10 10 19
NL-18 M18x1.5 12 12 22
NL-22 M22x1.5 15 15 27
NL-26 M26x1.5 18 18 32
NL-30 M30x2 22 22 36
NL-33 M33x2 25 25 41
NL-36 M36x2 28 28 41
NL-52 M52x2 42 42 60
S1
ﬁL
1 NS
7 REIBRE R
RETAINING NUTS H.T.
fR= 240 THREADE ET74Mz TUBE 0.D. JU <} DIMENSIONS
PART NO. E D1 d S1
NS-14 M14x1.5 6 6 17
NS-16 M16x1.5 8 8 19
NS-18 M18x1.5 10 10 22
NS-20 M20x1.5 12 12 24
NS-22 M22x1.5 14 14 27
NS-24 M24x1.5 16 16 30
NS-30 M30x2 20 20 36
NS-36 M36x2 25 25 46
NS-52 M52x2 38 38 60

- 81 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

RL

J FERRY
N CUTTING RING L.T.
R & 147 TUBE 0.D.
PART NO. D1
RL-06 6
RL-08 8
RL-10 10
RL-12 12
RL-15 15
RL-18 18
RL-22 22
RL-28 28
RL-35 35
RL-42 42
RS
i
J REERY|
= CUTTING RING H.T.
R ¥4z TUBE 0.D.
PART NO. D1
RS-06 6
RS-08 8
RS-10 10
RS-12 12
RS-14 14
RS-16 16
RS-20 20
RS-25 25
RS-30 30
RS-38 38

- 82 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

| |

%Z//%/
st/

1Q

WNHISNRAT4° SME
METRIC MALE 74° CONE

foe #22 THREADE R~} DIMENSIONS

PART NO. E A B st L
10-10 M10x1 2 | 12 | 12 30
10-12 M12x1.5 6 | 16 | 14 38
10-14 M14x1.5 17 | 17 | 17 40
10-16 M16x1.5 18 | 18 | 17 42
10-18 M18x1.5 18 | 18 | 19 42
10-22 M22x1.5 19.5 [ 19.5 | 24 47
1Q-24 M24x1.5 20 | 20 | 27 49
10-27 M27x1.5 20 | 20 | 30 49
10-30 M30x1.5 23 | 23 | 3 56
1Q-30X2 M30x2 2% | 26 | 32 62
10-33 M33x2 26 | 26 | 36 63
10-36 M36x2 26 | 26 | 36 63
10-39 M39x2 26 | 26 | 41 64
10-42 M42x2 28.5 | 28.5 | 46 70
10-45 M45x2 28.5 | 28.5 | 46 70

- 83 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

74
E

4Q

WNHISMRLTA° SMIERE Sk
METRIC MALE 74° CONE PLUG

s1

foE #245 THREADE R~} DIMENSIONS

PART NO. E A s1 L

4Q-10 M10x1 12 12 18

4Q-12 M12x1.5 16 14 22

4Q-14 M14x1.5 17 17 23

4Q-16 M16x1.5 18 17 24

4Q-18 M18x1.5 18 19 24

4Q-22 M22x1.5 19.5 24 27

4Q-24 M24x1.5 20 27 29

4Q-27 M27x1.5 20 30 29

4Q-30 M30x1.5 23 32 33

4Q-30E M30x2 26 32 36

4Q-33 M33x2 26 36 37

4Q-36 M36x2 26 36 37

4Q-39 M39x2 26 41 38

4Q-42 M42x2 28.5 46 41.5
4Q-45 M45x2 28.5 46 41.5

- 84 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

—{

.
o/

6Q

INTRISMELTA® HMHEE AR Sk
METRIC MALE 74° CONE BULKHEAD

K5 24 THREADE JU <} DIMENSIONS

PART NO. E A B S1 L
6Q-10 M10x1 12 34 12 52
6Q-12 M12x1.5 16 38 14 60
6Q-14 M14x1.5 17 40 17 63
6Q-16 M16x1.5 18 4 17 65
6Q-18 M18x1.5 18 43 19 67
6Q-22 M22x1.5 19.5 | 44 24 71
6Q-24 M24x1.5 20 45 27 74
6Q-27 M27x1.5 20 48 30 77
6Q-30 M30x1.5 23 53 32 86
6Q-33 M33x2 26 55 36 92
6Q-36 M36x2 26 56 36 93
6Q-39 M39x2 26 58 4 9
6Q-42 M42x2 28.5 | 59 46 100.5
6Q-45 M45x2 28.5 | 60 46 101.5

FVE T A B RET 5%, W AEAR S 5 N LN", {16Q-18LN;

Remark:In case if you are interested to order the adapter with lock nut,please
insert suffix"LN"after our part NO.,for example 6Q-18LN.

- 85 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

6Q9

J B~ 00° AMISMBLTA" AMMERLIEEL
oo k 90° METRIC MALE 74° CONE BULKHEAD
A S1
= I THREADE JU < DIMENSIONS
PART NO. E A B S1
6Q9-12 M12x1.5 25 56 11
6Q9-14 M14x1.5 29 56 14
6Q9-16 M16x1.5 30 58 17
6Q9-18 M18x1.5 33 62 19
6Q9-22 M22x1.5 37 64 22
6Q9-27 M27x1.5 40 72 27
6Q9-30 M30x1.5 40 72 27
6Q9-33 M33x2 49 82 33
6Q9-36 M36x2 46 82 33
6Q9-39 M39x2 57 88 44
6Q9-42 M42x2 57 88 44
6Q9-45 M45x2 55 96 50

v T A B RET B2, W ZEAR S 5 N LN", 216Q9-18LN;

Remark:In case if you are interested to order the adapter with lock nut,please
insert suffix"LN"after our part NO.,for example 6Q9-18LN.

- 86 -



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

60°

10N

NHISMRLTA° SME/ATHEE SMERLL
METRIC MALE 74° CONE/NPT MALE

e #24% THREADE ]~} DIMENSIONS

PART NO. E F A B st L

1QN-12-02 | M12x1.5 | Z1/8"X27 16 | 10 | 14 32
1QN-12-04 | M12x1.5 | Z1/4"X18 16 | 14 | 14 36
1QN-14-02 | M14x1.5 | Z1/8"X27 17 | 10 | 17 33
1QN-14-04 | M14x1.5 | Z1/4"X18 17 | 14 | 17 37
1QN-16-04 | M16x1.5 | Zz1/4"X18 18 | 14 | 17 38
1QN-16-06 | M16x1.5 | Z3/8"X18 18 | 14 | 17 38
1QN-18-04 | M18x1.5 | Z1/4"X18 18 | 14 | 19 38
1QN-18-06 | M18x1.5 | Z3/8"X18 18 | 14 | 19 38
1QN-18-08 | M18x1.5 | Z1/2"X14 18 | 19 | 22 44
1QN-22-06 | M22x1.5 | Z3/8"X18 19.5 | 14 | 24 a1

1QN-22-08 | M22x1.5 | Z1/2"X14 19.5 | 19 | 24 46
1QN-27-06 | M27x1.5 | Z3/8"X18 20 | 14 | 30 43
1QN-27-08 | M27x1.5 | Z1/2"X14 20 | 19 | 30 48
1QN-27-12 | M27x1.5 | Z3/4"X14 20 |19.5 | 30 48.5
1QN-27-16 | M27x1.5 | Z1"X11.5 20 | 24 | 36 55
1QN-30-12 | M30x2 | Z3/4"X14 23 |19.5 | 32 52.5
10N-33-12 | M33x2 | Zz3/4"X14 26 |19.5 | 36 56.5
1QN-36-16 | M36x2 | Z1"X11.5 5 | 24 | & 61
1QN-39-16 | M39x2 | Z1"X11.5 2% | 24 | & 62
1QN-45-16 | M45x2 | Z1"X11.5 28.5 | 24 | 46 65.5
1QN-45-20 | M45x2 [71.1/4"X11.5 28.5 | 25 | 46 66.5
1QN-45-24 | M45x2 [71.1/2"X11.5 28.5 | 25 | 50 70.5
1QN-52-20 | M52x2 [71.1/4"X11.5 30 | 25 | 55 72

- 87 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

F %,

10N4

" \? | S 45° AAHISMRLITA SMHE/ATHERT SMRLL

45° METRIC MALE 74° CONE/NPT MALE

A S1
= JA4L THREADE JU =T DIMENSIONS

PART NO. E F A B S1
10N4-12-02 M12x1.5 | Z1/8"X27 20 20 11
10N4-14-02 M14x1.5 | Z1/8"X27 22 22 14
10N4-14-04 M14x1.5 | Z1/4"X18 22 22 14
1QN4-16-06 M16x1.5 | Z3/8"X18 22 22 17
1QN4-18-06 M18x1.5 | Z3/8"X18 24 24 19
10N4-22-08 M22x1.5 | Z1/2"X14 27 27 22
10N4-27-08 M27x1.5 | Z1/2"X14 33 33 27
10N4-27-12 M27x1.5 | Z3/4"X14 33 33 27
10N4-30-12 M30x1.5 | Z3/4"X14 37 37 33
10N4-36-16 M36x2 Z1"X11.5 37 37 33
10N4-39-16 M39x2 Z1"X11.5 40 40 44
10N4-42-20 M42x2 |21.1/4"X11.5 40 40 44

- 88 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

60°

m 10N9

, 90° ATHIAMELTA SNEE/ AT HER SR AL
90° METRIC MALE 74° CONE/NPT MALE
A %

R B240 THREADE JU ~F DIMENSIONS

PART NO. E F A B S1
10N9-12-02 | M12x1.5 | Zz1/8"X27 25 25 11
1Q0N9-12-04 | M12x1.5 | Z1/4"X18 29 27 14
1Q0N9-14-02 | M14x1.5 | z1/8"X27 29 27 14
1Q0N9-14-04 | M14x1.5 | Z1/4"X18 29 27 14
1Q0N9-16-04 | M16x1.5 | Z1/4"X18 30 28 17
1Q0N9-16-06 | M16x1.5 | Z3/8"X18 30 28 17
1Q0N9-16-08 | M16x1.5 | Z1/2"X14 37 37 22
1Q0N9-18-04 | M18x1.5 | Z1/4"X18 33 33 19
1Q0N9-18-06 | M18x1.5 | Z3/8"X18 33 33 19
1Q0N9-22-06 | M22x1.5 | Z3/8"X18 37 37 22
1Q0N9-22-08 | M22x1.5 | Z1/2"X14 37 37 22
1Q0N9-27-08 | M27x1.5 | Z1/2"X14 41 41 27
1Q0N9-27-12 | M27x1.5 | Z3/4"X14 41 41 27
1Q0N9-27-16 | M27x1.5 | Z1"X11.5 49 49 33
1Q0N9-30-12 | M30x1.5 | Z3/4"X14 40 40 27
1QN9-36-16 M36x2 Z1"X11.5 46 46 33
1QN9-39-16 M39x2 71"X11.5 57 57 44
1QN9-42-20 M42x2 [71.1/4"X11.5 57 57 44
1QN9-45-16 M45x2 71"X11.5 55 55 44
1QN9-45-20 M45x2  [71.1/4"X11.5 55 55 44
1QN9-45-24 M45x2  [71.1/2"X11.5 60 57 55

- 89 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

n
,\/

| |
s/

60°

1QT

NHISNRLTA HIHES SHEE HSMREL
METRIC MALE 74° CONE/BSPT MALE

) #24; THREADE J& I DIMENSIONS

PART NO. E F A B s1 L

1QT-12-02 | M12x1.5 | R1/8"X28 16 | 10 | 14 32
1QT-12-04 | M12x1.5 | R1/4"X19 16 | 14 | 14 36
1QT-14-02 | M14x1.5 | R1/8"X28 17 | 10 | 17 33
1QT-14-04 | M14x1.5 | R1/4"X19 17 | 14 | 17 37
1QT-16-04 | M16x1.5 | R1/4"X19 18 | 14 | 19 38
1QT-16-06 | M16x1.5 | R3/8"X19 18 | 14 | 19 38
1QT-18-04 | M18x1.5 | R1/4"X19 18 | 14 | 19 38
1QT-18-06 | M18x1.5 | R3/8"X19 18 | 14 | 19 38
1QT-18-08 | M18x1.5 | R1/2"X14 18 | 19 | 22 44
1QT-22-06 | M22x1.5 | R3/8"X19 195 | 14 | 24 41

1QT-22-08 | M22x1.5 | R1/2"X14 19.5 | 19 24 46
1QT-27-06 | M27x1.5 | R3/8"X19 20 | 14 | 30 43
1QT-27-08 | M27x1.5 | R1/2"X14 20 | 19 | 30 48
1QT-27-12 | M27x1.5 | R3/4"X14 20 | 19.5 | 30 48.5
1QT-27-16 | M27x1.5 | R1"X11 20 | 24 | 36 55
1QT-30-12 M30x2 | R3/4"X14 23 | 19.5 | 32 52.5
1QT-33-12 M33x2 | R3/4"X14 26 | 19.5 | 36 56.5
1QT-36-16 M36x2 R1"X11 5 | 24 | 4 61
1QT-39-16 M39x2 R1"X11 26 | 24 | 4 62

1QT-45-16 M45x2 R1"X11 28.5 | 24 | 46 65.5
1QT-45-20 M45x2 | R1.1/4"X11 28.5 | 25 | 46 66.5
1QT-45-24 M45x2 | R1.1/2"X11 28.5 | 25 | 50 70.5
1QT-52-20 M52x2 | R1.1/4"X11 30 | 25 | 55 72

- 90 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

60°

A %&

10T9

90° AHISMERLTA HMIE/SEHEE SRS
90° METRIC MALE 74° CONE/BSPT MALE

R #241 THREADE J <} DIMENSIONS

PART NO. E F A B s1
1QT9-12-02 | M12x1.5 | R1/8"X28 25 | 25 11
1QT9-12-04 | M12x1.5 | R1/4"X19 29 | 27 | 14
1QT9-14-02 | M14x1.5 | R1/8"X28 29 | 27 | 14
1QT9-14-04 | M14x1.5 | R1/4"X19 29 | 27 | 14
1QT9-16-04 | M16x1.5 | R1/4"X19 30 | 28 | 17
1QT9-16-06 | M16x1.5 | R3/8"X19 30 | 28 | 17
1QT9-16-08 | M16x1.5 | R1/2"X14 37 | 37 | 22
1QT9-18-04 | M18x1.5 | Z1/4"X19 33 | 33 | 19
1QT9-18-06 | M18x1.5 | R3/8"X19 33 | 33 | 19
1QT9-22-06 | M22x1.5 | R3/8"X19 37 | 37 | 22
1QT9-22-08 | M22x1.5 | R1/2"X14 37 | 37 | 22
1QT9-27-08 | M27x1.5 | R1/2"X14 41 | 41 | 27
10T9-27-12 | M27x1.5 | R3/4"X14 41 | 41 | 27
10T9-27-16 | M27x1.5 | R1"X11 49 | 49 | 33
1QT9-30-12 | M30x1.5 | R3/4"X14 40 | 40 | 27
1QT9-36-16 | M36x2 R1"X11 46 | 46 | 33
10T9-39-16 | M39x2 R1"X11 57 | 57 | 44
10T9-42-20 | M42x2 | R1.1/4"X11 57 | 57 | 44
1QT9-45-16 | M45x2 R1"X11 55 | 55 | 44
1QT9-45-20 | M45x2 | R1.1/4"X11 55 | 55 | 44
1QT9-45-24 | M45x2 | R1.1/2"X11 60 | 57 | 55

- 9] -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

A B 1QB
w /1;] : | ﬁ%ﬂ%éﬁ%éﬁ?v 9\%&/%%%@%&
) 2o 60°  PAHERRL N f i I 21 5 3V
/%‘ METRIC MALE 74° CONE/BSP MALE
ﬂ DOUBLE FOR 60° SEAT BONDED SEAL
fo UZ£L THREADE JU <] DIMENSIONS
PART NO. E F A B s1 L
1QB-12-02 | M12x1.5 | G1/8"X28 16 10 14 32
1QB-14-04 | M14x1.5 | G1/4"X19 17 12 19 35
1QB-16-06 | M16x1.5 | G3/8"X19 18 | 13.5 | 22 39
1QB-18-06 | M18x1.5 | G3/8"X19 18 | 13.5 | 22 39
1QB-22-08 | M22x1.5 | G1/2"X14 19.5 | 16 27 44
1QB-24-10 | M24x1.5 | G5/8"X14 20 | 17.5 | 30 46.5
1QB-27-12 | M27x1.5 | G3/4"X14 20 | 18.5 | 32 48.5
1QB-30-12 | M30x1.5 | G3/4"X14 23 | 18.5 | 32 51.5
1QB-30E-12 M30x2 | G3/4"X14 26 | 18.5 | 32 54.5
1QB-33-16 M33x2 G1"X11 26 | 20.5 | 41 58.5
1QB-39-16 M39x2 G1"X11 26 | 20.5 | 41 58.5
1QB-45-20 M45x2 | G1.1/4"X11 28.5 | 20.5 | 50 66

- 92 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

i
7
| @7

e

106

W74 SME/ SR MR L0 e
METRIC 74° CONE/BSP MALE O-RING

R 22 THREADE JU I DIMENSIONS
PART NO. E F A B s1 L
1Q6-14-04 | M14x1.5 | G1/4"X19 17 12 17 35
1Q6-16-06 | M16x1.5 | 63/8"X19 18 | 13.5 | 22 39
1QG-18-06 | M18x1.5 | 63/8"X19 18 | 13.5 | 22 39
1Q6-18-08 | M18x1.5 | G1/2"X14 18 16 27 43
1Q6-22-08 | M22x1.5 | G1/2"X14 19.5 | 16 27 44
1Q6-27-12 | M27x1.5 | G3/4"X14 20 |18.5 | 32 48.5
1Q6-30-12 | M30x1.5 | 63/4"X14 23 |18.5 | 32 51.5
1Q6-39-16 M39x2 G1"X11 26 | 20.5 | 41 58.5
1QG-45-20 M45x2 | G1.1/4"X11 28.5 | 20.5 | 50 66

F
n = 10G9-0G
m Q
90° w74 AhE/
wl , S AR SO ] AT A fi A i
T _% 90° METRIC 74° CONE/
\ s1 BSP MALE O-RING ADJUSTABLE STUD

o UE 4 THREADE U~} DIMENSIONS

PART NO. E F A B s1 S2

1QG9-14-040G | M14x1.5 | G1/4"X19 27 | 31.3 | 14 19

1QG9-16-060G | M16x1.5 | 63/8"X19 29 | 35.8 | 17 22

1QG9-18-060G | M18x1.5 | G3/8"X19 32 | 36.8| 19 22

1QG9-18-080G | M18x1.5 | G1/2"X14 32 | 43.2| 19 27

1Q69-22-080G | M22x1.5 | G1/2"X14 37 | 43.2 | 22 27

1Q69-27-120G | M27x1.5 | G3/4"X14 41 | 49.3 | 27 32

1QG9-30-120G | M30x1.5 | G3/4"X14 40 52 27 32

1QG9-39-160G | M39x2 6111 57 58 44 4

1Q69-45-200G | M45x2 | G1.1/4"X11 55 63 44 50

- 03 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

i
7
| @7

e

10H

W74 ANHES A I AMRE

METRIC 74° CONE/METRIC MALE

foe §247 THREADE JU ~f DIMENSIONS
PART NO. E F A B S1 L
10QH-14-12 M14x1.5 | M12x1.5 17 11 17 34
10H-16-14 M16x1.5 | M14x1.5 18 11 19 35
1QH-18-16 M18x1.5 | M16x1.5 18 11 22 36
1QH-22-18 M22x1.5 | M18x1.5 19.5 11 24 38
1QH-27-22 M27x1.5 | M22x1.5 20 12 27 41
1QH-30-27 M30x1.5 | M27x1.5 23 13 32 46
1QH-33-27 M33x2 M27x1.5 26 13 32 49

F
N = 10H9-0G
1 =
Y 90° Afl74° HMES
wl [ , O TR AMESCR]T I 1) A i
VY 90° METRIC 74° CONE/
) 51 METRIC MALE ADJUSTABLE STUD

= 24 THREADE JX <} DIMENSIONS

PART NO. E F A B S1 S2

1QH9-14-120G | M14x1.5 | M12x1.5 27 32 14 17

1QH9-16-140G | M16x1.5 | M14x1.5 29 35.5 17 19

1QH9-18-160G | M18x1.5 | M16x1.5 32 36 19 22

1QH9-22-180G | M22x1.5 | M18x1.5 37 39.5 22 24

1QH9-27-220G | M27x1.5 | M22x1.5 41 43.5 27 27

1QH9-30-270G | M30x1.5 | M27x1.5 40 50 27 32

1QH9-33-270G M33x2 M27x1.5 49 52 33 32

1QH9-36-330G M36x2 M33x2 49 54 33 41

1QH9-39-3306G M39x2 M33x2 57 57.2 44 41

1QH9-45-4206G M45x2 M42x2 55 61 44 50

- 94 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

L

A B
= 1QM
w AB w g NHISMRETA SNHES 2 I SMEREL

| !
60°  PHES NS i AL & 3
2
& (//// METRIC MALE 74° CONE/METRIC MALE
s/

DOUBLE FOR 60° SEAT BONDED SEAL

) 24 THREADE R~ DIMENSIONS
PART NO. E F A B s1 L
1QM-12 M12x1.5 | M12x1.5 16 | 10 | 17 34
1QM-14 M14x1.5 | M14x1.5 17 | 11 19 36
1QM-14-12 | M14x1.5 | M12x1.5 17 | 10 | 17 35
1QM-14-16 | M14x1.5 | M16x1.5 17 | 12 | 22 38
1QM-16 M16x1.5 | M16x1.5 18 | 12 | 22 39
1QM-16-14 | M16x1.5 | M14x1.5 18 | 11 | 19 37
1QM-18 M18x1.5 | M18x1.5 18 | 12 | 24 40
1QM-18-16 | M18x1.5 | M16x1.5 18 | 12 | 22 39
1QM-22 M22x1.5 | M22x1.5 19.5 | 14 | 27 44.5
1QM-22-18 | M22x1.5 | M18x1.5 19.5 | 12 | 24 39

- 05 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

A B 1 QO
w 11 w INHISMRET4° HMEES
) SAEAMIRZLOY ]
METRIC MALE74° CONE/
% SAE MALE O-RING
R 24 THREADE JU <) DIMENSIONS
PART NO. E F A B S1 L
1Q0-16-06 | M16x1.5 | U9/16"X18 18 12 17 36
1Q0-18-08 | M18x1.5 | U3/4"X16 18 12 22 37
1Q0-22-10 | M22x1.5 | U7/8"X14 19.5 | 13.5 | 27 42
1Q0-27-12 | M27x1.5 [U1.1/16"X12 20 16 32 46
1Q0-30-12 | M30x1.5 [U1.1/16"X12 23 16 32 49
1Q0-33-16 M33x2 |U1.5/16"X12 26 17 41 55
1Q0-39-16 M39x2 |U1.5/16"X12 26 17 41 55
1Q0-42-20 M42x2 | U1.5/8"X12 28.5 | 18 50 63.5
F
: 1009-0G
@
j 90° AHISNELTA® ANHE/
SAESMZLL0%Y P
. XJ 90° METRIC MALE74° CONE/
SAE MALE O-RING ADJUSTABLE STUD
A s1
R U4 THREADE JU 5} DIMENSIONS
PART NO. E F A B S1 S2
1Q09-16-060G | M16x1.5 | U9/16"X18 30 | 31.8 | 17 19
1Q09-18-080G | M18x1.5 | U3/4"X16 37 |36.8 | 22 24
1Q09-22-100G | M22x1.5 | U7/8"X14 37 44 22 27
1Q09-27-120G | M27x1.5 [U1.1/16"X12 41 51 27 32
1Q09-30-120G | M30x1.5 [U1.1/16"X12 40 53 27 32
1Q09-33-160G | M33x2 [U1.5/16"X12 49 | 54.5 | 33 41
1Q09-39-160G | M39x2 [U1.5/16"X12 49 | 59.5 | 44 41
1Q09-42-200G | M42x2 |U1.5/8"X12 49 59 44 50

- 96 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

74°

@ S2
= 209

] 90° AHISMELTA HMES
;r<>m p— ARIAIRLTA" PIAE
~ 90° METRIC MALE 74° CONE/
A 51 METRIC FEMALE 74° SEAT
= 245 THREADE JU ~) DIMENSIONS
PART NO. E A c S1 S2
209-14 M14x1.5 29 9 14 19
209-16 M16x1.5 30 | 9.5 | 17 22
209-18 M18x1.5 33 | 9.5 | 19 24
2Q9-22 M22x1.5 37 10 22 27
2Q9-27 M27x1.5 41 |10.5 | 27 32
2Q9-30 M30x1.5 40 |11.5 | 27 36
2Q9-33 M33x2 49 | 14.5 | 33 4
2Q9-36 M36x2 46 | 13.5 | 33 41
2Q9-39 M39x2 57 | 13.5 | 44 46
2Q9-45 M52x2 55 | 15.5 | 44 55

75

s1 /5\(3
INHIAMEST7A° HNEE =

<C
) )7%/ 72 |
<t L o
i: Jﬂ : <:::> METRIC MALE 74° CONE TEE

A A

= IZ4r THREADE JU = DIMENSIONS
PART NO. E A S1

AQ-14 M14x1.5 27 14

AQ-16 M16x1.5 29 17

AQ-18 M18x1.5 32 19

AQ-22 M22x1.5 33 22

AQ-27 M27x1.5 40 27

AQ-30 M30x1.5 40 27

AQ-33 M33x2 49 33

- 97 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

M= AQHO-0G
y - 7

AFISMRELTA° S/

* * CING IR SR v s ]

\ METRIC MALE74° CONE/

A \s1 A ADJUSTABLE STUD BRANCH TEE

o #22 THREADE 0711 J& -] DIMENSIONS
PART NO. E F 0-RING | A B s1 | s2
AQHQ-14-12-1406| M14x1.5 | M12x1.5 9.3x2.4 | 27 | 32 | 14 | 17
AQHQ-16-14-160G| M16x1.5 | M14x1.5 11.3x2.4 | 29 | 35.5 | 17 | 19
AQHQ-18-16-180G| M18x1.5 | M16x1.5 13.3x2.4 | 32 | 36 | 19 | 22
AQHQ-22-18-220G| M22x1.5 | M18x1.5 15.3x2.4 | 33 | 39.5| 22 | 24
AQHQ-27-22-2706| M27x1.5 | M22x1.5 19.3x2.4 | 40 | 43.5| 27 | 27
AQHQ-30-27-3006| M30x1.5 | M27x1.5 23.5x3 | 40 | 50 | 27 | 32
AQHQ-33-27-330G| M33x2 | M27x1.5 23.5x3 | 49 | 52 | 33 | 32
AQHQ-36-33-360G| M36x2 | M33x2 20.5x3 | 46 | 54 | 33 | 41
AQHQ-39-33-390G| M39x2 | M33x2 29.5x3 | 57 |57.2| 44 | 41

il AQQH-0G

<
j % 17444, _ N

7 NHISMRLT4° SME/

w = A i i S =3

\ lb; J METRIC MALE74° CONE/
A \s1 8 ADJUSTABLE STUD RUN TEE
= 240 THREADE 07t ] JU ~) DIMENSIONS
PART NO. E F 0-RING A B S1 S2

AQQH-14-14-120G| M14x1.5 | M12x1.5 9.3x2.4 27 32 14 17
AQQH-16-16-140G| M16x1.5 | M14x1.5 11.3x2.4 29 35.5 17 19
AQQH-18-18-160G| M18x1.5 | M16x1.5 13.3x2.4 32 36 19 22
AQQH-22-22-180G| M22x1.5 | M18x1.5 15.3x2.4 33 39.5 22 24
AQQH-27-27-220G| M27x1.5 | M22x1.5 19.3x2.4 40 43.5 27 27
AQQH-30-30-270G| M30x1.5 | M27x1.5 23.5%3 40 50 27 32
AQQH-33-33-270G] M33x2 M27x1.5 23.5%3 49 52 33 32
AQQH-36-36-330G] M36x2 M33x2 29.5x3 36 54 33 41
AQQH-39-39-330G| M39x2 M33x2 29.5x3 57 57.2 44 41

- 908 -



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

1

li

i A
ST
a1/

JIS METRIC MALEG0°

1K

HA A HISMERZ60° HME
CONE

= 247 THREADE JU ~) DIMENSIONS
PART NO. E A B s1 L
1K-14 M14x1.5 17 17 17 40
1K-16 M16x1.5 18 18 17 42
1K-18 M18x1.5 18 18 19 42
1K-20 M20x1.5 20 20 22 47
1K-22 M22x1.5 20 20 24 48
1K-24 M24x1.5 21.5 | 21.5 | 27 52
1K-30 M30x1.5 26 26 32 62
1K-33 M33x1.5 30 30 36 71
1K-36 M36x1.5 33 33 41 78
1K-42 M42x1.5 36 36 46 85
— S2
|
i 2K9
" TN 90° HALHERZ60° FME
90° JIS METRIC MALE60° CONE
A s1
fo 424 THREADE JU <} DIMENSIONS
PART NO. E F A C s1 S2
2K9-14 M14x1.5 | M14x1.5 29 12 14 19
2K9-16 M16x1.5 | M16x1.5 30 | 9.5 | 17 22
2K9-18 M18x1.5 | M18x1.5 33 11 19 24
2K9-22 M22x1.5 | M22x1.5 37 14 22 27
2K9-24 M24x1.5 | M24x1.5 37 | 13.5 | 24 32
2K9-30-24 | M30x1.5 | M24x1.5 40 | 13.5 | 27 32
2K9-30 M30x1.5 | M30x1.5 40 20 27 36
2K9-33 M33x1.5 | M33x1.5 49 | 20.5 | 33 41

- 99 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

4K

HASAHISMRL60° SMIEH: Sk
JIS METRIC MALE60° CONE PLUG

s1
R 24 THREADE JU <) DIMENSIONS
PART NO. E A s1 L
4K-14 M14x1.5 17 14 23
4K-16 M16x1.5 18 17 24
4K-18 M18x1.5 18 19 24
4K-20 M20x1.5 20 22 27
4K-22 M22x1.5 20 24 28
4K-24 M24x1.5 21.5 27 30
4K-30 M30x1.5 26 32 36
4K-33 M33x1.5 30 36 41
s2
//_
al 1)) 9K
2l || 1 6 4 R Ay GO
JIS METRIC FEMALE 60° SEAT PLUG
7
=t 24 THREADE JU ~) DIMENSIONS
PART NO. E c s1 s2
9K-14 M14x1.5 12 19 19
9K-16 M16x1.5 9.5 | 19 22
9K-18 M18x1.5 11 24 24
9K-22 M22x1.5 14 27 27
9K-24 M24x1.5 13.5 | 32 32
9K-30 M30x1.5 20 36 36
9K-33 M33x1.5 20,5 | 41 41

- 100 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

A B
T T 1KN
“ 8 ' 2
) FIA N HIAMRE60° SMIE/ A HE R SMELL
ééféééfffz JIS METRIC MALE 60° CONE/NPT MALE
F
st
e U240 THREADE J& <} DIMENSIONS
PART NO. E F A B s1 L
1KN-14-04 | M14x1.5 | Z1/4"X18 17 14 14 37
1KN-14-06 | M14x1.5 | Z3/8"X18 17 14 17 37
1KN-16-06 | M16x1.5 | Z3/8"X18 18 14 17 38
1KN-18-06 | M18x1.5 | Z3/8"X18 18 14 19 38
1KN-20-06 | M20x1.5 | Z3/8"X18 20 14 22 41
1KN-22-06 | M22x1.5 | Z3/8"X18 20 14 24 42
1KN-22-08 | M22x1.5 | Z1/2"X14 20 19 24 47
1KN-24-12 | M24x1.5 | Z3/4"X14 21.5 | 19.5 | 27 50
1KN-30-12 | M30x1.5 | Z3/4"X14 26 | 19.5 | 32 |55.5
1KN-33-16 | M33x1.5 | Z1"X11.5 30 24 36 65
1KN-36-20 | M36x1.5 [z1.1/4"X11.5 33 25 46 71
1KN-42-24 | M42x1.5 [z1.1/2"X11.5 36 25 50 78
S g T 1KM
i l
W ol e HALNHISMRZ60° SME/
< ANTHISMERE60 ° % d5f 2 15 2 P
JIS METRIC MALE60° CONE/

L
s/

METRIC MALE 60° CONE BONDED SEAL

o= 24 THREADE JU s} DIMENSIONS
PART NO. E F A B s1 L
1KM-14-12 | M14x1.5 | M12x1.5 17 10 17 35

1KM-14 M14x1.5 | M14x1.5 17 11 19 36
1KM-22-16 | M22x1.5 | M16x1.5 20 12 22 41
1KM-22-18 | M22x1.5 | M18x1.5 20 12 24 42

1KM-22 M22x1.5 | M22x1.5 20 14 27 45

- 101 -



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

A B

T 1KT

y v FIA A ISMBEL60 ° /HEHERS Sh IR
N JIS METRIC MALE6O° CONE/BSPT MALE
.
S
foe 24 THREADE JU ~f DIMENSIONS
PART NO. E F A B S1 L
1KT-14-04 M14x1.5 R1/4""X19 17 14 17 37
1KT-16-06 M16x1.5 R3/8"X19 18 14 19 38
1KT-18-06 M18x1.5 R3/8"X19 18 14 19 38
1KT-22-06 M22x1.5 R3/8"X19 20 14 24 42
1KT-22-08 M22x1.5 R1/2"X14 20 19 24 47
1KT-30-12 M30x1.5 R3/4"X14 26 19.5 32 55.5
1KT-33-16 M33x1.5 R1"X11 30 24 36 65
1KT-36-20 M36x1.5 | R1.1/4"X11 33 25 46 71
1KT-42-24 M42x1.5 | R1.1/2"X11 36 25 50 78
L
A B
! 1KH
iR
T o HAR A FIAMREZ60° 4ME/
b IHISMBLUE £ 5]
“z Z JIS METRIC MALEGO® CONE/
METRIC MALE S-SERIES
S1
Re UZZ THREADE JU <} DIMENSIONS
PART NO. E F A B S1 L
1KH-14-12 M14x1.5 | M12x1.5 17 11 17 34
1KH-14 M14x1.5 | M14x1.5 17 11 19 34
1KH-16-14 M16x1.5 | M14x1.5 18 11 19 35
1KH-18-14 M18x1.5 | M14x1.5 18 11 19 35
1KH-18-16 M18x1.5 | M16x1.5 18 11 22 36
1KH-18-20 M18x1.5 | M20x1.5 18 12 27 39
1KH-20-18 M20x1.5 | M18x1.5 20 11 24 39
1KH-22-20 M22x1.5 | M20x1.5 20 12 27 41
1KH-24-20 M24x1.5 | M20x1.5 21.5 12 27 42
1KH-24-22 M24x1.5 | M22x1.5 21.5 12 27 42
1KH-30-27 M30x1.5 | M27x1.5 26 13 32 49

- 102 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

* 1KH9-0G
o
‘ 90° HAAHISMELB0° St/
NRE DI AMERSL AT 3 [v) £
“7‘ 90° JIS METRIC MALE 60° CONE/
™ —A{& METRIC ALE ADJUSTABLE STUD
A s1
R IR4 THREADE O pE JU ~J DIMENSIONS
PART NO. E F 0-RING A B s1 S2
1KH9-14-120G | M14x1.5 | M12x1.5 9.3x2.4 | 27 |[33.5| 14 17
1KH9-140G | M14x1.5 | M14x1.5 11.3x2.4 | 27 | 34.5 | 14 19
1KH9-16-140G | M16x1.5 | M14x1.5 11.3x2.4 | 29 | 35.5 | 17 19
1KH9-18-140G | M18x1.5 | M14x1.5 11.3x2.4 | 32 | 37.5 | 19 19
1KH9-18-160G | M18x1.5 | M16x1.5 13.3x2.4 | 32 | 39.5 | 19 22
1KH9-18-200G | M18x1.5 | M20x1.5 17.3x2.4 | 37 44 22 27
1KH9-20-180G | M20x1.5 | M18x1.5 15.3x2.4 | 37 | 42.5 | 22 24
1KH9-22-200G | M22x1.5 | M20x1.5 17.3x2.4 | 37 | 45.5 | 22 27
1KH9-24-200G | M24x1.5 | M20x1.5 17.3x2.4 | 37 47 24 27
1KH9-24-220G | M24x1.5 | M22x1.5 19.3x2.4 | 37 47 24 27
1KH9-30-270G | M30x1.5 | M27x1.5 23.5x3 | 40 57 27 32
1KH9-330G | M33x1.5 | M33x1.5 29.5x3 | 49 59 33 41
1KH9-36-330G | M36x1.5 | M33x1.5 29.5x3 | 46 | 60.5 | 33 41

- 103 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

Pz

% |
o
s/

1KG

HA A HISMERL60° SMHE/

YL AMRLL0 T

JIS METRIC MALE 60° CONE/

BSP MALE O-RING

e #2140 THREADE JU < DIMENSIONS
PART NO. E F A B s1 L
1KG-14-04 M14x1.5 | G1/4"X19 17 12 19 35
1KG-14-06 M14x1.5 | G3/8"X19 17 | 13.5 | 22 38
1KG-16-06 M16x1.5 | G3/8"X19 18 | 13.5 | 22 39
1KG-18-06 M18x1.5 | G3/8"X19 18 | 13.5 | 22 39
1KG-22-08 M22x1.5 | G1/2"X14 20 16 27 45
1KG-30-12 M30x1.5 | G3/4"X14 26 | 18.5 | 32 | 54.5
1KG-33-12 M33x1.5 | G3/4"X14 30 |18.5 | 36 | 59.5
1KG-33-16 M33x1.5 | G1"X11 30 | 205 | 41 | 62.5

F
S2 =
L 1KG9-0G
wi W ‘ 90° HALMHAMRLE0° /
G ) FeE SR SO T R
90° JIS MERIC MALE/
A S1 BSP MALE O-RING ADJUSTABLE STUD

R R4 THREADE JU =) DIMENSIONS

PART NO. E F A B s1 S2
1KG9-14-040G | M14x1.5 | G1/4"X19 29 | 31.3| 14 19
1KG9-14-060G | M14x1.5 | G3/8"X19 30 | 35.8 | 17 22
1KG9-16-060G | M16x1.5 | G3/8"X19 30 | 35.8 | 17 22
1KG9-18-060G | M18x1.5 | G3/8"X19 33 37 19 22
1KG9-22-080G | M22x1.5 | G1/2"X14 37 | 43.2 | 22 27
1KG9-24-080G | M24x1.5 | G1/2"X14 37 46 24 27
1KG9-24-120G | M24x1.5 | G3/4"X14 41 | 49.3 | 27 32
1KG9-30-120G | M30x1.5 | G3/4"X14 40 53 27 32
1KG9-33-160G | M33x1.5 | G1"X11 49 53 33 41
1KG9-42-200G | M42x1.5 | G1.1/4"X11 57 59 44 50

- 104 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

é%é\ AK

</ .
J A H A A BIAMELE0° AN =il
: < JIS METRIC MALE6O° CONE TEE
A \ﬂ A
= #240 THREADE JU < DIMENSIONS
PART NO. E A s1
AK-14 M14x1.5 27 14
AK-16 M16x1.5 29 17
AK-18 M18x1.5 32 19
AK-22 M22x1.5 33 22
AK-24 M24x1.5 33 24
AK-30 M30x1.5 40 27
AK-33 M33x1.5 49 33
F S2
9 7 té{/__ E3|<(
%; 72 | HAAHISMERZ60° SMHE/
i e AR 2 1l N BB 8060 N HE 73 S —
\ JIS METRIC MALE60° CONE/
. \ﬂ . JIS METRIC FEMALE 60° SEAT BRANCH TEE
= 240 THREADE JU <) DIMENSIONS
PART NO. E F A C S1 S2
BK-14 M14x1.5 | M14x1.5 27 12 14 19
BK-16 M16x1.5 | M16x1.5 29 | 9.5 | 17 22
BK-18 M18x1.5 | M18x1.5 32 11 19 24
BK-22 M22x1.5 | M22x1.5 33 14 22 27
BK-24 M24x1.5 | M24x1.5 33 |13.5 | 24 32
BK-30 M30x1.5 | M30x1.5 40 20 27 36
BK-33 M33x1.5 | M33x1.5 49 | 20.5| 33 4

- 105 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

AKKG-0G

S2
w | 20
wl [ , u ERN/NPN SAVE S =N
& \ lL | OB T U RS 2 % 3
\s1 JIS METRIC MALE/BSP MALE O-RING

A B RUN TEE ADJUSTABLE STUD
= 240 THREADE JU <} DIMENSIONS
PART NO. E F A B s1 S2
AKKG-14-14-040G| M14x1.5 | G1/4"X19 27 | 31.3 | 14 19
AKKG-14-14-060G| M14x1.5 | G3/8"X19 29 | 35.8 | 17 22
AKKG-16-16-060G| M16x1.5 | G3/8"X19 29 | 35.8 | 17 22
AKKG-18-18-060G| M18x1.5 | G3/8"X19 32 37 19 22
AKKG-22-22-080G| M22x1.5 | G1/2"X14 33 | 43.2| 22 27
AKKG-24-24-080G| M24x1.5 | G1/2"'X14 33 46 24 27
AKKG-24-24-1206| M24x1.5 | G3/4"X14 40 | 49.3| 27 32
AKKG-30-30-1206| M30x1.5 | G3/4"X14 40 53 27 32
AKKG-33-33-160G| M33x1.5 G1"X11 49 53 33 41

- 106 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

E

P

AKKH-0G

<<
Z HA A HISMERE60 ° SMHES 23 il A
. ﬁ T LT A =
\ JIS METRIC MALE 60° CONE/

A \s1 5 ADJUSTABLE STUD RUN TEE
o= U224 THREADE 07t g JU 5} DIMENSIONS
PART NO. E F O0-RING A B S1 S2
AKKH-14-14-120G| M14x1.5 | M12x1.5 9.3x2.4 27 33.5 14 17
AKKH-1406G M14x1.5 | M14x1.5 11.3x2.4 27 34.5 14 19
AKKH-16-16-140G| M16x1.5 | M14x1.5 11.3x2.4 29 35.5 17 19
AKKH-18-18-160G| M18x1.5 | M16x1.5 13.3x2.4 32 39.5 19 22
AKKH-18-18-200G| M18x1.5 | M20x1.5 17.3x2.4 33 44 22 27
AKKH-20-20-180G| M20x1.5 | M18x1.5 15.3x2.4 33 42.5 22 24
AKKH-22-22-200G| M22x1.5 | M20x1.5 17.3x2.4 33 45.5 22 27
AKKH-24-24-200G| M24x1.5 | M20x1.5 17.3x2.4 33 47 24 27
AKKH-24-24-220G| M24x1.5 | M22x1.5 19.3x2.4 33 47 24 27
AKKH-30-30-270G| M30x1.5 | M27x1.5 23.5x3 40 57 27 32
AKKH-330G M33x1.5 | M33x1.5 29.5x3 49 59 33 41
AKKH-36-36-330G| M36x1.5 | M33x1.5 29.5x3 46 60.5 33 41

F
5 8" AKGK-0G
) —_
D H A il MRS 9 Mg
WRE o L0 ] ] 1A 1] 434y 73 = 38
fﬂ 3 © JIS METRIC MALE/BSP MALE O-RING
o ADJUSTABLE STUD BRANCH TEE
A A

= IH 4L THREADE J& <} DIMENSIONS
PART NO. E F A B S1 S2
[AKGK-14-04-140G| M14x1.5 G1/4"X19 27 31.3 14 19
[AKGK-14-06-140G| M14x1.5 (63/8"X19 29 35.8 17 22
[AKGK-16-06-160G| M16x1.5 (63/8"X19 29 35.8 17 22
[AKGK-18-06-180G| M18x1.5 (63/8"X19 32 37 19 22
[AKGK-22-08-220G| M22x1.5 G1/2"X14 33 43.2 22 27
[AKGK-24-08-240G| M24x1.5 G1/2"X14 33 46 24 27
AKGK-24-12-240G| M24x1.5 G3/4"X14 40 49.3 27 32
[AKGK-30-12-300G| M30x1.5 G3/4"X14 40 53 27 32
[AKGK-33-16-330G| M33x1.5 G1"X11 49 53 33 41

- 107 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

AKHK-0G

HAAHISMRZ60 ° HMHES 2 5

WRESCAT U [r) A5 ) 52— 3
JIS METRIC MALE 60° CONE/
ADJUSTABLE STUD BRANCHTEE

fro 24 THREADE 0 JU ~) DIMENSIONS
PART NO. E F 0-RING A B s1 S2
AKHK-14-12-140G| M14x1.5 | M12x1.5 9.3x2.4 | 27 | 33.5| 14 17
AKHK-1406 M14x1.5 | M14x1.5 11.3x2.4 | 27 | 345 | 14 19
AKHK-16-14-160G| M16x1.5 | M14x1.5 11.3x2.4 | 29 | 35.5 | 17 19
AKHK-18-14-180G| M18x1.5 | M14x1.5 11.3x2.4 | 32 | 37.5| 19 19
AKHK-18-16-180G| M18x1.5 | M16x1.5 13.3x2.4 | 32 | 39.5 | 19 22
AKHK-18-20-180G| M18x1.5 | M20x1.5 17.3x2.4 | 33 44 22 27
AKHK-20-18-200G| M20x1.5 | M18x1.5 15.3x2.4 | 33 | 42.5 | 22 24
AKHK-22-20-220G| M22x1.5 | M20x1.5 17.3x2.4 | 33 | 45.5 | 22 27
AKHK-24-20-240G| M24x1.5 | M20x1.5 17.3x2.4 | 33 47 24 27
AKHK-24-22-240G| M24x1.5 | M22x1.5 19.3x2.4 | 33 47 24 27
AKHK-30-27-300G| M30x1.5 | M27x1.5 23.5x3 | 40 57 27 32
AKHK-3306 M33x1.5 | M33x1.5 29.5x3 | 49 | 59 33 M

- 108 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

S
By 1V
_H_
N | | - N °
W 2 AHIAMNELT4° PHET
METRIC FEMALE 74° CONE SEAT
e IZZ(E THREADE JU <} DIMENSIONS
PART NO. E A S L
1v-14 M14X1.5 8 14 22
1vV-16 M16X1.5 8.5 17 23
1v-18 M18X1.5 8.5 19 23
1v-22 M22X1.5 9 24 26
1v-27 M27X1.5 8.5 30 26
1vV-30 M30X1.5 8 32 26
1V-36 M3B6X2 9 41 30
1vV-39 M39X2 9 41 30
1v-45 M45X2 9 46 31
1v-52 M52X2 9 55 35
1V-64 M64X2 12 65 41
L
S
- VT
< W
- INHIAMBLTA T/ SEHE S SN L
F METRIC FEMALE 74° CONE SEAT/BSPT MALE
fo IZL(E THREADE JU < DIMENSIONS
PART NO. E F A B S L
1VT-14-04 M14X1.5 Z2G1/4"-19 8 14 14 28
1VT-18-06 M18X1.5 2G63/8"-19 8.5 14 19 28.5
1VT-22-08 M22X1.5 ZG1/2"-14 9 19 24 36
1VT-30-12 M30X1.5 ZG3/4"-14 8 19.5 32 37.5
1VT-39-16 M39X2 ZG1"-11 9 24 41 45
1VT-45-20 M45X2 ZG1.1/74"-11 9 25 46 47
1VT-52-24 M52X2 ZG1.1/2"-11 9 25 55 51
1VT-64-32 M64X2 ZG2"-11 12 29 65 58

- 109 -



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

BIBh 1S

H A4 HMRE60° HME

;i al
Z, %/ 72 4 JIS GAS MALE 60° CONE
st/

fe BAZr THREADE JU ~} DIMENSIONS
PART NO. E A S1 L
1S-04 G1/4"X19 15 14 36
1S-06 63/8"X19 16 17 38
1S-08 G1/2"X14 19 22 45
18-12 G3/4"X14 23 30 55
15-16 G1"X11 25 36 61
1S-20 G1.1/4"X11 29 46 71
1S-24 61.1/2"X11 30 50 77
18-32 G2"X11 35 70 88
L
A

45

HASHLE JMRE60° SMIER: Sk
JIS GAS MALE 60° CONE PLUG

= 24 THREADE JU <t DIMENSIONS
PART NO. E A s1 L
45-04 G1/4"X19 15 14 21
45-06 G3/8"X19 16 17 22
4S-08 G1/2"'X14 19 22 26
45-12 63/4"X14 23 30 32
45-16 G1"X11 25 36 36
45-20 61.1/4"X11 29 46 42
45-24 61.1/2"X11 30 50 47
45-32 62"X11 35 70 53

- 110 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

pop

= ‘ 9S
o J
=
H A S A REI60° A HER: Sk
|1 JIS GAS FEMALE 60° SEAT PLUG
C
e 24 THREADE JU s} DIMENSIONS
PART NO. E c s1 S2
95-04 G1/4"X19 8 17 19
95-06 63/8"X19 8.5 | 19 22
95-08 G1/2"X14 10.5 | 22 27
95-12 G3/4"X14 14 32 32
9s-16 G1"X11 14.5 | 36 41
95-20 G1.1/4"X11 16 50 50
95-24 G1.1/2"X11 18 55 55
95-32 G2"X11 24 70 70
L
A B
6S
SO,
i% H AR AMEL60° FMHEE Bk
‘é%;ﬁy JIS GAS MALE 60° CONE BULKHEAD
S1
R U4 THREADE JU I DIMENSIONS
PART NO. E A B S1 L
6S-04 G1/4"X19 15 32 19 53
6S-06 G3/8"X19 16 36 22 59
65-08 G1/2"X14 19 40 27 68
6S-12 G3/4"X14 23 41 32 74
6S-16 G1"X11 25 45 4 82

AU ISR BT, MBS AEAC T Ja LN, 416S-04LN;
Remark:In case if you are interested to order the adapter with lock nut,please
insert suffix"LN"after our part NO.,for example 6S-04LN.

- 111 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

Wj%/ﬁﬁg@

1ST

HAGEE HMRAr60° AMIE/JEHER SMERL
JIS GAS MALE 60° CONE/BSPT MALE

K5 1240 THREADE JU < DIMENSIONS
PART NO. E F A B s1 L
1ST-04 G1/4"X19 | R1/4"X19 15 14 17 35
1ST-04-02 G1/4"X19 | R1/8"X28 15 10 17 31
1ST-04-06 G1/4"X19 | R3/8"X19 15 14 19 35
1ST-04-08 G1/4"X19 | R1/2"X14 15 19 22 41
1ST-06 63/8"X19 | R3/8"X19 16 14 19 36
1ST-06-04 63/8"X19 | R1/4"X19 16 14 19 36
1ST-06-08 63/8"X19 | R1/2"X14 16 19 22 42
1ST-08 G1/2"X14 | R1/2"X14 19 19 22 45
1ST-08-04 G1/2"X14 | R1/4"X19 19 14 22 40
1ST-08-06 G1/2"X14 | R3/8"X19 19 14 22 40
1ST-08-12 G1/2"X14 | R3/4"X14 19 | 19.5 | 27 47.5
1ST-12 G3/4"X14 | R3/4"X14 23 | 19.5 | 30 51.5
1ST-12-08 63/4"X14 | R1/2"X14 23 19 30 51
1ST-12-16 G3/4"X14 R1"X11 23 24 36 58
1ST-16 G1"X11 R1"X11 25 24 36 60
1ST-16-12 61"X11 R3/4"X14 25 | 19.5 | 36 55.5
1ST-20 G1.1/4"X11 | R1.1/4"X11 29 25 46 67
1ST-24 61.1/2"X11 | R1.1/2"X11 30 25 50 68
1ST-32 62"X11 R2"X11 35 29 70 81

- 112 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

15T4

45° HAGHMEL60°
HMIES THERE SMREL

45° JIS GAS MALE 60°
CONE/BSPT MALE

= B4 THREADE J =~} DIMENSIONS
PART NO. E F A B s1
1ST4-04 G1/4"X19 | R1/4"'X19 22 22 14
1ST4-04-02 G1/4"X19 | R1/8"X28 22 22 14
1ST4-04-06 G1/4"X19 | R3/8"X19 22 22 17
1ST4-04-08 G1/4"X19 | R1/2"X14 27 27 22
1ST4-06 G3/8"X19 | R3/8"X19 22 22 17
1ST4-06-04 | G3/8"X19 | R1/4"X19 22 22 17
1ST4-06-08 | G3/8"X19 | R1/2"X14 27 27 22
1ST4-08 G1/2"X14 | R1/2"X14 27 27 22
1ST4-08-06 | G1/2"X14 | R3/8"X19 27 27 22
1ST4-12 G3/4"X14 | R3/4"X14 33 33 27
1ST4-12-08 G3/4"X14 | R1/2"X14 33 33 27
1ST4-16 G1"X11 R1"X11 37 37 33
1ST4-16-12 61"X11 R3/4"X14 37 37 33
1ST4-20 G1.1/4"X11 | R1.1/4"X11 40 40 44
1ST4-24 G1.1/2"X11 | R1.1/2"X11 47 47 53
1ST4-32 G2"X11 R2"X11 55 55 65

- 113 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

om

=

1ST9

90° HAIEHMEL60°
HIVHES MR SMIR AL

90° JIS GAS MALE 60°
CONE/BSPT MALE

A
o 22 THREADE JU <} DIMENSIONS
PART NO. E F A B s1
1ST9-04 G1/4"X19 | R1/4"X19 29 27 | 14
1ST9-04-02 | G1/4"X19 | R1/8"X28 29 27 | 14
1ST9-04-06 | G1/4"X19 | R3/8"X19 29 30 | 17
1ST9-06 G3/8"X19 | R3/8"X19 30 28 | 17
1ST9-06-04 | G3/8"X19 | R1/4"X19 30 28 | 17
1ST9-06-08 | G3/8"X19 | R1/2"X14 37 37 22
1ST9-08 G1/2"X14 | R1/2"X14 37 37 22
1ST9-08-06 | G1/2"X14 | R3/8"X19 37 37 22
1ST9-08-12 | G1/2"X14 | R3/4"X14 4 4 27
1ST9-12 G3/4"X14 | R3/4"X14 4 4 27
1ST9-12-08 | G3/4"X14 | R1/2"X14 4 4 27
1ST9-12-16 | G3/4"X14 R1"X11 49 49 33
1ST9-16 G1"X11 R1"X11 49 49 33
1ST9-20 G1.1/4"X11 | R1.1/4"X11 57 57 44
1ST9-24 G1.1/2"X11 | R1.1/2"X11 57 57 48
1ST9-32 G2"X11 R2"X11 66 63 65

- 114 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

A B
1 1SN
1E 3 A SR A060° ey
B AMERZ60° AMVHE/ AT HEE SRS
7 % 22 JIS GAS MALE 60° CONE/NPT MALE
F
1

5 22 THREADE JU <} DIMENSIONS

PART NO. E F A B S1 L

1SN-04 G1/4"X19 Z71/4"X18 15 14 17 35
1SN-04-02 G1/4"X19 Z21/8"X27 15 10 17 31
1SN-04-06 G1/4"X19 73/8"X18 15 14 19 35
1SN-04-08 G1/4"X19 Z21/2"X14 15 19 22 41

1SN-06 (G3/8"X19 73/8"X18 16 14 19 36
1SN-06-04 G3/8"X19 71/4"X18 16 14 19 36
1SN-06-08 (G3/8"X19 71/2"X14 16 19 22 42

1ST-08 G1/2"X14 71/2"X14 19 19 22 45
1SN-08-04 G1/2"X14 71/4"X18 19 14 22 40
1SN-08-06 G1/2"X14 73/8"X18 19 14 22 40
1SN-08-12 G1/2"X14 723/4"X14 19 19.5 27 47.5

1SN-12 G3/4"X14 723/4"X14 23 19.5 30 51.5
1SN-12-08 G3/4"X14 71/2"X14 23 19 30 51
1SN-12-16 G3/4"X14 Z1'"X11.5 23 24 36 58

1SN-16 G1"X11 Z1"X11.5 25 24 36 60
1SN-16-12 G1'"X11 73/4"X14 25 19.5 36 55.5

1SN-20 G1.1/4"X11 |Z1.1/4"X11.5 29 25 46 67

1SN-24 G1.1/2"X11 |Z1.1/2"X11.5 30 25 50 68

1SN-32 G2"X11 Z2''X11.5 35 29 70 81

- 115 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

1SN4

45° HAHLE SMEL60°
HIMHE/ AT HE T SR EL
45° JIS GAS MALE 60°
CONE/NPT MALE

= B4 THREADE JU <} DIMENSIONS
PART NO. E F A B s1
1SN4-04 G1/4"X19 | Z1/4"X19 22 22 14
1SN4-04-02 | G1/4"X19 | Z1/8"X27 22 22 14
1SN4-04-06 G1/4"X19 | Zz3/8"X18 22 22 17
1SN4-04-08 G1/4"X19 | Zz1/2"X14 27 27 22
1SN4-06 63/8"X19 Z3/8"X18 22 22 17
1SN4-06-04 | G3/8"X19 Z1/4"Xx19 22 22 17
1SN4-06-08 | G3/8"X19 Z1/2"X14 27 27 22
1SN4-08 G1/2"X14 | Z1/2"X14 27 27 22
1SN4-08-06 | G1/2"X14 | Z3/8"X18 27 27 22
1SN4-12 G3/4"X14 | Z3/4"X14 33 33 27
1SN4-12-08 G3/4"X14 | Z1/2"X14 33 33 27
1SN4-16 G1"X11 Z1"X11.5 37 37 33
1SN4-16-12 61"X11 Z3/4"X14 37 37 33
1SN4-20 G1.1/4"X11 |Z1.1/4"X11.5 40 40 44
1SN4-24 G1.1/2"X11 |Z1.1/2"X11.5 47 47 53
1SN4-32 G2"X11 Z2"X11.5 55 55 65

- 116 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

om

i o "

§ ::ﬁQi

1SN9

90° HAZESMEL60°
HVHE/ AT SMIR AL
90° JIS GAS MALE 60°
CONE/NPT MALE

fo IZ4L THREADE JU I DIMENSIONS
PART NO. E F A B s1
1SN9-04 G1/4"X19 | Z1/4"X18 29 27 14
1SN9-04-02 | G1/4"X19 | Z1/8"X27 29 27 14
1SN9-04-06 | G1/4"X19 | Z3/8"X18 29 30 17
1SN9-06 G3/8"X19 | Z3/8"X18 30 28 17
1SN9-06-04 | G3/8"X19 | Z1/4"X18 30 28 17
1SN9-06-08 | G3/8"X19 | Z1/2"X14 37 37 22
1SN9-08 G1/2"X14 | Z1/2"X14 37 37 22
1SN9-08-06 | G1/2"X14 | Z3/8"X18 37 37 22
1SN9-08-12 | G1/2"X14 | Z3/4"X14 41 41 27
1SN9-12 G3/4"X14 | Z3/4"X14 41 41 27
1SN9-12-08 | G3/4"X14 | Z1/2"X14 41 41 27
1SN9-12-16 | G3/4"X14 | Z1"X11.5 49 49 33
1SN9-16 G1"X11 Z1"X11.5 49 49 33
1SN9-20 G1.1/4"X11 |Z1.1/4"X11.5 57 57 44
1SN9-24 G1.1/2"X11 |Z1.1/2"X11.5 57 57 48
1SN9-32 G2"X11 Z2"X11.5 66 63 65

- 117 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

A B
! 1SG
= % = HI ARG HMRL60° AMES
Y HME L0 ]
2 1 JIS GAS MALE 60° CONE/
BSP MALE O-RING
S1
o #2£C THREADE JU <} DIMENSIONS
PART NO. E F A B s1 L
156-04 G1/4"X19 | G1/4"X19 15 12 19 33
1SG6-06 63/8"X19 | G3/8"X19 16 | 13.5 | 22 37
156-08 61/2"X14 | G1/2"X14 19 16 27 44
156-12 G3/4"X14 | G3/4"X14 23 | 18.5 | 32 51.5
156-16 61"X11 61"X11 25 | 20.5| 41 57.5
156-20 61.1/4"X11 | G1.1/4"X11 29 | 20.5| 50 66.5
156-24 61.1/2"X11 | G1.1/2"X11 30 23 55 70
156-32 62"X11 62"X11 35 | 25.5| 70 78.5
- F
2 g = 1SG9-0G
1o
. ﬁV 90° H ARG HMRL60° SME/
2z ‘ SR SMELCE0° O I T VR 2
“ iﬁr —EQJ 90° JIS GAS MALE 60° CONE/
a— BSP MALE O-RING ADJUSTABLE STUD
A s1
5 BRZL THREADE JU <] DIMENSIONS
PART NO. E F A B s1 S2
1569-0406 G1/4"X19 | G1/4"X19 29 | 31.3 | 14 19
1569-0606 | G3/8"X19 | G3/8"X19 30 | 35.8| 17 22
1569-0806 | G1/2"X14 | G1/2"X14 37 | 43.2 | 22 27
1569-120G 63/4"X14 | G3/4"X14 41 | 49.3 | 27 32
1569-1606 61"X11 61"X11 49 53 33 4
1569-2006 | G1.1/4"X11 | G1.1/4"X11 57 59 44 50
1569-2406 | 61.1/2"X11 | G1.1/2"X11 57 65 48 55

- 118 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

>

AS

W W m H A4 SMBEE60° AE 18
j \ 3 5 JIS GAS FEMALE 60° SEAT TEE
A \ﬂ A
5 247 THREADE JU ~) DIMENSIONS
PART NO. E F A S1
AS-04 G1/4"X19 | G1/4"X19 27 14
AS-06 63/8"X19 | G3/8"X19 29 17
AS-08 61/2"X14 | G1/2"X14 33 22
AS-12 G3/4"X14 | G3/4"X14 40 27
AS-16 61"X11 61"X11 49 33
60°
F )
UQ gk A BS
o H ARG SMBEL60° FhE/
4 ) H AR 54 PR 4602 P HE 73 = — il
ﬂ N JIS GAS MALE 60° CONE/
\ . JIS GAS FEMALE 60° SEAT BRANCH TEE
A \s1
R 22 THREADE JU <) DIMENSIONS
PART NO. E F A c s1 S2
BS-04 G1/4"X19 | G1/4"X19 27 8 14 19
BS-06 63/8"X19 | G3/8"X19 29 | 8.5 | 17 22
BS-08 G1/2"X14 | G1/2"X14 33 |10.5 | 22 27
BS-12 G3/4"X14 | G3/4"X14 40 14 27 32
BS-16 61"X11 61"X11 49 |14.5 | 33 4

- 119 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

E

=

CS

<
<<
/ ) %
V% ‘ H AR e AMBa60° AMHE/
wi e : w5 H ARG N IRZ60° NHE TS =il
j \ E_\A‘ JIS GAS MALE 60° CONE/
\_ s JIS GAS FEMALE 60° SEAT RUN TEE
A S1 52
=5 B24L THREADE JU =~} DIMENSIONS
PART NO. E F A C S1 S2
CS-04 G1/4"X19 | G1/4X19 27 8 14 19
CS-06 G3/8"X19 | 63/8"X19 29 8.5 17 22
Cs-08 G1/2"X14 | G1/2"X14 33 105 | 22 27
CS-12 G3/4"X14 | G3/4"X14 40 14 27 32
CS-16 G1"X11 G1"X11 49 |14.5 | 33 41
60°
E )

gl 17 DS

H A G045 Y460 ° P 4HE—
JIS GAS FEMALE 60° SEAT TEE

N

60°

gu ﬂ N E
A | -
7‘\_/ \— A
s2 S1

= IR40 THREADE JU ~] DIMENSIONS
PART NO. E F c S1 S2
DS-04 G1/4"X19 | G1/4"X19 8 14 19
DS-06 G3/8"X19 | G3/8"X19 8.5 | 17 22
DS-08 G1/2"X14 | G1/2"X14 10.5 | 22 27
DS-12 G3/4"X14 | G3/4"X14 14 27 32
DS-16 G1"X11 G1"X11 14.5 | 33 41

- 120 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

7
— 1
A

ASGS-06

HIASYEAT SMREI60° SMFE/ 9845 5h

WRZ O W ] Ui 1 A 7 S 38
JIS GAS MALE 60° CONE/BSP MALE
0-RING ADJUSTABLE STUD BRANCH TEE

A \s1
= 124 THREADE JU ~F DIMENSIONS
PART NO. E F A B s1 S2
ASGS-0406 G1/4"X19 | G1/4"X19 27 |31.3 | 14 19
ASGS-0606 G3/8"X19 | G3/8"X19 29 | 35.8 | 17 22
ASGS-080G G1/2"X14 | G1/2"X14 33 | 43.2 | 22 27
ASGS-1206G G3/4"X14 | G3/4"X14 40 | 49.3 | 27 32
ASGS-1606 G1"X11 G1"X11 49 | 54.5| 33 41
ASGS-2006 | G1.1/4"X11 | G1.1/4"X11 57 59 44 50
E
P ASSG-06
- ! S2
> % 7 % A A5 AMIBE60°  AMES D% o
i . WELL O el ] I [ i = S 3
\ Jb-% J JIS GAS MALE 60° CONE/BSP MALE
. \5_1 ; 0-RING ADJUSTABLE STUD END RUN TEE
= IR0 THREADE JU = DIMENSIONS

PART NO. E F A B S1 S2
ASSG-0406 G1/4"X19 | G1/4"X19 27 31 14 19
ASSG-060G G3/8"X19 | 63/8"X19 29 | 35.5 | 17 22
ASSG-080G G1/2"X14 | G1/2"X14 33 | 435 | 22 27
ASSG-1206G G3/4"X14 | G3/4"X14 40 | 49.5 | 27 32
ASSG-1606 61"X11 G1"X11 49 |54.5 | 33 41
ASSG-200G | G1.1/4"X11 | G1.1/4"X11 57 59 44 50

- 121 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

1B

A AMEREI60° A HE

e c o AT 2 S

0V BSP MALE DOUBLE FOR

Z4 60° SEAT BONDED SEAL

s1/

B 240 THREADE JU~F DIMENSIONS
PART NO. E F A B S1 L
1B-02 (61/8"X28 G1/8X28 10 10 14 26
1B-02-04 (61/8"X28 G1/4"X19 10 12 19 28
1B-02-06 G1/8"X28 (G3/8'"X19 10 13.5 22 31.5
1B-02-08 (61/8"X28 G1/2"X14 10 16 27 34
1B-04 G1/4"X19 G1/4"X19 12 12 19 30
1B-04-06 G1/74"X19 (G3/8"X19 12 13.5 22 33
1B-04-08 G1/4"X19 G1/2"X14 12 16 27 36
1B-04-10 G1/74"X19 G5/8'"X14 12 17.5 30 38.5
1B-06 (63/8"X19 (G3/8"X19 13.5 | 13.5 22 35
1B-06-08 (63/8"X19 G1/2"X14 13.5 16 27 37.5
1B-06-10 (63/8"X19 G5/8'"X14 13.5 | 17.5 30 40
1B-06-12 (63/8"X19 G3/4"X14 13.5 | 18.5 32 42
1B-08 G1/2"X14 G1/2"X14 16 16 27 40
1B-08-10 G1/2"X14 G5/8"X14 16 17.5 30 42.5
1B-08-12 G1/2"X14 G3/4"X14 16 18.5 32 44
1B-10 (65/8"X14 G5/8'"X14 17.5 | 17.5 30 44
1B-10-12 (65/8"X14 G3/4"X14 17.5 | 18.5 32 46
1B-10-16 G5/8"X14 G1"X11 17.5 20.5 41 50
1B-12 (G3/74"X14 G3/4"X14 18.5 | 18.5 32 47
1B-12-16 G3/4"X14 G1"X11 18.5 20.5 41 49
1B-12-20 (63/74"X14 G1.1/4"X11 18.5 20.5 50 56
1B-16 G1"X11 G1"X11 20.5 | 20.5 41 53
1B-16-20 G1"X11 G1.1/4"X11 20.5 | 20.5 50 57
1B-16-24 G1"X11 G1.1/2"X11 20.5 23 55 60
1B-20 G1.1/4"X11 | G1.1/4"X11 20.5 | 20.5 50 58
1B-20-24 G1.1/4"X11 | G1.1/2"X11 20.5 23 55 61
1B-24 G1.1/2"X11 | G1.1/2"X11 23 23 55 63
1B-24-32 (61.1/2"X11 G2'"X11 23 25.5 70 66
1B-32 G2"X11 G2"X11 25.5 | 25.5 70 69

- 122 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

%.
A
1B4
S
gl ™ % 45° FEHMBLB0° PHE
45° BSP MALE 60° SEAT
A s1

e U227 THREADE J& <} DIMENSIONS

PART NO. E F A B s1
1B4-02-04 G1/8"X28 | G1/4"X19 22 22 14

1B4-04 G1/4"X19 | G1/4"X19 22 22 14
1B4-04-06 G1/4"X19 | G3/8"X19 22 22 17

1B4-06 G3/8"X19 | G3/8"X19 22 22 17
1B4-06-08 G3/8"X19 | G1/2"X14 27 27 22

1B4-08 G1/2"X14 | G1/2"X14 27 27 22
1B4-08-12 G1/2"X14 | G3/4"X14 33 33 27

1B4-10 G5/8"X14 | G5/8"X14 27 27 22
1B4-10-12 G5/8"X14 | G3/4"X14 33 33 27

1B4-12 G3/4"X14 | G3/4"X14 33 33 27
1B4-12-16 G3/4"X14 61"X11 37 37 33

1B4-16 G1"X11 G1"X11 37 37 33
1B4-16-20 61"X11 | 61.1/4"X11 40 40 44

1B4-20 G1.1/4"X11 | G1.1/4"X11 40 40 44
1B4-20-24 | G1.1/4"X11 | G1.1/2"X11 47 47 53

1B4-24 G1.1/2"X11 | G1.1/2"X11 47 47 53

1B4-32 G2X11 62""X11 55 55 65

- 123 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

60°
T
1 1B9
-
. ‘
| 90° EAEAMRL60° P HE
3 _)Q 90° BSP MALE 60° SEAT
A S1

o i24 THREADE R~} DIMENSIONS

PART NO. E F A B S1
1B9-02-04 G1/8"X28 G1/4"X19 27 29 14

1B9-04 G1/4"X19 (G1/4"X19 29 27 14
1B9-04-06 G1/4"X19 (63/8"X19 28 30 17

1B9-06 (G3/8'"X19 (63/8"X19 30 28 17
1B9-06-08 (G3/8"X19 (G1/2"X14 37 37 22

1B9-08 G1/2""X14 (G1/2"X14 37 37 22
1B9-08-12 G1/2"X14 G3/4"X14 41 41 27

1B9-10 G5/8'"X14 G5/8'"X14 37 37 22
1B9-10-12 G5/8'"X14 G3/4"X14 41 41 27

1B9-12 G3/4"X14 (63/74"X14 41 41 27
1B9-12-16 G3/4"X14 G1"X11 49 49 33

1B9-16 G1"X11 G1"X11 49 49 33
1B9-16-20 G1"X11 G1.1/4"X11 57 57 44

1B9-20 G1.1/4"X11 | G1.1/4"X11 57 57 44
1B9-20-24 G1.1/4"X11 | G1.1/2"X11 57 57 48

1B9-24 G1.1/2"X11 | G1.1/2"X11 57 57 48

1B9-32 G2'"X11 (G2"X11 66 63 65

- 124 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

~60°

2B

S HMEREI60° AHER N A S T 4L

b fet

HEE B9 NIRZ60 ° SMIE
BSP MALE DOUBLE FOR 60° SEAT
BONDED SEAL /BSP FEMALE 60° CONE

= 24 THREADE JU f DIMENSIONS
PART NO. E F A C S1 S2
28-02 G1/8"X28 | G1/8"X28 10 | 5.5 | 14 14
2B-02-04 G1/8"X28 | G1/4"X19 10 | 5.5 | 14 19
2B-04 G1/4"X19 | G1/4"X19 12 | 5.5 | 19 19
2B-04-06 G1/4"X19 | G3/8"X19 12 | 6.5 | 19 22
2B-04-08 G1/4"X19 | G1/2"X14 12 8 19 27
2B-06 G3/8"X19 | G3/8"X19 13.5 | 6.5 | 22 22
2B-06-08 G3/8"X19 | G1/2"X14 13.5 | 8 22 27
2B-06-10 G3/8"X19 | G5/8"X14 13.5 | 10.5 | 22 30
2B-08 G1/2"X14 | G1/2"X14 16 8 27 27
2B-08-06 G1/2"X14 | G3/8"X18 16 | 6.5 | 27 27
2B-10 G5/8"X14 | G5/8"X14 17.5 | 10.5 | 30 30
2B-10-08 G5/8"X14 | G1/2"X14 17.5 | 8 30 27
2B-10-12 G5/8"X14 | G3/4"X14 17.5 | 11.5 | 30 32
2B-12 G3/4"X14 | G3/4"X14 18.5 | 11.5 | 32 32
2B-12-10 G3/4"X14 | G5/8"X14 18.5 | 10.5 | 32 30
2B-12-16 G3/4"X14 G1"X11 18.5 | 11.5 | 32 41
2B-16 G1"X11 G1"X11 20.5 | 11.5 | 41 41
2B-16-12 G1"X11 G3/4"X14 20.5 | 11.5 | 41 32
2B-16-20 G1"X11 | G1.1/4"X11 20.5 | 12 40 50
28-20 G1.1/4"X11 | G1.1/4"X11 20.5 | 12 50 50
2B-20-16 | G1.1/4"X11| G1"X11 20.5 | 11.5 | 50 41
2B-20-24 | G1.1/4"X11 | G1.1/2"X11 20.5 | 13 50 55
2B-24 G1.1/2"X11 | G1.1/2"X11 23 13 55 55
2B-32 G2"X11 G2"X11 25.5 | 16 70 70

- 125 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

2B4

1T 45° JEAHMEL60° PoHE/
8 " PR Y IRL60° A
45° BSP MALE 60° SEAT/
. \§; BSP FEMALE 60° CONE
5 WEZL THREADE JU <} DIMENSIONS
PART NO. E F A C S1 S2
2B4-04 G1/4"X19 | G1/4"X19 22 | 5.5 | 14 19
2B4-04-06 G1/4"X19 | G3/8"X19 22 | 6.5 | 17 22
2B4-06 G3/8"X19 | G3/8"X19 22 | 6.5 | 17 22
2B4-06-04 | G3/8"X19 | G1/4"X19 22 | 5.5 | 17 19
2B4-08 G1/2"X14 | G1/2"X14 27 8 22 27
2B4-08-06 | G1/2"X14 | G3/8"X19 27 | 6.5 | 22 22
2B4-10 G5/8"X14 | G5/8"X14 27 | 10.5 | 22 30
2B4-10-08 | G5/8"X14 | G1/2"X14 27 8 22 27
2B4-12 G3/4"X14 | G3/4"X14 33 |11.5 | 27 32
2B4-16 61"X11 61"X11 37 |11.5 | 33 41
2B4-20 G1.1/4"X11 | G1.1/4"X11 40 | 12 44 | 50
2B4-24 61.1/2"X11 | 61.1/2"X11 47 | 13 53 55
2B4-32 G2"X11 G2"X11 55 | 16 65 70

- 126 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

<___E____I

S2

4 G

i

2B9

. 90° HEEHMERL60° AHE/
3« JEE N IRZ60° Mk
90° BSP MALE 60° SEAT/
A s1 BSP FEMALE 60° CONE
fRE B240 THREADE JU ~F DIMENSIONS
PART NO. E F A C S1 S2
2B9-02 61/8"X28 | G1/8"X28 23 | 5.5 11 14
2B9-04 G1/4"X19 | G1/4"X19 29 | 5.5 14 19
2B9-04-06 G1/4"X19 | G3/8"X19 30 | 6.5 17 22
2B9-06 G3/8"X19 | 63/8"X19 30 | 6.5 17 22
2B9-06-04 G3/8"X19 | G1/4"X19 30 | 5.5 17 19
2B9-08 G1/2"X14 | G1/2"X14 37 8 22 27
2B9-08-06 G1/2"X14 | G3/8"X19 37 | 6.5 22 22
2B9-10 65/8"X14 | G5/8"X14 37 |10.5 | 22 30
2B9-10-08 G5/8"X14 | G1/2"X14 37 8 22 27
2B9-12 G3/4"X14 | G3/4"X14 41 |11.5 | 27 32
2B9-16 61"X11 61"X11 49 |11.5 | 33 41
2B9-20 G1.1/4"X11 | G1.1/4"X11 57 12 44 50
2B9-24 G1.1/2"X11 | G1.1/2"X11 57 13 48 55
2B9-32 62"X11 62"X11 66 16 65 70

- 127 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

S1 S2
3B
;cg(> ,,
‘ U INIRZ60° AMIE
K21 BSP FEMALE 60° CONE
C
2 240 THREADE J& <} DIMENSIONS
PART NO. E F A c s1 s2
3B-02 G1/8"X28 | G1/8"X28 5.5 | 5.5 | 14 14
3B-02-04 G1/8"X28 | G1/4"X19 5.5 | 5.5 | 14 19
3B-04 G1/4"X19 | G1/4"X19 5.5 | 5.5 | 19 19
3B-04-06 G1/4"X19 | G3/8"X19 5.5 | 6.5 | 19 22
3B-04-08 G1/4"X19 | G1/2"X14 5.5 8 19 27
3B-06 G3/8"X19 | G3/8"X19 6.5 | 6.5 | 22 22
3B-06-08 G3/8"X19 | G1/2"X14 6.5 8 22 27
3B-08 G1/2"X14 | G1/2"X14 8 8 27 27
38-08-10 G1/2"X14 | G5/8"X14 8 |10.5 | 27 30
3B-08-12 G1/2"X14 | G3/4"X14 8 |11.5 | 27 32
3B-10 G5/8"X14 | G5/8"X14 10.5 | 10.5 | 30 30
3B-10-12 G5/8"X14 | G3/4"X14 10.5 | 11.5 | 30 32
3B-12 G3/4"X14 | G3/4"X14 11.5 | 11.5 | 32 32
3B-12-16 G3/4"X14 61"X11 11.5 | 11.5 | 32 4
3B-16 61"X11 G1"X11 11.5 | 11.5 | 4 4
3B-16-20 6G1"X11 | 61.1/4"X11 11.5 | 12 M 50
3B-20 G1.1/4"X11 | G1.1/4"X11 12 12 50 50
3B-24 G1.1/2"X11 | G1.1/2"X11 13 13 55 55
3B-32 G2"X11 G2"X11 16 16 70 70

- 128 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

- 2 3B4

45° S N IRL60° HME

N Jﬂ 45° BSP FEMALE 60° CONE
: S1
foe I THREADE JU <t DIMENSIONS
PART NO. E C S1 S2
3B4-02 61/8"X28 5.5 | 11 14
3B4-04 G1/4"X19 5.5 | 11 19
3B4-06 63/8"X19 6.5 | 17 22
3B4-08 G1/2"X14 8 19 27
3B4-10 65/8"X14 10.5 | 22 30
3B4-12 63/4"X14 11.5 | 27 32
3B4-16 G1"X11 11.5 | 33 41
3B4-20 61.1/4"X11 12 44 50
3B4-24 61.1/2"X11 13 50 55
3B4-32 62"X11 16 65 70
3B9

) 90° HLAFNIRL60° AME

3 90° BSP FEMALE 60° CONE
e IE 47 THREADE J& <} DIMENSIONS
PART NO. E C S1 S2
3B9-02 61/8"X28 5.5 | 11 14
3B9-04 G1/4"X19 5.5 | 11 19
3B9-06 63/8"X19 6.5 | 17 22
3B9-08 G1/2"X14 8 19 27
389-10 G5/8"X14 10.5 | 22 30
389-12 G3/4"'X14 11.5 | 27 32
3B9-16 G1"X11 11.5 | 33 41
3B9-20 61.1/4"X11 12 44 50
3B9-24 61.1/2"X11 13 50 55
3B9-32 62"X11 16 65 70

- 129 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

F{ 4B

"1 g SERTHMBLI60° PYHES N
e ST TIAL A S
- BSP MALE DOUBLE FOR 60
s/ SEAT OR BONDED SEAL PLUG
= B4 THREADE J <} DIMENSIONS
PART NO. E A S1 L
4B-02 G1/8"X28 10 14 16
4B-04 G1/4"X19 12 19 18
4B-06 63/8"X19 13.5 22 21
4B-08 G1/2"X14 16 27 24
4B-10 G5/8"X14 17.5 30 27
4B-12 G3/4"X14 18.5 32 28
4B-16 G1'"X11 20.5 41 32
4B-20 G1.1/4"X11 20.5 50 37
4B-24 G1.1/2"X11 23 55 40
4B-32 G2'"X11 25.5 70 43
S1
OB
:cg<>m )
2 2 JLE N IRL60° AMHELE Sk
7 BSP FEMALE 60° CONE PLUG
<
1 247 THREADE R~} DIMENSIONS
PART NO. E C S1
9B-04 G1/4"X19 5.5 17
9B-06 G63/8"X19 6 22
9B-08 G1/2"X14 7 27
9B-10 G65/8"X14 8.5 27
9B-12 G3/4"X14 9 32
9B-16 G1"X11 11 38
9B-20 G1.1/4"X11 11 50
9B-24 G1.1/2"X11 12 55
9B-32 G2""X11 15 70

- 130 -



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

A B (E;E3

3 |1 : S AMBL60° P HE LRIk
Z _f%%ZV /2 BSP MALE 60° SEAT BULKHEAD
S1
fom B4 THREADE JU st DIMENSIONS
PART NO. E A B S1 L
6B-02 G1/8"X28 10 33 14 49
6B-04 G1/4"X19 12 35 19 53
6B-06 G63/8"X19 13.5 35 22 56
6B-08 G1/2"X14 16 39 27 63
6B-10 G5/8'X14 17.5 40 30 67.5
6B-12 G3/4"X14 18.5 42 32 70
6B-16 G1"X11 20.5 50 41 83
6B-20 G1.1/4"X11 20.5 52 50 89.5
6B-24 G1.1/2"X11 23 55 55 95
6B-32 G2"X11 25.5 55 70 98.5

FVE DU A BRI B2, A AE AU 5 LN, 716B-12LN;
Remark:In case if you are interested to order the adapter with lock nut,please
insert suffix"LN"after our part NO.,for example 6B-12LN.

E

¢_
P
% , . ‘ ‘
2 uf | 90° T HMBL60° P HERL IRk
__SL 90° BSP MALE 60° SEAT BULKHEAD
A S1
e 24 THREADE JU I DIMENSIONS
PART NO. E A B S1
6B9-04 61/4"X19 29 51 14
6B9-06 63/8"X19 30 | 53.5 | 17
6B9-08 61/2"X14 37 | 58.5 | 22
6B9-12 63/4"X14 41 64 27
6B9-16 61"X11 49 71 33

FVE D WA BURELT BT, W AEAC S J5 LN, W16B9-12LN;
Remark:In case if you are interested to order the adapter with lock nut,please
insert suffix"LN"after our part NO.,for example 6B9-12LN.

- 131 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

S1

A

8B

IR S R)
BSP LOCK NUT

A
= U224 THREADE JU 5} DIMENSIONS
PART NO. E A S1
8B-02 G1/8"X28 5.5 14
88-04 G1/4"X19 6.5 19
8B-06 G3/8"X19 7 22
88-08 G1/2"X14 9 27
88-10 G5/8"X14 9 30
88-12 G3/4"X14 10.5 32
8B-16 G1"X11 10.5 4
88-20 G1.1/4"X11 10.5 50
8B-24 61.1/2"X11 10.5 55
8B-32 G2"X11 10.5 70

- 132 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

: B 1BT
g w YEE AMBLL60° PUHER N FA S T
Y5 B B/ RS SMRAL
BSP MALE DOUBLE FOR 60° SEAT
BONDED SEAL/BSPT MALE
S1 F

fe2 W24 THREADE J& <} DIMENSIONS

PART NO. E F A B S1 L

1BT-02 G1/8"X28 | R1/8"X28 10 10 14 26
1BT-02-04 G1/8"X28 | R1/4"X19 10 14 14 30

1BT-04 G1/4"X19 | R1/4"X19 12 14 19 32
1BT-04-02 G1/4"X19 | R1/8"X28 12 10 19 28
1BT-04-06 G1/4"X19 | R3/8"X19 12 14 19 32

1BT-06 G3/8"X19 | R3/8"X19 13.5 | 14 22 35
1BT-06-04 G3/8"X19 R1/4"X19 13.5 | 14 22 35
1BT-06-08 63/8"X19 R1/2"X14 13.5 | 19 22 41

1BT-08 G1/2"X14 | R1/2"X14 16 19 27 45
1BT-08-06 G1/2"X14 | R3/8"X19 16 14 27 40
1BT-08-12 G1/2"X14 | R3/4"X14 16 | 19.5 | 27 45
1BT-10-08 G5/8"X14 | R1/2"X14 17.5 | 19 30 45
1BT-10-12 G5/8"X14 | R3/4"X14 17.5 | 19.5 | 30 47
1BT-12 G3/4"X14 | R3/4"X14 18.5 | 19.5 | 32 48
1BT-12-08 G3/4"X14 | R1/2"X14 18.5 | 19 32 47
1BT-12-16 G3/4""X14 R1"X11 18.5 | 24 36 53
1BT-16 G1"X11 R1"X11 20.5 | 24 41 58
1BT-16-12 G1"X11 R3/4"X14 20.5 | 19.5 | 41 53
1BT-16-20 G1"X11 | R1.1/4"X11 20.5 | 25 46 59
1BT-20 G1.1/4"X11 | R1.1/4"X11 20.5 | 25 50 62
1BT-20-16 | G1.1/4"X11 R1"X11 20.5 | 24 50 61
1BT-20-24 | G1.1/4"X11 | R1.1/2"X11 20.5 | 25 50 62
1BT-24 G1.1/2"X11 | R1.1/2"X11 23 25 55 65
1BT-24-16 | G1.1/2"X11 R1"X11 23 24 55 61
1BT-24-20 | G1.1/2"X11 | R1.1/4"X11 23 25 55 65
1BT-24-32 | 61.1/2"X11 R2""X11 23 29 65 69
1BT-32 G2"X11 R2"X11 25.5 | 29 70 72
1BT-32-24 G2"x11 | R1.1/2"X11 25.5 | 25 70 68

- 133 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

1BT4

K
of uf | . 45° BEETHMRLIB0° PN HE/SEHE S SMBLL
45° BSP MALE 60° SEAT /BSPT MALE
R 24 THREADE U~ DIMENSIONS
PART NO. E F A B S1
1BT4-02 G1/8"X28 R1/8"X28 17 17 11
1BT4-04 G1/4"X19 R1/4"X19 22 22 14
1BT4-04-06 61/4"X19 R3/8"X19 22 22 17
1BT4-06 G3/8"X19 R3/8"X19 22 22 17
1BT4-06-04 G3/8"X19 R1/4"X19 22 22 17
1BT4-06-08 G3/8"X19 R1/2"X14 27 27 22
1BT4-06-12 G3/8"X19 R3/4"X14 33 33 27
1BT4-08 G1/2"X14 R1/2"X14 27 27 22
1BT4-08-06 G1/2"X14 R3/8"X19 27 27 22
1BT4-08-12 G1/2"X14 R3/4"X14 33 33 27
1BT4-10-08 G5/8"X14 R1/2"X14 27 27 22
1BT4-10-12 G5/8"X14 R3/4"X14 33 33 27
1BT4-12 G3/4"X14 R3/4"X14 33 33 27
1BT4-12-08 G3/4"X14 R1/2"X14 33 33 27
1BT4-12-16 G3/4"X14 R1"X11 37 37 33
1BT4-16 G1"X11 R1"X11 37 37 33
1BT4-16-12 G1"X11 R3/4"X14 37 37 33
1BT4-16-20 G1"X11 R1.1/74"X11 40 40 44
1BT4-20 G1.1/4"X11 | R1.1/4"X11 40 40 44
1BT4-20-16 G1.1/4"X11 R1"X11 40 40 44
1BT4-20-24 G1.1/4"X11 | R1.1/2"X11 47 47 52
1BT4-24 G1.1/2"X11 | R1.1/2"X11 47 47 52
1BT4-24-20 G1.1/2"X11 | R1.1/4"X11 47 47 52
1BT4-24-32 G1.1/2"X11 R2""X11 55 55 65
1BT4-32 G2"X11 R2"X11 55 55 65
1BT4-32-24 G2"X11 R1.1/2"X11 55 55 65

- 134 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

1BT9

R
o w 90° SEAEFAHMEREL60° A HE/THEE SMELL
© _)U 90° BSP MALE 60° SEAT /BSPT MALE
A s1
= JRLL THREADE JU <} DIMENSIONS
PART NO. E F A B s1
1BT9-02 G1/8"X28 | R1/8"X28 25 25 11
1BT9-02-04 G1/8"X28 | R1/4"X19 27 29 14
1BT9-04 G1/4"X19 | R1/4"X19 29 27 14
1BT9-04-02 G1/4"X19 | R1/8"X28 29 27 14
1BT9-04-06 G1/4"X19 | R3/8"X19 29 30 17
1BT9-06 G3/8"X19 | R3/8"X19 30 29 17
1BT9-06-04 G3/8"X19 | R1/4"X19 30 29 17
1BT9-06-08 | G3/8"X19 | R1/2"X14 37 37 22
1BT9-08 G1/2"X14 | R1/2"X14 37 37 22
1BT9-08-06 G1/2"X14 | R3/8"X19 37 37 22
1BT9-08-12 G1/2"X14 | R3/4"X14 41 41 27
1BT9-10-08 | G5/8"X14 | R1/2"X14 41 41 27
1BT9-10-12 G5/8"X14 | R3/4"X14 41 41 27
1BT9-12 G3/4"X14 | R3/4"X14 41 41 27
1BT9-12-08 G3/4"X14 | R1/2"X14 41 41 27
1BT9-12-16 G3/4"X14 R1"X11 49 49 33
1BT9-16 G1"X11 R1"X11 49 49 33
1BT9-16-12 G1"X11 R3/4"'X14 49 49 33
1BT9-16-20 G1"X11 | R1.1/4"X11 57 57 44
1BT9-20 61.1/4"X11 | R1.1/4"X11 57 57 44
1BT9-20-16 | G1.1/4"X11| R1"X11 57 57 44
1BT9-20-24 | G1.1/4"X11 | R1.1/2"X11 57 57 48
1BT9-24 61.1/2"X11 | R1.1/2"X11 57 57 48
1BT9-24-20 | G1.1/2"X11 | R1.1/4"X11 57 57 48
1BT9-24-32 | G1.1/2"X11| R2"X11 66 66 65
1BT9-32 62"X11 R2"X11 66 66 65
1BT9-32-24 G2"X11 | R1.1/2"X11 66 66 65

- 135 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

: B 1BN
g w 5 A AMZEL60° PHESS A Bl
145 BB AT SR
j%% BSP MALE DOUBLE FOR 60° SEAT
BONDED SEAL/NPT MALE
S1 F

fe2 W24 THREADE J& <} DIMENSIONS

PART NO. E F A B S1 L
1BN-02 61/8"X28 71/8"X27 10 10 14 26
1BN-02-04 61/8"X28 Z1/4"'X18 10 14 14 30
1BN-04 G1/4"X19 Z1/4"'X18 12 14 19 32
1BN-04-02 G1/4"X19 71/8"X27 12 10 19 28
1BN-04-06 G1/4"X19 23/8"X18 12 14 19 32
1BN-06 63/8"X19 73/8"X18 13.5 | 14 22 35
1BN-06-04 G3/8"X19 Z1/4"X18 13.5 | 14 22 35
1BN-06-08 63/8"X19 Z1/2"'X14 13.5 | 19 22 41
1BN-08 G1/2"'X14 Z1/2"'X14 16 19 27 45
1BN-08-06 G1/2"'X14 73/8"X18 16 14 27 40
1BN-08-12 G1/2"'X14 Z3/4"X14 16 | 19.5 | 27 45
1BN-10-08 G5/8""X14 Z1/2"'X14 17.5 | 19 30 45
1BN-10-12 65/8"X14 Z3/4"X14 17.5 | 19.5 | 30 47
1BN-12 G3/4"X14 Z3/4"X14 18.5 | 19.5 | 32 48
1BN-12-08 G3/4"X14 Z1/2"'X14 18.5 | 19 32 47
1BN-12-16 G3/4"X14 Z1"X11.5 18.5 | 24 36 53
1BN-16 G1"X11 Z1"X11.5 20.5 | 24 41 58
1BN-16-12 G1"X11 Z3/4"X14 20.5 | 19.5 | 41 53
1BN-16-20 G1"X11  |Z1.1/4"X11. 20.5 | 25 46 59
1BN-20 G1.1/4"X11 |Z1.1/4"X11. 20.5 | 25 50 62
1BN-20-16 | G1.1/4"X11| Z1"X11.5 20.5 | 24 50 61
1BN-20-24 | G1.1/4"X11 |Z1.1/2"X11. 20.5 | 25 50 62
1BN-24 G1.1/2"X11 |Z1.1/2"X11. 23 25 55 65
1BN-24-20 | G1.1/2"X11 |Z1.1/4"X11. 23 25 55 65
1BN-24-32 | G1.1/2"X11| Z2"X11.5 23 29 65 69
1BN-32 G2"X11 Z2"X11.5 25.5 | 29 70 72
1BN-32-24 G2"X11  |Z1.1/2"X11. 25.5 | 25 70 68

- 136 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

1BN4

of | 45° SCEESMEL0° 1 HE/ATHEE AN
45° BSP MALE 60° SEAT /NPT MALE
™

60°
&

o= 240 THREADE JU ~] DIMENSIONS
PART NO. E F A B s1
1BN4-04 G1/4"X19 | Z1/4"X18 22 22 14
1BN4-04-02 | G1/4"X19 | Z1/8"X27 22 22 14
1BN4-06 G3/8"X19 | Z3/8"X18 22 22 17
1BN4-06-04 | G3/8"X19 | Z1/4"X18 22 22 17
1BN4-06-08 | G3/8"X19 | Z1/2"X14 27 27 22
1BN4-06-12 | G3/8"X19 | Z3/4"X14 33 33 27
1BN4-08 G1/2"X14 | Z1/2"X14 27 27 22
1BN4-08-06 | G1/2"X14 | Z3/8"X18 27 27 22
1BN4-12 G3/4"X14 | Z3/4"X14 33 33 27
1BN4-12-08 | G3/4"X14 | Z1/2"X14 33 33 27
1BN4-12-16 | G3/4"X14 | Z1"X11.5 37 37 33
1BN4-16 G1"X11 Z1"X11.5 37 37 33
1BN4-16-12 G1"X11 Z3/4"X14 37 37 33
1BN4-20 61.1/4"X11 |71.1/4"X11.5 40 40 44
1BN4-24 G1.1/2"X11 |Z1.1/2"'X11.5 47 47 52
1BN4-32 G2"X11 Z2"X11.5 55 55 65

- 137 -



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

60°
ES 7

. 1BN9

gl = { 907 JEAFHMEBLI60° P HE/ A HER SMIRAL
—AU 90° BSP MALE 60° SEAT /NPT MALE
A s1
o= 240 THREADE JU ~] DIMENSIONS
PART NO. E F A B s1
1BN9-04 G1/4"X19 | Z1/4"X18 29 27 14
1BN9-04-02 | G1/4"X19 | Z1/8"X27 29 27 14
1BN9-06 G3/8"X19 | Z3/8"X18 30 29 17
1BN9-06-04 | G3/8"X19 | Z1/4"X18 30 29 17
1BN9-06-08 | G3/8"X19 | Z1/2"X14 37 37 22
1BN9-06-12 | G3/8"X19 | Z3/4"X14 4 40 27
1BN9-08 G1/2"X14 | Z1/2"X14 37 37 22
1BN9-08-06 | G1/2"X14 | Z3/8"X18 37 37 22
1BN9-12 G3/4"X14 | Z3/4"X14 41 41 27
1BN9-12-08 | G3/4"'X14 | Z1/2"X14 41 41 27
1BN9-12-16 | G3/4"X14 | Z1"X11.5 49 49 33
1BN9-16 G1"X11 Z1"X11.5 49 49 33
1BN9-16-12 G1"X11 Z3/4"X14 49 49 33
1BN9-20 61.1/4"X11 |71.1/4"X11.5 57 57 44
1BN9-24 G1.1/2"X11 |Z1.1/2"'X11.5 57 57 48
1BN9-32 G2"X11 Z2"X11.5 66 66 65

- 138 -



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

: B 1BG

o 0 JEEAMRE60° P HERL N A i T

© Y15 B B/ RS SMIREL0 2 P
’W 4 BSP MALE DOUBLE FOR 60° SEAT

BONDED SEAL/BSPT MALE O-RING

s1
fo= 124 THREADE JU I DIMENSIONS

PART NO. E F A B S1 L
1BG-02 G1/8"X28 | G1/8"X28 10 9 14 25
1BG-04 G1/4"X19 | G1/4"X19 12 12 19 30
1BG-04-06 G1/4"X19 | G3/8"X19 12 |13.5 | 19 31.5
1BG-06 G3/8"X19 | G3/8"X19 13.5 | 13.5 | 22 35
1BG-06-04 G3/8"X19 G1/4"X19 13.5 | 12 22 33.5
1BG-06-08 63/8"X19 G1/2"X14 13.5 | 16 27 39.5
1BG-08 G1/2"X14 | G1/2"X14 16 16 27 42
1BG-08-06 G1/2"X14 | G3/8"X19 16 | 13.5 | 27 39.5
1BG-08-12 G1/2"X14 | G3/4"X14 16 | 18.5 | 27 44.5
1BG-10-08 G5/8"X14 | G1/2"X14 17.5 | 16 30 43.5
1BG-12 G3/4"X14 | G3/4"X14 18.5 | 18.5 | 32 47
1BG-12-08 G3/4"X14 | G1/2"X14 18.5 | 16 32 44.5
1BG-16-08 G1"X11 G1/2"X14 20.5 | 16 41 48.5
1BG-16 G1"X11 G1"X11 20.5 | 20.5 | 41 53
1BG-16-12 G1"X11 G3/4"X14 20.5 | 18.5 | 41 51
1BG-20 61.1/4"X11 | 61.1/4"X11 20.5 | 20.5 | 50 58
1BG-24 61.1/2"X11 | 61.1/2"X11 23 23 55 63

- 139 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

S2 <
o W N 45° S HMRL60° NHE/
© YA AMERSLOTY | v 1 ) AT i
45° BSP MALE 60° SEAT/BSP
A s1 MALE O-RING ADJUSTABLE STUD END
e W47 THREADE JU <} DIMENSIONS
PART NO. E F A B s1 S2
1BG4-0406G G1/4"X19 | G1/4"X19 22 28 14 19

1BG4-04-060G

G1/4"X19 63/8"X19

22 30 17 22

1BG4-04-080G

G1/74"X19 G1/2"X14

27 36 22 27

1BG4-060G G3/8"X19 G3/8"X19 22 30 17 22
1BG4-06-080G | G3/8"X19 G1/2"X14 27 36 22 27
1BG4-080G G1/2"X14 G1/2"X14 27 36 22 27
1BG4-120G G3/4"X14 G3/4"X14 33 42 27 32
1BG4-12-160G | G3/4"X14 G1"X11 37 44 33 41
1BG4-1606 G1"X11 G1"X11 37 44 33 41
1BG4-200G G1.1/4"X11 | 61.1/4"X11 40 47.5 44 50
1BG4-2406 G1.1/2"X11 | 61.1/2"X11 47 51.5 52 55

- 140 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

1BG9-0G

) ‘<|/ 90° RAEFHMEL60° NHE/

3 A HME SO Bl ] U ) i

—X 90° BSP MALE 60° SEAT/BSP

A s1 MALE O-RING ADJUSTABLE STUD END

o 4L THREADE J& <} DIMENSIONS
PART NO. E F A B s1 S2
1BG9-040G G1/4"X19 | G1/4"X19 29 | 31.5| 14 19
1BG9-04-0606 | G1/4"X19 | G3/8"X19 30 | 36.8 | 17 22
1BG9-060G G3/8"X19 | G3/8"X19 30 | 36.8 | 17 22
1BG9-06-080G | G3/8"X19 | G1/2"X14 37 | 43.2| 22 27
1BG9-080G G1/2"X14 | G1/2"X14 37 | 43.2| 22 27
1BG9-08-120G | G1/2"X14 | G3/4"X14 41 | 49.3 | 27 32
1BG9-120G G3/4"X14 | G3/4"X14 41 | 49.3 | 27 32
1BG9-12-160G | G3/4"X14 G1"X11 49 53 33 4
1BG9-1606 G1"X11 61"X11 49 53 33 40
1BG9-20-1606 | G1.1/4"X11|  G1"X11 57 58 44 41
1BG9-2006 | G1.1/4"X11| G1.1/4"X11 57 58 44 50
1B69-2406 | G1.1/2"X11| G1.1/2"X11 57 63 48 55

- 141 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

1BH

SERTHMREL60° AHE SN F i T

° [NE] L
@ Y4 B B A ISR 25
M 4 BSP MALE DOUBLE FOR 60° SEAT
BONDED SEAL/METRIC MALE L-SERIES
S1

e i225. THREADE J I DIMENSIONS

PART NO. E F A B S1 L
1BH-02-10 G1/8"X28 M10x1 10 11 14 27
1BH-02-12 G1/8'"X28 M12x1.5 10 11 14 27
1BH-04-12 (G1/4"X19 M12x1.5 12 11 19 29
1BH-04-14 G1/4"X19 M14x1.5 12 11 19 29
1BH-04-16 (G1/4"X19 M16x1.5 12 11 19 29
1BH-06-14 (63/8"X19 M14x1.5 13.5 11 22 32.5
1BH-06-16 (63/8"X19 M16x1.5 13.5 11 22 32.5
1BH-06-18 G3/8"X19 M18x1.5 13.5 11 22 32.5
1BH-08-18 G1/2"X14 M18x1.5 16 11 27 37
1BH-08-22 (G1/2"X14 M22x1.5 16 12 27 38
1BH-10-22 (65/8"X14 M22x1.5 17.5 12 30 39.5
1BH-12-16 (63/4"X14 M16x1.5 18.5 11 32 39.5
1BH-12-22 (G3/4"X14 M22x1.5 18.5 12 32 40.5
1BH-12-27 (63/74"X14 M27x1.5 18.5 13 32 41.5
1BH-16-27 G1"X11 M27x1.5 20.5 13 41 45.5

- 142 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

S2 s
1BH4-0G
g w o 45° L HMEREL60° NHE/
A THISMELSR R
45° BSP MALE 60° SEAT/
A s1 METRIC MALE O-RING
fRE B240 THREADE JU ~F DIMENSIONS
PART NO. E F A B S1 S2
1BH4-02-100G | G1/8"X28 M10x1 20 | 23.5 | 11 14
1BH4-02-120G | G1/8"X28 M12x1.5 20 | 275 | 11 17
1BH4-04-120G | G1/4"X19 M12x1.5 22 | 28.3| 14 17
1BH4-04-140G | G1/4"X19 M14x1.5 22 | 28.3| 14 19

1BH4-04-160G | G1/4"X19 M16x1. 22 29.3 17 22

1BH4-06-140G | G3/8"X19 M14x1. 22 28.8 17 19

1BH4-06-160G | G3/8"X19 M16x1. 22 29.3 17 22

1BH4-06-180G | G3/8"X19 M18x1. 25 31 19 24

1BH4-08-180G | G1/2"X14 M18x1. 27 33.3 22 24

1BH4-08-220G | G1/2"X14 M22x1. 33 33.3 27 27

1BH4-10-220G | G5/8"X14 M22x1. 33 33.3 27 27

1BH4-12-220G | G3/4"X14 M22x1. 33 34.5 27 27

1BH4-12-270G | G3/4"X14 M27x1. 33 39.5 27 32

ajloojfoojojfonjor|jforjor oo

1BH4-16-270G G1"X11 M27x1. 37 40.5 33 32

- 143 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

R 1BHO-0G

[ TR 90° YLAFAMRL60° PHE/
3 Y AN HISMRLR R
—X 90° BSP MALE 60° SEAT/
A s1 METRIC MALE O-RING
fRE B240 THREADE JU ~F DIMENSIONS
PART NO. E F A B s1 S2
1BH9-02-100G | G1/8"X28 M10x1 25 | 26.5 | 11 14
1BH9-02-120G | G1/8"X28 M12x1.5 25 | 305 | 11 17
1BH9-04-120G | G1/4"X19 M12x1.5 29 32 14 17
1BH9-04-140G | G1/4"X19 M14x1.5 29 | 32.5 | 14 19

1BH9-04-160G | G1/4"X19 M16x1. 30 34.8 17 22

1BH9-06-140G | G3/8"X19 M14x1. 30 34 17 19

1BH9-06-160G | G3/8"X19 M16x1. 30 34.8 17 22

1BH9-06-180G | G3/8"X19 M18x1. 33 37 19 24

1BH9-08-180G | G1/2"X14 M18x1. 37 39.5 22 24

1BH9-08-220G | G1/2"X14 M22x1. 40 40.2 27 27

1BH9-10-220G | G5/8"X14 M22x1. 40 40.2 27 27

1BH9-12-220G | G3/4"X14 M22x1. 40 43.5 27 27

1BH9-12-270G | G3/4"X14 M27x1. 40 48.5 27 32

ajlaojfoojoajlonjfoajlonjor oo

1BH9-16-270G G1"X11 M27x1. 49 52 33 32

- 144 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

=

1BJ

EETHMRE60°  AHE SN i S T 2

e AAREE/ERIICHMELTA” S
%/ BSP MALE DOUBLE FOR 60° SEAT
Z) BONDED SEAL/JIC MALE 74° CONE
S1
fom B4 THREADE JU <t DIMENSIONS
PART NO. E F A B s1 L
1BJ-02-04 61/8"X28 | U7/16"X20 10 14 14 30
1BJ-02-05 61/8"X28 | U1/2"X20 10 14 14 30
1BJ-02-06 61/8"X28 | U9/16"X18 10 14 14 30
1BJ-04 G1/4"X19 | U7/16"X20 12 14 19 32
1BJ-04-05 G1/4"X19 | U1/2"X20 12 14 19 32
1BJ-04-06 G1/4"X19 | U9/16"X18 12 14 19 32
1BJ-04-08 G1/4"X19 | U3/4"X16 12 | 16.7 | 19 37
1BJ-04-10 61/4"X19 | U7/8"X14 12 | 19.5 | 22 |39.5
1BJ-06 63/8"X19 | U9/16"X18 13.5 | 14 22 35
1BJ-06-04 63/8"X19 | U7/16"X20 13.5 | 14 22 35
1BJ-06-05 G3/8"X19 | U1/2"X20 13.5 | 14 22 35
1BJ-06-08 G3/8"X19 | U3/4"X16 13.5 | 16.7 | 22 38
1BJ-06-10 63/8"X19 | U7/8"X14 13.5 | 19.5 | 22 4
1BJ-06-12 63/8"X19 |U1.1/16"X12 13.5 | 22 30 | 44.5
1BJ-08 G1/2"X14 | U3/4"X16 16 | 16.7 | 27 42
1BJ-08-04 61/2"X14 | U7/16"X20 16 14 27 40
1BJ-08-05 61/2"X14 | U1/2"X20 16 14 27 40
1BJ-08-06 61/2"X14 | U9/16"X18 16 14 27 40
1BJ-08-10 G1/2"X14 | U7/8"X14 16 | 19.5 | 27 | 45.5
1BJ-08-12 61/2"X14 |U1.1/16"X12 16 22 30 47
1BJ-08-16 61/2"X14 |U1.5/16"X12 16 23 36 50
1BJ-10 65/8"X14 | U7/8"X14 17.5 | 19.5 | 30 46
1BJ-10-08 65/8"X14 | U3/4"X16 17.5 | 16.7 | 30 43
1BJ-10-12 65/8"X14 |U1.1/16"X12 17.5 | 22 30 | 48.5
1BJ-10-16 65/8"X14 |U1.5/16"X12 17.5 | 23 36 | 51.5
1BJ-12 63/4"X14 |U1.1/16"X12 18.5 | 22 32 50
1BJ-12-06 63/4"X14 | U9/16"X18 18.5 | 14 32 42
1BJ-12-08 G3/4"X14 | U3/4"X16 18.5 | 16.7 | 32 46
1BJ-12-10 63/4"X14 | U7/8"X14 18.5 | 19.5 | 32 49

- 145 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

A
o 124 THREADE JU <) DIMENSIONS
PART NO. E F A B S1 L
1BJ-12-16 G3/4"X14 |U1.5/16"X12 18.5 23 36 52
1BJ-12-20 63/4"X14 | U1.5/8"X12 18.5 | 24.5 46 56
1BJ-16 G1"X11 U1.5/16"X12 20.5 23 41 56
1BJ-16-08 G1"X11 U3/4"X16 20.5 | 16.7 41 49
1BJ-16-10 G1"X11 U7/8"X14 20.5 | 19.5 41 52
1BJ-16-12 61"X11 U1.1/16"X12 20.5 22 41 54
1BJ-16-20 61"X11 U1.5/8"X12 20.5 | 24.5 46 59.5
1BJ-20 G1.1/4"X11 | U1.5/8"X12 20.5 | 24.5 50 62
1BJ-20-12 61.1/74"X11 (U1.1/16"X12 20.5 22 50 59
1BJ-20-16 61.1/4"X11 (U1.5/16"X12 20.5 23 50 60
1BJ-20-24 G1.1/4"X11 | U1.7/8"X12 20.5 | 27.5 50 65
1BJ-24-16 G1.1/2"X11 |U1.5/16"X12 23 23 55 63
1BJ-24-20 G1.1/2"X11 | U1.5/8"X12 23 24.5 55 64
1BJ-24 G1.1/72"X11 | U1.7/8"X12 23 27.5 55 67
1BJ-24-32 6G1.1/72"X11 | U2.1/2"X12 23 34 65 74
1BJ-32 G2'X11 U2.1/2"X12 25.5 34 70 77
1BJ-32-24 G2"X11 U1.7/8"X12 25.5 | 27.5 70 71

- 146 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

A
> 1BJ4
o w o 45° R AHMRI60° NHE/
W K INCHMRLT4° HIE
45° BSP MALE 60° SEAT/
A s1 JIC MALE 74° CONE
B 24 THREADE JU < DIMENSIONS
PART NO. E F A B s1
1BJ4-04 G1/4"X19 | U7/16"X20 22 22 14
1BJ4-04-05 | G1/4"X19 | U1/2"X20 22 22 14
1BJ4-04-06 | G1/4"X19 | U9/16"X18 22 22 14
1BJ4-06 63/8"X19 | U9/16"X18 22 22 17
1BJ4-06-08 | G3/8"X19 | U3/4"X16 25 25 19
1BJ4-08 G1/2"X14 | U3/4"X16 27 27 22
1BJ4-08-10 | G1/2"X14 | U7/8"X14 27 27 22
1BJ4-10 G5/8"X14 | U7/8"X14 33 33 27
1BJ4-12 G3/4"X14 |U1.1/16"X12 33 33 27
1BJ4-16 6G1"X11  |U1.5/16"X12 37 37 33
1BJ4-16-20 G1"X11 | U1.5/8"X12 40 40 44
1BJ4-20 61.1/4"X11 | U1.5/8"X12 40 40 44
1BJ4-24 G1.1/2"X11 | U1.7/8"X12 47 47 53
1BJ4-32 G2"X11 | U2.1/2"X12 55 55 65

- 147 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

/ 1BJ9
p o
[ TT? ‘ 90° T SMBLL60° WHE/
g - KHIIICHMRL 74" HhE
—></ 90° BSP MALE 60° SEAT/
A s1 JIC MALE 74° CONE
e BRZL THREADE J ~I° DIMENSIONS
PART NO. E F A B S1
1BJ9-04 G1/4"X19 U7/16"X20 27 29 14
1BJ9-04-05 G1/4"X19 U1/2"x20 27 29 14
1BJ9-04-06 G1/74"X19 | U9/16"X18 27 29 14
1BJ9-06 G3/8"X19 | U9/16"X18 29 30 17
1BJ9-06-08 63/8"X19 U3/4"X16 33 33 19
1BJ9-08 G1/2""X14 U3/4"X16 37 37 22
1BJ9-08-10 G1/2"X14 u7/8"Xx14 37 37 22
1BJ9-10 G5/8"X14 u7/8"x14 40 40 27
1BJ9-12 G3/4"X14 |U1.1/16"X12 40 40 27
1BJ9-16 G1"X11 |U1.5/16"X12 49 49 33
1BJ9-16-20 6G1"X11 U1.5/8"X12 57 57 44
1BJ9-20 G1.1/74"X11 | U1.5/8"X12 57 57 44
1BJ9-24 G1.1/2"%11 | U1.7/8"X12 57 57 48
1BJ9-32 G2"X11 U2.1/2"X12 66 66 65

- 148 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

B 1BM
~

o w ul o JEEFHMEBEL60° PHEDL S H i (11 4 A5 3B 5/

© < ATHIAMEREI60° A HERL S v 1 4 3R E
%// BSP MALE 60° SEAT DOUBLE 60° SEAT
BONDED SEAL/METRIC MALE
o DOUBLE 60° SEAT BONDED SEAL

= 124 THREADE & ~F DIMENSIONS

PART NO. E F A B s1 L
1BM-02-12 61/8"X28 M12x1.5 10 10 17 28
1BM-04-12 G1/4"X19 M12x1.5 12 10 19 30
1BM-04-14 G1/4"X19 M14x1.5 12 11 19 31
1BM-04-16 G1/4"X19 M16x1.5 12 12 22 34
1BM-04-18 G1/4"X19 M18x1.5 12 12 24 34
1BM-06-12 G3/8"X19 M12x1.5 13.5 | 10 22 | 32.5
1BM-06-14 G3/8"X19 M14x1.5 13.5 | 11 22 | 33.5
1BM-06-16 G3/8"X19 M16x1.5 13.5 | 12 22 | 34.5
1BM-06-18 63/8"X19 M18x1.5 13.5 | 12 24 | 34.5
1BM-06-22 63/8"X19 M22x1.5 13.5 | 14 27 | 39.5
1BM-08-14 G1/2"X14 M14x1.5 16 11 27 39
1BM-08-16 G1/2"X14 M16x1.5 16 12 27 40
1BM-08-18 G1/2"X14 M18x1.5 16 12 27 40
1BM-08-22 G1/2"X14 M22x1.5 16 14 27 42
1BM-10-22 G5/8""X14 M22x1.5 17.5 | 14 30 |43.5
1BM-12-18 G3/4"X14 M18x1.5 18.5 | 12 32 |42.5
1BM-12-22 G3/4"X14 M22x1.5 18.5 | 14 32 |44.5
1BM-16-14 61"X11 M14x1.5 20.5 | 11 41 46
1BM-16-22 G1"X11 M22x1.5 20.5 | 14 41 49

- 149 -



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

: : 1BO
8 w u B HMIZEI60° A HEBR N A i T £ £ H B )
1 THISAESME LU 0T Pl 42 R 41
%/% BSP MALE 60° SEAT BONDED SEAL
/SAE 0-RING BOSS L-SERIES
S

foe 240 THREADE JU I DIMENSIONS
PART NO. E F A B S1 L
1B0-04 G1/4"X19 U7/16"X20 12 10 19 28
1B0-04-05 G1/4"X19 U1/2"x20 12 10 19 28
1B0-04-06 G1/4"X19 U9/16"X18 12 12 19 30
1B0-04-08 G1/4"X19 U3/4"X16 12 12 22 32
1B0-06 G3/8"X19 U9/16"X18 13.5 12 22 33.5
1B0-06-04 G3/8"X19 U7/16"X20 13.5 10 22 31.5
1B0-06-08 (G3/8"X19 U3/4"X16 13.5 12 24 33.5
1B0-06-10 (G3/8"X19 U7/8""X14 13.5 | 13.5 27 37
1B0-08 G1/2"X14 U3/4"X16 16 12 27 38
1B0-08-06 G1/2"X14 U9/16"X18 16 12 27 38
1B0-08-10 G1/2"X14 U7/8'"X14 16 13.5 27 39.5
1B0-08-12 G1/2"X14 (U1.1/16"X12 16 16 32 42
1B0-10 G5/8"X14 U7/8'"X14 17.5 | 13.5 30 41
1B0-10-08 G5/8"X14 U7/8'"X14 17.5 12 30 39.5
1B0-10-12 G5/8"X14 (U1.1/16"X12 17.5 16 32 43.5
1B0-12 G3/4"X14 |U1.1/16"X12 18.5 16 32 44.5
1B0-12-08 G3/4"X14 U3/4"X16 18.5 12 32 40.5
1B0-12-10 G3/4"X14 U7/8'"X14 18.5 | 13.5 32 42
1B0-12-16 G3/4"X14 |U1.5/16"X12 18.5 17 41 47.5
1B0-16 G1"X11 U1.5/16"X12 20.5 17 41 49.5
1B0-16-10 G1"X11 U7/8'"X14 20.5 | 13.5 41 46
1B0-16-12 G1"X11 U1.1/16"X12 20.5 16 41 48.5
1B0-16-20 G1"X11 U1.5/8"X12 20.5 18 50 55.5
1B0-20 G1.1/4"X11 | U1.5/8"X12 20.5 18 50 55.5
1B0-20-16 (G1.1/4"X11 |U1.5/16"X12 20.5 17 50 54.5
1B0-24 G1.1/2"x11 | U1.7/8"X12 23 18.5 55 58.5

- 150 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

60°

: B 1BW
gl w : o %%%%ﬁw°W%ﬁﬁ%
i T 2 15 B I /PR
4<§%Z%f BSP MALE 60° SEAT BONDED
SEAL/BUTT-WELD TUBE
S1
R U2 THREADE & -f4M# TUBE 0.D. JU <} DIMENSIONS
PART NO. E D A B s1 L
1BW-04-10 | G1/4"X19 10 12 7 19 25
1BW-06-14 | G3/8"X19 14 13.5 | 8 22 | 29.5
1BW-08-18 | G1/2"X14 18 16 10 27 36
1BW-12-22 | G3/4"X14 22 18.5 | 10 32 |38.5
1BW-12-28 | G3/4"X14 28 18.5 | 12 32 | 40.5
1BW-16-28 G1"X11 28 20.5 | 12 41 | 44.5
1BW-16-30 G1"X11 30 20.5 | 12 41 | 44.5
1BW-20-34  |G1.1/4"X11 34 20.5 | 14 50 |51.5
1BW-20-36  |G1.1/4"X11 36 20.5 | 14 50 |51.5
1BW-20-42  |G1.1/4"X11 42 20.5 | 16 50 |53.5
1BW-24-36  |G1.1/2"X11 36 23 14 55 54
1BW-24-42  |G1.1/4"X11 42 23 16 55 56
1BW-24-50 |G1.1/2"X11 50 23 16 55 56
S1
2WB
o o
PR /558 N IRZ60° AMIE
BUTT-WELD TUBE/BSP FEMALE 60 ° CONE
C
e R4 THREADE %74z TUBE 0.D. JU < DIMENSIONS
PART NO. E D c s1
2WB-10-04 | G1/4"X19 10 5.5 19
2WB-14-06 | G3/8"X19 14 6.5 22
2WB-18-08 | G1/2"X14 18 8 27
2WB-22-08 | G1/2"X14 22 8 27
2WB-22-12 | G3/4"X14 22 11.5 32
2WB-28-16 G1"X11 28 11.5 41
2WB-34-20  |G1.1/4"X11 34 12 50
2WB-42-20  |G1.1/4"X11 42 12 50
2WB-50-24  |G1.1/2"X11 50 13 55

- 151 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

et 1B-WD

8 | ol o SEAFSMBLIB0° P HES N AL
_ o /%E%%&M@ﬁ%
BSP MALE 60° SEAT BONDED SEAL
/BSP MALE CAPTIVE SEAL
s1
o UZ4L THREADE JU ) DIMENSIONS
PART NO. E F A B s1 L
1B-04WD G1/4"X19 | G1/4"X19 12 12 19 32
1B-04-06WD | G1/4"'X19 | G3/8"X19 12 | 13.5 | 22 36
1B-04-08WD | G1/4"X19 | G1/2"X14 12 16 27 41
1B-06WD G3/8"X19 | 63/8"X19 13.5 | 13.5 | 22 | 35.5
1B-06-08WD | G3/8"X19 | G1/2"X14 13.5 | 16 27 | 42.5
1B-08WD G1/2"X14 | G1/2"X14 16 16 27 45
1B-08-12WD | G1/2"X14 | G3/4"X14 16 | 18.5 | 32 | 48.5
1B-12WD G3/4"X14 | G3/4"X14 18.5 | 18.5 | 32 49
1B-12-16WD | G3/4"X14 | G1"X11 18.5 | 20.5 | 41 55
1B-16WD G1"X11 G1"X11 20.5 | 20.5 | 41 57
1B-16-20WD | G1"X11 [G1.1/4"X11 20.5 | 20.5 | 50 59
1B-20WD  |G1.1/4"X11|G1.1/4"X11 20.5 | 20.5 | 50 59

- 152 -



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

S2
— : 2BJ

gl w [ w ffﬁﬁi%wo W%&E‘z/‘f\ﬁa%ﬁmﬁéﬂ

SR /I IC N IRL 74 N HE

Z //%% - BSP MALE DOUBLE FOR 60° SEAT

BONDED SEAL/JIC FEMALE 74° SEAT

R 24 THREADE JU <F DIMENSIONS
PART NO. E F A C S1 S2
2BJ-02-04 G1/8"X28 U7/16"X20 10 8.5 14 17
2BJ-02-06 G1/8"X28 U9/16"X18 10 10 14 19
2BJ-04 G1/4"X19 U7/16"X20 12 8.5 19 17
2BJ-04-05 G1/4""X19 U1/2"X20 12 9.5 19 19
2BJ-04-06 G1/4"X19 U9/16"X18 12 10 19 19
2BJ-04-08 G1/4"X19 U3/4"X16 12 11 19 24
2BJ-06 G3/8""X19 U9/16"X18 13.5 10 22 19
2BJ-06-08 G3/8"X19 U3/4"X16 13.5 11 22 24
2BJ-06-10 G3/8"X19 U7/8"X14 13.5 11 22 27
2BJ-08 G1/2"X14 U3/4"X16 16 11 27 24
2BJ-08-06 G1/2"X14 U9/16"X18 16 10 27 19
2BJ-08-10 G1/2"X14 U7/8"X14 16 11 27 27
2BJ-10 G5/8"X14 u7/8"X14 17.5 11 30 27
2BJ-12 G3/4"X14 |U1.1/16"X12 18.5 | 13.5 32 32
2BJ-12-08 G3/4"X14 U3/4"X16 18.5 11 32 24
2BJ-12-10 G3/4"X14 U7/8"X14 18.5 11 32 27
2BJ-12-16 G3/4"X14 (U1.5/16"X12 18.5 | 14.5 32 41
2BJ-16 G1"X11 U1.5/16"X12 20.5 | 14.5 41 41
2BJ-16-20 G1"X11 U1.5/8"X12 20.5 | 15.5 41 50
2BJ-20 G1.1/4"X11 | U1.5/8"X12 20.5 | 15.5 50 50
2BJ-20-24 G1.1/74"X11 | U1.7/8"X12 20.5 | 18.5 50 55
2BJ-24 G1.1/2"X11 | U1.7/8"X12 23 18.5 55 55
2BJ-32 G2"X11 U2.1/2"X12 25.5 | 24.5 70 75

- 153 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

S2
: - 2BJ-WD
gl ' ol YL MRS T/
. - FHIJICHIRE74° AHE
’ BSP MALE CAPTIVE SEAL/
51 c JIC FEMALE 74° SEAT
FR 247 THREADE J& <} DIMENSIONS
PART NO. E F A o s1 S2
2BJ-02-04WD | G1/8"X28 | U7/16"X20 10 | 8.5 | 14 17
2BJ-04-05WD | G1/4"X19 | U1/2"X20 12 9.5 | 19 19
2BJ-04-06WD | G1/4"X19 | U9/16"X18 12 10 19 19
2BJ-04-08WD | G1/4"X19 | U3/4"X16 12 11 19 24
2BJ-04WD | G1/4"X19 | U7/16"X20 12 8.5 | 19 17
2BJ-06-08WD | G3/8"X19 | U3/4"'X16 13.5 | 11 22 24
2BJ-06WD | G3/8"X19 | U9/16"X18 13.5 | 10 22 19
2BJ-08-06WD | G1/2"X14 | U9/16"X18 16 10 27 19
2BJ-08-10WD | G1/2"X14 | U7/8"X14 16 11 27 27
2BJ-08WD | G1/2"X14 | U3/4"X16 16 11 27 24
2BJ-12-16WD | G3/4"X14 |U1.5/16"X12 18.5 | 14.5 | 32 41
2BJ-12WD | G3/4"'X14 [U1.1/16"X12 18.5 | 13.5 | 32 32
2BJ-16WD G1"X11 |U1.5/16"X12 20.5 | 14.5 | 4 41
2BJ-20-16WD |G1.1/4"X11|U1.5/16"X12 20.5 | 14.5 | 50 41
2BJ-20WD  |G1.1/4"X11| U1.5/8"X12 20.5 | 15.5 | 50 50
2BJ-24WD  |G1.1/2"X11| U1.7/8"X12 23 | 18.5 | 55 55

- 154 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

218
3 AR
LR HMRLL/ P N IRL60° SMHE
BSPT MALE/BSP FEMALE 60° CONE
= 240 THREADE JU ~J" DIMENSIONS
PART NO. E F A C S1 S2
2TB-02 Z61/8"X28 | G1/8"X28 10 | 5.5 | 12 14
2T8-02-04 Z61/8"X28 | G1/4"X19 10 | 5.5 | 14 19
2TB-04 Z61/4"X19 | G1/4"X19 14 | 5.5 | 17 19
2TB-04-06 Z61/4"X19 | G3/8"X19 14 6.5 | 17 22
2TB-04-08 Z61/4"X19 | G1/2"X14 14 8 19 27
2TB-06 Z63/8"X19 | G3/8"X19 14 6.5 | 19 22
2TB-06-08 Z63/8"X19 | G1/2"X14 14 8 22 27
2TB-08 Z61/2"X14 | G1/2"X14 19 8 22 27
2TB-08-06 Z61/2"X14 | G3/8"X19 19 6.5 | 22 24
2TB-08-12 Z61/2"X14 | G3/4"X14 19 |11.5 | 27 32
2TB-12 ZG3/4"X14 | G3/4"X14 19.5 | 11.5 | 30 32
2TB-12-16 ZG3/4"X14 G1"X11 19.5 | 11.5 | 32 41
2TB-16 Z61"X11 G1"x11 24 | 11.5 | 36 41
2TB-16-20 Z61"X11 | G1.1/4"X11 24 12 41 50
2TB-20 ZG1.1/4"X11 | G1.1/4"X11 25 12 46 50
2TB-24 Z61.1/2"X11 | G1.1/2"X11 25 13 50 55
2TB-32 Z62"'X11 G2"X11 29 16 70 70

- 155 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

& %,
A
2TB4
8Q 52 45° GLHETT MRS/ ST N ERA60° AMEE
/| 45° BSPT MALE/BSP FEMALE 60° CONE
A S1
= W24 THREADE JU <} DIMENSIONS
PART NO. E F A C s1 S2
2TB4-02 261/8"X28 | G1/8"X28 20 | 5.5 | 11 14
2TB4-04 261/4"X19 | G1/4"X19 22 | 5.5 | 14 19
2TB4-06 263/8"X19 | G3/8"X19 22 6.5 | 17 22
2TB4-08 261/2"X14 | G1/2"X14 27 8 22 27
2TB4-12 ZG3/4"X14 | G3/4"X14 33 | 11.5 | 27 32
2TB4-16 Z61"X11 G1"X11 37 | 11.5 | 33 41
2NB4-20 Z61.1/4"X11 | G1.1/4"X11 40 12 44 50
2NB4-24 761.1/2"X11 | G1.1/2"X11 47 13 53 55
60°
-
4 7 el
2TB9
EQ 00° Wik SMBLL/ VR IZLI60° S
© 90° BSPT MALE/BSP FEMALE 60° CONE
|
A S1
(%) 24 THREADE JU < DIMENSIONS
PART NO. E F A c S1 S2
2TB9-02 761/8"X28 | G1/8"X28 23 | 5.5 | 11 14
2TB9-04 Z61/4"X19 | G1/4"X19 29 | 5.5 | 14 19
2TB9-06 763/8"X19 | G3/8"X19 30 6.5 | 17 22
2TB9-08 Z61/2"X14 | G1/2"X14 37 8 22 27
2TB9-12 ZG3/4"X14 | G3/4"X14 40 | 11.5 | 27 32
2TB9-16 Z61"X11 G1"X11 49 | 11.5 | 33 41
2NB9-20 Z61.1/4"X11 | G1.1/4"X11 57 12 44 50
2NB9-24 Z61.1/2"X11 | 6G1.1/2"X11 57 13 48 55

- 156 -



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

A
Z2NB
2 | Al
7 ATHER SMBL/ YEAE W IRZ60° SMHE
J X A NPT MALE/BSP FEMALE 60° CONE
E s1
= 240 THREADE JU ~J" DIMENSIONS
PART NO. E F A C S1 S2
2NB-02 Z1/8"X27 61/8"X28 10 | 5.5 | 12 14
2NB-02-04 71/8"X27 G1/4"X19 10 | 5.5 | 14 19
2NB-04 Z1/4"X18 G1/4"X19 14 | 5.5 | 17 19
2NB-04-06 Z1/4"'X18 G3/8"X19 14 6.5 | 17 22
2NB-04-08 Z1/4"'X18 G1/2"'X14 14 8 19 27
2NB-06 73/8"Xx18 63/8"X19 14 6.5 | 19 22
2NB-06-08 73/8"X18 G1/2"X14 14 8 22 27
2NB-08 Z1/2"X14 G1/2"X14 19 8 22 27
2NB-08-06 71/2"'X14 G3/8"X19 19 6.5 | 22 24
2NB-08-12 71/2"'X14 G3/4"X14 19 |11.5 | 27 32
2NB-12 Z3/4"X14 G3/4"X14 19.5 | 11.5 | 30 32
2NB-12-16 Z3/4"'X14 G1"X11 19.5 | 11.5 | 32 41
2\B-16 Z1"X11.5 G1"x11 24 | 11.5 | 36 41
2NB-16-20 Z1"X11.5 | G1.1/4"X11 24 12 41 50
2NB-20 71.1/4"X11.5| G1.1/4"X11 25 12 46 50
2NB-24 71.1/2"X11.5| 61.1/2"X11 25 13 50 55
2NB-32 72"X11.5 G2"X11 29 16 70 70

- 157 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

& .
A
Z2NB4
3 52 . LB S 5 R @
45° AiHERE SNBSS N IRE60 ° AME
A 45° NPT MALE/BSP FEMALE 60° CONE
A S1

o 1240 THREADE JX <F DIMENSIONS
PART NO. E F A C S1 S2
2NB4-02 Z1/8"X27 G1/8"X28 20 5.5 11 14
2NB4-04 71/4"X18 G1/4"X19 22 5.5 14 19
2NB4-04-06 Z21/4"X18 G3/8"X19 22 6.5 17 22
2NB4-06 Z3/8"X18 G3/8"X19 22 6.5 17 22
2NB4-06-04 Z3/8"X18 61/4"X19 22 5.5 17 19
2NB4-06-08 Z3/8"X18 G1/2"X14 25 8 19 27
2NB4-08 Z21/2"X14 G1/2"X14 27 8 22 27
2NB4-08-06 Z21/2"X14 G3/8"X19 27 6.5 22 22
2NB4-12 Z23/4"X14 G3/4"X14 33 11.5 27 32
2NB4-12-08 Z3/4"X14 G1/2"X14 33 8 27 27
2NB4-12-16 Z23/4"X14 G1"X11 37 11.5 33 41
2NB4-16 Z1"X11.5 G1"X11 37 11.5 33 41
2NB4-16-12 Z1"X11.5 G3/4"X14 37 11.5 33 32
2NB4-20 71.1/74"X11.5| G1.1/4"X11 40 12 44 50
2NB4-24 Z1.1/2"X11.5| G1.1/2"X11 47 13 53 55
2NB4-32 Z2"X11.5 G2"X11 55 16 65 70

- 158 -



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

60°
AEL‘\ S2
4 7 el
| 2NB9
2 ﬁ 90° AHER MRS/ JEE NIRA60° HME
© 90° NPT MALE/BSP FEMALE 60° CONE
|
A S1

fRE 24 THREADE JU <} DIMENSIONS
PART NO. E F A o S1 S2
2NB9-02 71/8"X27 61/8"X28 23 | 5.5 | 11 14
2NB9-04 71/4"X18 61/4"X19 29 | 5.5 | 14 19
2NB9-04-06 71/4"X18 63/8"X19 30 6.5 | 17 22
2NB9-06 73/8"X18 63/8"X19 30 6.5 | 17 22
2NB9-06-04 73/8"X18 61/4"X19 30 | 5.5 | 17 19
2NB9-06-08 73/8"X18 61/2"X14 33 8 19 27
2NB9-08 71/2"X14 61/2"X14 37 8 22 27
2NB9-08-06 71/2"X14 63/8"X19 37 6.5 | 22 22
2NB9-12 73/4"X14 63/4"X14 40 |11.5 | 27 32
2NB9-12-08 73/4"X14 61/2"X14 40 8 27 27
2NB9-12-16 73/4"X14 61"X11 49 |11.5 | 33 41
2NB9-16 71"X11.5 61"X11 49 |11.5 | 33 41
2NB9-16-12 71"X11.5 63/4"X14 49 |11.5 | 33 32
2NB9-20 71.1/4"X11.5 | G1.1/4"X11 57 12 44 50
2NB9-24 71.1/2"X11.5 | 6G1.1/2"X11 57 13 48 55
2NB9-32 72"X11.5 62"X11 66 16 65 70

- 159 -



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

A
s1
° o —hd A N o »
V4 P ARG I B S Sk
7 BSP MALE CAPTIVE SEAL HOLLOW HEX PLUG
H

e U227 THREADE J& <} DIMENSIONS

PART NO. E A d D s1 H L
4BN-04WD 61/4"X19 12 | 16.3 | 19 6 1.2 | 17.3
4BN-06WD 63/8"X19 12 | 18.7 | 22 8 1.2 | 17.3
4BN-08WD 61/2"X14 14 | 23.7 | 27 10 | 1.2 | 19.3
4BN-12D G3/4"X14 16 29 32 12 1.2 | 21.3
4BN-16WD 61"X11 16 | 35.5 | 40 14 | 1.6 | 22.8
1 4B-WD

/ YR SMBLUR R B b Sk
BSP MALE CAPTIVE SEAL PLUG
H \S1

fRE B240 THREADE JU ~F DIMENSIONS

PART NO. E A d s1 H

4B-04WD G1/4"X19 12 |16.3 | 19 1.2
4B-06WD 63/8"X19 12 |18.7 | 22 | 1.2
4B-08WD 61/2"X14 14 | 23.7| 27 | 1.2
4B-12WD 63/4"X14 16 29 32 | 1.2
4B-16WD 61"X11 16 | 35.5| 41 | 1.6

- 160 -



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

A
5B
g w | o YO AMIBA60° PIHEER A FA
T2 A B B 9578 R AL
Z 7 BSP MALE DOUBLE FOR 60° SEAT
J BONDED SEAL/BSP FEMALE
S1

o W24 THREADE R~} DIMENSIONS

PART NO. E F A s1 L
5B-02-04 G1/8"X28 61/4"X19 10 19 28
5B-04-02 G1/4"X19 G1/8"X28 12 19 30

5B-04 61/4"X19 61/4"X19 12 19 30
5B-04-06 G1/4"X19 63/8"X19 12 22 32
5B-06-04 G3/8"X19 G1/4"X19 13.5 22 33.5

5B-06 63/8"X19 63/8"X19 13.5 22 33.5
5B-06-08 G3/8"X19 G1/2"X14 13.5 27 33.5
5B-08-06 G1/2"X14 G3/8"X19 16 27 36

5B-08 G1/2"X14 G1/2"X14 16 27 36
5B-08-10 G1/2"X14 G5/8"X14 16 30 42
5B-08-12 G1/2"X14 G3/4"X14 16 32 40
5B-10-08 G5/8"X14 G1/2"X14 17.5 30 44
5B-12-08 G3/4"X14 G1/2"X14 18.5 32 43

5B-12 G3/4"X14 G3/4"X14 18.5 32 42.5
5B-12-16 G3/4"X14 61"X11 18.5 41 52.5
5B-16-12 G1"X11 G3/4"X14 20.5 41 54.5

5B-16 G1"X11 61"X11 20.5 41 54.5
5B-16-20 G1"X11 61.1/4"X11 20.5 50 37.5
5B-20-16 G1.1/4"X11 G1"X11 20.5 50 57.5

5B-20 61.1/4"X11 | G1.1/4"X11 20.5 50 56.5
5B-20-24 G1.1/74"X11 | G1.1/2"X11 20.5 55 57.5

5B-24 61.1/2"X11 | G1.1/2"X11 23 55 60
5B-32-24 G2"X11 G1.1/72"X11 23 70 60

5B-32 G2"X11 62"X11 25.5 70 62.5

- 161 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

,L.l

5B9

| w 90° JLAFHMIRLI60° P HE/ T NIRLL

© 90° BSP MALE 60° SEAT/BSP FEMALE
A s1

o U247 THREADE S <t DIMENSIONS

PART NO. E F A B S1

5B9-02 61/8"X28 | G1/4"X19 2 | 17 | 14

5B9-04 G1/4"X19 | G1/4"X19 27 | 21 | 17

5B9-06 63/8"X19 | G3/8"X19 32 | 27 22

5B9-08 G1/2"X14 | G1/2"X14 3B | 30 | 27

5B9-12 G3/4"X14 | 63/4"X14 40 | 32 | 33

5B9-16 61"X11 61"X11 49 | 38 | 41

- 162 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

S1

5BN

S HMRLI60° P HE SN A i T 2

5
© i BB B S AT HEE N IR AL
. BSP MALE DOUBLE FOR 60° EAT
2222224 BONEDE SEAL/NPT FEMALE
= 227 THREADE J& ~} DIMENSIONS
PART NO. E F A S1 L
5BN-04 G1/4"X19 71/4"X18 12 19 30
5BN-06 63/8"X19 73/8"X18 13.5 22 33.5
5BN-08 61/2"X14 71/2"X14 16 27 36
5BN-12 63/4"X14 73/4"X14 18.5 32 42.5
5BN-16 G1"X11 71"X11.5 20.5 41 54.5
5BN-20 G1.1/4"X11 |Z1.1/4"X11.5 20.5 50 57.5
5BN-24 61.1/2"X11 |Z1.1/2"X11.5 23 55 60
5BN-32 62"X11 72"X11.5 25.5 70 62.5
L
S1
: 5BT
/
o JEEHMEL60° PHEDL /S F i 17 41
3 | By B SRR IR
BSP MALE DOUBLE FOR 60° EAT
BONEDE SEAL/BSPT FEMALE
F
R 240 THREADE JU < DIMENSIONS
PART NO. E F A s1 L
5BT-04 G1/4"X19 | Z61/4"X19 12 19 30
5BT-06 63/8"X19 | ZG3/8"X19 13.5 22 33.5
5BT-08 G1/2"X14 | ZG1/2"X14 16 27 36
5BT-12 G3/4"X14 | ZG3/4"X14 18.5 32 42.5
5BT-16 61"X11 Z61"X11 20.5 41 54.5
5BT-20 G1.1/4"X11 | Z61.1/4"X11 20.5 50 57.5
5BT-24 61.1/2"X11 | Z61.1/2"X11 23 55 60
5BT-32 62"X11 262"X11 25.5 70 62.5

- 163 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

5B-WD

3 | O AN S e S B
Z BSP MALE CAPTIVE SEAL/BSP FEMALE
o WAL THREADE ~" DIMENSIONS
PART NO. E F A s1 L
5B-02-04WD (61/8"X28 G1/74"X19 10 19 28
5B-02-06WD (61/8"X28 (63/8"X19 10 22 30
5B-04-02WD G1/74"X19 (61/8"X28 12 19 30
5B-04-06WD G1/74"X19 (63/8"X19 12 22 32
5B-04-08WD G1/74"X19 G1/2"X14 12 27 32
5B-06-02WD (63/8"X19 (61/8"X28 13.5 22 33.5
5B-06-04WD (63/8"X19 G1/74"X19 13.5 22 33.5
5B-06-08WD (63/8"X19 G1/2"X14 13.5 27 33.5
5B-08-04WD G1/2"X14 G1/74"X19 16 22 36
5B-08-06WD G1/2"X14 (63/8"X19 16 27 36
5B-08-12WD G1/2"X14 (63/74"X14 16 32 40
5B-12-08WD (G3/74"X14 G1/2"X14 18.5 32 42 .5
5B-12-16WD (G3/74"X14 G1"X11 18.5 41 52.5
5B-12-20WD (63/74"X14 (61.1/4"X11 18.5 50 52.5
5B-16-12WD G1"X11 (63/74"X14 20.5 41 54.5
5B-16-20WD G1"X11 (61.1/4"X11 20.5 50 56.5
5B-20-16WD (61.1/4"X11 G1"X11 20.5 50 56.5
5B-20-24WD G1.1/4"X11 | G1.1/2"X11 20.5 55 57.5
5B-20-32WD (61.1/4"X11 G2'"X11 20.5 70 57.5
5B-24-16WD (G1.1/2"X11 G1"X11 23 55 60
5B-24-20WD (G1.1/2"X11 | G1.1/74"X11 23 55 60
5B-24-32WD (G1.1/2"X11 (G2"X11 23 70 60

- 164 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

A S1
5GB
" .
Yo SISO BB/ 9E P R
) BSP MALE O-RING/BSP FEMALE
o WAL THREADE S~} DIMENSIONS
PART NO. E F A S1 L
5GB-04 (G1/4"X19 G1/4"X19 12 19 30
5GB-04-06 G1/4"X19 (63/8"X19 12 22 32
5GB-06 (G3/8"X19 (63/8"X19 13.5 22 33.5
5GB-06-08 (G3/8'"X19 G1/2"X14 13.5 27 33.5
5GB-08 G1/2"X14 G1/2"X14 16 27 36
5GB-08-12 G3/4"X14 (63/4"X14 16 32 40
5G6B-12 G3/4"X14 (63/74"X14 18.5 32 42.5
56B-12-16 G3/4"X14 G1"X11 18.5 41 52.5
5GB-16-12 G1"X11 (63/4"X14 20.5 41 33
5GB-16 G1"X11 G1"X11 20.5 41 54.5
S1 S2
/TB
L o
7 SOHEA P SRS/ SR Y IEA60°° AN
BSPT FEMALE/BSP FEMALE 60 ° CONE
C

o= 22 THREADE JU I DIMENSIONS
PART NO. E F C S1 S2
7TB-02-04 | ZG1/8"X28 | G1/4"X19 5.5 | 17 19
7TB-04 ZG1/4"X19 | G1/4"X19 5.5 | 19 19
7TB-04-06 | ZG1/4"X19 | G3/8"X19 6.5 | 22 22
7TB-06 ZG3/8"X19 | G3/8"X19 6.5 | 22 22
7TB-06-08 | ZG3/8"X19 | G1/2"X14 8 27 27
7TB-08-06 | ZG1/2"X14 | G3/8"X19 6.5 | 27 22
7TB-08 ZG1/2"X14 | G1/2"X14 8 27 27
7TB-12 ZG3/4"X14 | G3/4"X14 11.5 | 32 32
7TB-16 Z61"X11 G1"X11 11.5 | 41 41

- 165 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

G %

s1/

/B

T PIREL
BSP FEMALE

(%) W47 THREADE JU <} DIMENSIONS
PART NO. E F L S1
78-02 G1/8"X28 | G1/8"X28 22 14
7B-04 G1/4"X19 | G1/4"X19 24 19
7B-06 G3/8"X19 | G3/8"X19 26 22
78-08 G1/2"X14 | G1/2"X14 32 27
7B-10 G5/8"X14 | G5/8"X14 36 30
7B-12 G3/4"X14 | G3/4"X14 36 32
7B-16 G1"X11 G1"X11 40 41
7B-20 G1.1/4"X11 | G1.1/4"X11 44 50
7B-24 G1.1/2"X11 | G1.1/2"X11 45 55
7B-32 G2"X11 G2"X11 54 70

- 166 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

- /B9

wi

[ X 90° i Py IRLL

A s1 90° BSP FEMALE
= IR0 THREADE JU <} DIMENSIONS
PART NO. E A B S1
789-02 G1/8"X28 17 17 14
7B9-04 G1/4"X19 21 21 17
7B9-06 G3/8"X19 24 24 22
789-08 G1/2"X14 27 27 26
7B9-12 G3/4"X14 33 33 34
7B9-16 61"X11 38 38 4
789-20 61.1/4"X11 45 45 54
7B9-24 61.1/2"X11 47 47 56
7B9-32 62"X11 60 60 68

P ]

GB

Vel
N \ U NIRSL =0
; \ﬂ BSP FEMALE TEE
(%) UZ 2 THREADE JU <} DIMENSIONS
PART NO. E A S1
GB-02 G1/8"X28 17 14
GB-04 G1/4"X19 21 17
GB-06 G3/8"X19 24 22
GB-08 G1/2"X14 27 26
GB-12 G3/4"X14 33 34
GB-16 G1"X11 38 41
GB-20 G1.1/4"X11 45 54
GB-24 G1.1/2"x11 47 56
GB-32 G2"X11 60 68

- 167 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

AB
[R&Z J % A
gl w N SEAMBLLS0° Py
\ BSP MALE 60° SEAT TEE
A \ﬂ B
= 240 THREADE JU 5J DIMENSIONS
PART NO. E F G A B C S1
AB-02 G1/8"X28 | G1/8"X28 | G1/8"X28 24 24 24 | 11
AB-04 G1/4"X19 | G1/4"X19 | G1/4"X19 27 27 27 | 14
AB-06 G3/8"X19 | G3/8"X19 | G3/8"X19 28 | 28 28 | 17
AB-08 G1/2"X14 | G1/2"X14 | G1/2"X14 33 | 33 33 | 22
AB-10 G5/8"X14 | G5/8"X14 | G5/8"X14 33 | 33 33 | 22
AB-12 G3/4"X14 | G3/4"X14 | G3/4"X14 40 | 40 40 | 27
AB-16 G1X11 61"X11 61"X11 49 | 49 49 | 33
AB-20 G1.1/4"X11 | G1.1/4"X11 | 61.1/4"X11 57 57 57 44
=
b | BB

K JLE AMRL60° NHE/

o w R SE PR ECOMEE)

: BSP MALE 60° SEAT/
) \ilA BSP FEMALE 60° CONE BRANCH TEE

(%) UZZL THREADE JU <} DIMENSIONS
PART NO. E F A c s1 s2
BB-02 G1/8"X28 | G1/8"X28 24 | 5.5 | 11 14
BB-04 G1/4"X19 | G1/4"X19 27 | 5.5 | 14 19
BB-06 G3/8"X19 | G1/4"X19 28 | 6.5 | 17 22
BB-08 G1/2"X14 | G1/2"X14 33 8 22 27
BB-12 G3/4"X14 | G3/4"X14 40 | 11.5 | 27 32
BB-16 G1X11 G1X11 49 |11.5 | 33 4
BB-20 G1.1/4"X11 | G1.1/4"X11 57 12 44 50

- 168 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

60°

60°

<&

< CB

7| | h
/{ S HMBL60° HHE
g ™ ' = A W IRGAMIE T3 =08
\ % BSP MALE 60° SEAT/
\ﬂ JK\ BSP FEMALE 60° CONE RUN TEE
A S2
R W24 THREADE JU 5} DIMENSIONS
PART NO. E F A C s1 S2
CB-02 G1/8"X28 | G1/8"X28 24 | 55 | 11 14
CB-04 G1/4"X19 | G1/4"X19 27 | 5.5 | 14 19
CB-06 63/8"X19 | G1/4"X19 28 | 6.5 | 17 22
CB-08 G1/2"X14 | G1/2"X14 33 8 22 27
CB-12 G3/4"X14 | G3/4"X14 40 | 11.5 | 27 32
CB-16 61"X11 G1"X11 49 | 11.5 | 33 4
CB-20 G1.1/4"X11 | G1.1/4"X11 57 12 44 50
Y,
%4 9 DB
L L
,
J A W IRSMIE =38
. , BSP FEMALE 60° CONE TEE
f—ﬁ \ E
- \st
= #2 4L THREADE JU f DIMENSIONS
PART NO. E F C S1 S2
DB-02 G1/8"X28 | G1/8"X28 5.5 | 11 14
DB-04 G1/4"X19 | G1/4"X19 5.5 | 14 19
DB-06 G3/8"X19 | G1/4"X19 6.5 | 17 22
DB-08 G1/2"X14 | G1/2"X14 8 22 27
DB-12 G3/4"X14 | G3/4"X14 11.5 | 27 32
DB-16 61"X11 G1"X11 11.5 | 33 41
DB-20 G1.1/4"X11 | G1.1/4"X11 12 44 50

- 169 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

60°

60°

< F

. EB
.Z%%@| S RE60° SN/
- G g S AMRE60° HEA =il

BSP FEMALE 60° CONE/

C:JE \ %AL BSP MALE 60° BRANCH TEE
S2

N b

\s1

60°

= 22 THREADE JU I DIMENSIONS
PART NO. E F A c s1 S2
EB-02 G1/8"X28 | G1/8"X28 24 |55 | 11 14
EB-04 G1/4"X19 | G1/4"X19 27 | 5.5 | 14 19
EB-06 G3/8"X19 | G1/4"X19 28 | 6.5 | 17 22
EB-08 G1/2"X14 | G1/2"X14 33 8 22 27
EB-12 G3/4"X14 | G3/4"X14 40 | 11.5 | 27 32
EB-16 G1"X11 G1"X11 49 | 11.5 | 33 41
EB-20 G1.1/4"X11 | G1.1/4"X11 57 12 44 50
‘%i}
(&) Y g
V) FB
s
’| 2 U NIREI60° S/
, , Lol o PR AMZEL60° N HE N S —IE

BSP FEMALE 60° CONE/

F‘jjiE1 / BSP MALE 60° BRANCH TEE
foe U247 THREADE JU <t DIMENSIONS
PART NO. E F A c S1 S2
FB-02 G1/8"X28 | G1/8"X28 24 |55 | 11 14
FB-04 G1/4"X19 | G1/4"X19 27 | 5.5 | 14 19
FB-06 G3/8"X19 | G1/4"X19 28 | 6.5 | 17 22
FB-08 G1/2"X14 | G1/2"X14 33 8 22 27
FB-12 G3/4"X14 | G3/4"X14 40 | 11.5 | 27 32
FB-16 6111 61"X11 49 | 11.5 | 33 41
FB-20 G1.1/4"X11 | G1.1/4"X11 57 12 44 50

- 170 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

2 ABBG-0G

ZZ - S HMRL60° AHE/ L S
WERLSLOMRY sl i [ A g = 5 3
BSP MALE 60° SEAT/BSP MALE
0-RING ADJUSTABLE STUD END RUN TEE

60

E
%T 4
—
F

A \S—l B
o= IR4T THREADE JU ~) DIMENSIONS
PART NO. E F G A B S1 S2
ABBG-0406G G1/4"X19 | G1/4"X19 | G1/4"X19 27 | 245 | 14 19
ABBG-04-04-060G| G1/4"X19 | G1/4"X19 | G3/8"X19 28 | 26.5 | 17 19
ABBG-0606G G3/8"X19 | G3/8"X19 | G3/8"X19 28 |27.5 | 17 22
ABBG-06-06-080G| G3/8"X19 | G3/8"X19 | G1/2"X19 33 31 22 22
ABBG-0806G G1/2"X14 | G1/2"X14 | G1/2"X14 33 | 345 | 22 27
ABBG-1206G G3/4"X14 | G3/4"X14 | G3/4"X14 33 40 24 32
ABBG-160G G1"X11 G1"X11 G1"x11 49 46 33 41

% ABGB-0G
o ”Eﬁg
G AMZL60° N HE/ DL A1
of I e RSO P T U 1) KSR 5 3 =3
© 3 BSP MALE 60° SEAT/BSP MALEO-RING
\ ADJUSTABLE STUD END BRANCH TEE
A \ﬂA

o2 1247 THREADE J& <} DIMENSIONS
PART NO. E F G A B S1 S2
ABGB-0406 G1/4"X19 G1/4"X19 G1/4"X19 27 | 31.8| 14 19
ABGB-06-04-060G| G1/4"X19 G1/4"X19 63/8"X19 28 | 33.5 | 17 19
ABGB-060G 63/8"X19 G3/8"X19 63/8"X19 28 | 36.8 | 17 22
ABGB-08-06-080G| G3/8"X19 G3/8"X19 G1/2"X19 33 | 39.5 22 22
ABGB-080G G1/2"X14 G1/2"X14 G1/2""X14 33 | 43.2 22 27
ABGB-12-08-120G| G3/4"X14 G1/2""X14 63/4""X14 33 | 46.5 24 27
ABGB-120G G3/4"X14 G3/4"X14 63/4"X14 33 | 49.3 24 32
ABGB-160G G1"X11 G1"X11 61"X11 49 53 33 41

- 171 -



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

A B
* 1T
8
=
e/
s1

5 22 THREADE JU <} DIMENSIONS

PART NO. E F A B s1 L

17-02 261/8"X28 | 2G1/8"X28 10 10 12 26
1T-02-04 | ZG1/8"X28 | ZG1/4"X19 10 14 14 30
1T-02-06 | ZG1/8"X28 | ZG3/8"X19 10 14 17 30

1T-04 ZG1/4"X19 | ZG1/4"X19 14 14 14 34
1T-04-06 | ZG1/4"X19 | ZG3/8"X19 14 14 17 34
1T-04-08 | ZG1/4"X19 | ZG1/2"X14 14 19 22 41.5

1T-06 ZG3/8"X19 | 2G3/8"X19 14 14 17 34
1T-06-08 | ZG3/8"X19 | ZG1/2"X14 14 19 22 4

17-08 Z61/2"X14 | ZG1/2"X14 19 19 22 46
1T-08-12 Z61/2"X14 | ZG3/4"X14 19 | 19.5 | 27 47

17-12 ZG3/4"X14 | 2G3/4"X14 19.5 | 19.5 | 27 48
17-12-16 ZG3/4"X14 | Z61"X11 19.5 | 24 36 53

17-16 Z61"X11 Z61"X11 24 24 36 58
1T-16-20 Z61"X11 |Z61.1/4"X11 24 25 46 62

1T-20 Z61.1/4"X11|261.1/4"X11 25 25 46 63
1T-20-24  |ZG1.1/4"X11|ZG1.1/2"X11 25 25 50 65

1T-24 Z61.1/2"X11|Z61.1/2"X11 25 25 50 65
1T-24-32  |Z61.1/2"X11| ZG2"X11 25 29 70 72

17-32 262X11 ZG2"X11 29 29 70 75

- 172 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

: 174
8
3 45° SEHERE HMREL
45° BSPT MALE

4 S1
) #22) THREADE S~} DIMENSIONS
PART NO. E F A B S1
1T4-02 2G1/8"X28 | 72G1/8"X28 19 21 11
1T4-04 2G1/4"X19 | Z2G1/4"X19 22 27 14
1T4-06 2G3/8"X19 2G3/8"X19 22 29 17
1T4-08 2G1/2"X14 2G1/2"X14 27 37 22
1T4-12 2G3/4"X14 | 72G3/4"X14 33 43 27
1T4-16 ZG1"X11 ZG1"X11 37 47 33
1T4-20 Z2G1.1/4"X11|2G1.1/4"X11 40 56 44
1T4-24 Z2G1.1/2"X11|2G1.1/2"X11 47 57 53
1T4-32 2G2"X11 2G2"X11 55 63 65

F 4
N e 1T9
8 | 00° WAk SMBLL

| N) 90° BSPT MALE

A S1
fo #2140 THREADE JXU =TI DIMENSIONS
PART NO. E F A B S1
17T9-02 7G1/8"X28 7G1/8"X28 22 22 11
17T9-04 Z2G1/4"X19 ZG1/4"X19 29 27 14
17T9-06 ZG3/8"X19 | ZG3/8'X19 30 29 17
179-08 2G1/2"X14 ZG1/2"X14 37 37 22
179-12 72G3/4"X14 7G3/4"X14 40 40 27
179-16 ZG1"X11 ZG1"X11 49 49 33
179-20 ZG1.1/4"X11(2G1.1/4"X11 57 57 44
179-24 ZG1.1/2"X11(Z2G1.1/2"X11 57 57 48
179-32 ZG2"X11 Z2G2"X11 66 66 65




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

4T

o
[{o/
JEHEE SMR A 3K
BSPT MALE PLUG
S1 E
o R4 THREADE JU ) DIMENSIONS
PART NO. E A s1 L
4T-02 261/8"X28 10 12 16
4T-04 Z61/4"X19 14 17 20
4T-06 263/8"X19 14 19 21
4T7-08 261/2"X14 19 22 27
4T-12 ZG3/4"X14 19.5 30 29
4T-16 Z61"X11 24 36 36
4T-20 261.1/4"X11 25 46 38
4T-24 261.1/2"X11 25 50 41
4T-32 262"'X11 29 65 46
E
S1
% 4TN
@ SR AMBEA 5 K
BSPT MALE HOLLOW HEX PLUG
L
fom 24 THREADE JU  ~t DIMENSIONS
PART NO. E L s1
4TN-02 261/8"X28 8 5
4TN-04 Z61/4"X19 10 6
4TN-06 263/8"X19 12 8
4TN-08 Z61/2"X14 15 10
4TN-12 ZG3/4"X14 18 12
4TN-16 Z61"X11 20 17
4TN-20 Z61.1/4"X11 22 22

- 174 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

A S1
4
| ol
= ,
B | TR MRS/ SEHERE N IRLL
¥ J ) BSPT MALE/BSPT FEMALE
: \e

R 24 THREADE JU I DIMENSIONS
PART NO. E F A s1 L

57-02 761/8"X28 | ZG1/8"X28 10 14 25
5T-02-04 | ZG1/8"X28 | ZG1/4"X19 10 19 28
5T-04-02 | ZG1/4"X19 | ZG1/8"X28 14 17 20

5T-04 ZG1/4"X19 | ZG1/4"X19 14 19 32
5T-04-06 | ZG1/4"X19 | ZG3/8"X19 14 22 34
5T-06-02 | ZG3/8"X19 | ZG1/8"X28 14 19 21
5T-06-04 | ZG3/8"X19 | ZG1/4"X19 14 19 21
5T-06-06 | ZG3/8"X19 | ZG3/8"X19 14 24 34
5T-06-08 | ZG3/8"X19 | ZG1/2"X14 14 30 40
5T-08-02 | ZG1/2"'X14 | ZG3/4"X14 19 24 27
5T-08-04 | ZG1/2"X14 | ZG1/4"X19 19 24 27
5T-08-06 | ZG1/2"X14 | ZG3/8"X19 19 24 27
5T-08-12 | ZG1/2"X14 | ZG3/4"X14 19 36 49
5T-12-04 | ZG3/4"X14 | ZG1/4"X19 19.5 27 29
5T-12-06 | ZG3/4"'X14 | ZG3/8"X19 19.5 27 29
57-12-08 | ZG3/4"'X14 | ZG1/2"X14 19.5 30 29
5T-12-16 | ZG3/4"X14 | ZG1"X11 19.5 41 54
5T-12-20 | ZG3/4"X14 |Z61.1/4"X11 19.5 50 56
57-16-06 ZG1"X11 | ZG3/8"X19 24 36 34
57-16-08 ZG1"X11 | ZG1/2"X14 24 36 34
57-16-12 ZG1"X11 | ZG3/4"X14 24 36 34
57-16-16 Z61"X11 Z61"X11 24 4 58
5T-20-12  |ZG1.1/4"X11| ZG3/4"X14 25 46 38
57-20-16  [ZG1.1/4"X11| ZG1"X11 25 46 38
5T-24-16  |ZG1.1/2"X11| ZG1"X11 25 50 42
5T-24-20  |ZG61.1/2"X11|ZG1.1/4"X11 25 50 42
57-32-16 262"X11 Z61"X11 29 65 47
57-32-20 ZG2"X11 |Z61.1/4"X11 29 65 47
57-32-24 Z62"X11 |Z61.1/2"X11 29 65 47

- 175 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

60°

[

X/

5T9

90° DEHEEY FMZRLL/ TUHER N IE AL
90° BSPT MALE/BSPT FEMALE

A S1
fLE WAL THREADE JL <] DIMENSIONS
PART NO. E F A B S1
5T9-02 ZG1/8"X28 | ZG1/8"X28 30 23 17
5T9-04 ZG1/74"X19 | ZG1/4"X19 33 25 19
5T9-06 ZG3/8"X19 | ZG3/8"X19 37 25 22
5T9-08 ZG1/2"X14 | ZG1/2"X14 43 31.5 27
5T9-12 ZG3/4"X14 | ZG3/4"X14 52 37 33
5T9-16 Z61"X11 ZG1"X11 59 43 44
5T9-20 Z6G1.1/4"X11|Z61.1/4"X11 61 50 50
5T9-24 Z61.1/2""X11|Z61.1/2"X11 65 55 65

- 176 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

A B
Idl
SCHER IR
BSPT FEMALE
s1
foe W22 THREADE R~} DIMENSIONS
PART NO. E F B s1 L
7T-02 Z61/8"X28 | Z61/8"X28 8 14 | 22
7T-04-02 | Z61/4"X19 | Z61/8"X28 10 8 19 | 26
7T-04 Z61/4"X19 | Z61/4"X19 10 | 10 | 19 | 28
7T-06-04 | Z63/8"X19 | ZG1/4"X19 10 8 19 | 26
7T-06 Z63/8"X19 | 263/8"X19 1 | 11 | 19 | 28
7T-08-04 | Z61/2"X14 | Z61/4"X19 14 | 10 | 27 | 34
7T-08 761/2"X14 | Z61/2"X14 14 | 14 | 27 | 38
7T-12 Z63/4"X14 | Z63/4"X14 15.5 | 15.5 | 36 | 42
7T-16 Z61"X11 | z61"x11 17 | 17 | 41 | 50
7T-20 761.1/4"X11|261.1/4"X11 19 | 19 | 50 | 55
7T-24 761.1/2"X11|261.1/2"X11 19 | 19 | 55 | 55
7T-32 Z62"x11 | z62"x11 21 | 21 | 70 | 60

- 177 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

X

779

90° DEHEFE NIRSL
90° BSPT FEMALE

A S1
R 24 THREADE JU <} DIMENSIONS
PART NO. E F A B s1
779-02 261/8"X28 | ZG1/8"X28 17 17 14
779-02-04 | ZG1/8"X28 | ZG1/4"X19 21 21 17
779-04 ZG1/4X19 | Z6G1/4"X19 21 21 17
779-06 Z63/8"X19 | ZG3/8"X19 24 24 22
779-08 Z61/2"X14 | ZG1/2"X14 27 27 26
779-12 ZG3/4"X14 | ZG3/4"X14 33 33 34
779-16 Z61"x11 Z61"x11 38 38 M
7T9-20  |ZG1.1/4"X11|ZG1.1/4"X11 45 45 54
7T9-24  |ZG1.1/2"X11|Z61.1/2"X11 47 47 56
779-32 262"x11 262"x11 60 60 68
E G--
A
\ JEHER N IRLL
) BSPT FEMALE TEE
= R4 THREADE JU <} DIMENSIONS
PART NO. E A S1
6T-02 761/8"X28 17 14
GT-04 ZG1/4"X19 21 17
GT-06 7G3/8"X19 24 22
GT-08 Z61/2"X14 27 26
6T-12 ZG3/4"X14 33 34
GT-16 Z61"x11 38 M
GT-20 Z61.1/4"X11 45 54
GT-24 Z61.1/2"X11 47 56
6T-32 262"x11 60 68

- 178 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

S1

LT

*ﬂ\i’* S L
BSPT FEMALE CROSS
A

= JZ4L THREADE JU <} DIMENSIONS

PART NO. E A S1

Z1-02 261/8"X28 17 14

Z1-04 Z61/4"X19 21 17

ZT1-06 Z63/8"X19 24 22

Z1-08 Z61/2"X14 27 26

Z1-12 263/4"X14 33 34

ZT1-16 Z61"X11 38 41

Z1-20 Z61.1/4"X11 45 54

L
A S1
5GT
: - R B0 B/ Y P B
7 - BSP MALE O-RING/BSPT FEMALE

= R4 THREADE JU <} DIMENSIONS

PART NO. E F A s1 L
56T-02 61/8"X28 | Z61/8"X28 9 14 24
56T-04 G1/4"X19 | ZG1/4"X19 12 19 30
5GT-06 63/8"X19 | Z63/8"X19 13.5 22 33.5
56T-08-06 | G1/2"X14 | ZG3/8"X19 16 27 36
5GT-08 G1/2"X14 | Z61/2"X14 16 27 36
56T-12 G3/4"X14 | ZG3/4"X14 18.5 36 49
56T-16 61"X11 Z61"X11 20.5 4 55




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

A B
T 1N
8
7 i A1 HEAY SRS
NPT MALE
e/
s1

5 22 THREADE JU <} DIMENSIONS

PART NO. E F A B s1 L
IN-02 71/8"X27 71/8"X27 10 10 12 26
IN-02-04 71/8"X27 71/4"X18 10 14 14 30
1IN-02-06 71/8"X27 73/8"X18 10 14 17 30
IN-04 71/4"X18 71/4"X18 14 14 14 34
IN-04-06 71/4"X18 73/8"X18 14 14 17 34
IN-04-08 71/4"X18 71/2"X14 14 19 22 41.5
IN-06 73/8"X18 73/8"X18 14 14 17 34
1IN-06-08 73/8"X18 71/2"X14 14 19 22 41
IN-08 71/2"X14 71/2"X14 19 19 22 46
IN-08-12 71/2"X14 Z3/4"X14 19 | 19.5 | 27 47
IN-12 Z3/4"X14 Z3/4"X14 19.5 | 19.5 | 27 48
IN-12-16 Z3/4"X14 Z1"X11.5 19.5 | 24 36 53
IN-16 71"X11.5 Z1"X11.5 24 24 36 58
IN-16-20 Z1"X11.5 |Z1.1/4"X11.5 24 25 46 62
IN-20 71.1/4"X11.5 |21.1/4"X11.5 25 25 46 63
IN-20-24  |Z1.1/4"X11.5|Z1.1/2"X11.5 25 25 50 65
IN-24 71.1/2"X11.5|21.1/2"X11.5 25 25 50 65
IN-24-32  |Z1.1/2"X11.5| Z2"X11.5 25 29 70 72
IN-32 72"X11.5 72"X11.5 29 29 70 75

- 180 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

1N4

IS
% Piran A}
45° S HER SMIREL
A 45° NPT MALE
s1

e 22 THREADE JU <) DIMENSIONS
PART NO. E F A B s1
1N4-02 71/8"X27 71/8"X27 19 21 11
IN4-04 71/4"X18 71/4"X18 22 27 14
1IN4-06 Z3/8"X18 73/8"X18 22 29 17
1N4-08 71/2"X14 71/2"X14 27 37 22
1N4-12 Z3/4"X14 Z3/4"X14 33 43 27
1N4-16 71"X11.5 71"X11.5 37 47 33
INA-20  |Z1.1/4"X11.5 |Z1.1/4"X11.5 40 56 44
INA-24  |Z1.1/2"X11.5 |Z1.1/2"X11.5 47 57 53
1N4-32 72"X11.5 72"X11.5 55 63 65
- 1N9

S . o b

90° el HEE SMERAL

90° NPT MALE
A s1

5 U2 THREADE JU <} DIMENSIONS
PART NO. E F A B s1
IN9-02 71/8"X27 71/8"X27 22 22 11
IN9-04 71/4"X18 71/4"X18 29 27 14
1N9-06 73/8"X18 73/8"X18 30 29 17
1N9-08 71/2"X14 71/2"X14 37 37 22
IN9-12 Z3/4"X14 Z3/4"X14 40 40 27
1IN9-16 71"X11.5 71"X11.5 49 49 33
IN9-20  |Z1.1/4"X11.5|Z1.1/4"X11.5 57 57 44
IN9-24  |Z1.1/2"X11.5|Z1.1/2"X11.5 57 57 48
1N9-32 72"X11.5 72"X11.5 66 66 65

- 181 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

=\
s
yd
L

4NN

S MIATHER SMRECA N bk
NPT MALE HOLLOW HEX PLUG

5 214 THREADE JU <} DIMENSIONS
PART NO. E L S1
4NN-02 71/8"X27 8 5
4NN-04 Z1/4"X18 10 6
4NN-06 Z3/8"'X18 12 8
4NN-08 71/2"'X14 15 10
4NN-12 Z3/4"X14 18 12
4NN-16 Z1"X11.5 20 17
L
A

o

60°

4N

ST HERT SR G Sk
NPT MALE PLUG

e R4 THREADE JU <J DIMENSIONS
PART NO. E A s1 L
4N-02 71/8"X27 10 12 16
4N-04 71/4"X18 14 17 20
4N-06 73/8"X18 14 19 21
4N-08 71/2"X14 19 22 27
4N-12 Z3/4"X14 19.5 30 29
4N-16 Z1"X11.5 24 36 36
4N-20 71.1/4"X11.5 25 46 38
4N-24 71.1/2"X11.5 25 50 41
4N-32 Z2"X11.5 29 65 46

- 182 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

S1

T

oN

8 .

| | | S AT 5 SR A HE S Y IR

‘/__// NPT MALE/NPT FEMALE

: F

R 24 THREADE JU I DIMENSIONS
PART NO. E F A S1 L
5N-02 71/8"X27 71/8"X27 10 14 25
5N-02-04 71/8"X27 71/4X18 10 19 28
5N-04-02 71/4"X18 71/8"X27 14 17 20
5N-04 71/4"X18 71/4X18 14 19 32
5N-04-06 71/4X18 73/8"X18 14 22 34
5N-06-02 73/8"X18 71/8"X28 14 19 21
5N-06-04 73/8"X18 71/4"X18 14 19 21
5N-06-06 73/8"X18 Z3/8"X18 14 24 34
5N-06-08 73/8"X18 71/2X14 14 30 40
5N-08-02 71/2"X14 73/47X14 19 24 27
5N-08-04 71/2"X14 71/4"X18 19 24 27
5N-08-06 71/2X14 73/8"X18 19 24 27
5N-08-12 71/2X14 Z3/4"X14 19 36 49
5N-12-04 Z3/4"X14 71/4"X18 19.5 27 29
5N-12-06 Z3/4"X14 73/8"X18 19.5 27 29
5N-12-08 Z3/4"X14 71/2X14 19.5 30 29
5N-12-16 Z3/4"X14 Z1"X11.5 19.5 4 54
5N-12-20 Z3/4"X14 |Z1.1/4"X11. 19.5 50 56
5N-16-06 71"X11.5 73/8"X18 24 36 34
5N-16-08 71"X11.5 71/2"X14 24 36 34
5N-16-12 71"X11.5 Z3/4"X14 24 36 34
5N-16-16 71"X11.5 71"X11.5 24 41 58
5N-20-12  |Z1.1/4"X11.5| Z3/4"X14 25 46 38
5N-20-16  |Z1.1/4"X11.5| Z1"X11.5 25 46 38
5N-24-16  |Z1.1/2"X11.5| Z1"X11.5 25 50 42
5N-24-20  |Z1.1/2"X11.5 |Z1.1/4"X11.5 25 50 42
5N-32-16 72"X11.5 71"X11.5 29 65 47
5N-32-20 Z2"X11.5 |Z1.1/4"X11.5 29 65 47
5N-32-24 Z2"X11.5 |Z1.1/2"X11.5 29 65 47

- 183 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

oN4

o
) > 45° Fe A HE T SMBAL/ AT HERS PIIREC
45° NPT MALE/NPT FEMALE
R IZ£L THREADE JU I DIMENSIONS
PART NO. E A B S1
5N4-02 21/8"X27 22 17 17
5N4-04 21/4"X18 25 20 19
5N4-06 23/8"X18 27 19 22
5N4-08 21/2""X14 33 28 27
5N4-12 23/4""X14 37 30 33
5N4-16 Z1"X11.5 40 37.5 44
5N4-20 Z1.1/4"X11.5 a7 30 50
5N4-24 Z1.1/2"X11.5 55 36 65
F ~
E - 5N9
3 ></ 00° S il A HE 5 ML/ A HE 5 P9 IR
90° NPT MALE/NPT FEMALE
A S1
5 24 THREADE JU <} DIMENSIONS
PART NO. E F A B S1
5N9-02 21/8"X27 21/8"X27 22 17 14
5N9-04-02 21/4"X18 21/8"X27 27 21 17
5N9-04 Z21/4"X18 Z1/4"X18 27 21 17
5N9-04-06 Z21/4"X18 23/8"X18 32 27 22
5N9-06 Z23/8"X18 23/8"X18 32 27 22
5N9-08 Z21/2"X14 21/2"X14 35 30 27
5N9-12-08 Z23/4"X14 21/2"X14 40 32 33
5N9-12 73/4"X14 23/4"X14 40 32 33
5N9-16 Z1"X11.5 Z1"X11.5 49 38 41
5N9-20 Z71.1/4"X11.5|Z1.1/4"X11.5 61 43.2 50
5N9-24 71.1/2"X11.5(Z1.1/2"X11.5 65 52.8 65
5N9-32 Z2"X11.5 Z2"X11.5 65 62 65

- 184 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

A B
/N
e AT HEE AR AL
NPT FEMALE
s1
fom 24 THREADE JU ~t DIMENSIONS
PART NO. E F B S1 L
7N-02 Z1/8"X27 71/8"X27 8 8 14 22
7N-04-02 Z1/4"X18 71/8"X27 10 8 19 26
7N-04 Z1/4"X18 Z1/4"X18 10 10 19 28
7N-06-04 73/8"X18 Z1/4"X18 10 8 19 26
7N-06 73/8"X18 73/8"X18 11 11 19 28
7N-08-04 Z1/2"X14 Z1/4"X18 14 10 27 34
7N-08 Z1/2"X14 71/2"X14 14 14 27 38
N-12 Z3/4"X14 Z3/4"X14 15.5 | 15.5 | 36 42
7N-16 Z1"X11.5 Z1"X11.5 17 17 41 50
7N-20 71.1/4"X11.5 |Z1.1/4"X11.5 19 19 50 55
IN-24 71.1/2"X11.5|Z1.1/2"X11.5 19 19 55 55
7N-32 72"X11.5 72"X11.5 21 21 70 60

- 185 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

N9

90° SCHIAHERE A IRLL
90° NPT FEMALE

A s1

R 24 THREADE JU 5 DIMENSIONS
PART NO. E F A S1
7N9-02 71/8"X27 71/8"X27 17 14
7N9-02-04 71/8"X27 Z1/4"X18 21 17
7N9-04 Z1/4"X18 71/4X18 21 17
7N9-06 73/8"X18 73/8"X18 24 22
7N9-08 71/2"X14 71/2X14 27 26
7N9-12 Z3/4"X14 Z3/4"X14 33 34
7N9-16 Z1"X11.5 Z1"X11.5 38 41
7N9-20  [Z1.1/4"X11.5|Z1.1/4"X11.5 45 54
7N9-24  [Z1.1/2"X11.5|Z1.1/2"X11.5 47 56
7N9-32 Z2"X11.5 Z2"X11.5 60 68

S
ﬁL
ON-CAP
£ \
7 ST HER PN IREU K
] NPT FEMALE PLUG

(%) U2 THREADE JU <} DIMENSIONS
PART NO. E A s1
9N-02CAP 71/8"X27 17.5 17
ON-04CAP 71/4"X18 23 19
9N-06CAP 73/8"X18 24 24
9N-08CAP 71/2"X14 28 30
9N-12CAP Z3/4"X14 28 36
ON-16CAP Z1"X11.5 34 46
ON-20CAP  |Z1.1/4"X11.5 37 55
ON-24CAP  |Z1.1/2"X11.5 37 65
9N-32CAP 72"X11.5 40.5 75

- 186 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

A B
- 1NO
: | 8 £ BISAES M SCHEO R BB/ 6 i i A SR
\ W NPT MALE/SAE O-RING BOSS
N\
S1

e ¥24¢ THREADE L~ DIMENSIONS
PART NO. E F A B S1 L
10N-04 U7/16"X20 21/4"X18 10 14 19 30
10N-04-06 U9/16"X18 21/4"X18 12 14 22 32
10N-06-04 U7/16'"x20 73/8"X18 10 14 19 30
10N-06 U9/16"X18 723/8"X18 12 14 22 34
10N-06-08 U374 X16 723/8"X18 12 14 27 36
10N-08 U3/74"X16 21/2"X14 12 19 27 41
10N-08-10 u7/8'"X14 21/2"X14 13.5 19 30 42.5
10N-08-12 U1.1/16"X12 Z71/2"X14 16 19 32 45
10N-12-10 U7/8"x14 723/4"X14 13.5 | 19.5 30 43
10N-12 U1.1/16"X12 723/4"X14 16 19.5 32 45.5
10N-16 U1.5716"X12 Z1"X11.5 16 24 41 52
10N-20-16 U1.5/16"X12|Z1.1/4"X11.5 16 25 46 54
10N-20 U1.5/8"X12 [Z21.1/74"X11.5 18 25 50 60
10N-24 U1.7/8"X12 [Z21.1/2"X11.5 18.5 25 55 60.5

- 187 -



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

A
i 2NU
G AT HERE HMZ L/ 2 HINPSM P 22060 ° 14
J NPT MALE/NPSM FEMALE 60° CONE
E c N_F_
= 22 THREADE JU I DIMENSIONS
PART NO. E F A C S1 S2
2NU-02 71/8"X27 71/8"X27 10 | 5.5 | 12 14
2NU-02-04 71/8"X27 71/4"X18 10 | 5.5 | 12 19
2NU-04-02 71/4"X18 71/8"X27 14 | 5.5 | 14 14
2NU-04 71/4"X18 71/4"X18 14 | 55 | 14 19
2NU-04-06 71/4X18 73/8"X18 14 | 6.5 | 17 22
2NU-04-08 71/4X18 71/2"X14 14 8 19 27
2NU-06 73/8"X18 73/8"X18 14 | 6.5 | 19 22
2NU-06-04 73/8"X18 71/4"X18 14 | 5.5 | 19 19
2NU-06-08 73/8"X18 71/2"X14 14 8 19 27
2NU-08 71/2"X14 71/2"X14 19 8 22 27
2NU-08-04 71/2"X14 71/4"X18 19 | 5.5 | 22 19
2NU-08-06 71/2"X14 73/8"X18 19 | 6.5 | 22 22
2NU-12 Z3/4"X14 Z3/4"X14 19.5 | 11.5 | 27 32
2NU-12-06 Z3/4"X14 73/8"X18 19.5 | 6.5 | 27 22
2NU-12-08 Z3/4X14 71/2"X14 195 | 8 27 27
2NU-12-16 Z3/4"X14 71"X11.5 19.5 | 11.5 | 36 41
2NU-16-12 71"X11.5 Z3/4"X14 24 | 11.5 | 36 32
2NU-16 71"X11.5 71"X11.5 24 | 115 | 36 4
2NU-16-20 71"X11.5 71.1/4"X11.5 24 12 40 50
2NU-20-16 | Z1.1/4"X11.5 71"X11.5 25 | 11.5 | 46 41
2NU-20 71.1/4"X11.5 | 71.1/4"X11.5 25 12 46 50
2NU-20-24 | Z1.1/4"X11.5 | 71.1/2"X11.5 25 13 41 55
2NU-24-20 | Z1.1/2"X11.5 | Z1.1/4"X11.5 25 12 46 50
2NU-24 71.1/2"X11.5 | 71.1/2"X11.5 25 13 50 55
2NU-32 72"X11.5 72"X11.5 29 16 65 70

- 188 -



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

L

S
E 2NU4
8{ s2 45° AiHERE SMREL/ S HINPSMIA RZZ60 ° AME
L 45° NPT MALE/NPSM FEMALE 60° CONE
A S1
5 UEZL THREADE JU <} DIMENSIONS
PART NO. E F A o s1 S2
2NU4-02 71/8"X27 71/8"X27 17 | 5.5 | 11 14
2NU4-04 71/4"X18 71/4"X18 22 | 5.5 | 14 19
2NU4-04-06 Z1/4"X18 Z3/8"X18 22 | 6.5 | 17 22
2NU4-06 Z3/8"X18 73/8"X18 22 | 6.5 | 17 22
2NU4-06-04 Z3/8"X18 Z1/4"X18 22 | 5.5 | 17 19
2NU4-06-08 Z3/8"X18 Z1/2"X14 25 8 19 27
2NU4-08 Z1/2"X14 71/2"X14 27 8 22 27
2NU4-08-06 71/2"X14 Z3/8"X18 27 | 6.5 | 22 22
2NU4-08-12 71/2"X14 Z3/4"X14 33 | 11.5 | 27 32
2NU4-12 Z3/4"X14 Z3/4"X14 33 | 11.5 | 27 32
2NU4-12-08 Z3/4"X14 Z1/2"X14 33 8 27 27
2NU4-12-16 Z3/4"X14 Z1"X11.5 37 | 11.5 | 33 41
2NU4-16 71"X11.5 71"X11.5 37 | 11.5 | 33 41
2NU4-16-12 71"X11.5 Z3/4"X14 37 | 11.5 | 33 32
2NU4-20 71.1/4"X11. 71.1/4"X11. 40 12 44 50
2NU4-24 71.1/2"X11. 71.1/2"X11. 47 13 50 55
2NU4-32 72"X11.5 72"X11.5 55 16 65 70

- 189 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

60°

e

S2
TET
SQ% 90° M AMBLL/ S HINPS M BELT60° Shef
S1

90° NPT MALE/NPSM FEMALE 60° CONE

A
R #240 THREADE JU ~T DIMENSIONS
PART NO. E F A o S1 S2
2NU9-02 71/8"X27 71/8"X27 21 | 5.5 11 14
2NU9-02-04 71/8"X27 71/4"X18 21 | 5.5 11 19
2NU9-04-02 71/4"X18 71/8"X27 29 | 5.5 14 14
2NU9-04 71/4"X18 71/4"X18 29 | 5.5 14 19
2NU9-04-06 71/4"X18 73/8"X18 30 | 6.5 17 22
2NU9-06 73/8"X18 73/8"X18 30 6.5 | 17 22
2NU9-06-04 73/8"X18 71/4"X18 30 | 5.5 17 19
2NU9-06-08 73/8"X18 71/2"X14 33 8 19 27
2NU9-08 71/2"X14 71/2"X14 37 8 22 27
2NU9-08-06 71/2"X14 73/8"X18 37 6.5 | 22 22
2NU9-08-12 71/2"X14 73/4"X14 43 | 11.5 | 27 32
2NU9-12 Z3/4"X14 73/4"X14 43 | 11.5 | 27 32
2NU9-12-08 Z3/4"X14 71/2"X14 43 8 27 27
2NU9-12-16 73/4"X14 71"X11.5 52 | 11.5 | 33 41
2NU9-16 Z1"X11.5 71"X11.5 52 | 11.5 | 33 41
2NU9-16-12 71"X11.5 73/4"X14 52 | 11.5 | 33 32
2NU9-20-16 |Z1.1/4"X11.5 | Z1"X11.5 59 | 11.5 | 44 41
2NU9-20  |Z1.1/4"X11.5 |Z1.1/4"X11.5 59 12 44 50
2NU9-24  |Z1.1/2"X11.5 |Z1.1/2"X11.5 61 13 50 55
2NU9-32 72"X11.5 72"X11.5 66 16 65 70

- 190 -



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

S1
A
— 5GN
" ! F
| e S AN L/ A R B
pd BSP MALE O-RING/NPT FEMALE
e #24 THREADE I DIVENSIONS
PART NO. E F A s1 L
5GN-02 (1/8"X28 71/8"X27 9 17 24
5GN-02-04 (1/8"X28 71/4"X18 9 19 27
5GN-04-02 (6G1/4"X19 21/8"X27 12 19 30
5GN-04 (6G1/4"X19 21/4"X18 12 19 30
5GN-04-06 (G1/4"X19 23/8"X18 12 22 32
5GN-06-04 (63/8"X19 21/4"X18 13.5 22 33.5
5GN-06 (63/8"X19 723/8"X18 13.5 22 33.5
5GN-08-04 (G1/2"X14 21/4"X18 16 27 36
5GN-08-06 (G1/2"X14 723/8"X18 16 27 36
5GN-08 (G1/2"X14 71/2"X14 16 30 42
5GN-12 (63/4"X14 Z23/4"X14 18.5 36 48.5
5GN-16 G1"X11 Z1'"X11.5 20.5 41 54.5
5GN-20 (6G1.1/4"X11|21.1/4"X11.5 20.5 50 57.5
5GN-24 (6G1.1/2"X11{Z71.1/2"X11.5 23 60 60

- 191 -



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

S1
A
— 5HN
w : F
| e S IAMBECR T S 1
z METRIC MALE L-SERIES/NPT FEMALE
e U4 THREADE JU I DIMENSIONS
PART NO. E F A S1 L
5HN-10-02 | M10x1 | Z1/8"X27 8.5 14 23
5HN-12-02  |M12x1.5| Z1/8"X27 11 17 26
5HN-12-04  |M12x1.5| Z1/4"X18 11 19 29
5HN-14-04  |M14x1.5| Z1/4"X18 11 19 29
5HN-16-06  |M16x1.5 | Z3/8"X18 11 22 31
5HN-16-08  |M16x1.5| Z1/2"X14 11 30 37
5HN-18-06  |M18x1.5| Z3/8"X18 11 24 31
5HN-18-08  |M18x1.5| Z1/2"X14 11 30 37
5HN-22-08  |M22x1.5| Z1/2"X14 12 30 38
5HN-27-12 | M27x2 | Z3/4"X14 13 36 43
L
S1

) i

SMN

8 L F St
| L OIS A L 2 A HE 5 R
v /] METRIC MALE WITH BONDED SEAL/NPT FEMALE
%

R IR THREADE JU ~J DIMENSIONS

PART NO. E F A S1 L
SMN-12-02 M12x1.5 | Z1/8"X27 10 19 30
SMN-14-04 M14x1.5 | Z1/4"X18 11 19 31
SMN-16-06 M16x1.5| Z3/8"X18 12 22 34
SMN-18-06 M18x1.5| Z3/8"X18 12 24 34
SMN-22-06 M22x1.5| Z3/8"X18 14 27 36
S5MN-22-08 M22x1.5 | Z1/2"X14 14 30 43

- 192 -



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

L
S1
A
B
a n 5NO
8

e S AT HE 5 AR 5 HISAE P B AL

< /] NPT MALE/SAE FEMALE

E

foE 24 THREADE JU ~F DIMENSIONS
PART NO. E F A S1 L
5N0-02-04 Z21/8"X27 U7/16"X20 10 17 25
5N0-02-05 21/8"X27 Uu1/2"x20 10 17 25
5N0-04 21/4"X18 U7/16'"x20 14 17 29
5N0-04-06 Z71/4"X18 U9/16"X18 14 19 32
5N0-04-08 Z71/4"X18 U3/4"X16 14 27 34
5N0-06-04 73/8'"X18 U7/16'"X20 14 19 20
5NO-06 73/8"X18 U9/16"X18 14 19 32
5N0-06-08 73/8"X18 U3/4'X16 14 24 34
5N0-08-06 Z1/2""X14 U9/16"X18 19 24 27
5NO-08 21/2"X14 U3/4"X16 19 27 39
5N0-08-10 21/2"X14 u7/8"X14 19 30 45
5N0-12-08 723/4"X14 U3/4"X16 19.5 30 30
5N0-12-10 23/4"X14 u7/8"X14 19.5 30 30
B5N0O-12 23/4"X14 U1.1/716"X12 19.5 36 49
5N0-16-12 Z1"X11.5 U1.1/16"X12 24 36 35
5NO-16 Z1"X11.5 U1.5/16"X12 24 41 58
5N0-20 71.1/4"X11.5|U1.5/8"X12 25 50 62

- 193 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

s1
v REae 50N
i | . 5 HISAESMZE SO B i R 411/
e AT HE R A BRAL
4 SAE 0-RING BOSS L-SERIES/
NPT FEMALE

fR B240 THREADE JU ~F DIMENSIONS

PART NO. E F A S1 L
50N-04-02 | U7/16"X20 | Z1/8"X27 10 17 25
50N-04 U7/16"X20 | Z1/4"X18 10 19 28
50N-04-06 | U7/16"X20 | Z3/8"X18 10 24 30
50N-05-02 U1/2"'X20 71/8"X27 10 17 25
50N-06-04 | U9/16"X18 | Z1/4"X18 12 19 30
50N-08-04 U3/4"X16 71/4"X18 12 22 32
50N-08-06 U3/4"X16 73/8"X18 12 22 32

50N-08 U3/4"X16 71/2"X14 12 30 38
50N-08-12 U3/4"X16 Z3/4"X14 12 36 42
50N-10-08 U7/8"X14 71/2"X14 13.5 30 39
50N-10-06 U7/8"X14 73/8"X18 13.5 27 33
50N-10-12 U7/8"X14 Z3/4"X14 13.5 36 43
50N-12-08 |U1.1/16"X12| Z1/2"X14 16 32 40

50N-12 U1.1/16"X12| Z3/4"X14 16 36 46
50N-12-16  |U1.1/16"X12| Z1"X11.5 16 41 50
50N-16-12 |U1.5/16"X12| Z3/4"X14 17 41 51

50N-16 U1.5/16"X12| Z1"X11.5 17 41 51
50N-20-16 | U1.5/8"X12 | Z1"X11.5 18 50 54

50N-20 U1.5/8"X12 |Z1.1/4"X11.5 18 50 54
50N-24-16 | U1.7/8"X12 | Z1"X11.5 18.5 55 56
50N-24-20 | U1.7/8"X12 |Z1.1/4"X11.5 18.5 55 56

50N-24 U1.7/8"X12 |Z1.1/2"X11.5 18.5 60 56

50N-32 U1.1/2"X12 | Z2"X11.5 22 70 59

- 194 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

S1
A Y
B 5TN
2
| Vs B AMBLEL AT RS P IR
. BSPT MALE/NPT FEMALE
e
e W47 THREADE J& <} DIMENSIONS
PART NO. E F A s1 L
5TN-02 761/8"X28 | 71/8"X27 10 17 25
5TN-04-02 | ZG1/4"X19 | Z1/8"X27 14 14 20
5TN-04 Z61/4"X19 | 71/4"X18 14 19 32
5TN-06-04 | ZG3/8"X19 | Z1/4"X18 14 19 20
5TN-06 ZG3/8"X19 | Z3/8"X18 14 24 34
5TN-08-06 | ZG1/2"X14 | Z3/8"X18 19 24 27
5TN-08 Z61/2"X14 | Z1/2"X14 19 30 45
5TN-12-08 | ZG3/4"X14 | Z1/2"X14 19.5 32 29
5TN-12 ZG3/4"X14 | Z3/4"X14 19.5 36 49
5TN-16-12 ZG1"X11 | Z3/4"X14 19.5 36 31
5TN-16 Z61"X11 | Z1"X11.5 24 41 58
P ZN
jlﬂ* S BATHER P BR U
NPT FEMALE CROSS
A
fom 24 THREADE JU <t DIMENSIONS
PART NO. E A s1
IN-04 71/4"X18 21 17
ZN-06 73/8"X18 24 22
ZN-08 71/2"X14 27 26
IN-12 Z3/4"X14 33 34
IN-16 71"X11.5 38 4
ZN-20 71.1/4"X11.5 45 54

- 195 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

51 s2

/NU

a A HE T IR L/ 55 HINPSMPY R ZL60 © Al
NPT FEMALE/NPSM FEMALE 60° CONE
_C_| \_F

= JR4L THREADE JU <} DIMENSIONS
PART NO. E F A C S1 S2
7NU-02 71/8"X27 71/8"X27 10 | 5.5 | 17 14
7NU-04-02 71/4"X18 71/8"X27 14 | 5.5 | 19 14
7NU-04 71/4"X18 Z1/4"X18 14 | 5.5 | 19 19
7NU-04-06 Z1/4"X18 73/8"X18 14 | 6.5 | 19 22
7NU-06 73/8"X18 73/8"X18 14 6.5 | 22 22
7NU-06-08 73/8"X18 Z1/2"X14 14 8 22 27
7NU-08-06 Z1/2"X14 73/8"X18 19 6.5 | 30 22
7NU-08 Z1/2"X14 Z1/2"X14 19 8 30 27
7NU-12 Z3/4"X14 Z3/4"X14 19.5 | 11.5 | 36 32
7NU-16 Z1"X11.5 Z1"X11.5 24 | 11.5 | 41 41
7NU-20 Z1.1/4"X11.5|Z1.1/4"X11.5 25 12 50 50
7NU-24 Z1.1/2"X11.5|Z1.1/2"X11.5 25 13 60 55
7NU-32 72"X11.5 72"X11.5 29 16 70 70

- 196 -



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

E

:;\f
|

AN

e | | ST SR
_ \\ ! NPT MALE TEE
e U247 THREADE JU <] DIMENSIONS
PART NO. E A s1
AN-02 71/8"X27 24 11
AN-04 71/4"x18 27 14
AN-06 73/8"x18 28 17
AN-08 71/2"x14 33 22
AN-12 73/4"x14 40 27
AN-16 71"X11.5 49 33
AN-20 71.1/4"X11.5 57 44
E ] GN
)
‘N %
\ AR Py IR
NPT FEMALE TEE
= U227 THREADE JU <} DIMENSIONS
PART NO. E A s1
GN-02 71/8"X27 17 14
GN-04 71/4"x18 21 17
GN-06 73/8"X18 24 22
GN-08 71/2"x14 27 26
GN-12 73/4"x14 33 34
GN-16 71"X11.5 38 41
GN-20 71.1/4"X11.5 45 54
GN-24 71.1/2"X11.5 47 56
GN-32 72"X11.5 60 68

- 197 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

E B 2 S1 J N
= J
I AT AR RS/ AR SNBSS
NPT FEMALE/NPT MALE BRANCH TEE
A A

= BR4L THREADE JU <} DIMENSIONS
PART NO. E F A B s1

IN-02 71/8"X27 | 71/8"X27 17 17 14

IN-04 Z1/4"X18 | 71/4"X18 21 21 17

IN-06 73/8"X18 | 73/8"X18 24 24 22

JIN-08 Z1/2"X14 | 71/2"X14 27 27 26

IN-12 Z3/4"X14 | 73/4"X14 33 33 34

IN-16 Z1"X11.5 | 71"X11.5 38 38 41

E s1 H N
I A AR N RS/ AR SNBSS
NPT FEMALE/NPT MALE RUN TEE
A B

R 247 THREADE J& ) DIMENSIONS
PART NO. E F A B S1

HN-02 71/8"X27 | 71/8"X27 17 17 14

HN-04 Z1/4"X18 | 71/4"X18 21 21 17

HN-06 73/8"X18 | 73/8"X18 24 24 22

HN-08 Z1/2"X14 | 71/2"X14 27 27 26

HN-12 73/4"X14 | 73/4"X14 33 33 34

HN-16 Z1"X11.5 | Z1"X11.5 38 38 41

- 198 -



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

;. T
KA 77
s1/

1J

EHIJNICHMRLLT74° HIE
JIC MALE 74° CONE

e IE £ THREADE J& <} DIMENSIONS
PART NO. E F A B s1 L
1J-02 U5/16"X24 U5/16"X24 11.5 | 11.5 | 12 29
13-04 U7/16"X20 U7/16"X20 14 14 14 34
1J-04-05 U7/16"X20 U1/2"X20 14 14 14 34
1J-04-06 U7/16"X20 U9/16"X18 14 14 17 34
1J-04-08 U7/16"X20 U3/4"X16 14 | 16.7 | 22 39
13-05 U1/2"X20 U1/2"Xx20 14 14 14 34
1J-05-06 U1/2"X20 U9/16"X18 14 14 17 35
1J-05-08 U1/2"X20 U3/4"X16 14 | 16.7 | 22 39
1J-05-10 U1/2"X20 u7/8"x14 14 | 19.5 | 24 42
1J-06 U9/16"X18 U9/16"X18 14 14 17 35.5
1J-06-08 U9/16"X18 U3/4"X16 14 | 16.7 | 22 38
1J-06-10 U9/16"X18 u7/8"x14 14 | 195 | 24 42
1J-06-12 U9/16"X18 U1.1/16"X12 14 22 30 46
1J-08 U3/4"X16 U3/4"X16 16.7 | 16.7 | 22 42
1J-08-10 U3/4"X16 u7/8"x14 16.7 | 19.5 | 24 44
1J-08-12 U3/4"X16 U1.1/16"X12 16.7 | 22 30 49
1J-08-16 U3/4"X16 U1.5/16"X12 16.7 | 23 36 51
13-10 u7/8"x14 u7/8"x14 19.5 | 19.5 | 24 47.5
13-10-12 u7/8"x14 U1.1/16"X12 19.5 | 22 30 52
1J-10-16 u7/8"x14 U1.5/16"X12 19.5 | 23 36 53.5
13-12 U1.1/16"X12 | U1.1/16"X12 22 22 30 55
1J-12-16 U1.1/16"X12 | U1.5/16"X12 22 23 36 56
13-16 U1.5/16"X12 | U1.5/16"X12 23 23 36 57
1J-16-20 U1.5/16"X12 | U1.5/8"X12 23 | 24.5| 46 60
13-20 U1.5/8"X12 U1.5/8"X12 24.5 | 24.5 | 46 61.5
1J-20-24 U1.5/8"X12 U1.7/8"X12 24.5 | 27.5 | 50 66.5
1J-20-32 U1.5/8"X12 U2.1/2"X12 24.5 | 34 70 75.5
13-24 U1.7/8"X12 U1.7/8"X12 27.5 | 27.5 | 50 69.5
1J-24-32 U1.7/8"X12 U2.1/2"X12 27.5 | 34 70 78.5
13-32 U2.1/2"x12 U2.1/2"X12 34 34 70 85

- 199 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

A \s1

1J4

45° EHIINICHMBRL T4 HMHE
45° JIC MALE 74° CONE

e #22 THREADE S~} DIMENSIONS
PART NO. E A B st
134-04 U7/16"X20 20 | 20 | 1
1J4-05 U1/2"'X20 2 | 2 | 14
1J4-06 U9/16"X18 2 | 2 | 14
134-08 U3/4"X16 25 | 25 | 19
134-10 U7/8"X14 21 | 21 | 22
134-12 U1.1/16"X12 33 | 33 | 27
1J4-16 U1.5/16"X12 37 | 37 | 33
134-20 U1.5/8"X12 40 | 40 | 44
134-24 U1.7/8"X12 47 | 471 | 53
134-32 U2.1/2"X12 55 | 55 | 65

=

=il

1J9

90° SEHIIICHMEL T4 HMHE
90° JIC MALE 74° CONE

A s1

=5 1247 THREADE JU < DIMENSIONS
PART NO. E A B S1
1J9-04 U7/16"X20 U7/16"X20 22 22 11
1J9-05 U1/2"'X20 U1/2"X20 29 27 14
1J9-06 U9/16"X18 U9/16"X18 29 27 14
1J9-08 U3/4"X16 U3/4"X16 33 33 19
1J9-10 u7/8"X14 u7/8"X14 37 37 22
1J9-12 U1.1/16"X12 | U1.1/16"X12 40 40 27
1J9-16 U1.5/16"X12 | U1.5/16"X12 49 49 33
1J9-20 U1.5/8"X12 U1.5/8"X12 57 57 44
1J9-24 U1.7/8"X12 U1.7/8"X12 57 57 48
1J9-32 U2.1/2"X12 U2.1/2"X12 66 66 65

- 200 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

s1 2
: : 2J
-
“ Y ] "l ® S HIIICHMELT4° S/
Y %%% JICHIRLTA" Pule
JIC MALE 74° CONE/
o JIC FEMALE 74° SEAT
fom 1247 THREADE R~ DIMENSIONS
PART NO. E F A C S1 S2
2J-04 U7/16"X20 U7/16"X20 14 8.5 14 17
2J-04-05 U7/16"X20 U1/2"X20 14 9.5 14 19
2J-04-06 U7/16"X20 U9/16"X18 14 10 17 19
2J-04-08 U7/16"X20 U3/4"X16 14 11 22 24
2J-05 U1/2"X20 U1/2"Xx20 14 9.5 14 19
2J-05-06 U1/2"X20 U9/16"X18 14 10 17 19
2J-05-08 U1/2"X20 U3/4"X16 14 11 22 24
2J-06 U9/16"X18 U9/16"X18 14 10 17 19
2J-06-08 U9/16"X18 U3/4"X16 14 11 22 24
2J-06-10 U9/16"X18 u7/8"X14 14 11 22 27
2J-08 U3/4"X16 U3/4"X16 16.7 11 22 24
2J-08-10 U3/4"X16 u7/8"X14 16.7 11 22 27
2J-08-12 U3/4"X16 U1.1/16"X12 16.7 13.5 30 32
2J-10 u7/8"X14 u7/8"X14 19.5 11 22 27
2J-10-08 u7/8'"X14 U3/4"X16 19.5 11 22 24
2J-10-12 u7/8"X14 U1.1/16"X12 19.5 | 13.5 30 32
2J-12 U1.1/16"X12 U1.1/16"X12 22 13.5 30 32
2J-12-10 U1.1/716"X12 u7/8"X14 22 11 30 27
2J-12-16 U1.1/716"X12 U1.5/16"X12 22 14.5 36 41
2J-16 U1.5/16"X12 U1.5/16"X12 23 14.5 36 41
2J-16-20 U1.5/16"X12 U1.5/8"X12 23 15.5 41 50
2J-20 U1.5/8"X12 U1.5/8"X12 24.5 | 15.5 46 50
2J-20-24 U1.5/8"X12 U1.7/8"X12 24.5 | 18.5 46 55
2J-24 U1.7/8"X12 U1.7/8"X12 27.5 | 18.5 50 55
2J-24-32 U1.7/8"X12 U2.1/2"X12 27.5 | 24.5 65 75
2J-32 U2.1/2"X12 U2.1/2"X12 34 24.5 65 75

- 201 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

2J4

45° EHIINICHMRLT4° HMHES

w s2 JICHIRZ74° Pk
45° JIC MALE 74° CONE/
\__ JIC FEMALE 74° SEAT
A s1

R 24T THREADE JU <} DIMENSIONS
PART NO. E F A c s1 S2
2J4-04 U7/16"X20 U7/16"X20 20 | 855 | 11 17
2J4-05 U1/2"X20 U1/2"X20 22 | 9.5 | 14 19
2J4-06 U9/16"X18 U9/16"X18 22 10 14 19
2J4-08 U3/4"X16 U3/4"X16 25 11 19 24
2J4-10 U7/8"X14 u7/8"x14 27 11 22 27
2J4-12 U1.1/16"X12 | U1.1/16"X12 33 | 13.5 | 27 32
2J4-16 U1.5/16"X12 | U1.5/16"X12 37 | 14.5| 33 M
2J4-20 U1.5/8"X12 | U1.5/8"X12 40 | 15.5 | 44 50
2J4-24 UL.7/8"X12 | U1.7/8"X12 47 | 18.5 | 53 55
2J4-32 U2.1/2"X12 | U2.1/2"X12 55 | 24.5| 65 75

- 202 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

2J9

90° SEHIIICHMELTA HMiES
JICIRZ74° P HE
90° JIC MALE 74° CONE/
JIC FEMALE 74° SEAT

= 1240 THREADE JU ~) DIMENSIONS
PART NO. E F A C S1 S2
2J9-04 U7/16"X20 U7/16"X20 22 | 8.5 | 11 17
2J9-05 U1/2"x20 U1/2"x20 29 | 9.5 | 14 19
2J9-06 U9/16"X18 U9/16"X18 29 10 14 19
2J9-06-08 U9/16"X18 U3/4"'X16 33 11 19 24
2J9-08-06 U3/4"X16 U9/16"X18 33 10 19 19
2J9-08 U3/4X16 U3/4"x16 33 11 19 24
2J9-08-10 U3/4"X16 U7/8"x14 37 11 22 27
2J9-10 U7/8"x14 U7/8"X14 37 11 22 27
2J9-10-08 U7/8"X14 U3/4"'X16 37 11 22 24
2J9-10-12 U7/8"X14 U1.1/16"X12 40 | 13.5 | 27 32
2J4-12 U1.1/16"X12 | U1.1/16"X12 40 | 135 | 27 32
2J4-12-10 U1.1/16"X12 U7/8"x14 40 11 27 27
2J4-12-16 U1.1/16"X12 | U1.5/16"X12 49 | 145 | 33 41
2J9-16 U1.5/16"X12 | U1.5/16"X12 49 | 14.5 | 33 41
2J9-16-20 U1.5/16"X12 | U1.5/8"X12 57 | 15.5 | 44 50
2J9-20-16 U1.5/8"X12 | U1.5/16"X12 57 | 14.5 | 44 41
2J9-20 U1.5/8"X12 U1.5/8"X12 57 | 15.5 | 44 50
2J9-20-24 U1.5/8"X12 U1.7/8"X12 57 | 18.5 | 48 55
2J9-24-20 U1.7/8"X12 U1.5/8"X12 57 | 15.5 | 48 50
2J9-24 U1.7/8"X12 U1.7/8"X12 57 | 18.5 | 48 55
2J9-32 U2.1/2"x12 U2.1/2"X12 66 | 24.5 | 65 75

- 203 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

S1

S2

el

d

3J

LHIJICHIRL74° PY4HE
JIC FEMALE 74° SEAT

fR 1240 THREADE JU ~f DIMENSIONS
PART NO. E F c d S1 S2
3J-04 U7/16"X20 U7/16"X20 8.5 | 8.5 | 17 17
3J-05 U1/2"x20 U1/2"'X20 9.5 | 9.5 | 19 19
3J-06 U9/16"X18 U9/16"X18 10 10 19 19
3J-06-08 U9/16"X18 U3/4"X16 10 11 19 24
3J-08 U3/4X16 U3/4"X16 11 11 24 24
3J-10 U7/8"x14 U7/8"X14 11 11 27 27
3J-12 U1.1/16"X12 | U1.1/16"X12 13.5 | 13.5 | 32 32
3J-16 U1.5/16"X12 | U1.5/16"X12 14.5 | 14.5 | 41 41
3J-20 U1.5/8"X12 U1.5/8"X12 15.5 | 15.5 | 50 50
3J-24 U1.7/8"X12 U1.7/8"X12 18.5 | 18.5 | 55 55

3J4

45° EHIIICHIRS74° NHE
45° JIC FEMALE 74° SEAT

= 240 THREADE JU <} DIMENSIONS
PART NO. E F C d S1 S2
3J4-04 U7/16"X20 U7/16"X20 8.5 | 8.5 | 17 17
3J4-05 U1/2"X20 U1/2"X20 9.5 | 9.5 | 19 19
3J4-06 U9/16"X18 U9/16"X18 10 10 19 19
3J4-06-08 U9/16"X18 U3/4"X16 10 11 19 24
3J4-08 U3/4"X16 U3/4"X16 11 11 24 24
3J4-10 u7/8"x14 u7/8"x14 11 11 27 27
3J4-12 U1.1/16"X12 | U1.1/16"X12 13.5 | 13.5 | 32 32
3J4-16 U1.5/16"X12 | U1.5/16"X12 14.5 | 145 | 4 41
3J4-20 U1.5/8"X12 | U1.5/8"X12 15.5 | 15.5 | 50 50
3J4-24 U1.7/8"X12 | U1.7/8"X12 18.5 | 18.5 | 55 55

- 204 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

3J9

90° JEHIJICHERZ74° A HE
90° JIC FEMALE 74° SEAT

R 247 THREADE J& <} DIMENSIONS
PART NO. E F c d S1 S2
339-04 U7/16"X20 U7/16"X20 8.5 | 8.5 | 17 17
339-05 U1/2"'X20 U1/2"'X20 9.5 | 9.5 | 19 19
3J9-06 U9/16"X18 U9/16"X18 10 10 19 19
3J9-06-08 U9/16"X18 U3/4"X16 10 11 19 24
3J9-08 U3/4"X16 U3/4"X16 11 11 24 24
3J9-10 U7/8"X14 u7/8"X14 11 11 27 27
3J9-12 U1.1/16"X12 | U1.1/16"X12 13.5 | 13.5 | 32 32
339-16 U1.5/16"X12 | U1.5/16"X12 14.5 | 145 | 41 41
339-20 U1.5/8"X12 U1.5/8"X12 15.5 | 15.5 | 50 50
339-24 U1.7/8"X12 U1.7/8"X12 18.5 | 18.5 | 55 55
L
A
4]
w <
%/7// SERITICHMBLTA SN K
JIC MALE 74° CONE PLUG
fo= 24 THREADE JU ~) DIMENSIONS
PART NO. E A S1 L
43-04 U7/16"X20 14 14 20
43-05 U1/2"X20 14 14 20
43-06 U9/16"X18 14 17 20
43-08 U3/4"X16 16.7 22 25
43-10 U7/8"X14 19.5 24 28
43-12 U1.1/16"X12 22 30 31
43-16 U1.5/16"X12 23 36 34
43-20 U1.5/8"X12 24.5 46 38
43-24 U1.7/8"X12 27.5 50 44
43-32 U2.1/2""X12 34 65 52

- 205 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

S1
A
5J
N w J
N
W- SERIIICHMELL/ S RIIICIZEL
S §§§ JIC MALE/JIC FEMALE
= 22 THREADE JU s} DIMENSIONS

PART NO. E F A c s1
5J-06-04 U9/16"X18 U7/16"X20 14 10 19
5J-08-04 U3/4"X16 U7/16"X20 14 11 24
5J-10-04 U7/8"X14 U7/16"X20 14 12 27
5J-12-04 U1.1/16"X12 | U7/16"X20 14 13 32
5J-08-05 U3/4"X16 U1/2"X20 14 11 24
5J-10-05 U7/8"X14 U1/2"X20 14 12 27
5J-12-05 U1.1/16"X12 U1/2"X20 14 13 32
5J-08-06 U3/4"X16 U9/16"X18 14 11 24
5J-10-06 U7/8"X14 U9/16"X18 14 12 27
5J-12-06 U1.1/16"X12 | U9/16"X18 14 13 32
5J-16-06 U1.5/16"X12 | U9/16"X18 14 14 38
5J-12-08 U1.1/16"X12 U3/4"X16 16.7 | 13 32
5J-16-08 U1.5/16"X12 U3/4"X16 16.7 | 14 38
5J-20-08 U1.5/8"X12 U3/4"X16 16.7 | 15 50
5J-16-10 U1.5/16"X12 U7/8"X14 19.5 | 14 38
5J-20-10 U1.5/8"X12 U7/8"X14 19.5 | 15 50
5J-24-10 U1.7/8"X12 U7/8"X14 19.5 | 19 55
5J-16-12 U1.5/16"X12 | U1.1/16"X12 22 14 38
5J-20-12 U1.5/8"X12 | U1.1/16"X12 22 15 50
5J-24-12 U1.7/8"X12 | U1.1/16"X12 22 19 55
5J-20-16 U1.5/8"X12 | U1.5/16"X12 23 15 50
5J-24-16 U1.7/8"X12 | U1.5/16"X12 23 19 55
5J-24-20 U1.7/8"X12 | U1.5/8"X12 24.5 | 19 55

- 206 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

| | 6J

FHIINCHMRLGT74° HMIERL B Sk

pes % JIC MALE 74° CONE BULKHEAD
S1

NZ4¢
74

=2 W24 THREADE JU <} DIMENSIONS
PART NO. E A B S1 L
6J-04 U7/16"X20 14 | 32.5 | 17 53
6J-06 U9/16"X18 14 | 32.5 | 22 54
6J-08 U3/4"X16 16.7 | 36.5 | 24 | 61.5
6J-10 U7/8"X14 19.5 | 40 30 |69.5
6J-12 U1.1/16"X12 22 | 4.5 | 36 78
6J-16 U1.5/16"X12 23 | 45| 4 80
6J-20 U1.5/8"X12 24.5 | 45.7 | 50 84
6J-24 U1.7/8"X12 27.5 | 46 55 89
6J-32 U2.1/2"X12 34 [53.1| 70 105
&
o

6J4

wos 45° FEHIJNICHMEL74° HMNHERL BBz 3k
45° JIC MALE 74° CONE BULKHEAD
A \\51

R U4 THREADE JU I DIMENSIONS
PART NO. E A B S1
6J4-04 U7/16"X20 22 39 14
6J4-06 U9/16"X18 22 | 425 | 14
6J4-08 U3/4"X16 25 | 49.3 | 19
6J4-10 U7/8"X14 27 55 22
6J4-12 U1.1/16"X12 33 62 27
6J4-16 U1.5/16"X12 37 65 33
6J4-20 U1.5/8"X12 40 |67.3 | 44

- 207 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

N

: <>m‘

E
=

2]

\

k_gt
A S1

90° ZETHIJICHMZRLT74° ANHERL B B2k
90° JIC MALE 74° CONE BULKHEAD

6J9

foe B4 THREADE JU st DIMENSIONS
PART NO. E A B S1
6J9-04 U7/16"X20 29 | 40.4 | 14
6J9-06 U9/16"X18 29 46 14
6J9-08 U3/4"x16 33 |[53.5| 19
6J9-10 u7/8"x14 37 | 60.7 | 22
6J9-12 U1.1/16"X12 40 | 67.8 | 27
6J9-16 U1.5/16"X12 49 71 33
6J9-20 U1.5/8"X12 57 | 79.2 | 44
s1
] 8J
w
FHIINCHBE
% JIC LOCK NUT
L
= JR4L THREADE JU <} DIMENSIONS
PART NO. E L S1
8J-04 U7/16"X20 7 17
8J-06 U9/16"X18 7 19
8J-08 U3/4"'X16 8 24
8J-10 U7/8"X14 9 30
8J-12 U1.1/16"X12 10.5 36
8J-16 U1.5/16"X12 10.5 41
8J-20 U1.5/8"X12 10.5 50
8J-24 U1.7/8"X12 10.5 55
8J-32 U2.1/2"X12 10.5 70

- 208 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

9J

LHINICHIRL74° P HEEE K
JIC FEMALE 74° SEAT PLUG

=) JR4L THREADE JU <} DIMENSIONS

PART NO. E F C S1

9J-04 U7/16"X20 U7/16"X20 17

9J-06 U9/16X18 U9/16"X18 10 19

9J-08 U3/4"X16 U3/4"X16 11 24

9J-10 u7/8"Xx14 U7/8"X14 12 27

9J-12 U1.1/16"X12 U1.1/16"X12 13 32

9J-16 U1.5/16"X12 U1.5/16"X12 14 38

9J-20 U1.5/8"X12 U1.5/8"X12 15 50

9J-24 U1.7/8"X12 U1.7/8"X12 19 55

9J-32 U2.1/2"X12 U2.1/2"X12 24 75

S1
9J-CAP
wi
% JIC74° WIRZU Sk
7 JIC 74° FEMALE PLUG
L

e W24 THREADE X~} DIMENSIONS
PART NO. E S1 L
9J-04CAP U7/16"X20 14 15
9J-06CAP U9/16"X18 17 16
9J-08CAP U3/4"X16 22 19
9J-10CAP U7/8"X14 27 21.5
9J-12CAP U1.1/16"X12 32 23
9J-16CAP U1.5/16"X12 38 26

- 209 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

1T

JICHMRELTA" HMIES SCHEE AMRLL
JIC MALE 74° CONE/BSPT MALE

"""""" III AT I T 7

2,
278

foe #24; THREADE S~ DIMENSIONS
PART NO. E F A B s1 L
1JT-04-02 U7/16"X20 | ZG1/8"X28 14 | 10 | 14 | 30
1JT-04 U7/16"X20 | ZG1/4"X19 14 | 14 | 14 | 34
1JT-04-06 U7/16"X20 | ZG3/8"X19 14 | 14 | 19 | 34
1JT-04-08 U7/16"X20 | ZG1/2"X14 14 | 19 22 | 415
1JT-05-04 U1/2"X20 | ZG1/4"X19 14 | 14 | 14 | 34
1JT-05-06 U1/2"%X20 | Z63/8"X19 14 | 14 | 19 | 34
1JT-05-08 U1/2"X20 | Z61/2"X14 14 | 19 22 | 415
1JT-06-04 U9/16"X18 | Z61/4"X19 14 | 14 | 17 | 34
1JT-06 U9/16"X18 | Z63/8"X19 14 | 14 | 19 | 34
1JT-06-08 U9/16"X18 | ZG1/2"X14 14 | 19 2 | u
1JT-08-04 U3/4"X16 | Z61/4"X19 16.7 | 14 22 | 39
1JT-08-06 U3/4"X16 | Z63/8"X19 16.7 | 14 22 | 38
1JT-08 U3/4"X16 | Z61/2"X14 16.7 | 19 2 | 44
1JT-08-12 U3/4"X16 | 263/4"X14 16.7 | 19.5 | 30 | 46
1JT-10-06 U7/8"X14 | 263/8"X19 19.5 | 14 24 | 42
1JT-10-08 U7/8"X14 | 261/2"X14 19.5 | 19 24 | 47
1JT-10-12 U7/8"X14 | 263/4"X14 19.5 [ 19.5 | 30 | 48
1JT-12-08 | UL1.1/16"X12 | ZG1/2"X14 22 | 19 30 | 50
1JT-12 U1.1/16"X12 | ZG63/4"X14 22 [19.5 | 30 | 50
1JT-12-16 | U1.1/16"X12 | ZG1"X11 2 | 24 | 36 | 57
1JT-12-20 | U1.1/16"X12 | ZG1.1/4"X11 2 | 25 | 26 | 60
1JT-16-12 | UL.5/16"X12 | ZG3/4"X14 23 |19.5 | 36 | 53
1JT-16 U1.5/16"X12 | Z61"X11 23 | 24 | 36 | 58
1JT-16-20 | U1.5/16"X12 | ZG1.1/4"X11 23 | 25 | 46 | 61
1JT-16-24 | U1.5/16"X12 | ZG1.1/2"X11 23 | 25 | 50 | 64
1JT-20-16 | U1.5/8"X12 761"X11 245 | 24 | 46 | 62
1JT-20 U1.5/8"X12 | Z61.1/4"X11 245 | 25 | 46 | 63
1JT-24 UL.7/8"X12 | Z61.1/2"X11 27.5| 25 | 50 | 69
1JT-24-32 | U1.7/8"X12 762"X11 275 | 29 | 70 | 74
1JT-32 U2.1/2"X12 762"X11 34 | 29 | 70 | 81

- 210 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

E
&
1JT4
v Y 45° JICHMEZRL74° HIMNE/TEHER HMEBLL
—] 45° JIC MALE 74° CONE/BSPT MALE
A S1
R 24 THREADE JU s} DIMENSIONS

PART NO. E F A B S1
1JT4-04-02 U7/16"X20 7G1/8"X28 20 20 11

1JT4-04 U7/16"X20 Z7G1/4"X19 22 22 14
1JT4-04-06 U7/16"X20 ZG3/8"X19 22 22 17
1JT4-04-08 U7/16"X20 7G1/2"X14 27 27 22
1JT4-05-04 U1/2""x20 2G1/4"X19 22 22 14
1JT4-06-04 U9/16"X18 2G1/4"X19 22 22 14

1JT4-06 U9/16"X18 Z2G3/8"X19 22 22 17
1JT4-06-08 U9/16"X18 2G1/2"X14 27 27 22
1JT4-08-04 U3/4"X16 2G1/4"X19 25 25 19
1JT4-08-06 U3/4"X16 Z2G3/8'"X19 25 25 19

1JT4-08 U3/4"X16 2G1/2"X14 27 27 22
1JT4-08-12 U3/4"X16 2G3/4"X14 33 33 27
1JT4-10-08 U7/8"X14 2G1/2"X14 27 27 22
1JT4-10-12 U7/8""X14 2G3/4"X14 33 33 27
1JT4-12-08 U1.1/16"X12 2G1/2"X14 33 33 27

1JT4-12 U1.1/16"X12 2G3/4"X14 33 33 27
1JT4-12-16 U1.1/16"X12 ZG1"X11 37 37 33
1JT4-16-12 U1.5/16"X12 2G3/4"X14 37 37 33

1JT4-16 U1.5/16"X12 ZG1"X11 37 37 33
1JT4-16-20 U1.5/16"X12 | ZG1.1/4"X11 40 40 44
1JT4-20-16 U1.5/8"X12 ZG1"X11 40 40 44

1JT4-20 U1.5/8"X12 2G1.1/4"X11 40 40 44
1JT4-20-24 U1.7/8"X12 7G1.1/2"X11 a7 47 53

1JT4-24 U1.7/8"X12 2G1.1/2"X11 47 47 53

1JT4-32 U2.1/2"X12 2G2"X11 55 55 65

- 211 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

1JT9

90° JICHMBLTA® HNHESFEAER AR L
90° JIC MALE 74° CONE/BSPT MALE

A s1
) U247 THREADE JU <} DIMENSIONS
PART NO. E F A B s1
1JT9-04-02 U7/16"X20 | Z61/8"X28 2 | 2 | 1
1J79-04 U7/16"X20 | ZG1/4"X19 29 | 27 | 14
1JT9-04-06 U7/16"X20 | ZG3/8"X19 29 | 30 | 17
1JT9-05-02 U1/2"X20 761/8"X28 29 | 27 | 14
1JT9-05-04 U1/2""X20 Z61/4"X19 29 | 27 | 14
1JT9-05-06 U1/2"X20 763/8"X19 29 | 30 | 17
1JT9-06 U9/16"X18 | Z63/8"X19 2 | 22 | 17
1J79-06-04 U9/16"X18 | ZG1/4"X19 29 | 27 | 14
1JT9-06-08 U9/16"X18 | Z61/2"X14 37 | 37 22
1JT9-08-04 U3/4"X16 Z61/4"X19 33 | 33 | 19
1JT9-08-06 U3/4"X16 763/8"X19 33 | 33 | 19
1J79-08 U3/4"X16 761/2"X14 37 | 37 22
1JT9-08-12 U3/4"X16 763/4"X14 40 | 40 | 27
1JT9-10-06 U7/8"X14 763/8"X19 37 | 37 22
1JT9-10-08 U7/8"X14 761/2"X14 37 | 37 22
1JT9-10-12 U7/8"X14 763/4"X14 40 | 40 | 27
1JT9-12-08 | U1.1/16"X12 | ZG1/2"X14 40 | 40 | 27
1JT9-12 U1.1/16"X12 | ZG3/4"X14 40 | 40 | 27
1J7T9-12-16 | U1.1/16"X12 | z61"X11 49 | 49 | 33
1J7T9-16-12 | U1.5/16"X12 | ZG3/4"X14 49 | 49 | 33
1J79-16 U1.5/16"X12 | ZG1"X11 49 | 49 | 33
1J7T9-16-20 | U1.5/16"X12 | ZG1.1/4"X11 57 | 57 44
1J7T9-16-24 | U1.5/16"X12 | Z61.1/2"X11 57 | 57 48
1J7T9-20-16 | U1.5/8"X12 761"X11 57 | 57 44
1JT9-20 U1.5/8"X12 | ZG1.1/4"X11 57 | 57 44
1J7T9-20-24 | UL1.7/8"X12 | Z61.1/2"X11 57 | 57 48
1J79-24 U1.7/8"X12 | ZG1.1/2"X11 57 | 57 48
1J7T9-24-20 | UL1.7/8"X12 | Z61.1/4"X11 57 | 57 48
1J7T9-32-24 | U2.1/2"X12 | Z61.1/2"X11 66 | 66 65
1J79-32 U2.1/2"X12 762"X11 66 | 66 65

- 212 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

A B
3 1JN
] | JICHMELTA HNHE/ A HE RS AMELL

JIC MALE 74° CONE/NPT MALE

foe #24; THREADE S~ DIMENSIONS
PART NO. E F A B s1 L
1IN-04-02 U7/16"%20 71/8"X27 14 | 10 | 14 | 30
1IN-04 U7/16"X20 71/4"X18 14 | 14 | 14 | 34
1IN-04-06 U7/16"%20 Z3/8"X18 14 | 14 | 19 | 34
1IN-04-08 U7/16"%20 71/2"X14 14 | 19 22 | 41.5
1IN-05-04 U1/2"'X20 71/4"X18 14 | 14 | 14 | 34
1IN-05-06 U1/2"'X20 Z3/8"X18 14 | 14 | 19 | 34
1IN-05-08 U1/2"'X20 Z1/2"X14 14 | 19 22 | 41.5
1IN-06-04 U9/16"X18 71/4"X18 14 | 14 | 17 | 34
1IN-06 U9/16"X18 73/8"X18 14 | 14 | 19 | 34
1JN-06-08 U9/16"X18 Z1/2"X14 14 | 19 2 | u
1IN-08-04 U3/4"X16 71/4"X18 16.7 | 14 22 | 39
1JN-08-06 U3/4"X16 Z3/8"X18 16.7 | 14 22 | 38
1IN-08 U3/4"X16 Z1/2"X14 16.7 | 19 22 | 44
1IN-08-12 U3/4"X16 73/4"X14 16.7 | 19.5 | 30 | 46
1IN-10-06 U7/8"X14 73/8"X18 19.5 | 14 24 | 42
1JN-10-08 U7/8"X14 Z1/2"X14 19.5 | 19 24 | 47
1IN-10-12 U7/8"X14 Z3/4"X14 19.5 [ 19.5 | 30 | 48
1N-12-08 | UL.1/16"X12 | Z1/2"X14 22 | 19 30 | 50
1IN-12 UL.1/16"X12 | Z3/4"X14 22 |[19.5 | 30 | 50
1N-12-16 | U1.1/16"X12 | Z1"X11.5 2 | 24 | 36 | 57
1N-12-20 | UL1.1/16"X12 |Z1.1/4"X11. 2 | 25 | 46 | 60
1N-16-12 | UL.5/16"X12 | Z3/4"X14 23 |19.5 | 36 | 53
1IN-16 U1.5/16"X12 | Z1"X11.5 23 | 24 | 36 | 58
1N-16-20 | U1.5/16"X12 |Z1.1/4"X11. 23 | 25 | 46 | 61
1IN-16-24 | UL1.5/16"X12 |Z1.1/2"X11. 23 | 25 | 50 | 64
1IN-20-16 | U1.5/8"X12 | Z1"X11.5 245 | 24 | 46 | 62
1IN-20 U1.5/8"X12 |Z1.1/4"X11. 245 | 25 | 46 | 63
1IN-24 U1.7/8"X12  |Z1.1/2"X11. 27.5| 25 | 50 | 69
1N-24-32 | UL.7/8"X12 | Z2"X11.5 275 | 29 | 70 | 74
1IN-32 U2.1/2"X12 | Z2"X11.5 34 | 29 | 70 | 81

- 213 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

E
&
1JN4
w 3 45° JICHMZLT4° HME/ATHER SMRAL
— 45° JIC MALE 74° CONE/NPT MALE
A S1
R 24 THREADE JU s} DIMENSIONS

PART NO. E F A B s1
1IN4-04-02 U7/16"X20 71/8"X27 20 20 11

1IN4-04 U7/16"X20 Z1/4"X18 22 22 14
1JIN4-04-06 U7/16"X20 73/8"X18 22 22 17
1JIN4-04-08 U7/16"X20 71/2"X14 27 27 22
1JIN4-05-04 U1/2"X20 Z1/4"X18 22 22 14
1IN4-06-04 U9/16"X18 Z1/4"X18 22 22 14

1JIN4-06 U9/16"X18 73/8"X18 22 22 17
1IN4-06-08 U9/16"X18 71/2"X14 27 27 22
1JIN4-08-04 U3/4"X16 Z1/4"X18 25 25 19
1IN4-08-06 U3/4"X16 73/8"X18 25 25 19

1JIN4-08 U3/4"X16 71/2"X14 27 27 22
1JIN4-08-12 U3/4"X16 Z3/4"X14 33 33 27
1JN4-10-08 U7/8"X14 71/2"X14 27 27 22
1JIN4-10-12 U7/8"X14 Z3/4"X14 33 33 27
1IN4-12-08 | U1.1/16"X12 | Z1/2"X14 33 33 27

1IN4-12 UL.1/16"X12 | Z3/4"X14 33 33 27
1IN4-12-16 | U1.1/16"X12 | Z1"X11.5 37 37 33
1IN4-16-12 | UL.5/16"X12 | Z3/4"X14 37 37 33

1IN4-16 U1.5/16"X12 | Z1"X11.5 37 37 33
1IN4-16-20 | U1.5/16"X12 |Z1.1/4"X11. 40 40 44
1IN4-20-16 | U1.5/8"X12 | Z1"X11.5 40 40 44

1IN4-20 U1.5/8"X12 |Z1.1/4"X11. 40 40 44
1IN4-20-24 | U1.7/8"X12 |Z1.1/2"X11. 47 47 53

1IN4-24 U1.7/8"X12 |Z1.1/2"X11. 47 47 53

1JIN4-32 U2.1/2"X12 | Z2"X11.5 55 55 65

- 214 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

1JN9

90° JICHMBLTA° HNHES AT HER AR L
90° JIC MALE 74° CONE/NPT MALE

A S1
R 24 THREADE JU s} DIMENSIONS
PART NO. E F A B s1
1JIN9-04-02 U7/16"X20 71/8"X27 22 22 11
1JN9-04 U7/16"X20 Z1/4"X18 29 27 14
1JIN9-04-06 U7/16"X20 73/8"X18 29 30 17
1JN9-05-02 U1/2"X20 71/8"X27 29 27 14
1JIN9-05-04 U1/2"X20 71/4"X18 29 27 14
1JIN9-05-06 U1/2"X20 73/8"X18 29 30 17
1JIN9-06 U9/16"X18 73/8"X18 22 22 17
1JIN9-06-04 U9/16"X18 Z1/4"X18 29 27 14
1JN9-06-08 U9/16"X18 Z1/2"X14 37 37 22
1JIN9-08-04 U3/4"X16 Z1/4"X18 33 33 19
1JN9-08-06 U3/4"X16 73/8"X18 33 33 19
1JN9-08 U3/4"X16 Z1/2"X14 37 37 22
1JIN9-08-12 U3/4"X16 Z3/4"X14 40 40 27
1JIN9-10-06 U7/8"X14 73/8"X18 37 37 22
1JN9-10-08 U7/8"X14 71/2"X14 37 37 22
1JIN9-10-12 U7/8"X14 Z3/4"X14 40 40 27
1IN9-12-08 | U1.1/16"X12 | Z1/2"X14 40 40 27
1IN9-12 UL.1/16"X12 | Z3/4"X14 40 40 27
1IN9-12-16 | U1.1/16"X12 | Z1"X11.5 49 49 33
1IN9-16-12 | UL.5/16"X12 | Z3/4"X14 49 49 33
1JIN9-16 U1.5/16"X12 | Z1"X11.5 49 49 33
1IN9-16-20 | U1.5/16"X12 |Z1.1/4"X11.5 57 57 44
1IN9-16-24 | U1.5/16"X12 |Z1.1/2"X11.5 57 57 48
1IN9-20-16 | U1.5/8"X12 | Z1"X11.5 57 57 44
1JIN9-20 U1.5/8"X12 |Z1.1/4"X11.5 57 57 44
1IN9-20-24 | U1.7/8"X12 |Z1.1/2"X11.5 57 57 48
1JIN9-24 U1.7/8"X12 |Z1.1/2"X11.5 57 57 48
1IN9-24-20 | U1.7/8"X12 |Z1.1/4"X11.5 57 57 48
1IN9-32-24 | U2.1/2"X12 |Z1.1/2"X11.5 66 66 65
1JIN9-32 U2.1/2"X12 | Z2"X11.5 66 66 65

- 215 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

1IN9-L

90° JICHMERLLTA® SMEL I AHEE SMRLL
90° JIC MALE 74° CONE/LONG NPT MALE

R 24 THREADE JU s} DIMENSIONS
PART NO. E F A B s1
1IN9-04-02L | U7/16"X20 71/8"X27 22 30 11
1JIN9-04L U7/16"X20 Z1/4"X18 29 | 40.1 | 14
1JIN9-05-02L U1/2"X20 71/8"X27 29 31 14
1JIN9-05-04L U1/2"X20 Z1/4"X18 29 | 40.1 | 14
1IN9-06-04L | U9/16"X18 Z1/4"X18 29 | 40.1 | 14
1IN9-06-08L | U9/16"X18 71/2"X14 37 |55.1| 22
1IN9-08-06L U3/4"X16 73/8"X18 33 | 46.2 | 19
1JIN9-08L U3/4"X16 71/2"X14 37 |55.1| 22
1JIN9-10-08L U7/8"X14 71/2"X14 37 |55.1| 22
1JN9-12-08L | U1.1/16"X12 | Z1/2"X14 40 | 56.9 | 27
1IN9-12L UL.1/16"X12 | Z3/4"X14 40 62 27
1IN9-16-12L | U1.5/16"X12 | Z3/4"X14 49 | 69.9 | 33
1JIN9-16L U1.5/16"X12 | Z1"X11.5 49 | 76.5 | 33
1JIN9-20L U1.5/8"X12 |Z1.1/4"X11.5 57 | 93.7 | 44
1IN9-24L U1.7/8"X12 |Z1.1/2"X11.5 57 |104.1| 48
1JIN9-32L U2.1/2"X12 | Z2"X11.5 66 |122.2| 65

- 216 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

60°
- 1JIN9-LL

e ’ 00° JICAMRELTA" SN/ KATHE R SMRLL
N w 90° JIC MALE 74° CONE/LONGGER NPT MALE

O T

A s1
= W24 THREADE JU <} DIMENSIONS

PART NO. E F A B s1
1IN9-04-02LL | U7/16"X20 71/8"X27 22 | 39.6 | 11

1IN9-04LL U7/16"X20 Z1/4"X18 29 | 52.6 | 14
1IN9-05-04LL | U1/2"X20 Z1/4"X18 29 | 52.6 | 14
1JN9-06-04LL | U9/16"X18 Z1/4"X18 29 | 52.6 | 14

1IN9-06LL U9/16"X18 73/8"Xx18 30 | 61.5 | 17
1IN9-08-06LL |  U3/4"X16 73/8"Xx18 33 | 61.5 | 19
1JN9-10-08LL | U7/8"X14 71/2"X14 37 | 72.9 | 22

1IN9-12LL | U1.1/16"X12 | Z3/4"X14 40 | 83.3 | 27

1IN9-16LL | U1.5/16"X12 | Z1"X11.5 49 |102.9| 33

1IN9-20LL U1.5/8"X12 |Z1.1/4"X11.5 57 127 | 44

1IN9-24LL U1.7/8"X12 |Z1.1/2"X11.5 57 141 | 48

1IN9-32LL U2.1/2"X12 72"X11.5 66 |168.4 | 65

- 217 -



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

S1

S2

e

2JB

FEHIINCHMERLL T4 HME

b= fete

L

WIRZ60° AME
JIC MALE 74° CONE/
BSP FEMALE 60° CONE

= U4 THREADE JU )" DIMENSIONS
PART NO. E F A c s1 S2
2JB-04 U7/16"X20 | G1/4"X19 14 | 5.5 | 14 19
2JB-04-06 U7/16"X20 | G3/8"X19 14 | 6.5 | 17 22
2JB-04-08 U7/16"X20 | G1/2"X14 14 8 22 27
2JB-06 U9/16"X18 | G3/8"X19 14 | 6.5 | 17 22
2JB-06-08 U9/16"X18 | G1/2"X14 14 8 22 27
2JB-06-10 U9/16"X18 | G5/8"X14 14 | 10.5 | 22 30
2JB-08 U3/4"x16 | G1/2"X14 16.7 | 8 22 27
2JB-08-06 U3/4"X16 G3/8"X19 16.7 | 6.5 | 22 22
2JB-08-10 U3/4"X16 G5/8"X14 16.7 | 10.5 | 22 30
2JB-10 U7/8"X16 | G5/8"X14 19.5 | 10.5 | 22 30
2JB-12 UL.1/16"X12 | G3/4"X14 22 | 115 30 32
2JB-12-08 | U1.1/16"X12 | G1/2"X14 22 8 30 27
2JB-12-10 | U1.1/16"X12 | G5/8"X14 22 | 10.5 | 30 30
2JB-12-16 | U1.1/16"X12 | G1"X11 22 | 115 32 41
2JB-16 U1.5/16"X12 | G1"X11 23 | 11.5| 36 41
2JB-16-20 | U1.5/16"X12 | G1.1/4"X11 23 12 41 50
2JB-20 U1.5/8"X12 | G1.1/4"X11 24.5 | 12 46 50
2JB-20-24 | U1.5/8"X12 | G1.1/2"X11 24.5 | 13 46 55
2JB-24 UL.7/8"X12 | G1.1/2"X11 27.5 | 13 50 55
2JB-32 U2.1/2"X12 62"X11 34 16 70 70

- 218 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

. ,
W2 %
S1

YL AMRLL0 Y

1JG

FHIINCHMRLG T4 HNHES

JIC MALE 74° CONE/

BSP MALE O-RING

foE #24 THREADE S~} DIMENSIONS
PART NO. E F A B st L
136-04-02 | U7/16"X20 | G1/8"X28 14 9 4 | 29
136-04 U7/16"X20 | G1/4"X19 14 | 12 | 19 | 33
136-04-06 | U7/16"X20 | G3/8"X19 14 | 135 | 22 | 35
1J6-04-08 | U7/16"X20 | G1/2"X14 14 | 16 | 27 | 39
1J6-05-04 U1/2"X20 | G1/4"X19 14 | 12 | 19 | 33
1J6-05-06 U1/2"X20 | G63/8"X19 14 | 135 | 22 | 35
1J6-05-08 U1/2"X20 | G1/2"X14 14 | 16 | 271 | 39
1J6-06-04 | U9/16"X18 | G1/4"X19 14 | 12 | 19 | 32
1J6-06 U9/16"X18 | G3/8"X19 14 | 135 | 22 | 35
1J6-06-08 | U9/16"X18 | G1/2"X14 14 | 16 | 27 | 39
1J6-08-04 U3/4"X16 | G1/4"X19 16.7 | 12 | 22 | 37
1J6-08-06 U3/4"X16 | G3/8"X19 16.7 | 13.5 | 22 | 38.5
1J6-08 U3/4"X16 | G1/2"X14 16.7 | 16 | 27 | &
1J6-08-12 U3/4"X16 | G3/4"X14 16.7 | 18.5 | 32 | 46
1J6-10-06 U7/8"X14 | 63/8"X19 19.5 | 13.5 | 24 | 42
1J6-10-08 U7/8"X14 | G1/2"X14 19.5 | 16 | 27 | 45
136-10-12 U7/8"X14 | G3/4X14 19.5 | 18.5 | 32 | 49
1J6-12-08 | U1.1/16"X12 | G1/2"X14 22 | 16 | 30 | 47
1J6-12 U1.1/16"X12 | G3/4"X14 22 |18.5| 32 | 51
136-12-16 | U1.1/16"X12 | 61"X11 22 | 20.5| 19 | 54
136-12-20 | U1.1/16"X12 |G1.1/4"X11 22 | 20.5| 50 | 56
1J6-16-12 | U1.5/16"X12 | G3/4"X14 23 | 18.5| 36 | 52
136-16 U1.5/16"X12 | G1"X11 23 | 20.5| 41 | 55
136-16-20 | U1.5/16"X12 | G1.1/4"X11 23 | 20.5| 50 | 57
1J6-20-16 | U1.5/8"X12 | 61"X11 24.5 | 20.5 | 46 | 58
136-20 U1.5/8"X12 |G1.1/4"X11 24.5 | 20.5| 50 | 58
136-24-16 | UL.7/8"X12 | 61"X11 27.5 | 20.5| 50 | 61
1J6-24-20 | UL.7/8"X12 |G1.1/4"X11 27.5 | 20.5| 50 | 61
1J6-24 U1.7/8"X12 |G1.1/2"X11 2715 | 23 | 55 | 67

- 219 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

S2

AWy

A \S1

1JG4-0G

45° EHIINICHMBEL T4 HIVHES
YL AME S0 P
45° JIC MALE 74° CONE/
BSP MALE O-RING

R 24 THREADE JU I DIMENSIONS
PART NO. E F A B s1 S2
1J64-0406G U7/16"X20 | G1/4"X19 22 28 | 14 19

1J64-05-040G | UL/2"X20 | G1/4"X19 22 28 | 14 19
1J64-06-040G | U9/16"X18 | G1/4"X19 22 28 | 17 19
1J64-0606G U9/16"X18 | G3/8"X19 22 32 17 22
1J64-08-060G | U3/4"X16 | G3/8"X19 25 32 | 19 22
1J64-0806G U3/4"X16 | G1/2"X14 27 36 | 22 27
1J64-10-080G | U7/8"X14 | G1/2"X14 27 38 22 27
1J64-1006 U7/8"X14 | G5/8"X14 27 38 22 30
1J64-12-100G | U1.1/16"X12 | G5/8"X14 33 | 38.5| 27 30
1J64-12-160G | U1.1/16"X12 | G1"X11 37 44 | 33 41
1J64-1206 | U1.1/16"X12 | G3/4"X14 33 42 27 32
1J64-16-120G | U1.5/16"X12 | G3/4"X14 37 44 | 33 32
1J64-1606 | U1.5/16"X12 | G1"X11 37 44 33 41
1J64-2006 | U1.5/8"X12 |G1.1/4"X11 40 | 475 | 44 50
1J64-2406 | U1.7/8"X12 |G1.1/2"X11 47 | 51.5| 53 55

- 220 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

-

F

o
A 3@

1JG9-0G

90° SEHIIICHMELTA® HIHES
YL AME S0 P
90° JIC MALE 74° CONE/
BSP MALE O-RING

R 24 THREADE JU I DIMENSIONS
PART NO. E F A B S1 S2
1JG9-04-020G | U7/16"X20 | G1/8"X28 22 26.2 | 11 14
1J69-04-060G | U7/16"X20 | G3/8"X19 30 |36.8| 17 22
1J69-0406G U7/16"X20 | G1/4"X19 29 | 31.3| 14 19
1J69-05-040G | U1/2"X20 | G1/4"X19 29 | 31.8| 14 19
1JG9-05-060G | U1/2"X20 | G3/8"X19 30 |35.8| 17 22
1J69-05-080G | U1/2"X20 | G1/2"X14 37 | 43.2 | 22 27
1J69-06-040G | U9/16"X18 | G1/4"X19 29 | 31.3| 14 19
1JG9-06-080G | U9/16"X18 | G1/2"X14 37 | 43.2| 22 27
1J69-0606G U9/16"X18 | G3/8"X19 30 | 35.8 | 17 22
1JG9-08-040G | U3/4"X16 | G1/4"X19 33 [33.5| 19 19
1JG9-08-060G | U3/4"X16 | G3/8"X19 33 | 36.8| 19 22
1JG9-0806 U3/4"X16 | G1/2"X14 37 | 43.2| 22 27
1JG9-08-120G | U3/4"X16 | G3/4"X14 40 | 49.3 | 27 32
1JG9-10-060G | U7/8"X16 | G3/8"X19 37 [39.2| 22 22
1J69-10-080G | U7/8"X16 | G1/2"X14 37 | 43.2| 22 27
1J69-10-120G | U7/8"X16 | G3/4"X14 40 | 49.3| 27 32
1J69-1206 | UL1.1/16"X12 | G3/4"X14 40 | 49.3 | 27 32
1J69-12-080G | U1.1/16"X12 | G1/2"X14 40 | 46.5 | 27 27
1J69-12-160G | U1.1/16"X12 | G1"X11 49 53 33 41
1J69-160G | U1.5/16"X12 | G1"X11 49 53 33 41
1J69-16-120G | U1.5/16"X12 | G3/4"X14 49 53 33 32
1J69-16-200G | U1.5/16"X12 | G1.1/4"X11 57 58 | 44 50
1J69-2006 | U1.5/8"X12 |G1.1/4"X11 57 58 | 44 50
1J69-20-160G | U1.5/8"X12 G1"X11 57 58 | 44 41
1J69-24-160G | U1.7/8"X12 G1"X11 57 63 | 48 41
1J69-24-200G | U1.7/8"X12 |G1.1/4"X11 57 63 | 48 50
1J69-2406 | UL.7/8"X12 |G1.1/2"X11 57 63 48 55

- 221 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

- 1JF

N w
27 4 SEHIINCHMELTA® SME/ORFSSMELL
¢é§;7: JIC MALE 74° CONE/ORFS MALE
s1

R JZ£L THREADE JU I DIMENSIONS
PART NO. E F A B s1 L
1JF-04 U7/16"X20 | U9/16"X18 14 12 17 32
1JF-05-04 UL/2"X20 | U9/16"X18 14 12 17 32
1JF-05-06 U1/2"X20 | U11/16"X16 14 14 19 34
1JF-06-04 | U9/16"X18 | U9/16"X18 14 12 17 32
1JF-08-06 U3/4"X16 | U11/16"X16 16.7 | 14 19 37
1JF-08 U3/4"X16 | U13/16"X16 16.7 | 15 22 40
1JF-10-08 U7/8"X16 | U13/16"X16 19.5 | 15 24 43
1JF-10 U7/8"X16 U1"x14 19.5 | 16.5 | 27 46
1JF-12-10 | U1.1/16"X12 | UL"X14 22 | 16.5 | 30 49
1JF-12 U1.1/16"X12 | U1.3/16"X12 22 17 32 50
1JF-16-12 | U1.5/16"X12 | U1.3/16"X12 23 17 36 51
1JF-16 U1.5/16"X12 | U1.7/16"X12 23 | 18.5 | 41 54
1JF-20-16 | UL1.5/8"X12 | U1.7/16"X12 24.5 | 18.5 | 46 56
1JF-20 U1.5/8"X12 |U1.11/16"X12 24.5 | 19.5 | 46 57
1JF-24-20 | U1.7/8"X12 |U1.11/16"X12 27.5 | 19.5 | 50 64

- 222 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

z 1JH

7 T . JICHMIZLT4° HI4ES
7 Ny

— JIC MALE 74° CONE/
% METRIC MALE END O-RING
fom B24r THREADE U <} DIMENSIONS
PART NO. E F A B s1 L
1JH-04-10 U7/16"X20 M10x1 14 11 14 31
1JH-04-12 U7/16"X20 M12x1.5 14 11 17 31
1JH-04-14 U7/16"X20 M14x1.5 14 11 19 32
1JH-05-10 U1/2"X20 M10x1 14 11 14 31
1JH-05-12 U1/2"x20 M12x1.5 14 11 17 31
1JH-05-14 U1/2"X20 M14x1.5 14 11 19 31
1JH-06-14 U9/16"X18 M14x1.5 14 11 19 32
1JH-06-16 U9/16"X18 M16x1.5 14 11 22 33
1JH-06-18 U9/16"X18 M18x1.5 14 11 24 33
1JH-08-14 U3/4"X16 M14x1.5 16.7 11 22 36
1JH-08-16 U3/4"X16 M16x1.5 16.7 11 22 36
1JH-08-18 U3/4"X16 M18x1.5 16.7 11 24 36
1JH-08-22 U3/4"X16 M22x1.5 16.7 12 27 37
1JH-10-16 U7/8"X14 M16x1.5 13.5 11 24 33
1JH-10-18 u7/8"X14 M18x1.5 13.5 11 24 33
1JH-10-22 U7/8"X14 M22x1.5 13.5 12 27 33
1JH-12-22 U1.1/16"X12 | M22x1.5 16 12 30 38
1JH-12-27 U1.1/16"X12 M27x2 16 13 32 39
1JH-16-27 U1.5/16"X12 M27x2 16 13 36 40

- 223 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

S2

e e

1JH4-0G

45° EHIINICHMBRLT4° HMHES
ON TR ANRSORT 1 () A i
45° JIC MALE 74° CONE/METRIC MALE
ADJUSTABLE STUD END

) I24 THREADE JU <} DIMENSIONS

PART NO. E F A B s1 s2
1JH4-04-100G | U7/16"X20 M10x1 20 | 23.5 | 11 14
1JH4-04-120G | U7/16"X20 | M12x1.5 22 | 275 14 17
1JH4-04-140G | U7/16"X20 | M14x1.5 22 | 28.3| 14 19
1JH4-05-120G | UL/2"X20 | M12x1.5 22 | 28.3| 14 17
1JH4-05-140G | U1/2"X20 | M14x1.5 22 | 28.3| 14 19
1JH4-06-140G | U9/16"X18 | M14x1.5 22 | 28.3| 14 19
1JH4-06-160G | U9/16"X18 | M16x1.5 22 29 | 17 22
1JH4-08-160G | U3/4"X16 | M16x1.5 25 30 | 19 22
1JH4-08-180G | U3/4"X16 | M18x1.5 25 31 | 19 24
1JH4-10-160G | U7/8"X14 | M16x1.5 27 31 | 22 22
1JH4-10-180G | U7/8"X14 | M18x1.5 27 32 | 22 24
1JH4-10-220G | U7/8"X14 | M22x1.5 33 33 | 27 27
1JH4-12-2206 | U1.1/16"X12 | M22x1.5 33 | 34.5| 27 27
1JH4-12-270G | U1.1/16"X12 | M27x2 33 | 39.5 | 27 32
1JH4-16-270G | U1.5/16"X12 | M27x2 37 41 | 33 32

- 224 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

1JH9-0G

90° EHIIICHMELTA° HhiE/
ON HIAME S AT 1 [ A ity

\ ) 90° JIC MALE 74° CONE/METRIC MALE
ADJUSTABLE STUD END
A s1

o #2247 THREADE S~} DIMENSIONS
PART NO. E F A B | s1 | s
1JH9-04-100G | U7/16"X20 | M10x1 22 | 275 | 11 | 14
1JH9-04-120G | U7/16"X20 | M12x1.5 29 |30.3| 14 | 17
1JH9-04-140G | U7/16"X20 | M14x1.5 29 | 32 | 14 | 19
1JH9-05-120G | UL/2"X20 | M12x1.5 29 | 32 | 14 | 17
1JH9-05-140G | UL/2"X20 | M14x1.5 29 | 32 | 14 | 19
1JH9-06-140G | U9/16"X18 | M14x1.5 29 | 32 | 14 | 19
1JH9-06-160G | U9/16"X18 | M16x1.5 30 |34.8| 17 | 22
1JH9-08-160G | U3/4"X16 | M16x1.5 33 | 38 | 19 | 22
1JH9-08-180G | U3/4"X16 | M18x1.5 33 | 38 | 19 | 24
1JH9-10-160G | U7/8"X14 | M16x1.5 37 | 38 | 2 | 2
1JHO-10-180G | U7/8"X14 | M18x1.5 37 | 39.5| 22 | 24
1JH9-10-220G | U7/8"X14 | M22x1.5 40 | 42.5| 27 | 27
1JH9-12-2206 | U1.1/16"X12 | M22x1.5 4 | 44 | 27 | 27
1JH9-12-270G | U1.1/16"X12 | M27x2 40 | 48.5| 27 | 3
1JH9-16-270G | U1.5/16"X12 | M27x2 49 | 41 | 33 | 32

- 225 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

[ 10

g
s/

60°

1JIM

JICHMIREL T4 HNHES MRS
60° PNHERL /S f i I 4 & 3

JIC MALE 74° CONE/METRIC MALE DOUBLE
USE FOR 60° SEAT OR BONDED SEAL

R 24 THREADE JU I DIMENSIONS
PART NO. E F A B S1 L
1IM-04-12 U7/16"X20 | M12x1.5 14 10 17 32
1IM-04-14 U7/16"X20 | M14x1.5 14 11 19 33
1IM-05-12 U1/2"X20 | M12x1.5 14 10 17 32
1JM-05-14 U1/2"X20 | M14x1.5 14 11 19 33
1IM-06-12 U9/16"X18 | M12x1.5 14 10 17 32
1IM-06-14 U9/16"X18 | M14x1.5 14 11 19 33
1JM-06-16 U9/16"X18 | M16x1.5 14 12 22 35
1JM-06-18 U9/16"X18 | M18x1.5 14 12 24 50
1JM-08-16 U3/4"X16 M16x1.5 16.7 | 12 22 38
1JM-08-18 U3/4"x16 | M18x1.5 16.7 | 12 24 38
1JM-08-22 U3/4"X16 | M22x1.5 16.7 | 14 27 41
1IM-10-22 U7/8"X16 M22x1.5 19.5 | 14 27 44
1IM-12-22 | U1.1/16"X12 | M22x1.5 22 14 30 48

- 226 -



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

A B
- 1JIM-WD
w | 5 JICHMRZLT4° HHE/
@ o NN e
JIC MALE 74° CONE/
_H METRIC MALE CAPTIVE SEAL
S1
= R4 THREADE JU < DIMENSIONS
PART NO. E F A B D H s1 L
1JM-04-12WD | U7/16"X20 | M12x1.5 14 10 | 14.2 | 1.2 17 32
1JM-05-14WD U1/2"'X20 M14x1.5 14 11 | 16.3 | 1.2 19 33
1JM-06-14WD | U9/16"X18 | M14x1.5 14 11 | 16.3 | 1.2 19 33
1JM-06-18WD | U9/16"X18 | M18x1.5 14 12 | 20.7 | 1.2 24 | 36.5
1JM-08-18WD U3/4"X16 M18x1.5 16.7 | 12 | 20.7 | 1.2 24 39
1JM-08-22WD U3/4"X16 M22x1.5 16.7 | 14 | 24.1| 1.2 27 | 43.5
1JM-10-18WD U7/8"X16 M18x1.5 19.5 | 12 | 20.7 | 1.2 24 | 41.5
1JM-10-22WD U7/8"X16 M22x1.5 19.5 | 14 | 24.1 | 1.2 27 46
1IM-12-22WD | U1.1/16"X12 | M22x1.5 22 14 | 24.1 | 1.2 30 49

- 227 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

. ,
W2 %
S1

1J0

FHIINCHMRL T4° HIMHES
SAEAMZEL 1707 P
JIC MALE 74° CONE/

SAE 0-RING BOSS

= JR4L THREADE JU <} DIMENSIONS
PART NO. E F A B S1 L
1J0-04 U7/16"X20 U7/16"X20 14 10 14 31
1J0-04-05 U7/16"X20 U1/2"X20 14 10 17 30
1J0-04-06 U7/16"X20 U9/16"X18 14 12 17 32
1J0-04-08 U7/16"X20 U3/4"X16 14 12 24 35
1J0-05 U1/2"x20 U1/2"X20 14 10 17 30
1J0-05-04 U1/2"X20 U7/16"X20 14 10 14 30
1J0-05-06 U1/2"X20 U9/16"X18 14 12 17 32
1J0-05-08 U1/2"X20 U3/4"X16 14 12 24 35
1J0-06 U9/16"X18 U9/16"X18 14 12 17 33
1J0-06-04 U9/16"X18 U7/16"X20 14 10 17 31
1J0-06-05 U9/16"X18 U1/2"X20 14 10 17 30
1J0-06-08 U9/16"X18 U3/4"X16 14 12 24 35
1J0-06-10 U9/16"X18 u7/8"x14 14 | 135 | 27 36
1J0-06-12 U9/16"X18 U1.1/16"X12 14 16 32 39
1J0-08 U3/4"X16 U3/4"X16 16.7 | 12 24 37
1J0-08-04 U3/4"X16 U7/16"X20 16.7 | 10 22 35
1J0-08-06 U3/4"X16 U9/16"X18 16.7 | 12 22 37
1J0-08-10 U3/4"X16 u7/8"x14 16.7 | 13.5 | 27 39
1J0-08-12 U3/4"X16 U1.1/16"X12 16.7 | 16 32 42
1J0-10 U7/8"x14 u7/8"x14 19.5 | 13.5 | 27 | 41.5
1J0-10-08 U7/8"x14 U3/4"X16 19.5 | 12 24 40
1J0-10-12 U7/8"x14 U1.1/16"X12 19.5 | 16 32 45
1J0-12 U1.1/16"X12 | U1.1/16"X12 22 16 32 47
1J0-12-08 U1.1/16"X12 U3/4"X16 22 12 30 43
1J0-12-10 U1.1/16"X12 u7/8"x14 22 | 13.5 | 30 45
1J0-12-16 U1.1/16"X12 | U1.5/16"X12 22 17 41 50
1J0-16 U1.5/16"X12 | U1.5/16"X12 23 17 41 51
1J0-16-12 U1.5/16"X12 | U1.1/16"X12 23 16 36 50
1J0-16-20 U1.5/16"X12 | U1.5/8"X12 23 18 50 55
1J0-20 U1.5/8"X12 U1.5/8"X12 24.5 | 18 50 56

- 228 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

B EW
e #245 THREADE R~ DIMENSIONS
PART NO. E F A B S1 L
1J0-16-20 U1.5/16"X12 U1.5/8"X12 23 18 50 55
1J0-20-16 U1.5/8"X12 U1.5716"X12 24.5 17 46 55
1J0-20-24 U1.5/8"X12 U1.7/8"X12 24.5 | 18.5 55 59
1J0-24 U1.7/8"X12 U1.7/8"X12 27.5 | 18.5 55 62
1J0-24-20 U1.7/8"X12 U1.5/8"X12 27.5 18 50 59
1J0-24-32 U1.7/8"X12 U2.1/2"X12 27.5 22 70 67.5
1J0-32 U2.1/2"X12 U2.1/2"X12 34 22 70 74
L
] B 1J0-L
wi I SEHIINICHMRLT74° HES
SAEAMREZC O ]
W //% LONG JIC MALE 74° CONE/
SAE O-RING BOSS
S1
fR B240 THREADE JU ~f DIMENSIONS
PART NO. E F A B S1 L
1J0-04L U7/16"X20 U7/16"X20 35 10 14 51
1J0-05L U1/2"X20 U1/2"X20 37 10 17 53
1J0-06L U9/16"X18 U9/16"X18 39 12 17 57
1J0-08L U3/4"X16 U3/4"X16 48 12 24 69
1J0-10L u7/8"X14 u7/8"X14 53 13.5 27 75
1J0-12L U1.1/16"X12 U1.1/16"X12 63 16 32 88
1J0-16L U1.5/16"X12 U1.5/16"X12 72 17 41 100
1J0-20L U1.5/8"X12 U1.5/8"X12 88.1 18 50 120

- 229 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

S2 &
1J04-0G
. . 45° JICHMEZEZT74° S/
SAESMIR S O ]
45° JIC MALE 74° CONE/
A \§; SAE O-RING BOSS

R U4 THREADE JU f DIMENSIONS
PART NO. E F A B S1 S2
1J04-0406 U7/16"X20 U7/16"X20 20 24 11 17
1J04-04-0606 | U7/16"X20 U9/16"X18 22 | 27.5| 14 19
1J04-04-080G | U7/16"X20 U3/4"X16 25 | 32.5| 19 24
1J04-0506 U1/2"X20 U1/2"X20 22 | 26.7| 14 17
1J04-05-040G |  U1/2"X20 U7/16"X20 22 | 26.7| 14 17
1J04-0606 U9/16"X18 U9/16"X18 22 28 14 19
1J04-06-040G | U9/16"X18 U7/16"X20 22 26 14 17
1J04-06-050G | U9/16"X18 U1/2"X20 22 26 14 17
1J04-06-080G | U9/16"X18 U3/4"X16 25 | 32.5 | 19 24
1J04-06-1006 | U9/16"X18 U7/8"X14 27 | 38.5 | 22 27
1J04-080G U3/4"X16 U3/4"X16 25 | 32.5| 19 24
1J04-08-060G | U3/4"X16 U9/16"X18 25 28 19 19
1J04-08-100G |  U3/4"X16 u7/8"X14 27 | 38.7 | 22 27
1J04-08-120G | U3/4"X16 U1.1/16"X12 33 | 43.9 | 27 32
1J04-1006 U7/8"X14 U7/8"X14 27 | 38.7| 22 27
1J04-10-080G | U7/8"X14 U3/4"X16 27 33 22 27
1J04-10-120G | U7/8"X14 U1.1/16"X12 33 | 43.9 | 27 32
1J04-1206G U1.1/16"X12 | U1.1/16"X12 33 | 43.5 | 27 32
1J04-12-1006 | U1.1/16"X12 U7/8"X14 33 42 27 27
1J04-12-160G | U1.1/16"X12 | U1.5/16"X12 37 | 45.5 | 33 41
1J04-1606 U1.5/16"X12 | U1.5/16"X12 37 | 45.5 | 33 M
1J04-16-120G | U1.5/16"X12 | U1.1/16"X12 37 45 33 32
1J04-16-2006 | U1.5/16"X12 | U1.5/8"X12 40 47 44 50
1J04-2006 U1.5/8"X12 U1.5/8"X12 40 | 48.5 | 44 50
1J04-20-240G | U1.5/8"X12 U1.7/8"X12 47 50 53 55
1J04-2406 U1.7/8"X12 U1.7/8"X12 47 50 53 55
1J04-320G U1.7/8"X12 U2.1/2"X12 55 54 65 70

- 230 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

g 1J09-0G
(%%, _%_) o
e y 90° JICHMZRZLT4° AL/
" :ﬂ> SAESMIR S O ]
\) 90° JIC MALE 74° CONE/
4 SAE O-RING BOSS
A S1
foe B4 THREADE JU <t DIMENSIONS
PART NO. E F A B s1 S2
1J09-0406 U7/16"X20 U7/16"X20 22 |27.2| 11 17
1J09-04-0606 | U7/16"X20 U9/16"X18 29 | 31.8| 14 19
1J09-05-0406 |  U1/2"X20 U7/16"X20 29 30 14 17
1J09-0506 U1/2"'X20 U1/2"X20 29 29 14 17
1J09-05-060G |  U1/2"X20 U9/16"X18 29 | 31.8| 14 19
1J09-060G U9/16"Xx18 U9/16"X18 29 | 31.8| 14 19
1J09-06-040G | U9/16"X18 U7/16"X20 29 30 14 17
1J09-06-050G | U9/16"X18 U1/2"X20 29 | 29.9 | 14 17
1J09-06-080G | U9/16"X18 U3/4"X16 33 | 36.8| 19 24
1J09-08-040G |  U3/4"X16 U7/16"X20 33 33 19 17
1J09-0806 U3/4"'X16 U3/4"X16 33 | 36.8 | 19 24
1J09-08-060G |  U3/4"X16 U9/16"X18 33 | 33.5| 19 19
1J09-08-100G |  U3/4"X16 u7/8"x14 37 44 22 27
1J09-08-120G |  U3/4"X16 U1.1/16"X12 40 51 27 32
1J09-100G u7/8"x14 u7/8"x14 37 44 22 27
1J09-10-080G | U7/8"X14 U3/4"X16 37 40 22 27
1J09-10-1206 | U7/8"X14 U1.1/16"X12 40 51 27 32
1J09-1206 | U1.1/16"X12 | U1.1/16"X12 40 51 27 32
1J09-12-1006 | U1.1/16"X12 u7/8"x14 40 47 27 27
1J09-12-1606 | U1.1/16"X12 | U1.5/16"X12 49 | 54.5| 33 4
1J09-160G6 | U1.5/16"X12 | U1.5/16"X12 49 | 54.5| 33 4
1J09-16-1206 | U1.5/16"X12 | U1.1/16"X12 49 | 54.5 | 33 32
1J09-16-200G | U1.5/16"X12 | U1.5/8"X12 57 59 44 50
1J09-2006 U1.5/8"X12 U1.5/8"X12 57 59 44 50
1J09-20-2406 | U1.5/8"X12 U1.7/8"X12 57 63 48 55
1J09-2406 U1.7/8"X12 U1.7/8"X12 57 63 48 55
1J09-3206 U1.7/8"X12 U2.1/2"X12 66 76 65 70

- 231 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

-~—F
S2

9
AA

4

w jET , \<J

7
2]

1J09-0G/L

90° SEHIJICHNELTA° HhifE/
I SAEZ MR L7 07 el
90° JIC MALE 74° CONE/
LONG SAE O-RING BOSS

A S1

o2 U240 THREADE R DIMENSIONS
PART NO. E F A B S1 S2
1J09-0406/L U7/16"X20 U7/16"X20 22 44 11 17
1J09-060G/L U9/16"X18 U9/16"X18 29 | 52.8 | 14 19
1J09-080G/L U3/4"x16 U3/4"X16 33 |63.5| 19 24
1J09-1006/L u7/8"x14 u7/8"X14 37 | 73.4 | 22 27
1J09-1206/L | U1.1/16"X12 | U1.1/16"X12 40 | 84.8 | 27 32
1J09-160G6/L | U1.5/16"X12 | U1.5/16"X12 49 | 94.5| 33 41

- 232 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

A B
— 1BJ-WD
/. 1.
<<\|\ % PO AMB LU E/INICHMERLE 74 ° Ak
H_—[ BSP MALE CAPTIVE SEAL/JIC MALE 74° CONE
s1
foe #24) THREADE S~} DIMENSIONS

PART NO. E F A B D H s1 L
1BJ-02-04WD | G1/8"X28 | U7/16"X20 10 | 14 |11.7 | 0.7 | 14 | 315

1BJ-04WD G1/4"X19 | U7/16"X20 12 | 14 |16.3| 1.2 | 19 | 34
1BJ-06-04WD | G3/8"X19 | U7/16"X20 135 | 14 [18.7| 12 | 22 | 36
1BJ-08-04WD | G1/2"X14 | U7/16"X20 16 | 14 | 23.7| 1.2 | 27 | 43
1BJ-04-05WD | G1/4"X19 | UL/2"X20 12 | 14 |16.3| 1.2 | 19 | 34
1BJ-06-05WD | G3/8"X19 | U1/2"X20 135 | 14 |18.7| 12 | 22 | 36
1BJ-02-06WD | G1/8"X28 | U9/16"X18 10 | 14 |17 0.7 | 17 |3L5
1BJ-04-06WD | G1/4"X19 | U9/16"X18 12 | 14 163 1.2 | 19 | 34

1BJ-06WD G3/8"X19 | U9/16"X18 135 | 14 |18.7| 1.2 | 22 | 36
1BJ-08-06WD | G1/2"X14 | U9/16"X18 16 | 14 | 23.7| 1.2 | 27 | 43
1BJ-04-08WD | G1/4"X19 | U3/4"X16 12 | 16.7 | 16.3| 1.2 | 22 | 37
1BJ-06-08WD | G3/8"X19 | U3/4"X16 13.5 | 16.7 | 18.7 | 1.2 | 22 | 39

1BJ-08WD G1/2"X14 | U3/4"X16 16 | 16.7 | 23.7 | 1.2 | 27 | 45.5
1BJ-08-10WD | G1/2"X14 | U7/8"X16 16 | 19.5 | 23.7| 1.2 | 27 | 49
1BJ-12-10WD | G3/4"X14 | U7/8"X16 18.5 [ 19.5 | 29 | 1.2 | 32 | 50
1BJ-08-12WD | GL/2"X14 |U1.1/16"X12 16 | 22 |23.7|1.2 | 30 |50.5

1BJ-12WD G3/4"X14  |U1.1/16"X12 185 22 | 29 | 1.2 | 32 |525
1BJ-16-12WD G1"X11  |U1.1/16"X12 20.5| 22 | 35.5| 1.6 | 41 |58.5
1BJ-12-16WD | G3/4"X14 |UL1.5/16"X12 185 23 | 29 | 1.2 | 36 |555

1BJ-16WD G1"X11  |U1.5/16"X12 20.5| 23 |35.5| 1.6 | 41 | 59.5
1BJ-20-16WD | G1.1/4"X11 |U1.5/16"X12 20.5| 23 | 45.6 | 1.6 | 50 | 61.5
1BJ-16-20WD G1"X11 | U1.5/8"X12 20.5 | 24.5 | 35.5| 1.6 | 46 | 61

1BJ-20WD | G1.1/4"X11l |U1.5/8"X12 20.5 | 24.5 | 45.6 | 1.6 | 50 | 63
1BJ-24-20WD | G1.1/2"X11 |U1.5/8"X12 23 | 24.5[50.5| 1.6 | 55 | 65
1BJ-20-24WD | G1.1/4"X11 |U1.7/8"X12 20.5 | 27.5 | 45.6 | 1.6 | 50 | 66

1BJ-24WD | G1.1/2"X11 |U1.7/8"X12 23 | 27.5|50.5| 1.6 | 55 |68.5

- 233 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

. f S2
B 2TJ
i L
@%Z%ZZ%%% JEHEE AMBESUINCHIRE T4 P HE
BSPT MALE/JIC FEMALE 74° SEAT
c
(%) U4 THREADE JU <} DIMENSIONS
PART NO. E F A c s1 s2
27J-02-04 | ZG1/8"X28 | U7/16"X20 10 | 8.5 | 14 17
27J-04 Z61/4"X19 | U7/16"X20 14 | 8.5 | 17 17
2TJ-04-05 | ZG1/4"X19 U1/2"X20 14 | 9.5 | 17 19
2TJ-04-06 | ZG1/4"X19 | U9/16"X18 14 10 17 19
27J-06-05 | ZG3/8"X19 U1/2"X20 14 | 9.5 | 17 19
27J-06 ZG3/8"X19 | U9/16"X18 14 10 17 19
2TJ-06-08 | ZG3/8"X19 U3/4"X16 14 11 19 24
27J-08 261/2"X14 U3/4"X16 19 11 22 24
27J-08-10 | ZG1/2"X14 U7/8"X14 19 11 22 27
27J-08-12 | ZG1/2"X14 | U1.1/16"X12 19 |13.5 | 27 32
27J-12 ZG3/4"X14 | U1.1/16"X12 19.5 | 13.5 | 30 32
27J-12-16 | ZG3/4"X14 | U1.5/16"X12 19.5 | 14.5 | 36 41
27J-16 ZG1"X11 | U1.5/16"X12 24 | 145 | 36 4
273-20 Z61.1/4"X11 | U1.5/8"X12 24 | 15.5 | 46 50
27J3-24 Z61.1/2"X11 | U1.7/8"X12 25 | 18.5 | 50 55

- 234 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

. S1 S2
Z2NJ
i
@zzzggz%% AHER SMRLL/INICNIRL74° N HE
NPT MALE/JIC FEMALE 74° SEAT
c
5 1240 THREADE JU ~f" DIMENSIONS
PART NO. E F A c s1 S2
2NJ-02-04 71/8"X27 U7/16"X20 10 | 8.5 | 14 17
2NJ-02-05 71/8"X27 U1/2"'X20 10 | 9.5 | 14 19
2NJ-04 71/4"X18 U7/16"X20 14 | 8.5 | 17 17
2NJ-04-05 71/4"X18 U1/2""X20 14 | 9.5 | 17 19
2NJ-04-06 71/4"X18 U9/16"X18 14 10 17 19
2NJ-04-08 Z1/4"X18 U3/4"'X16 14 11 19 24
2NJ-06 73/8"X18 U9/16"X18 14 10 17 19
2NJ-06-08 73/8"X18 U3/4"'X16 14 11 19 24
2NJ-06-10 73/8"X18 U7/8"X14 14 11 22 27
2NJ-08 71/2"X14 U3/4"X16 19 11 22 24
2NJ-08-06 71/2"'X14 U9/16"X18 19 10 22 19
2NJ-08-10 Z1/2"'X14 u7/8"X14 19 11 22 27
2NJ-08-12 Z1/2"X14 | U1.1/16"X12 19 | 13.5 | 27 32
2NJ-12 Z3/4"X14 | U1.1/16"X12 19.5 | 13.5 | 30 32
2NJ-12-08 Z3/4"X14 U3/4"'X16 19.5 | 11 27 24
2NJ-12-10 73/4"X14 u7/8"X14 19.5 | 11 27 27
2NJ-12-16 73/4"X14 | U1.5/16"X12 19.5 | 14.5 | 36 41
2NJ-16 71"X11.5 | U1.5/16"X12 24 | 14.5 | 36 41
2NJ-16-12 71"X11.5 | U1.1/16"X12 24 | 13.5 | 36 32
2NJ-16-20 Z1"X11.5 U1.5/8"X12 24 | 15.5 | 46 50
2NJ-20  |Z1.1/4"X11.5| U1.5/8"X12 24 | 15.5 | 46 50
2NJ-20-24 |Z1.1/4"X11.5| U1.7/8"X12 24 | 18.5 | 46 55
2NJ-24-20 |Z1.1/2"X11.5| U1.5/8"X12 25 | 15.5 | 50 50
NJ-24  |Z1.1/2"X11.5| U1.7/8"X12 25 | 18.5 | 50 55

- 235 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

iz

74°

2GJ

WL HMZ S0 B /INIC B L 74 ° HETH
BSP MALE O-RING/JIC FEMALE 74° CONE

c
) U247 THREADE JU <] DIMENSIONS
PART NO. E F A c s1 | s2
26J-04 G1/4"X19 | U7/16"X20 12 | 8.5 | 19 17
26J-04-05 | G1/4"X19 | U1/2"X20 12 | 9.5 | 19 19
26J-04-06 | G1/4"X19 | U9/16"X18 12 10 | 19 19
26J-06 63/8"X19 | U9/16"X18 13.5 | 10 | 22 | 19
26J-06-08 | G3/8"X19 U3/4"X16 13.5 | 11 22 | 24
26J-08 GL/2"X14 | U3/4"X16 16 11 | 27 | 24
26J-08-06 | G1/2"X14 | U9/16"X18 16 10 | 27 | 19
26J-08-10 | G1/2"X14 | U7/8"X16 16 1| 27 | 27
26J-12 G3/4"X14 | U1.1/16"X12 18.5 | 13.5 | 32 | 32
26J-12-08 | G3/4"X14 | U3/4"X16 18.5 | 11 2 | 24
26J-12-10 | 63/4"X14 | U7/8"X16 18.5 | 11 | 32 | 27
26J-12-16 | G63/4"X14 | U1.5/16"X12 18.5 | 14.5 | 32 | 41
26J-16 61"X11 | U1.5/16"X12 205 | 145 | 4 | 4
26J-20 61.1/4"X11 | U1.5/8"X12 20.5 | 15.5 | 50 | 50
26J-24 61.1/2"X11 | U1.7/8"X12 23 | 18.5| 55 | 55

- 236 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

1 s2
: : 20J
w =1 ul % FEHISAESMRLL 01U [l /
| ) INCHIRETA" e
%% - SAE 0-RING BOSS/
JIC FEMALE 74° SEAT
C
R U4 THREADE JU I DIMENSIONS
PART NO. E F A c S1 S2
20J-04 U7/16"X20 | U7/16"X20 10 | 8.5 | 14 17
20J-05 U1/2"X20 U1/2"X20 10 | 9.5 | 17 19
20J-06 U9/16"X18 | U9/16"X18 12 10 17 19
20J-08 U3/4"X16 U3/4"'X16 12 11 22 24
20J-10 U7/8"X14 U7/8"X14 13.5 | 11 27 27
20J-12 U1.1/16"X12 |U1.1/16"X12 16 | 13.5 | 32 32
20J-16 U1.5/16"X12 |U1.5/16"X12 17 | 14.5 | 41 4
20J-20 U1.5/8"X12 |U1.5/8"X12 18 | 15.5 | 50 50
s1
5 2WJ
a H | w5
% . ) B/ HIIICHIRETA° P
% BUTT-WELD TUBE/JIC FEMALE 74° SEAT
c
(%) U241 THREADE &7 FL4£TUBE 0.D. JU <} DIMENSIONS
PART NO. E D1 C S1
21J-10-04 U7/16"X20 10 8.5 17
2WJ3-12-05 U1/2"X20 12 9.5 19
2WJ-14-04 U7/16"X20 14 8.5 17
2WJ-14-06 U9/16"X18 14 10 19
21J-18-08 U3/4"X16 18 11 24
2WJ-20-10 U7/8"X14 20 11 27
2WJ-22-12 | U1.1/16"X12 22 13.5 32
2WJ-28-16 | U1.5/16"X12 28 14.5 4
2WJ-34-20 U1.5/8"X12 34 15.5 50

- 237 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

5JB

FHIINCHMRLLTA° HMHE/ DG YR
JIC MALE 74° CONE/BSP FEMALE

R 24 THREADE JU I DIMENSIONS
PART NO. E F A S1 L
5JB-04 U7/16"X20 | G1/4"X19 14 19 32
5JB-04-02 | U7/16"X20 | G1/8"X28 14 14 29
5JB-04-06 | U7/16"X20 | G3/8"X19 14 22 34
5JB-06 U9/16"X18 | G3/8"X19 14 22 34
5JB-06-08 | U9/16"X18 | G1/2"X14 14 27 34
5JB-08 U3/4"X16 | G1/2"X14 16.7 27 37
5JB-08-10 U3/4"X16 | G65/8"X14 16.7 30 43
5JB-10-12 U7/8"X16 | G3/4"X14 19.5 32 44
5JB-12 U1.1/16"X12 | G3/4"X14 22 36 52
5JB-12-16 | U1.1/16"X12 | G1"X11 22 4 56
5JB-16 UL.5/16"X12 | G1"X11 23 M 57
5JB-16-20 | U1.5/16"X12 | G1.1/4"X11 23 50 59
5JB-20 U1.5/8"X12 | G1.1/4"X11 24.5 50 61
5JB-24 U1.7/8"X12 | G1.1/2"X11 27.5 55 65
5JB-32 U2.1/2"X12 G2"X11 34 70 71

- 238 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

g oJT

- FHIINCHMRLITA° HMHES SAHER A IREL

)

""" ///////7//7// JIC MALE 74° CONE/BSPT FEMALE

(%) U4 THREADE JU <} DIMENSIONS
PART NO. E F A S1 L
5JT-04-02 U7/16"X20 | Z61/8"X28 14 17 29
5JT-04 U7/16"X20 | ZG1/4"X19 14 19 32
5JT-06-04 U9/16"X18 | ZG1/4"X19 14 19 32
5JT-06 U9/16"X18 | ZG3/8"X19 14 22 34
5JT-08-06 U3/4"X16 2G3/8"X19 16.7 22 37
5JT-08 U3/4"X16 Z61/2"X14 16.7 30 43
5JT-10-08 U7/8"X14 261/2"X14 19.5 30 36
5JT-12 UL.1/16"X12 | ZG3/4"X14 22 36 52
5JT-16 U1.5/16"X12 | ZG1"X11 23 41 57

- 239 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

S1
7
AT oJN
" ,
L~ SEBIIICHMBLETAT S/ ATHE R N 2L
. JIC MALE 74° CONE/NPT FEMALE

(%) U4 THREADE JU <} DIMENSIONS

PART NO. E F A S1 L
5JN-04-02 U7/16"X20 21/8"X27 14 17 29
5JIN-04 U7/16"X20 21/4"X18 14 19 32
5JIN-05-04 U1/2"x20 Z21/4"X18 14 19 32
5JIN-06-04 U9/16"X18 Z21/4"X18 14 19 32
5JIN-06 U9/16"X18 23/8"X18 14 22 34
5JIN-06-08 U9/16"X18 Z1/2"X14 14 30 40
5JIN-08-06 U3/4"X16 23/8"X18 16.7 22 37
5JIN-08 U3/4"X16 21/2""X14 16.7 30 43
5JIN-08-12 U3/4"X16 23/4"X14 16.7 36 47
5JN-10-08 u7/8"X14 21/2""X14 19.5 30 46
5JIN-10-12 U7/8"X14 23/4"X14 19.5 36 50
5JIN-12-08 Ul1.1/16"X12 Z1/2"X14 22 30 48
5IN-12 U1.1/16"X12 23/4""X14 22 36 52
5JIN-16-12 U1.5/16"X12 23/4""X14 23 36 53
5JIN-16 U1.5/16"X12 Z1"X11.5 23 41 57
5JN-20 U1.5/8"X12 |Z1.1/4"X11.5 24.5 50 61
5JIN-24 U1.7/8"X12 |Z1.1/2"X11.5 27.5 60 65
5JN-32 U2.1/2"X12 Z2"X11.5 34 70 71

- 240 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

’

90° ZEHIINICHMBELLTA HNHE/ATHER Py 2L
90° JIC MALE 74° CONE/NPT FEMALE

5JN9

A s1

(%) U4 THREADE JU <} DIMENSIONS
PART NO. E F A B s1
5JN9-04-02 | U7/16"X20 71/8"X27 27 21 17
5IN9-04 U7/16"X20 Z1/4"X18 27 21 17
5JN9-06-04 | U9/16"X18 Z1/4"X18 32 27 22
5JN9-06 U9/16"X18 73/8"X18 32 27 22
5JN9-08-04 U3/4"X16 71/4"X18 35 30 27
5JN9-08 U3/4"X16 71/2"X14 35 30 27
5IN9-12-08 | UL.1/16"X12 | Z1/2"X14 35 30 27
5IN9-12 UL.1/16"X12 | Z3/4"X14 40 32 33
5IN9-12-16 | U1.1/16"X12 | Z1"X11.5 38 49 41
5IN9-16-12 | UL.5/16"X12 | Z3/4"X14 49 38 41
5IN9-16 U1.5/16"X12 | Z1"X11.5 49 38 41

- 241 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

A B
— oNJ
g Jl .
A %% FHINPTHME L/ F 6 N CHMERE LA I b B Sk
EJ/ . NPT MALE/JIC MALE 74° CONE BULKHEAD
o B4 THREADE s} DIMENSIONS
PART NO. E F A B s1 L
6NJ-02-04 71/8"X27 U7/16"X20 10 |32.5| 14 | 48.5
6NJ-04 71/4"X18 U7/16"X20 14 |32.5| 14 |52.5
6NJ-04-06 71/4"X18 U9/16"X18 14 |32.5 | 17 |52.5
6NJ-06 Z3/8"X18 U9/16"X18 14 |32.5 | 17 |52.5
6NJ-08 71/2"X14 U3/4"X16 19 |36.5| 22 | 64
6NJ-08-10 71/2X14 U7/8"X14 19 40 22 67
6NJ-12 Z3/4"X14 | U1.1/16"X12 19.5 | 44.5 | 27 73
6NJ-16 Z1"X11.5 | U1.5/16"X12 24 | 445 | 36 | 79.5
6NJ-20  [Z1.1/4"X11.5| U1.5/8"X12 25 | 45.7 | 46 84
6NJ-24  [Z1.1/2"X11.5| U1.7/8"X12 25 46 50 88
s1 S2
B NJ
- | ] R
. AR A BREL/JIC I BRELTA° Py
% @ Wit NPT FEMALE/JIC FEMALE 74° SEAT
c
R B4 THREADE JU I DIMENSIONS
PART NO. E F c s1 S2
7NJ-04 71/4"X18 U7/16"X20 8.5 19 17
7NJ-04-06 71/4"X18 U9/16"X18 10 19 19
7NJ-06 73/8"X18 U9/16"X18 10 24 | 19
7NJ-06-08 23/8"X18 U3/4"X16 11 24 24
7NJ-08 71/2"X14 U3/4"X16 11 30 24
7NJ-08-10 71/2"X14 U7/8"X14 11 30 27
7NJ-08-12 71/2"X14 | U1.1/16"X12 13.5 30 32
7NJ-12 Z3/4"X14 | U1.1/16"X12 13.5 36 32
7NJ-16 Z1"X11.5 | U1.5/16"X12 14.5 41 41
7NJ-20  |Z1.1/4"X11.5| U1.5/8"X12 15.5 50 50
INJ-24  |Z1.1/2"X11.5| U1.7/8"X12 18.5 60 55

- 242 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

S1

AJ

A 7 ?é%;j__ 27N
w13 Sl @ FKHIINICHMERLT4° St =1
JIC MALE 74° CONE TEE
A C
o #240 THREADE JU ~T DIMENSIONS
PART NO. E F G A B o s1
AJ-04 U7/16"X20 U7/16"X20 U7/16"X20 24 24 24 11
AJ-04-06-04 | U7/16"X20 U9/16"X18 U7/16"X20 27 27 27 14
AJ-05 U1/2"'X20 U1/2"X20 U1/2"X20 27 27 27 14
AJ-06-04-06 | U9/16"X18 U7/16"%20 U9/16"X18 27 27 27 14
AJ-06 U9/16"Xx18 U9/16"X18 U9/16"X18 27 27 27 14
AJ-08 U3/4"X16 U3/4"X16 U3/4"X16 30 30 30 19
AJ-08-06-08 U3/4"X16 U9/16"Xx18 U3/4"X16 30 30 30 19
AJ-10 U7/8"x14 U7/8"X14 U7/8"X14 33 33 33 22
AJ-12 U1.1/16"X12 | U1.1/16"X12 | U1.1/16"X12 40 40 40 27
AJ-16 U1.5/16"X12 | U1.5/16"X12 | U1.5/16"X12 49 49 49 33
AJ-16-12-16 | U1.5/16"X12 | U1.1/16"X12 | U1.5/16"X12 49 49 49 33
AJ-20 U1.5/8"X12 U1.5/8"X12 | U1.5/8"X12 57 57 57 44
74°
(F\
/82
- * BJ
s1
FINCHMELT74° HMES
s Z2 LHINCHIZLTA° WHES X —E
“R ' ﬁ@ W JIC MALE 74° CONE/
JIC FEMALE BRANCH TEE
A A
R U4 THREADE JU I DIMENSIONS
PART NO. E F A C s1 S2
BJ-04 U7/16"X20 U7/16"X20 24 | 8.5 | 11 17
BJ-05 U1/2"X20 U1/2"'X20 27 | 9.5 | 14 19
BJ-06 U9/16"X18 U9/16"X18 27 10 14 19
BJ-08 U3/4"X16 U3/4"X16 30 11 19 24
BJ-10 U7/8"X14 U7/8"X14 33 11 22 27
BJ-12 U1.1/16"X12 | U1.1/16"X12 40 | 13.5 | 27 32
BJ-16 U1.5/16"X12 | U1.5/16"X12 49 | 14.5 | 33 4
BJ-20 U1.5/8"X12 U1.5/8"X12 57 | 15.5 | 44 50

- 243 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

py/ %Z

\

A \s1

BLd

74°

CJ

FHIINCHMRLG T4 HMHES
LHINICHIEL74° NHEE S =50
JIC MALE 74° CONE/

JIC FEMALE 74° SEAT RUN TEE

2
= JR4L THREADE JU <] DIMENSIONS
PART NO. E F A o S1 S2
CJ-04 U7/16"X20 U7/16"X20 24 8.5 | 11 17
CJ-05 U1/2"X20 U1/2"'X20 27 9.5 | 14 19
CJ-06 U9/16"X18 U9/16"X18 27 10 14 19
cJ-08 U3/4"X16 U3/4"'X16 30 11 19 24
cJ-10 U7/8"x14 u7/8"x14 33 11 22 27
CJ-12 U1.1/16"X12 | U1.1/16"X12 40 | 13.5 | 27 32
cJ-16 U1.5/16"X12 | U1.5/16"X12 49 | 14.5 | 33 41
CJ-20 U1.5/8"X12 U1.5/8"X12 57 | 15.5 | 44 50
74°
;'I
O
s DJ
% ( FHIIICHIRG74° AHE=TE
~ E\g JIC FEMALE 74° SEAT TEE
. s1
o #2247 THREADE JU < DIMENSIONS
PART NO. E F C S1 S2
DJ-04 U7/16"X20 U7/16"X20 8.5 | 11 17
DJ-05 U1/2"'X20 U1/2"'X20 9.5 | 11 19
DJ-06 U9/16"X18 U9/16"X18 10 14 19
DJ-08 U3/4"X16 U3/4"X16 11 19 24
DJ-10 U7/8"X14 U7/8"X14 11 22 27
DJ-12 U1.1/16"X12 | U1.1/16"X12 13.5 | 27 32
DJ-16 U1.5/16"X12 | U1.5/16"X12 14.5 | 33 41
DJ-20 U1.5/8"X12 U1.5/8"X12 15.5 | 44 50

- 244 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

F

TP I——

EJ

~C., c
N2 ‘
FHIICHIRL74° NHE/
Nt ’ L HIINCHMELT4° HMIES 3l
E E\Ej JIC FEMALE 74° SEAT/
y JIC MALE 74° CONE BRANCH TEE
1 S1
R 24 THREADE JU I DIMENSIONS
PART NO. E F A c s1 S2
EJ-04 U7/16"X20 U7/16"X20 24 | 8.5 | 11 17
EJ-05 U1/2"X20 U1/2"X20 27 | 9.5 | 14 19
EJ-06 U9/16"X18 U9/16"X18 27 10 14 19
EJ-08 U3/4"X16 U3/4"X16 30 11 19 24
EJ-10 U7/8"X14 U7/8"X14 33 11 22 27
EJ-12 U1.1/16"X12 | U1.1/16"X12 40 | 13.5 | 27 32
EJ-16 U1.5/16"X12 | U1.5/16"X12 49 | 14.5 | 33 4
EJ-20 U1.5/8"X12 | U1.5/8"X12 57 | 15.5 | 44 50
74°
E
] FJ
KHIINICAERLE74° NHES
A FHIINCHMRLGT4° HMES S =l
u \;2 [53 JIC FEMAOLE 74°  SEAT/
JIC MALE 74° CONE BRANCH TEE
(%) UZ 2 THREADE JU <} DIMENSIONS
PART NO. E F A C s1 S2
EJ-04 U7/16"X20 U7/16"X20 24 | 8.5 | 11 17
EJ-05 U1/2"X20 U1/2"X20 27 | 9.5 | 14 19
EJ-06 U9/16"X18 U9/16"X18 27 10 14 19
EJ-08 U3/4"X16 U3/4"X16 30 11 19 24
EJ-10 U7/8"X14 U7/8"X14 33 11 22 27
EJ-12 U1.1/16"X12 | U1.1/16"X12 40 | 13.5 | 27 32
EJ-16 U1.5/16"X12 | U1.5/16"X12 49 | 145 | 33 4
EJ-20 U1.5/8"X12 | U1.5/8"X12 57 | 15.5 | 44 50

- 245 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

60°
- AINJ
_ U)J/ s1
i N FKHIINCHMRL 74" HhE/
w ﬂ | w THEA SMIBELSY 3 =
"N JIC MALE 74° CONE/
NPT MALE BRANCH TEE
A A
o2 B24r THREADE J& <} DIMENSIONS
PART NO. E E A B S1
AINJ-04 U7/16"X20 Z1/4"X18 27 27 14
AINJ-04-02-04 U7/16"X20 Z21/8"X27 24 24 11
AJINJ-05-02-05 U1/2"x20 Z1/8"X27 27 27 14
AJINJ-05-04-05 U1/2""x20 71/4"X18 27 27 14
AJINJ-06 U9/16"X18 73/8"X18 28 28 17
AJINJ-06-04-06 U9/16"X18 Z1/4"X18 27 27 14
AJINJ-08 U3/4"X16 Z1/2"X14 33 33 22
AJINJ-08-06-08 U3/4"X16 23/8"X18 30 30 19
AJNJ-10-08-10 U7/8"X14 Z1/2"X14 33 33 22
AJINJ-10-12-10 U7/8"x14 23/4"X14 40 40 27
AINJ-12 U1.1/16"X12 23/4"X14 40 40 27
AINJ-16 U1.5/16"X12 Z1'"X11.5 49 49 33
AINJ-20 U1.5/8"X12 |Z1.1/4"X11.5 57 57 44

- 246 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

AJIN

FEHIINCHMRL T4° HIMHES

w ﬁ g AR SMBE LS 0
x JIC MALE 74° CONE/
A \ﬂ . NPT MALE RUN TEE

fom B24r THREADE J& <} DIMENSIONS
PART NO. E F A B S1
AJIN-04 U7/16Xx20 Z1/4"X18 27 27 14
AJIN-04-04-02 | U7/16"X20 71/8"X27 24 24 11
AJIN-05-05-02 U1/2"X20 71/8"X27 27 27 14
AJIN-05-05-04 U1/2"X20 Z1/4"X18 27 27 14
AJIN-06 U9/16"X18 Z3/8"X18 28 28 17
AJIN-06-06-04 | U9/16"X18 Z1/4"X18 27 27 14
AJIN-08 U3/4"X16 Z1/2"X14 33 33 22
AJIN-08-08-06 U3/4"X16 73/8"X18 30 30 19
AJIN-10-10-08 u7/8"X14 71/2"X14 33 33 22
AJIN-10-10-12 u7/8"X14 Z3/4"X14 40 40 27
AJIN-12 U1.1/16"X12 Z3/4"X14 40 40 27
AJIN-16 U1.5/16"X12 Z1"X11.5 49 49 33
AJIN-20 U1.5/8"X12 (71.1/4"X11.5 57 57 44

- 247 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

74
T

AJJ6J

FHIINICHMRLTA° HMNERE Bk 3237 =l
JIC MALE 74° CONE BULKHEAD RUN TEE

foe B4 THREADE JU st DIMENSIONS
PART NO. E A B S1
AJJ6J-04 U7/16"X20 24 | 40.4 | 11
AJJ6J-06 U9/16"X18 27 46 14
AJJ6J-08 U3/4"X16 30 | 53.5| 19
AJJ6J-10 u7/8"x14 33 | 60.7 | 22
AJJBJ-12 U1.1/16"X12 40 | 67.8 | 27
AJJ6J-16 U1.5/16"X12 49 71 33
AJJ6J-20 U1.5/8"X12 57 | 79.2 | 44
E
)
y AJ6JJ
5 .
{: 22 <)§ FHIINCHMRL T4 HMHEE Sk J3 3 =3l
™~ \“| |__| |”/ ° JIC MALE 74° CONE BULKHEAD BRANCH TEE
A A
= 24 THREADE JU =) DIMENSIONS
PART NO. E A B s1
AJBJJ-04 U7/16"X20 24 | 40.4 | 11
AJBJJ-06 U9/16"X18 27 46 14
AJBJJ-08 U3/4"'X16 30 |53.5| 19
AJBJJ-10 U7/8"X14 33 | 60.7 | 22
AJBIJI-12 U1.1/16"X12 40 | 67.8 | 27
AJ6JJ-16 U1.5/16"X12 49 71 33

- 248 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

o KJNJ
o
e N KAIIICHNRL 74" S/
< Feten Ry I
@ ~ e Py MRS 5y 7 = 38
JIC MALE 74° CONE/

A A NPT FEMALE BRANCH TEE

foe #24) THREADE J& I DIMENSIONS
PART NO. E F A B S1
KINJ-04 U7/16"X20 Z1/4'"X18 30 22.4 19
KINJ-04-02-04 U7/16"Xx20 21/8'"'X27 28 16.8 17
KINJ-05-02-05 U1/2"x20 71/8"X27 28 16.8 17
KINJ-05-04-05 U1/2"x20 Z1/4'"X18 30 22.4 19
KINJ-06 U9/16''X18 Z3/8"X18 33 25.9 22
KINJ-06-04-06 U9/16'X18 71/4"X18 30 22.4 19
KINJ-08 U3/4'"x16 Z1/2"X14 40 31.2 27
KINJ-08-06-08 U3/4'"x16 73/8"X18 40 25.9 27
KINJ-10-08-10 U7/8"x14 Z1/2'"X14 40 31.2 27
KINJ-12 U1.1/16"X12 Z3/4"X14 49 34.5 33
KINJ-16 U1.5/16"X12 Z1"X11.5 57 41.1 44

- 249 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

gm_:% |_
. JJIN
Y N
J | FHINCHMRL74° HPHES
:ﬁ ATHERE WIRS TS =0
JIC MALE 74° CONE/
B NPT FEMALE RUN TEE
R R4 THREADE JU =} DIMENSIONS
PART NO. E F A B S1
LJIN-04 U7/16"X20 Z71/4"X18 30 25.1 19
LJIN-04-04-02 U7/16"X20 71/8"X27 28 16.8 17
LJIN-06 U9/16""X18 Z3/8"X18 33 26.8 22
LJIN-06-06-04 U9/16""X18 71/4"X18 30 22.5 19
LJIN-08 U3/4"X16 Z1/2"X14 40 33 27
LJIN-08-08-06 U3/4"X16 Z3/8"X18 40 25.9 27
LJIN-10-10-08 U7/8"X14 21/2""X14 40 31.2 27
LJIN-12 U1.1/16"X12 Z3/4"X14 49 39 33
LJIN-16 U1.5/16"X12 Z1"X11.5 57 43.9 27
LJIN-20 U1.5/8"X12 |Z1.1/4"X11.5 57 43.3 44

- 250 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

z

s

s2
%&»
N

AJOJ-0G

FHIIICHMRL T4 HIHES

2L SAESMBRZUHTOZY Bl 4 3¢
v N JIC MALE 74° CONE/
JC SAE O-RING BOSS BRANCH TEE
S1 A
= JZ4L THREADE JU <] DIMENSIONS
PART NO. E F A B S1 S2
AJ0J-0406 U7/16"X20 U7/16"X20 24 27.2 11 17
AJ0J-050G U1/2"x20 U1/2"x20 27 29 14 17
AJ0J-05-04-050G U1/2"x20 U7/16"X20 27 30 14 17
AJ0J-060G U9/16"X18 U9/16"X18 27 31.8 14 19
AJ0J-06-04-060G | U9/16"X18 U7/16"X20 27 30 14 17
AJ0J-06-05-060G | U9/16"X18 U1/2"x20 27 30 14 17
AJ0J-080G U3/4"X16 U3/4"X16 30 36.8 19 24
AJ0J-08-06-080G U3/4"X16 U9/16"X18 30 33.5 19 19
AJ0J-100G U7/8"x14 u7/8"x14 33 44 22 27
AJ0J-10-08-100G U7/8"X14 U3/4"X16 33 40 22 24
AJ0J-120G U1.1/16"X12 (U1.1/16"X12 33 51 24 32
AJ0J-12-08-120G |U1.1/16"X12 U3/4"X16 33 44 24 24
AJ0J-12-10-120G |U1.1/16"X12 U7/8"X14 33 49 24 27
AJ0J-160G U1.5/16"X12 [U1.5/16"X12 49 54.5 33 41
AJ0J-20-16-200G |U1.5/8"X12 |[U1.5/16"X12 57 59.5 44 41
AJ0J-200G U1.5/8"X12 U1.5/8"X12 57 59 44 50

- 251 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

2
 m

-
;Sl S2

B

AJJO-0G

FHIINCHMRL T4° HIMHES
SAEAMZE L0 B 3= % =i
JIC MALE 74° CONE/
SAE O-RING BOSS RUN TEE

= B4 THREADE JU <) DIMENSIONS

PART NO. E F A B s1 S2
AJJ0-040G U7/16"X20 | U7/16"X20 24 272 | 11 17
AJJ0-050G U1/2"x20 U1/2"X20 27 29 14 17
AJJ0-05-05-040G | U1/2"'X20 U7/16"X20 27 30 14 17
AJJ0-060G U9/16"X18 | U9/16"X18 27 | 31.8| 14 19
AJJ0-06-06-040G | U9/16"X18 | U7/16"X20 27 | 30.1| 14 17
AJJ0-06-06-050G | U9/16"X18 U1/2""X20 27 30 14 17
AJJ0-06-06-080G | U9/16"X18 U3/4"X16 30 |37.5| 19 24
AJJ0-080G U3/4"X16 U3/4"X16 30 | 36.8| 19 24
AJJ0-08-08-060G | U3/4"X16 U9/16"X18 30 |33.5]| 19 19
AJJ0-08-08-100G | U3/4"X16 u7/8"x14 33 44 22 27
AJJ0-1006 u7/8"x14 u7/8"x14 33 44 22 27
AJJ0-10-10-080G | U7/8"X14 U3/4"X16 33 | 39.5| 22 24
AJJ0-1206 U1.1/16"X12 |U1.1/16"X12 33 51 24 32
AJJ0-12-12-080G |U1.1/16"X12 | U3/4"X16 33 43 24 24
AJJ0-12-12-100G |U1.1/16"X12 | U7/8"X14 33 49 24 27
AJJ0-160G U1.5/16"X12 [U1.5/16"X12 49 | 54.5 | 33 4
AJJ0-200G U1.5/8"X12 | U1.5/8"X12 57 59 44 50

- 252 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

é s2 AJ GJ _OG
o
y T JICHMELTA° HNHES
4G N YL AMR L0 B 43 <7 — i
G : Té@ JIC MALE 74° CONE/
BSP MALE O-RING BRANCH TEE
A \ﬂ A
=, IZ4 THREADE JU <} DIMENSIONS
PART NO. E F A B S1 S2
AJGJ-04-02-040G| U7/16'"X20 G1/8"X28 24 26.2 11 14
AJGJ-040G U7/16"X20 G1/4"X19 27 31.8 14 19
AJGJ-05-02-050G| U1/2"X20 G1/8"X28 27 29 14 19
AJGJ-05-04-050G| U1/2"X20 G1/4"X19 27 31.8 14 19
AJGJ-06-04-060G| U9/16"X18 G1/4"X19 27 31 14 19
AJGJ-060G U9/16"X18 G3/8"X19 28 36.8 17 22
AJGJ-08-06-080G| U3/4"X16 G3/8"X19 30 37 19 22
AJGJ-080G U3/4"X16 G1/2"X14 33 43.2 22 27
AJGJ-10-08-100G| U7/8"X16 G1/2"X14 33 43.5 22 27
AJGJ-120G U1.1/16"X12 G3/4"X14 33 51 24 32
AJGJ-160G U1.5/16"X12 G1'X11 49 53 33 41
_E
= AJIG-0G
- S2
o - JICHHBLTA" SN/
J [ I L SR SO P 3
3 XHHM JIC MALE 74° CONE/
JC BSP MALE O-RING RUN TEE
A Sl g
(%) UEZL THREADE JU <} DIMENSIONS
PART NO. E F A B S1 S2
AJJG-040G U7/16"X20 G1/4"X19 27 31.9 14 19
AJJG-05-05-040G| U1/2"X20 G1/4"X19 27 31.3 14 19
AJJG-060G U9/16"X18 G3/8"X19 28 36.8 17 22
AJJG-06-06-040G| U9/16'"X18 G1/4"X19 27 31.3 14 19
AJJG-08-08-060G| U3/4"X16 G3/8"X19 30 36.8 19 22
AJJG-080G U3/4"X16 G1/2"X14 33 43.2 22 27
AJJG-10-10-080G| U7/8"X16 G1/2"X14 33 44 22 27
AJJG-120G U1.1/716"X12 | G3/4"X14 33 49.5 24 32
AJJG-160G U1.5/16"X12 G1'"X11 49 53 33 41

- 253 -



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

7

S2

AJJIH-0G

LHIINICHMRLT4° HINHES
ORI ARG R] 1 ) A g S =l
JIC MALE 74° CONE/METRIC MALE

ADJUSTABLE STUD END

FRE 24 THREADE R~ DIMENSIONS
PART NO. E F A B s1 S2
AJJH-04-04-100G| U7/16"X20 M10x1 24 | 26.5 | 11 14
AJJH-04-04-120G| U7/16"X20 | M12x1.5 27 | 32.5 | 14 17
AJJH-05-05-1206| U1/2"'X20 M12x1.5 27 32 14 17
AJJH-05-05-140G| U1/2"X20 M14x1.5 27 32 14 19
AJJH-06-06-140G| U9/16"X18 | M14x1.5 27 32 14 19
AJJH-06-06-160G| U9/16"X18 | M16x1.5 28 | 34.8 | 17 22
AJJH-08-08-160G| U3/4"X16 M16x1.5 30 36 19 22
AJJH-08-08-180G| U3/4"X16 M18x1.5 30 37 19 24
AJJH-10-10-1806| U7/8"X14 M18x1.5 33 | 39.5 | 22 24
AJJH-10-10-220G| U7/8"X14 M22x1.5 33 | 40.2 | 22 27
AJJH-12-12-2206G| U1.1/16"X12 | M22x1.5 33 a4 24 27
AJJH-12-12-270G| U1.1/16"X12 | M27x2 40 | 48.5 | 27 32
AJJH-16-16-270G| U1.5/16"X12 | M27x2 49 52 33 32

- 254 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

NBS0O

JICA TR &
7 JIC METRIC SLEEVE
o 24 THREADE & ¥5Mz TUBE 0.D. JU < DIMENSIONS

PART NO. mm D L
NB500-06 U7/16"Xx20 6 9.7 10.4
NB500-08 U1/2"x20 8 11.3 11.2
NB500-10 U9/16"X18 10 12.7 12.7
NB500-12 U3/4"X16 12 17.3 14.2
NB500-14 U7/8"X16 14 20.2 16.8
NB500-15 U7/8"X16 15 20.2 16.8
NB500-16 U7/8"X16 16 20.2 16.8
NB500-18 U1.1/16"X12 18 24.7 17.3
NB500-20A U1.1/16"X12 20 24.7 17.3
NB500-20 U1.3/16"X12 20 27.8 19.3
NB500-22 U1.3/16"X12 22 27.8 19.3
NB500-25 U1.5/16"X12 25 31 19.8
NB500-28 U1.5/8"X12 28 38.9 23.1
NB500-30 U1.5/8"X12 30 38.9 23.1
NB500-32 U1.5/8"X12 32 38.9 23.1
NB500-35 U1.7/8"X12 35 45.3 28.4
NB500-38 U1.7/8"X12 38 45.3 28.4
NB500-50 U2.1/2"X12 50 61.2 30.2

- 255 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

NB300

JICHH AT £
JIC INCH SLEEVE

A
R #24 THREADE % T4M% TUBE 0.D. R ~F DIMENSIONS
PART NO. in D L
NB300-04 U7/16"X20 1/4" 9.5 10.5
NB300-06 U9/16"X18 3/8" 12.5 13
NB300-08 U3/4""X16 1/2" 17 14
NB300-10 U7/8"X16 5/8" 20 17
NB300-12 | U1.1/16"X12 3/4" 24.5 17.5
NB300-16 | UL.5/16"X12 1" 31 20
NB300-20 | U1.5/8"X12 1.1/4" 39 23.5
s1

g

O0TSUM-NB

FLRIINCH B R B
JIC FLARE TUBE END NUT

fo= 240 THREADE JU ~) DIMENSIONS

PART NO. E s1
00TSUM-04NB | U7/16"X20 17
00TSUM-06NB | U9/16"X18 19
00TSUM-08NB |  U3/4"X16 24
00TSUM-10NB | U7/8"X16 27
00TSUM-12\B | U1.1/16"X12 32
00TSUM-16NB | U1.5/16"X12 38
00TSUM-20NB | U1.5/8"X12 50
00TSUM-24NB | U1.7/8"X12 55

- 256 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

A - B
1F
wi ul
% 4%%?7’ S THIORFS MR O | F [T % I
g A ORFS MALE O-RING
S

(%7 40 THREADE JU <} DIMENSIONS

PART NO. E F A B s1 L

1F-04 U9/16"X18 U9/16"X18 12 12 17 30
1F-04-06 U9/16"X18 U11/16"X16 12 14 19 32
1F-04-08 U9/16"X18 U13/16"X16 12 15 22 36

1F-06 U11/16"X16 | U11/16"X16 14 14 19 34
1F-06-08 U11/16"X16 | U13/16"X16 14 15 22 38
1F-06-10 U11/16"X16 u1"Xx14 14 | 16.5 | 27 39.5

1F-08 U13/16"X16 | U13/16"X16 15 15 22 39
1F-08-10 U13/16"X16 u1"Xx14 15 | 16.5 | 27 40.5
1F-08-12 U13/16"X16 | U1.3/16"X12 15 17 32 4

1F-10 u1x14 u1"x14 16.5 | 16.5 | 27 42
1F-10-12 u1"x14 U1.3/16"X12 16.5 | 17 32 42.5

1F-12 U1.3/16"X12 | U1.3/16"X12 17 17 32 43
1F-12-16 U1.3/16"X12 | U1.7/16"X12 17 | 185 | 41 47.5
1F-12-20 U1.3/16"X12 | U1.11/16"X12 17 | 19.5 | 46 50

1F-16 U1.7/16"X12 | U1.7/16"X12 18.5 | 18.5 | 41 49
1F-16-20 U1.7/16"X12 | U1.11/16"X12 18.5 | 19.5 | 46 51.5

1F-20 U1.11/16"X12 | U1.11/16"X12 19.5 | 19.5 | 46 52.5

1F-24 u2""x12 U2"x12 23.5 | 23.5 | 55 64

- 257 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

1F4

> 45° 2EH|ORFSAMEZ L0 Pl Y- 5 &
45° QORFS MALE O-RING

A s1

= 247 THREADE JU ~] DIMENSIONS
PART NO. E F A B s1
1F4-04 U9/16"X18 U9/16"X18 22 22 14
1F4-04-06 U9/16"X18 U11/16"X16 25 25 19
1F4-06 U11/16"X16 U11/16"X16 25 25 19
1F4-06-08 | U11/16"X16 U13/16"X16 27 27 22
1F4-08 U13/16"X16 U13/16"X16 27 27 22
1F4-08-12 U13/16"X16 | U1.3/16"X12 37 37 33
1F4-10 U1"x14 U1"x14 33 33 27
1F4-12 U1.3/16"X12 | U1.3/16"X12 37 37 33
1F4-16 U1.7/16"X12 | U1.7/16"X12 40 40 44
1F4-20 U1.11/16"X12 | U1.11/16"X12 40 40 44
1F4-24 U2"x12 U2"x12 47 47 53

F
%
. 1F9
e ||
“ 7'\ 90° JETIORFSHMEFELLOMY B - [fy % &
S 90° ORFS MALE O-RING
A s1

B240 THREADE JU ~J DIMENSIONS
A E F A B s1
"1F9-04" U9/16"X18 U9/16"X18 29 27 14
1F9-04-06 U9/16"X18 U11/16"X16 30 29 17
1F9-06 U11/16"X16 U11/16"X16 30 29 17
1F9-06-08 | U11/16"X16 U13/16"X16 37 37 22
1F9-08 U13/16"X16 U13/16"X16 37 37 22
1F9-08-12 | U13/16"X16 | U1.3/16"X12 40 52 27
1F9-10 u1"x14 U1"x14 40 43 27
1F9-12 U1.3/16"X12 | U1.3/16"X12 40 47 27
1F9-16 U1.7/16"X12 | U1.7/16"X12 45 55 33
1F9-20 U1.11/16"X12 | U1.11/16"X12 57 55 44
1F9-24 U2"x12 u2"x12 57 57 48




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

S1 S2

2F

& H|ORFSHMIRLL 0P| > H] % F5f /ORFS A BB £
ORFS MALE O-RING/ORFS FEMALE

LI

7)) ||

C

FR #2470 THREADE R~} DIMENSIONS
PART NO. E F A ¢ s1 S2

2F-04 U9/16"X18 U9/16"X18 12 10 17 19
2F-04-06 U9/16"X18 U11/16"X16 12 11 17 22
2F-04-08 U9/16"X18 U13/16"X16 12 12 19 24
2F-06-04 U11/16"X16 U11/16"X16 14 10 19 19

2F-06 U11/16"X16 U11/16"X16 14 11 19 22
2F-06-08 U11/16"X16 U13/16"X16 14 12 19 24
2F-06-10 U11/16"X16 U1"x14 14 | 13.5 | 24 32
2F-08-06 U13/16"X16 U11/16"X16 15 11 22 22

2F-08 U13/16"X16 U13/16"X16 15 12 22 24
2F-08-10 U13/16"X16 U1x14 15 | 13.5 | 24 32
2F-08-12 U13/16"X16 | U1.3/16"X12 15 | 13.5 | 30 36
2F-10-08 U1"x14 U13/16"X16 16.5 | 12 27 24

2F-10 U1"x14 U1"x14 16.5 | 13.5 | 27 32
2F-10-12 U1x14 U1.3/16"X12 16.5 | 13.5 | 30 36
2F-10-16 U1"x14 U1.7/16"X12 16.5 | 14.5 | 36 41
2F-12-08 U1.3/16"X12 | U13/16"X16 17 12 32 24
2F-12-10 U1.3/16"X12 U1"x14 17 | 13.5 | 32 32

2F-12 U1.3/16"X12 | U1.3/16"X12 17 | 13.5 | 32 36
2F-12-16 U1.3/16"X12 | U1.7/16"X12 17 | 14.5 | 36 41
2F-16-12 U1.7/16"X12 | U1.3/16"X12 18.5 | 13.5 | 41 36

2F-16 U1.7/16"X12 | U1.7/16"X12 18.5 | 14.5 | 41 41
2F-16-20 U1.7/16"X12 | U1.11/16"X12 18.5 | 15.5 | 41 50
2F-20-16 | U1.11/16"X12 | U1.7/16"X12 19.5 | 14.5 | 46 41

2F-20 U1.11/16"X12 | U1.11/16"X12 19.5 | 15.5 | 46 50

- 259 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

)
A
2F4
45° SEHHIORFSAMELORY
" 52 FE| T~ Tf] %% d5 /ORFS A MR &
45° ORFS MALE
A \§; 0-RING/ORFS FEMALE
R 24T THREADE JU <] DIMENSIONS
PART NO. E F A C s1 S2
2F4-04 U9/16"X18 U9/16"X18 22 10 14 19
2F4-06 U11/16"X16 U11/16"X16 22 1 17 22
2F4-08 U13/16"X16 U13/16"X16 27 12 22 24
2F4-10 U1"X14 U1"X14 33 | 13.5 | 27 32
2F4-12 U1.3/16"X12 | U1.3/16"X12 37 | 13.5 | 33 36
2F4-16 U1.7/16"X12 | U1.7/16"X12 40 | 14.5 | 44 41
2F4-20 U1.11/16"X12 | U1.11/16"X12 40 | 15.5 | 44 50
F
r S2
ot ]
‘I_ll—l 2 F9
7 90° ETH|ORFSAMEREZORY
P& ~F- 1111 5% 35 /ORFS P R 2L
w ““'\y 90° ORFS MALE
0-RING/ORFS FEMALE
A S1
= WAL THREADE JU <} DIMENSIONS
PART NO. E F A C s1 S2
2F9-04 U9/16"X18 U9/16"X18 29 10 14 19
2F9-06 U11/16"X16 U11/16"X16 30 11 17 22
2F9-08 U13/16"X16 U13/16"X16 37 12 22 24
2F9-10 U1"X14 U1"X14 40 | 13.5 | 27 32
2F9-12 U1.3/16"X12 | U1.3/16"X12 40 | 13.5 | 27 36
2F9-16 U1.7/16"X12 | U1.7/16"X12 45 | 14.5 | 33 41
2F9-20 U1.11/16"X12 | U1.11/16"X12 57 | 15.5 | 44 50

- 260 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

S1

S1

.

3F

% HIORFS Y 4L
ORFS FEMALE

c c

= 240 THREADE JU ~] DIMENSIONS

PART NO. E F C S1

3F-04 U9/16"X18 U9/16"X18 10 19

3F-06 U11/16"X16 U11/16"X16 11 22

3F-08 U13/16"X16 U13/16"X16 12 24

3F-10 U1"x14 U1"X14 13.5 32

3F-12 U1.3/16"X12 | U1.3/16"X12 13.5 36

3F-16 U1.7/16"X12 | U1.7/16"X12 14.5 41

3F-20 U1.11/16"X12 | U1.11/16"X12 15.5 50

L
A
4F
B y
7, K HIORFSHMERSTO R | >~ 1h1 % df 15 =k
ORFS MALE O-RING PLUG
s1

(%) UZZ THREADE JU <} DIMENSIONS
PART NO. E A S1 L
4F-04 U9/16"X18 12 19 18
4F-06 U11/16"X16 14 22 22
4F-08 U13/16"X16 15 27 24
4F-10 U1"Xx14 16.5 30 26
4F-12 U1.3/16"X12 17 36 27
4F-16 U1.7/16"X12 18.5 41 30
4F-20 U1.11/16"X12 19.5 50 36

- 261 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

A B
oF
i w
%%/ & TIORFSHMIR AL O ]~ 1 2 Fah il e
Z, ORFS MALE O-RING BULKHEAD
S1

(%) U4 THREADE JU <} DIMENSIONS
PART NO. E A B S1 L
6F-04 U9/16"X18 12 | 31.5 | 19 49.5
6F-06 U11/16"X16 14 34 22 56
6F-08 U13/16"X16 15 |36.5 | 27 61
6F-10 U1"X14 16.5 | 40.6 | 30 67
6F-12 U1.3/16"X12 17 | 4.7 | 36 70
6F-16 U1.7/16"X12 18.5 | 42.2 | 41 72
6F-20 U1.11/16"X12 19.5 | 42.2 | 50 79

6F4

L 45° FHHIORFSHMERELLOMY Pl ~F 1f 45 3 xe A 12
45° ORFS MALE O-RING BULKHEAD

A s
= 240 THREADE JU <} DIMENSIONS
PART NO. E A B S1
6F4-04 U9/16"X18 22 | 42.4 | 14
6F4-06 U11/16"X16 22 | 48.5 | 17
6F4-08 U13/16"X16 27 51 22
6F4-10 U1'x14 33 56.6 27
6F4-12 U1.3/16"X12 37 | 60.7 | 33
6F4-16 U1.7/16"X12 40 | 65.2 | 44

- 262 -



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

E
y
jy o ) 3) =7 N SN
" 90° ZETHIORFSHIME LSO Pl ~F- 11 2% ik A 4z Sk
\ ) 90° ORFS MALE O-RING BULKHEAD
J
A S1
= U4 THREADE JU <} DIMENSIONS
PART NO. E A B s1
6F9-04 U9/16"X18 29 47 14
6F9-06 U11/16"X16 30 52 17
6F9-08 U13/16"X16 37 |55.5 | 22
6F9-10 u1"x14 40 63 27
6F9-12 U1.3/16"X12 40 | 67.2 | 27
6F9-16 U1.7/16"X12 45 | 71.2 | 33

- 263 -



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

8F

2 HIORFSE L)

Y ORFS LOCK NUT
L

R BR4 THREADE JU ~J DIMENSIONS
PART NO. E A S1
8F-04 U9/16"X18 7 19
8F-06 U11/16"X16 8 22
8F-08 U13/16"X16 9 27
8F-10 u1"x14 10.4 30
8F-12 U1.3/16"X12 10.4 36
8F-16 U1.7/16"X12 10.4 41
8F-20 U1.11/16"X12 10.4 50
8F-24 U2""X12 10.4 60

s1
OF
K THORFS N BRELE 2k
@ 7 ORFS FEMALE PLUG
c

R B2 THREADE JU ~J DIMENSIONS
PART NO. E C S1
9F-04 U9/16"X18 11 19
9F-06 U11/16"X16 10 22
9F-08 U13/16"X16 11 27
9F-10 U1"x14 13.5 30
9F-12 U1.3/16"X12 13 36
9F-16 U1.7/16"X12 15 41
9F-20 U1.11/16"X12 17.5 50

- 264 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

A B
py - 1FN
T
. | | 2 FHIORFSHMERZL O | - [F1 35 1/
% 722 Al S ML
ORFS MALE O-RING/
s1 \\F NPT MALE
= 240 THREADE JU ~] DIMENSIONS
PART NO. E F A B s1 L
1FN-04-02 U9/16"X18 71/8"X27 10 10 17 26
1FN-04 U9/16"X18 71/4"X18 10 14 17 30
1FN-04-06 U9/16"X18 Z3/8"X18 10 14 17 30
1FN-06-04 U11/16"X16 71/4"X18 11 14 19 31
1FN-06 U11/16"X16 73/8"X18 11 14 19 31
1FN-06-08 U11/16"X16 71/2"X14 11 19 22 38
1FN-08-04 U13/16"X16 71/4"X18 12 14 22 34
1FN-08-06 U13/16"X16 73/8"X18 12 14 22 34
1FN-08 U13/16"X16 71/2"X14 12 19 22 39
1FN-08-12 U13/16"X16 Z3/4"X14 12 | 19.5 | 27 40
1FN-10-08 U1Xx14 71/2"x14 13.5 | 19 27 41
1FN-10-12 u1x14 Z3/4"X14 13.5 | 19.5 | 27 42
1FN-12-08 | U1.3/16"X12 71/2"X14 13.5 | 19 32 41
1FN-12 U1.3/16"X12 Z3/4"X14 13.5 | 19.5 | 32 42
1FN-12-16 | U1.3/16"X12 Z1"X11.5 13.5 | 24 36 48
1FN-16-12 | U1.7/16"X12 Z3/4"X14 14.5 | 19.5 | 41 46
1FN-16 U1.7/16"X12 Z1"X11.5 14.5 | 24 41 51
1FN-16-20 | U1.7/16"X12 | Z1.1/4"X11.5 14.5 | 25 46 53
1FN-20-16 | U1.11/16"X12 | Z1"X11.5 15.5 | 24 46 53
1FN-20 U1.11/16"X12 | Z1.1/4"X11.5 15.5 | 25 46 54
1FN-20-24 | U1.11/16"X12 | Z1.1/2"X11.5 15.5 | 25 50 57

- 265 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

F
N\
1FN4
7
" o 45° KHIORFSHMRSLORY [ Y- [t i 1t/
AT HEE SMRLL
45° ORFS MALE O-RING/
A S1 NPT MALE
fo= 240 THREADE JU ~] DIMENSIONS

PART NO. E F A B s1
1FN4-04-02 U9/16"X18 71/8"X27 22 22 14

1FN4-04 U9/16"X18 Z1/4"X18 22 22 14
1FN4-04-06 U9/16"X18 Z3/8"X18 22 22 17
1FN4-06-04 | U11/16"X16 Z1/4"X18 25 25 19

1FN4-06 U11/16"X16 Z3/8"X18 25 25 19
1FN4-06-08 | U11/16"X16 Z1/2"X14 27 27 22
1FN4-08-06 | U13/16"X16 73/8"X18 27 27 22

1FN4-08 U13/16"X16 Z1/2"X14 27 27 22
1FN4-10-08 u1"x14 Z1/2"X14 33 33 27

1FN4-12 U1.3/16"X12 Z3/4"X14 37 37 33

1FN4-16 U1.7/16"X12 Z1"X11.5 40 40 44

1FN4-20 U1.11/16"X12 | Z1.1/4"X11.5 40 40 44

- 266 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

C Ty
] 1FN9
N 90° SETHIORFSHMERLOMY Fel V- Ifi % df /
iy AR AMELL
90° ORFS MALE O-RING/
A S1 NPT MALE
fo= 240 THREADE JU ~] DIMENSIONS
PART NO. E F A B s1
1FN9-04-02 U9/16"X18 71/8"X27 29 27 14
1FN9-04 U9/16"X18 71/4"X18 29 27 14
1FN9-06-04 | U11/16"X16 Z1/4"X18 33 33 19
1FN9-06 U11/16"X16 Z3/8"X18 33 33 19
1FN9-06-08 | U11/16"X16 Z1/2"X14 37 37 22
1FN9-08-06 | U13/16"X16 Z3/8"X18 37 37 22
1FN9-08 U13/16"X16 71/2"X14 37 37 22
1FN9-08-12 | U13/16"X16 Z3/4"X14 40 40 27
1FN9-10-08 u1"x14 Z1/2"X14 40 40 27
1FN9-10-12 u1x14 Z3/4"X14 40 40 27
1FN9-12-08 | U1.3/16"X12 Z1/2"X14 40 40 27
1FN9-12 U1.3/16"X12 Z3/4"X14 40 40 27
1FN9-12-16 | U1.3/16"X12 Z1"X11.5 45 45 33
1FN9-16-12 | U1.7/16"X12 Z3/4"X14 45 45 33
1FN9-16 U1.7/16"X12 71"X11.5 45 45 33
1FN9-20-16 | U1.11/16"X12 | Z1"X11.5 57 57 44
1FN9-20 U1.11/16"X12 | Z1.1/4"X11.5 57 57 44

- 267 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

1FH

S THIORFSHMERLLOMY P~ 11 5 daf / 22 Tl SMREL

% % ORFS MALE O-RING/METRIC MALE O-RING
S1

= 240 THREADE JU ~] DIMENSIONS
PART NO. E F A B s1 L

1FH-04-10 U9/16"X18 M10x1 12 11 17 29
1FH-04-12 U9/16"X18 M12x1.5 12 11 17 29
1FH-06-12 U11/16"X16 | M12x1.5 14 11 19 31
1FH-06-14 U11/16"X16 | M14x1.5 14 11 19 31
1FH-06-16 U11/16"X16 | M16x1.5 14 11 22 33
1FH-08-16 U13/16"X16 | M16x1.5 15 11 22 34
1FH-08-18 U13/16"X16 | M18x1.5 15 11 24 34
1FH-08-22 U13/16"X16 | M22x1.5 15 12 27 36
1FH-10-22 U1"X14 M22x1.5 16.5 | 12 27 37
1FH-12-22 | U1.3/16"X12 | M22x1.5 17 12 32 38
1FH-12-27 | U1.3/16"X12 M27x2 17 13 32 39

- 268 -



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

2 &
1FH4-0G
45° SETHIORFSAMERLLORY fel~F- 1 % st /
w % I HISMBLCRT A 1
45° ORFS MALE O-RING/ METRIC
\— MALE ADJUSTABLE STUD END
A s1
fo= 24T THREADE JU ~] DIMENSIONS
PART NO. E F A B s1
1FH4-04-140G | U9/16"X18 M14x1.5 22 | 29.5 | 14
1FH4-06-140G | U11/16"X16 | M14x1.5 25 33 19
1FH4-06-160G | U11/16"X16 | M16x1.5 25 |33.5 | 19
1FH4-08-160G | U13/16"X16 | M16x1.5 27 | 33.5 | 22
1FH4-08-180G | U13/16"X16 | M18x1.5 27 36 22
1FH4-10-220G u1"x14 M22x1.5 33 |38.5 | 27
1FH4-12-220G | U1.3/16"X12 | M22x1.5 37 |39.5| 33
1FH4-12-270G | U1.3/16"X12 M27x2 37 40 33
- E
m 1FH9-06
% 90° SEHIORFSHMRLLONY fil - Ifii 5 daf /
w v O A NERECRT i 1] AT S
—1X_/ 90° ORFS MALE O-RING/ METRIC
A o MALE ADJUSTABLE STUD END
e 24 THREADE JU < DIMENSIONS
PART NO. E F A B S1
1FH9-04-120G | U9/16"X18 M12x1.5 29 32 14
1FH9-06-140G | U11/16"X16 | M14x1.5 33 [35.5| 19
1FH9-06-160G | U11/16"X16 | M16x1.5 33 38 19
1FH9-08-160G | U13/16"X16 | M16x1.5 37 | 405 | 22
1FH9-08-180G | U13/16"X16 | M18x1.5 37 43 22
1FH9-08-220G | U13/16"X16 | M22x1.5 40 | 44.5 | 27
1FH9-10-220G u1"x14 M22x1.5 40 48 27
1FH9-12-270G | U1.3/16"X12 M27x2 40 50 27

- 269 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

1FO

W SR TIORFSHMR LSO e~ [l /
K HISMRLF O el T R 5
ORFS MALE O-RING/
SAE 0-RING BOSS S-SERIES

T
o/

= IR 4L THREADE JU ~] DIMENSIONS
PART NO. E F A B s1 L
1F0-04 U9/16"X18 | U7/16"X20 12 10 17 28
1F0-04-05 U9/16"X18 | U1/2"'X20 12 10 17 28
1F0-04-06 U9/16"X18 | U9/16"X18 12 12 17 30
1F0-04-08 U9/16"X18 | U3/4"X16 12 12 22 32
1F0-06-04 | U11/16"X16 | U7/16"X20 14 10 19 30
1F0-06-05 | U11/16"X16 | UL/2"X20 14 10 19 30
1F0-06 U11/16"X16 | U9/16"X18 14 12 19 32
1F0-06-08 | U11/16"X16 | U3/4"X16 14 12 22 34
1F0-06-10 | U11/16"X16 | U7/8"X14 14 | 13.5 | 27 37
1F0-08-06 | U13/16"X16 | U9/16"X18 15 12 22 35
1F0-08 U13/16"X16 | U3/4"X16 15 12 22 35
1F0-08-10 | U13/16"X16 | U7/8"X14 15 | 13.5 | 27 38
1F0-08-12 | U13/16"X16 |U1.1/16"X12 15 16 32 40
1F0-10 U1"X14 U7/8"X14 16.5 | 13.5 | 27 39
1F0-10-08 u1x14 U3/4"X16 16.5 | 12 27 38
1F0-10-12 U1"x14  [U1.1/16"X12 16.5 | 16 32 42
1F0-12-10 | U1.3/16"X12 | U7/8"X14 17 | 13.5 | 32 41
1F0-12 U1.3/16"X12 |U1.1/16"X12 17 16 32 42
1F0-12-16 | U1.3/16"X12 |U1.5/16"X12 17 17 41 46
1F0-16-12 | U1.7/16"X12 |U1.1/16"X12 18.5 | 16 41 46
1F0-16 U1.7/16"X12 |U1.5/16"X12 18.5 | 17 41 47
1F0-16-20 | U1.7/16"X12 | U1.5/8"X12 18.5 | 18 50 53
1F0-20-16  [U1.11/16"X12 |U1.5/16"X12 19.5 | 17 46 50
1F0-20 U1.11/16"X12 | U1.5/8"X12 19.5 | 18 50 54

- 270 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

A
1F04-0G
45° S HIORFSAIMERSLOY [~ 1 3 1 /
w )2 FEHISAEAMRLL 7 071 [
45° ORFS MALE O-RING/
A \ﬂ SAE 0-RING BOSS

fo= IR 4L THREADE JU ~] DIMENSIONS
PART NO. E F A B s1 s2
1F04-040G U9/16"X18 | U7/16"X20 22 26 14 17
1F04-04-060G | U9/16"X18 | U9/16"X18 22 28 14 19
1F04-06-040G | U11/16"X16 | U7/16"X20 25 |27.3| 19 17
1F04-060G | U11/16"X16 | U9/16"X18 25 | 29.5 | 19 19
1F04-06-080G | U11/16"X16 | U3/4"X16 25 |32.5| 19 24
1F04-08-060G | U13/16"X16 | U9/16"X18 27 | 30.8 | 22 19
1F04-080G | U13/16"X16 | U3/4"X16 27 34 22 24
1F04-08-100G | U13/16"X16 | U7/8"X14 27 | 39.5 | 22 27
1F04-08-120G | U13/16"X16 |U1.1/16"X12 33 44 27 32
1F04-10-080G |  U1"X14 U3/4"X16 33 34 27 24
1F04-100G u1x14 U7/8"X14 33 | 41.5 | 27 27
1F04-10-120G | U1"X14  |U1.1/16"X12 33 44 27 32
1F04-12-100G | U1.3/16"X12 | U7/8"X14 37 42 33 27
1F04-120G | U1.3/16"X12 |U1.1/16"X12 37 | 45.5 | 33 32
1F04-12-160G | U1.3/16"X12 |U1.5/16"X12 37 | 47.9 | 33 41
1F04-16-120G | U1.7/16"X12 |U1.1/16"X12 40 | 47.9 | 44 32
1F04-160G | U1.7/16"X12 |U1.5/16"X12 40 | 47.9 | 44 4
1F04-16-200G | U1.7/16"X12 | U1.5/8"X12 40 | 48.5 | 44 50
1F04-2006  |U1.11/16"X12 | U1.5/8"X12 40 | 48.8 | 44 50
1F04-20-240G [U1.11/16"X12 | U1.7/8"X12 47 51 53 55

- 271 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

B ES
3

1F09-0G

90° % HIORFSATMER SO el - 1f 2 it/
S HISAESMERLU O ]
90° ORFS MALE O-RING/
SAE 0-RING BOSS

A s1

R §247 THREADE JU =) DIMENSIONS
PART NO. E F A B s1 S2
1F09-040G U9/16"X18 | U7/16"X20 29 | 30.3| 14 17
1F09-04-060G | U9/16"X18 | U9/16"X18 29 32 14 19
1F09-06-040G | U11/16"X16 | U7/16"X20 33 |33.5| 19 17
1F09-060G | U11/16"X16 | U9/16"X18 33 | 34.5 | 19 19
1F09-06-080G | U11/16"X16 | U3/4"X16 33 38 19 24
1F09-06-100G | U11/16"X16 | U7/8"X14 37 47 22 27
1F09-08-060G | U13/16"X16 | U9/16"X18 37 37 22 19
1F09-080G | U13/16"X16 | U3/4"X16 37 | 40.5 | 22 24
1F09-08-100G | U13/16"X16 | U7/8"X14 37 | 45.3 | 22 27
1F09-08-120G | U13/16"X16 |U1.1/16"X12 40 52 27 32
1F09-10-080G |  U1"X14 U3/4"'X16 40 45 27 24
1F09-100G u1"x14 U7/8"X14 40 | 50.8 | 27 27
1F09-10-120G | U1"X14  |U1.1/16"X12 40 52 27 32
1F09-12-1006G | U1.3/16"X12 | U7/8"X14 40 | 52.8 | 27 27
1F09-120G | U1.3/16"X12 |U1.1/16"X12 40 54 27 32
1F09-12-1606G | U1.3/16"X12 |U1.5/16"X12 45 |55.5 | 33 41
1F09-16-120G | U1.7/16"X12 |U1.1/16"X12 45 59 33 32
1F09-160G | U1.7/16"X12 |U1.5/16"X12 45 59 33 41
1F09-200G6  |U1.11/16"X12 | U1.5/8"X12 57 | 60.5 | 44 50
1F09-20-240G [U1.11/16"X12 | U1.7/8"X12 57 | 66.5 | 48 55

- 272 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

: : 1FG
W : W K HIORFSHMERLL O ]~ 1fi1 2 df /

S AMRE0R [
2z M ORFS WALE 0-RING/

BSP MALE O-RING

s1
= 240 THREADE JU ~f DIMENSIONS
PART NO. E F A B s1 L
1FG-04-02 U9/16"X18 | G1/8"X28 10 9 17 25
1FG-04 U9/16"X18 | G1/4"X19 10 12 19 28
1FG-04-06 U9/16"X18 | G3/8"X19 10 |13.5 | 22 31
1FG-06 U11/16"X16 | G3/8"X19 11 | 13.5 | 22 32
1FG-06-04 U11/16"X16 | G1/4"X19 11 12 19 29
1FG-06-08 U11/16"X16 | G1/2"X14 11 16 27 36
1FG-08 U13/16"X16 | G1/2"X14 12 16 27 37
1FG-08-06 U13/16"X16 | G3/8"X19 12 | 13.5 | 22 33
1FG-08-12 U13/16"X16 | G3/4"X14 12 | 18.5 | 32 40
1FG-10-08 u1"x14 G1/2"X14 13.5 | 16 27 39
1FG-10-12 u1"x14 G3/4"X14 13.5 | 18.5 | 32 42
1FG-12-08 | U1.3/16"X12 | G1/2"X14 13.5 | 16 32 39
1FG-12 U1.3/16"X12 | G3/4"X14 13.5 | 18.5 | 32 42
1FG-12-16 | U1.3/16"X12 | G1"X11 13.5 | 20.5 | 41 46
1FG-16-12 U1.7/16"X12 | G3/4"X14 14.5 | 18.5 | 41 45
1FG-16 U1.7/16"X12 |  G1"X11 14.5 | 20.5 | 41 47
1FG-20 U1.11/16"X12 | G1.1/4"X11 15.5 | 20.5 | 50 53
1FG-20-16  |U1.11/16"X12| G1"X11 15.5 | 20.5 | 46 49

- 273 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

S2

<
1FG4-0G
HZ . 45° JFEHHIORFSHMIRLL O P8 1~ [H1 % 1/
. HEE AMZELSL0TY P
45° ORFS MALE O-RING/
A \§; BSP MALE O-RING

(%) U84 THREADE JU ~F DIMENSIONS
PART NO. E F A B S1 S2
1FG4-040G U9/16"X18 G1/4"X19 22 27 14 19
1FG4-04-020G U9/16"X18 G1/8"X28 22 24.8 14 14
1FG4-04-0606G U9/16"X18 G3/8"X19 22 30 17 22
1FG4-060G U11/16"X16 G3/8"X19 25 31 19 22
1FG4-06-0406G U11/16"X16 G1/4"X19 25 28 19 19
1FG4-06-080G U11/16"X16 G1/2"X14 27 36 22 27
1FG4-080G U13/16"X16 G1/2"X14 27 36 22 27
1FG4-08-0606G U13/16"X16 G3/8"X19 27 32 22 22
1FG4-10-080G U1'x14 G1/2"X14 33 37.5 27 27
1FG4-10-120G U1"Xx14 (63/4"X14 33 42 27 32
1FG4-120G U1.3/16"X12 G3/4"X14 37 42.5 33 32
1FG4-12-080G | U1.3/16"X12 G1/2"X14 37 38.5 33 27
1FG4-12-160G | U1.3/16'X12 G1"X11 37 44 33 41
1FG4-160G U1.7/16"X12 G1"X11 40 44 .5 44 41
1FG4-16-120G | U1.7/16"X12 (63/4"X14 40 44 .5 44 32
1FG4-200G U1.11/16"X12 | G1.1/4"X11 40 47.5 44 50

- 274 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

.
gl = 1FG9-0G
=
& ‘ 90 HIORFSHMELLOTY Pl V- 1 5 14/
" A HMFE S0 P
_)@ 90° ORFS MALE O-RING/
BSP MALE O-RING
A s1
= 240 THREADE J& <} DIMENSIONS
PART NO. E F A B s1 S2
1FG9-04-020G U9/16"X18 G1/8"X28 29 29 14 14
1FG9-0406 U9/16"X18 G1/4"X19 29 31.3 14 19
1FG9-04-060G U9/16"X18 G3/8"X19 30 35.8 17 22
1FG9-06-040G U11/16"X16 G1/4"X19 33 33.5 19 19
1FG9-0606 U11/16"X16 G3/8"X19 33 36.8 19 22
1FG9-06-080G U11/16"X16 G1/2"X14 37 43.2 22 27
1FG9-08-060G U13/16"X16 G3/8"X19 37 39.5 22 22
1FG9-080G U13/16"X16 G1/2"X14 37 43.2 22 27
1FG9-10-080G u1'x14 G1/2"X14 40 46.5 27 27
1FG9-10-120G U1"Xx14 G3/4"X14 40 49.3 27 32
1FG9-12-080G | U1.3/16"X12 G1/2"X14 40 47.5 27 27
1FG9-120G U1.3/16"X12 G3/4"X14 40 52 27 32
1FG9-12-160G | U1.3/16"X12 G1"X11 45 53 33 41
1FG9-16-120G | U1.7/16"X12 G3/4"X14 45 56 33 32
1FG9-1606 U1.7/16"X12 G1"X11 45 56 33 41
1FG9-20-160G |U1.11/16"X12 G1"X11 57 60 44 41
1FG9-2006 U1.11/16"X12 | G1.1/4"X11 57 60 44 50

- 275 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

20F

IS SAE MR SO [l . R 41/
ORFS &L

SAE 0-RING BOSS S-SERIES/
ORFS FEMALE

= #2 4 THREADE JU f DIMENSIONS
PART NO. E F A C S1 S2
20F-04 U7/16"X20 | U9/16"X18 10 10 14 19
20F-04-06 U7/16"X20 | U11/16"X16 10 11 17 22
20F-06-04 U9/16"X18 | U9/16"X18 12 10 17 19
20F-06 U9/16"X18 | U11/16"X16 12 11 17 22
20F-06-08 U9/16"X18 | U13/16"X16 12 12 19 27
20F-08-06 U3/4"X16 | U11/16"X16 12 11 22 22
20F-08 U3/4"X16 | U13/16"X16 12 12 22 27
20F-10-08 U7/8"X14 | U13/16"X16 13.5 | 12 27 27
20F-10 u7/8"x14 U1"X14 13.5 | 13.5 | 27 32
20F-12-10  |U1.1/16"X12| U1"X14 16 | 13.5 | 32 32
20F-12 U1.1/16"X12 | U1.3/16"X12 16 |13.5 | 32 36
20F-16-12  |U1.5/16"X12| U1.3/16"X12 17 | 13.5 | 4 36
20F-16 U1.5/16"X12 | U1.7/16"X12 17 | 145 | & 41
20F-20-16 | U1.5/8"X12 | U1.7/16"X12 18 |14.5 | 50 41
20F-20 U1.5/8"X12 |U1.11/16"X12 18 | 15.5 | 50 50

- 276 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

S1

2

AFF6F

[l F IORFSAME L 0% P >
4 i e i e Sk 42 5
ORFS MALE O-RING
; BULKHEAD RUN TEE
= JR4L THREADE JU <} DIMENSIONS
PART NO. E A B S1
AFF6F-04 U9/16"X18 27 47 14
AFF6F-06 U11/16"X16 30 52 19
AFF6F-08 U13/16"X16 33 |55.5| 22
AFF6F-10 U1"x14 33 63 24
AFF6F-12 U1.3/16"X12 40 | 67.2 | 27
AFF6F-16 U1.7/16"X12 45 | 71.2 | 33
AFF6F-20 | U1.11/16"X12 57 | 75.5 | 44
E
1 0
AF6FF
s1
. 5 tHIORFS S M B L0 [ - T
N e B PR EE S S b i)
ORFS MALE O-RING
BULKHEAD BRANCH TEE
A A
5 WEZL THREADE JU <} DIMENSIONS
PART NO. E A B s1
AF6FF-04 U9/16"X18 27 47 14
AF6FF-06 U11/16"X16 30 52 19
AF6FF-08 U13/16"X16 33 | 55.5 | 22
AF6FF-10 U1X14 33 63 24
AF6FF-12 U1.3/16"X12 40 | 67.2 | 27
AF6FF-16 U1.7/16"X12 45 | 71.2 | 33
AF6FF-20 | U1.11/16"X12 57 | 75.5 | 44

- 277 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

"
5 AFFG-0G6
a
%' % HIORFS Y MBALO Pl F T 85 1/
L 'RRE u JEEAMBE SO | 5 =0
\ Djt“ﬂ ORFS MALE O-RING/
\él BSP MALE O-RING RUN TEE
A B
R 22 THREADE JU I DIMENSIONS
PART NO. E F A B s1 S2
AFFG-0406 U9/16"X18 | G1/4"X19 27 | 31.3 | 14 19
AFFG-04-04-060G| U9/16"X18 | G3/8"X19 28 | 35.5 | 17 22
AFFG-06-06-0406| U11/16"X16 | G1/4"X19 30 |33.5] 19 19
AFFG-0606G U11/16"X16 | G3/8"X19 30 |36.8| 19 22
AFFG-08-08-060G| U13/16"X16 | G3/8"X19 33 | 39.5 | 22 22
AFFG-0806G U13/16"X16 | G1/2"X14 33 | 43.2 | 22 27
AFFG-10-10-120G|  U1"X14 G3/4"X14 40 | 49.3 | 27 32
AFFG-120G | U1.3/16"X12 | G3/4"X14 40 | 53.5| 27 32
AFFG-160G | U1.7/16"X12 |  G1"X11 45 | 56 33 41

F

0 AFGF-0G

% e HHIORFSHMIR SO 7 Pl - 11 3 1/
S HMRZORY ] 43 S =3l
ORFS MALE O-RING/

\ BSP MALE O-RING RUN TEE
A \ﬂA

= U214 THREADE JU s DIMENSIONS
PART NO. E F A B s1 s2
AFGF-0406 U9/16"X18 | G1/4"X19 27 | 31.3| 14 19
AFGF-04-06-040G| U9/16"X18 | G3/8"X19 28 | 35.5 | 17 22
AFGF-060G U11/16"X16 | G3/8"X19 30 |36.8| 19 22
AFGF-08-06-080G| U13/16"X16 | G3/8"X19 33 | 39.5| 22 22
AFGF-0806G U13/16"X16 | G1/2"X14 33 | 43.2 | 22 27
AFGF-10-12-100G|  U1"X14 G3/4"X14 40 | 49.3 | 27 32
AFGF-120G | U1.3/16"X12 | G3/4"X14 40 | 53.5 | 27 32
AFGF-160G | U1.7/16"X12 | G1"X11 45 | 56 33 41

- 278 -



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

v AFOF-0G

S HHIORFSHMER LSO Pl 1 5 4 /
K HISAESMERLUH 0 ] 73 5 38
: ORFS MALE O-RING/

SAE 0-RING BOSS BRANCH TEE

\

A \EA

R 22 THREADE JU I DIMENSIONS
PART NO. E F A B S1 S2
AFOF-040G U9/16"X18 | U7/16"X20 27 | 30.3 | 14 17

AFOF-04-06-040G| U9/16"X18 | U9/16"X18 27 32 14 19
AFOF-060G | U11/16"X16 | U9/16"X18 30 |35.5| 19 19
AFOF-06-08-060G| U11/16"X16 | U3/4"X16 30 38 19 24
AFOF-080G | U13/16"X16 | U3/4"X16 33 | 40.5 | 22 24
AFOF-08-10-080G| U13/16"X16 | U7/8"X14 33 | 45.3 | 22 27
AFOF-08-12-080G| U13/16"X16 |U1.1/16"X12 33 54 24 32
AFOF-1006 u1x14 U7/8"X14 40 | 50.8 | 27 27
AFOF-10-12-100G| ~ U1"X14  |U1.1/16"X12 40 52 27 32
AFOF-120G | U1.3/16"X12 |U1.1/16"X12 40 | 55.3 | 27 32
AFOF-160G | U1.7/16"X12 |U1.5/16"X12 45 |59.3 | 33 41
AFOF-200G  [U1.11/16"X12 | U1.5/8"X12 57 | 60.5 | 44 50

- 279 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

2 AFFO-0G

FHIORFSHMER SO Pl Y- i 3% 1/

- ' " KHISAEAMRELHF 0T fe 37 38
\ Jéj“jw ORFS MALE O-RING/

. \s1 . SAE 0-RING BOSS RUN TEE

A

R R4 THREADE JU ~J DIMENSIONS
PART NO. E F A B S1 S2
AFF0-0406G U9/16"X18 | U7/16"X20 27 30 14 17

AFF0-04-04-060G| U9/16"X18 | U9/16"X18 27 32 14 19
AFF0-0606 U11/16"X16 | U9/16"X18 30 35.5 | 19 19
AFF0-06-06-080G| U11/16"X16 | U3/4"'X16 30 38 19 24
AFF0-08-08-060G| U13/16"X16 | U9/16"X18 33 | 37.5 | 22 19
AFF0-0806G U13/16"X16 | U3/4"'X16 33 | 40.5 | 22 24
AFF0-08-08-100G| U13/16"X16 | U7/8"X14 33 | 45.3 | 22 27
AFF0-08-08-120G| U13/16"X16 |U1.1/16"X12 33 54 24 32
AFF0-1006 U1"X14 U7/8"'x14 40 | 50.8 | 27 27
AFF0-10-10-120G|  U1"X14  [U1.1/16"X12 40 52 27 32
AFF0-120G | U1.3/16"X12 |U1.1/16"X12 40 | 55.3 | 27 32
AFF0-16-16-120G| U1.7/16"X12 [U1.1/16"X12 45 | 59.5 | 33 32
AFF0-160G6 | U1.7/16"X12 |U1.5/16"X12 45 |59.3 | 33 41
AFF0-2006  |U1.11/16"X12 | U1.5/8"X12 57 | 60.5 | 44 50

- 280 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

n AFFH-0G
s2
<
: %&%é%% ' 5 I ORFSHMZR AL O sl F il 5 dt /
w I J NI ANRGORT i [ #: i T 57 —
\ J,b— ORFS MALE O-RING/ METRIC
\ﬂ MALE ADJUSTABLE STUD END RUN TEE
A B
fo= 24T THREADE 0% 0 RING JU ~] DIMENSIONS
PART NO. E F Fiity A B S1 S2
AFFH-04-04-140G | U9/16"X18 | M14x1.5 |11.3x2.4 27 | 335 | 14 19
AFFH-06-06-160G | U11/16"X16 | M16x1.5 |13.3x2.4 30 38 19 22
AFFH-08-08-220G | U13/16"X16 | M22x1.5 |19.3x2.4 33 |45 | 24 27
AFFH-10-10-220G | U1"X14 M22x1.5 [19.3x2.4 40 48 27 27
AFFH-12-12-270G |U1.3/16"X12 | M27x2 23.5x3 40 50 27 32
F

&

s

7\

AFHF-0G

FETHIORFSHMERLL 0L el ~F 1 2 Ja /

2 NSNS I [ RS 430 = 8
u n ORFS MALE O-RING/ METRIC
\ = MALE ADJUSTABLE STUD END BRANCH TEE
A \ﬂ A

R 24 THREADE 0%4[E 0 RING JU 5} DIMENSIONS
PART NO. E F Fori A B S1 S2
AFHF-04-14-040G | U9/16'"X18 M14x1.5 |11.3x2.4 27 23 14 19
AFHF-06-16-060G | U11/16"X16 | M16x1.5 |13.3x2.4 30 27 19 22
AFHF-08-22-080G | U13/16"X16 | M22x1.5 |19.3x2.4 33 31 24 27
AFHF-10-22-100G U1"X14 M22x1.5 [19.3x2.4 40 36.5 27 27
AFHF-12-27-120G [U1.3/16"X12 M27x2 23.5x3 40 40.5 27 32

- 281 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

A A
1G
w
YA HMR S0 P
Z < BSP MALE O-RING
s1

fom 24 THREADE JU  ~t DIMENSIONS

PART NO. E A S1 L
16-02 61/8"x28 9 14 24
16-04 G1/4"x19 12 19 30
16-06 63/8"x19 13.5 22 35
16-08 G1/2"x14 16 27 41
16-12 63/4"'x14 18.5 32 47
16-16 G1"x11 20.5 41 53
16-20 61.1/4"x12 20.5 50 55
16-24 61.1/2"x11 23 55 62

4G
Y AMRSLOTY e B Sk
BSP MALE O-RING PLUG

= JRLL THREADE JU <} DIMENSIONS
PART NO. E A S1 L
46-04 G1/4"x19 12 19 18
4G-06 63/8"x19 13.5 22 21
46-08 G1/2"x14 16 27 25
46-12 63/4"'x14 18.5 32 28
46-16 G1"x11 20.5 41 32

- 282 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

A B
1GT
w o
Iy SR MR LCO T /S ML
R*: BSP MALE O-RING/BSPT MALE
s1 :

fRE 24 THREADE JU ~F DIMENSIONS

PART NO. E F A B S1 L
1GT-04-04 G1/4"X19 | ZG1/4"X19 12 14 19 32
1GT-06-04 G3/8"X19 | ZG1/4"X19 13.5 | 14 22 35.5
1GT-06-06 G3/8"X19 | ZG3/8"X19 13.5 | 14 22 35.5
1GT-08-06 G1/2"X14 | ZG3/8"X19 16 14 27 38
1GT-08-08 G1/2"X14 | ZG1/2"X14 16 19 27 43
16T-12-08 G3/4"X14 | ZG1/2"X14 18.5 | 19 32 48
16T-12-12 G3/4"X14 | ZG3/4"X14 18.5 | 19.5 | 32 48
16T-16-16 G1"X11 Z61"X11 20.5 | 24 4 55
16T-20-20 | G1.1/4"X11 |ZG1.1/4"X11 20.5 | 25 50 62
16T-24-24 | G1.1/2"X11 |Z61.1/2"X11 23 25 55 65
16T-32-32 62"X11 Z62"X11 25.5 | 29 70 72

L
A
4HN
s1
_\\ RN HIIMREUE R BN N Sk
Z / METRIC MALE L-SERIES
HOLLOW HEX PLUG

R U4 THREADE JU I DIMENSIONS

PART NO. E A s1 L
4HN-10 M10x1 11 5 14
4HN-12 M12x1.5 11 6 14
4HN-14 M14x1.5 11 6 14
4HN-16 M16x1.5 11 8 13.5
4HN-18 M18x1.5 11 8 14.5
4HN-22 M22x1.5 12 10 15
4HN-27 M27x2 13 12 16

- 283 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

1H

AHISMRLUE R Y
% 2 METRIC MALE L-SERIES
s1

fom 24 THREADE JU  ~t DIMENSIONS

PART NO. E A s1 L
1H-10 M10x1 11 14 28
1H-12 M12x1.5 11 17 28
1H-14 M14x1.5 11 19 28
1H-16 M16x1.5 11 22 30
1H-18 M18x1.5 11 24 30
1H-22 M22x1.5 12 27 33
1H-27 M27x2 13 32 35

L
A
i
ISR R IRk
METRIC MALE L-SERIES PLUG
s1

= 240 THREADE JU <} DIMENSIONS
PART NO. E A S1 L
4H-10 M10x1 11 14 17
4H-12 M12x1.5 11 17 17
4H-14 M14x1.5 11 19 17
4H-16 M16x1.5 11 22 19
4H-18 M18x1.5 11 24 19
4H-22 M22x1.5 12 27 21
4H-27 M27x2 13 32 22

- 284 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

A P B 1 M

g v | B 3 ONHISMIZE60° Py HERR S A 3 T 41 45 2 5 et
¥ 724 METRIC MALE DOUBLE FOR 60 °
CONE SEAT BONDED SEAL
S1
= JR4L THREADE JU <} DIMENSIONS
PART NO. E F A B S1 L
IM-12 M12x1.5 M12x1.5 10 10 17 30
1M-12-14 M12x1.5 M14x1.5 10 11 19 31
1M-14 M14x1.5 M14x1.5 11 11 19 32
1M-14-16 M14x1.5 M16x1.5 11 12 22 35
1M-16 M16x1.5 M16x1.5 12 12 22 36
1M-16-18 M16x1.5 M18x1.5 12 12 24 36
1M-18 M18x1.5 M18x1.5 12 12 24 36
1M-18-22 M18x1.5 M22x1.5 12 14 27 38
1M-22 M22x1.5 M22x1.5 14 14 27 42

- 285 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

A
v ONBISMBL60° P HESR N Fl I A1 A SRt 1
METRIC MALE DOUBLE FOR 60 °
CONE SEAT BONDED SEAL PLUG
S1
fom 24 THREADE JU  ~t DIMENSIONS
PART NO. E F A S1 L
4N-12 M12x1.5 M12x1.5 10 17 18
4N-14 M14x1.5 M14x1.5 11 19 19
4N-16 M16x1.5 M16x1.5 12 22 21
4N-18 M18x1.5 M18x1.5 12 24 21
4N-22 M22x1.5 M22x1.5 14 27 24
L
A
S1 7
N D TRAMEREURE A N ik
METRIC MALE CAPTIVE
Z‘ - — SEAL HOLLOW HEX PLUG
H
o= 240 THREADE JU <] DIMENSIONS
PART NO. E A D H S1 L
4NN-12WD M12x1.5 10 |14.2 | 1.2 6 15
4NN-14WD M14x1.5 11 | 16.3 | 1.2 6 16
4NN-16WD M16x1.5 12 | 18.7 | 1.2 8 17
4NN-18WD M18x1.5 12 | 20.7 | 1.2 8 17
4NN-220D M22x1.5 14 | 24.1| 1.2 | 10 19

- 286 -



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

S1

10

K HISAESMERLL 07 ]

SAE 0-RING BOSS

R U4 THREADE JU <) DIMENSIONS
PART NO. E F A B S1 L
10-04 U7/16"X20 | U7/16"X20 10 10 14 26
10-04-06 U7/16"X20 | U9/16"X18 10 12 17 28
10-06 U9/16"X18 | U9/16"X18 12 12 17 30
10-06-08 U9/16"X18 U3/4"X16 12 12 22 31
10-08 U3/4"X16 U3/4"X16 12 12 22 31
10-08-12 U3/4"X16 | U1.1/16"X12 12 16 32 34
10-10 u7/8"x14 u7/8"x14 13.5 | 13.5 | 27 35
10-12 U1.1/16"X12 | U1.1/16"X12 16 16 32 41
10-16 U1.5/16"X12 | U1.5/16"X12 17 17 41 44
10-20 U1.5/8"X12 | U1.5/8"X12 18 18 50 | 48.5
10-24 U1.7/8"X12 | U1.7/8"X12 18.5 | 18.5 | 55 55
L
ST
B
10T
w
=5 B240 THREADE JU ~T DIMENSIONS
PART NO. E F A B s1 L
10T-04-04 U7/16"X20 | ZG61/4"-19 10 14 14 30
10T-04-06 U7/16"X20 | ZG63/8"-19 10 14 17 30
10T-06-06 U9/16"Xx18 | ZG3/8"-19 12 14 17 33
10T-06-08 U9/16"X18 | ZG1/2"-14 12 19 22 38
10T-08-08 U3/4"x16 | zG1/2"-14 12 19 22 | 38.5
10T-08-12 U3/4"X16 | ZG3/4"-14 12 29 32 39
10T-12-12 | U1.1/16"X12 | ZG3/4"-14 16 29 32 53
10T-16-16 | U1.5/16"X12 | Z61"-11 17 29 M 55
10T-20-20 | U1.5/8"X12 |ZG1.1/4"-11 18 29 50 58
10T-24-24 | UL1.7/8"X12 | ZG1.1/2"-11 18.5 | 29 55 60

- 287 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

s1 S2

20U

" 3 ' SAESMERLLHT 02 el /

%_% FEHINPSMPY BREL60 ° AhE

SAE 0-RING BOSS /

; M NPSM FEMALE 60° CONE

e JZ40 THREADE JX <] DIMENSIONS
PART NO. E F A C S1 S2
20U-04 U7/16"X20 | Z1/4"X18 10 | 5.5 | 14 19
20U-04-06 U7/16"X20 | Z3/8"X18 10 | 6.5 | 17 22
20U-06 U9/16"Xx18 | Z3/8"X18 12 6.5 | 19 22
20U-06-08 U9/16"X18 | Z1/2"X14 12 8 22 27
20U-08 U3/4"X16 Z1/2"X14 12 8 22 27
20U-08-06 U3/4"X16 73/8"X18 12 6.5 | 22 22
20U-10-08 u7/8"x14 Z1/2"X14 13.5 8 27 27
20U-12-08  |U1.1/16"X12| Z1/2"X14 16 8 32 27
20U-12 U1.1/16"X12| Z3/4"X14 16 | 11.5 | 32 32
20U-12-16  |U1.1/16"X12| Z1"X11.5 16 | 11.5 | 36 41
20U-16 U1.5/16"X12| Z1"X11.5 17 | 11.5 | 41 41
20U-20 U1.5/8"X12 |Z1.1/4"X11.5 18 12 50 50
20U-24 U1.7/8"X12 |Z1.1/2"X11.5 18.5 | 13 55 55

- 288 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

A
40
w
S THISAESMERZL O Pl 1 Sk
SAE 0-RING BOSS PLUG
s1
fo= R4 THREADE JU <} DIMENSIONS
PART NO. E A S1 L
40-04 U7/16"%20 10 14 16
40-05 U1/2"'X20 10 17 16
40-06 U9/16"X18 12 17 18
40-08 U3/4"'X16 12 22 20
40-10 U7/8"X14 13.5 27 23
40-12 U1.1/16"X12 16 32 26
40-16 U1.5/16"X12 17 41 28
40-20 U1.5/8"X12 18 50 32
40-24 U1.7/8"X12 18.5 55 35
40-32 U2.1/2"x12 22 70 40
L
A
a 40N
N y
> K HISAESMR ST O 1L [ A /N A 2k
SAE 0-RING BOSS HOLLOW HEX PLUG

R UZ£L THREADE JU F DIMENSIONS
PART NO. E A s1 L
40N-04 U7/16"%20 10 5 12
40N-05 U1/2"'X20 10 5 12
40N-06 U9/16"X18 12 6 15
40N-08 U3/4"'X16 12 8 15
40N-10 U7/8"X14 13.5 10 16.5
40N-12 U1.1/16"X12 16 14 20
40N-16 U1.5/16"X12 17 16 21
40N-20 U1.5/8"X12 18 19 22

- 289 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

b
(=]

H

; :
G
s/

1P

S HISAESMRZL90° A1k
SAE MALE 90° CONE

R 24 THREADE JU = DIMENSIONS
PART NO. E A S1 L
1P-04 U7/16"X20 13 14 32
1P-05 U1/2"%20 14 14 34
1P-06 U5/8"X18 16 17 38
1P-08 U3/4"X16 19 22 46
1P-10 U7/8"X14 22.5 24 52.5
1P-12 U1.1/16"X12 25.5 30 60.5
L
A
— 4P
] ]
»
FHISAESMERL90° AMEE K
SAE MALE 90° CONE PLUG
s1

(%) UZ 2 THREADE JU <} DIMENSIONS
PART NO. E A S1 L
4P-04 U7/16"%20 13 14 19
4P-05 U1/2"'X20 14 14 20
4P-06 U5/8"'X18 16 17 22
4P-08 U3/4"X16 19 22 27
4P-10 U7/8"X14 22.5 24 30
4P-12 U1.1/16"X12 25.5 30 35

- 290 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

B
E
VTN ]
N/ ‘%ﬂ % FL
<t O
O L-SERIES SPLIT FLANGE CLAMPS
Q
5 LRI 2k JL_~F DIMENSIONS
PART NO. | FLANGE SIZE BOLT A B C D E
FL-08 1/2" M8x25 54 46 | 38.1| 9 |17.5
FL-12 3/4" M10x30 65.1 | 52 | 47.6 | 11 | 22.2
FL-16 1" M10x30 69.8 | 59 | 52.4 | 11 | 26.2
FL-20 1.1/4" M10x30 79.4 | 73 | 58.7| 11 | 30.2
FL-24 1.1/2" M12x35 93.7 | 83 | 69.8 | 13.5 | 35.7
FL-32 2" M12x35 101.6| 97 | 77.8 | 13.5 | 42.9
FL-40 2.1/4" M12x40 124 | 108 | 89 | 13.5 | 50.8
FL-48 3gm M16x50 135 |130.6 [106.4 | 16.7 | 62
B
E
(AN T
N\~ ‘%’ HF FS
<t O
N7 L RIS TFVE 2
0 S-SERIES SPLIT FLANGE CLAMPS
Q
R RS B K~} DIMENSIONS
PART NO. | FLANGE SIZE BOLT A B C D E
FS-08 1/2" M8x30 56.3 | 47 | 40.5| 9 |18.2
FS-12 3/4" M10x35 71.4 | 60 | 50.8 | 11 | 23.8
FS-16 1" M12x45 80.9 | 70 | 57.1| 13 | 27.8
FS-20 1.1/4" M14x30 95.2 | 77 | 66.7| 15 | 31.8
FS-24 1.1/2" M16X55 112.7| 95 | 79.5 | 17 | 36.5
FS-32 2" M20x70 133.3| 114 | 96.8 | 21 | 44.5

- 291 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

B
E H
VTN T
S - FL-W
<t O
o) L-SERIES WHOLE FLANGE CLAMPS
Q
5 LR 2k JL_~F DIMENSIONS
PART NO. | FLANGE SIZE BOLT A B C D E H
FL-08W /2" M8x25 54 46 | 38.1 9 17.5 | 6.2
FL-12W 3/4" M10x30 65.1 | 52 | 47.6 | 11 |22.2 | 6.2
FL-16W 1" M10x30 69.8 | 59 | 52.4| 11 |26.2 | 7.5
FL-20W 1.1/4" M10x30 79.4 | 73 | 58.7| 11 |30.2 | 7.5
FL-24W 1.1/2" M12x35 93.7 | 83 | 69.8 | 13.5 [35.7| 7.5
FL-32W o M12x35 101.6| 97 | 77.8 | 13.5 | 42.9 9
FL-40W 2.1/4" M12x40 114 | 108 89 | 13.5 | 50.8 9
FL-48W 3" M16x50 135 [130.6 |106.4 | 16.7 | 62 9
B
E H
VARV IAn\Y T
SN I FS-W
<t O
)i \\S)/ S-SERIES WHOLE FLANGE CLAMPS
Q
R RS B K~} DIMENSIONS
PART NO. FLANGE SIZE BOLT A B c D E H
FS-08W 1/2" M8x30 56.3 | 47 | 40.5| 9 18.2 | 7.2
FS-12W 3/4" M10x35 71.4 | 60 | 50.8| 11 | 23.8 | 8.2
FS-16W 1" M12x45 80.9 | 70 | 57.1| 13 | 27.8 9
FS-20W 1.1/4" M14x30 95.2 | 77 | 66.7 | 15 | 31.8| 9.8
FS-24W 1.1/2" M16x55 112.7| 9 | 79.5 | 17 | 36.5 12
FS-32W P M20x70 133.3| 114 [ 96.8 | 21 | 445 | 12

- 292 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

s1 Lk
- 1CFL
m 11,
ARG R EA/ R RYNEZ
/ % METRIC MALE BITE TYPE/
1 L-SERIES FLANGE
= WRLL THREADE | 2201 T AME D JU ~I DIMENSIONS
PART NO. E FLANGE SIZE TUBE 0.D. L L1 d1 S1
1CFL-22-08 M22x1.5 /72" 15 7 35 | 30.2 | 24
1CFL-26-12 M26x1.5 3/4" 18 7 46 |38.1 | 30
1CFL-30-12 M30x2 3/4" 22 7 46 |38.1 | 32
1CFL-36-16 M36x2 1" 28 8.2 50 | 44.4 | 4
1CFL-45-20 M45x2 1.1/4" 35 8.2 66 | 50.8 | 41
1CFL-52-24 M52x2 1.1/2" 42 8.2 70 | 60.3 | 46
s1 L
U 1DFL
m 11,
ARG R EA/ R RYNEZ
/ % METRIC MALE BITE TYPE/
1 L-SERIES FLANGE
R BROL THREADE | iy | 4 740G D R DIMENSIONS
PART NO. E FLANGE SIZE TUBE 0.D. L L1 d1i S1
1DFL-24-08 M24x1.5 /2" 16 7 35 |30.2 | 24
1DFL-24-12 M24x1.5 3/4" 20 7 46 | 38.1 | 27
1DFL-30-12 M30x2 3/4" 20 7 46 | 38.1 | 30
1DFL-36-12 M36x2 3/4" 25 7 46 | 38.1 | 30
1DFL-42-16 M42x2 1" 30 8.2 | 50 | 44.4| 36
1DFL-36-20 M36x2 1.1/4" 25 8.2 66 | 50.8 | 41
1DFL-42-20 M42x2 1.1/4" 30 8.2 66 | 50.8 | 41
1DFL-52-20 M52x2 1.1/4" 38 8.2 66 | 50.8 | 46
1DFL-52-24 M52x2 1.1/2" 38 8.2 70 | 60.3 | 46

- 293 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

‘ dl
4
= 1CFL9
<<
90° AHIRLRER/BERYNESE
" 90° METRIC MALE BITE TYPE/
| \Y L-SERIES FLANGE
S1
e IZL0 THREADE | wzmie | 45 74M2 D JU I DIMENSIONS
PART NO. E FLANGE SIZE | TUBE 0.D. L A d1 S1
1CFL9-22-08 M22x1.5 1/2" 15 7 36 30.2 22
1CFL9-26-12 M26x1.5 3/4" 18 7 42 38.1 27
1CFL9-30-12 M30x2 3/4" 22 7 42 38.1 27
1CFL9-36-16 M36x2 1" 28 8.2 45 44 .4 33
1CFL9-45-20 M45x2 1.1/4" 35 8.2 50 50.8 44
1CFL9-52-24 M52x2 1.1/72" 42 8.2 55 60.3 50
; dl
4
= 1DFL9
<
90° AFMREL KA/ R BTk
" 90° METRIC MALE BITE TYPE/
|\ L-SERIES FLANGE
S1
= 220 THREADE | y22m e ETHMED JU <} DIMENSIONS
PART NO. E FLANGE SIZE | TUBE 0.D. L A d1 S1
1DFL9-24-08 M24x1.5 172" 16 7 36 30.2 27
1DFL9-30-12 M30x2 3/4" 20 7 42 38.1 27
1DFL9-36-12 M36x2 3/4" 25 7 42 38.1 33
1DFL9-42-16 M42x2 1 30 8.2 45 44 .4 44
1DFL9-36-20 M36x2 1.1/4" 25 8.2 50 50.8 44
1DFL9-42-20 M42x2 1.1/4" 30 8.2 50 50.8 44
1DFL9-52-20 M52x2 1.1/4" 38 8.2 50 50.8 50
1DFL9-52-24 M52x2 1.1/2" 38 8.2 55 60.3 50

- 294 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

S1 ==
A 1DFS
“ T | | ®
NHMRE R B RY)E
/ % METRIC MALE BITE TYPE/
L S-SERIES FLANGE
T ZSL THREADE | yroemimr | 4574045 D ] < DIMENSIONS
PART NO. E FLANGE SIZE TUBE 0.D. L L1 d1 S1
1DFS-24-08 M24x1.5 172" 16 7.9 37 31.7 24
1DFS-24-12 M24x1.5 3/4" 16 8.9 51 41.3 30
1DFS-30-12 M30x2 3/4" 20 8.9 51 41.3 30
1DFS-36-12 M36x2 3/4" 25 8.9 51 41.3 30
1DFS-36-16 M36x2 1 25 9.6 53 47.6 36
1DFS-42-16 M42x2 1 30 9.6 53 47.6 36
1DFS-42-20 M42x2 1.1/4" 30 10.4 70 54 41
1DFS-52-20 M52x2 1.1/74" 38 10.4 70 54 46
1DFS-52-24 M52x2 1.1/72" 38 12.7 80 63.5 46
‘ di
-
i E 1DFS9
<
00° ZMHIRE A TR AL 2
w 90° METRIC MALE BITE TYPE/
Y S-SERIES FLANGE
S1

foe W24 THREADE 2 ) 2 ETHME D JU < DIMENSIONS
PART NO. E FLANGE SIZE | TUBE 0.D. L A di S1
1DFS9-24-08 M24x1.5 172" 16 7.9 39 31.7 24
1DFS9-24-12 M24x1.5 3/4" 16 8.9 48 41.3 30
1DFS9-30-12 M30x2 3/4" 20 8.9 48 41.3 30
1DFS9-36-12 M36x2 3/4" 25 8.9 48 41.3 36
1DFS9-36-16 M36x2 1 25 9.6 60 47.6 41
1DFS9-42-16 M42x2 1 30 9.6 60 47.6 41
1DFS9-42-20 M42x2 1.1/4" 30 10.4 68 54 46
1DFS9-52-20 M52x2 1.1/74" 38 10.4 68 54 46
1DFS9-52-24 M52x2 1.1/72" 38 12.7 76 63.5 46

- 295 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

1FFL

i 1 L THORFS MR L O |- [fri
) % BRI RY S
%gj ORFS MALE O-RING/
L-SERIES FLANGE
o AL THREADE | o2 JU <} DIMENSIONS
PART NO. E FLANGE SIZE 1 d1 A
1FFL-12 U1.3/16"x12 374" 7 38.1 17
1FFL-16 U1.7/16"x12 1 8.2 44_4 | 18.5
1FFL-20 U1.11/16"x12 1.1/4" 8.2 50.8 | 19.5
di
|
= 1FFL9
- ‘ 90° & THIORFSHMERLLOMY fl 1[I
i BEIR RN
| V) 90° ORFS MALE O-RING/
L-SERIES FLANGE
A s1
fo= WAL THREADE | yg2zsm i JU ~) DIMENSIONS
PART NO. E FLANGE SIZE I d1 A B s1
1FFL9-12 U1.3/16"x12 3/4" 7 38.1 43 54.1 27
1FFL9-16 U1.7/16"x12 1 8.2 44 4 59 60.2 44
1FFL9-20 U1.11/16"x12 1.1/4" 8.2 50.8 59 66.5 44
| -
A = -
1FFS
" = K THORFSHMER L0 Bl ~F [fri
WRERYNEE
7 '@Z% ORFS MALE 0-RING/
S-SERIES FLANGE
R BL4L THREADE | gz U~} DIMENSIONS
PART NO. E FLANGE SIZE 1 di1 A
1FFS-12 U1.3/16"x12 3/4" 8.9 41.3 17
1FFS-16 U1.7/16"x12 1 9.6 47.6 | 18.5
1FFS-20 U1.11/16"x12 1.1/4" 10.4 54 19.5

- 296 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

| d1
= 1FFS9
e
- ‘ 90° JFETHIORFSHMERLLORY b1~ [fI
w HE/ERYNE
| V) 90° ORFS WALE 0-RING/
A 51 S-SERIES FLANGE
Re BLL THREADE | jes i JU <} DIMENSIONS
PART NO. E FLANGE SIZE | d1 A B S1
1FFS9-12 U1.3/16"x12 3/4" 8.9 | 41.3 | 40 | 54.1 | 27
1FFS9-16 U1.7/16"x12 1" 9.6 | 47.6 | 49 | 60.2 | 33
1FFS9-20 U1.11/16"x12 1.1/4" 10.4 | 54 57 | 66.5 | 44
=L
o 1JFL
“ [l ® N "
D7 % %FEIJJICM,;%&M HNES R R DR
% JIC MALE 74° CONE/L-SERIES FLANGE
e UHZL THREADE | gz JU <} DIMENSIONS
PART NO. E FLANGE SIZE I d1 A
1JFL-08 U3/4"'X16 /2" 7 |30.2 | 16.7
1JFL-08-12 U3/4"'X16 3/4" 7 |38.1|16.7
1JFL-10-08 u7/8"x14 /2" 7 |30.2|19.5
1JFL-10-12 u7/8"x14 3/4" 7 |38.1]19.5
1JFL-12-08 | U1.1/16"X12 /2" 7 |30.2] 22
1JFL-12 U1.1/16"X12 3/4" 7 |38.1| 22
1JFL-12-16 | U1.1/16"X12 1" 8.2 | 44.4 | 22
1JFL-16-12 U1.5/16"X12 3/4" 7 [38.1]| 23
1JFL-16 U1.5/16"X12 1" 8.2 | 44.4 | 23
1JFL-16-20 | U1.5/16"X12 1.1/4" 8.2 | 50.8 | 23
1JFL-20-16 U1.5/8"X12 1" 8.2 | 44.4 | 24.5
1JFL-20 U1.5/8"X12 1.1/4" 8.2 | 50.8 | 24.5
1JFL-20-24 U1.5/8"X12 1.1/2" 8.2 | 60.3 | 24.5
1JFL-24-20 U1.7/8"X12 1.1/4" 8.2 | 50.8 | 27.5
1JFL-24 U1.7/8"X12 1.1/2" 8.2 | 60.3 | 27.5
1JFL-24-32 U1.7/8"X12 2" 9.8 | 71.4 | 27.5
1JFL-32 U2.1/2"X12 2" 9.8 | 71.4 | 34

- 297 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

1JFL4

Wi 2, 45° EHIIICHMEL74° HMES R R AL
45° JIC MALE 74° CONE/L-ERIES FLANGE

A \ 51

A= B4 THREADE Y2 JX <) DIMENSIONS
PART NO. E FLANGE SIZE | di A B S1
1JFL4-08 U3/4"X16 172" 7 30.2 25 37 19
1JFL4-10-08 U7/8"X14 172" 7 30.2 27 37 22
1JFL4-10-12 U7/8"X14 3/4" 7 38.1 33 40.1 27
1JFL4-12 Ul.1/16"X12 3/4" 7 38.1 33 40.1 27
1JFL4-12-16 U1.1/16"X12 1 8.2 | 44.4 37 47 33
1JFL4-16 U1.5/16"X12 1 8.2 | 44.4 37 47 33
1JFL4-16-12 U1.5/16"X12 3/4" 7 38.1 37 42 33
1JFL4-16-20 U1.5/16"X12 1.1/4" 8.2 | 50.8 40 51.8 44
1JFL4-20 U1.5/8"X12 1.1/4" 8.2 | 50.8 40 51.8 44
1JFL4-20-16 U1.5/8"X12 1 8.2 | 44.4 40 51 44
1JFL4-20-24 U1.5/8"X12 1.1/2" 8.2 | 60.3 47 60.5 53
1JFL4-24-20 U1.7/8"X12 1.1/4" 8.2 | 50.8 47 54 53
1JFL4-24 U1.7/8"X12 1.1/2" 8.2 | 60.3 47 60.5 53
1JFL4-32 U2.1/2"X12 2" 9.8 | 71.4 55 76.2 65

- 298 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

di

Z4°

20

90° EHIJICHMBEL74° HNVHES R R AT
90° JIC MALE 74° CONE/L-ERIES FLANGE

1JFL9Y

A S1
=2 BRSL THREADE | yozsms JU <t DIMENSIONS
PART NO. E FLANGE SIZE | d1 A B S1
1JFL9-08 U3/4"X16 /2" 7 30.2 | 33 44 19
1JFL9-10-08 U7/8"X14 /2" 7 30.2 | 37 44 22
1JFL9-10-12 U7/8"X14 3/4" 7 38.1 | 43 |54.1 | 27
1JFL9-12 U1.1/16"X12 3/4" 7 38.1| 40 | 40.1| 27
1JFL9-12-16 | U1.1/16"X12 1" 8.2 | 44.4 | 49 | 60.2 | 33
1JFL9-16 U1.5/16"X12 1" 8.2 | 44.4 | 49 | 60.2 | 33
1JFL9-16-12 | U1.5/16"X12 3/4" 7 38.1 | 49 58 33
1JFL9-16-20 | U1.5/16"X12 1.1/4" 8.2 | 50.8 | 57 | 66.5 | 44
1JFL9-20 U1.5/8"X12 1.1/4" 8.2 | 50.8 | 57 | 66.5 | 44
1JFL9-20-16 U1.5/8"X12 1" 8.2 | 44.4 | 57 65 44
1JFL9-20-24 U1.5/8"X12 1.1/2" 8.2 | 60.3 | 57 |79.3 | 48
1JFL9-24-20 U1.7/8"X12 1.1/4" 8.2 | 50.8 | 57 | 75.5 | 48
1JFL9-24 U1.7/8"X12 1.1/2" 8.2 | 60.3 | 57 |79.3 | 48
1JFL9-32 U2.1/2"X12 2" 9.8 | 71.4 | 66 | 108 65

- 299 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

A
- 1JFS
“ IS [ ® S "
Q@ % %%UJIC%E%’%%XM HNHESH RGN
% JIC MALE 74° CONE/S-ERIES FLANGE
=2 BRZL THREADE | gozsms JU =t DIMENSIONS
PART NO. E FLANGE SIZE I d1 A
1JFS-08 U3/4"X16 172" 7.9 | 31.7 | 16.7
1JFS-10-08 u7/8"x14 /2" 7.9 | 31.7 | 19.5
1JFS-10-12 U7/8"X14 3/4" 8.9 | 41.3| 22
1JFS-12 U1.1/16"X12 3/4" 8.9 | 41.3 | 22
1JFS-12-16 U1.1/16"X12 1" 8.9 | 41.3 | 22
1JFS-16 U1.5/16"X12 1" 9.6 | 47.6 | 23
1JFS-16-12 U1.5/16"X12 3/4" 9.6 | 47.6 | 23
1JFS-16-20 U1.5/16"X12 1.1/4" 9.6 | 47.6 | 23
1JFS-20 U1.5/8"X12 1.1/4" 10.4 | 54 | 24.5
1JFS-20-16 U1.5/8"X12 1" 10.4 | 54 | 24.5
1JFS-20-24 U1.5/8"X12 1.1/2" 10.4 | 54 | 24.5
1JFS-24-20 U1.7/8"X12 1.1/4" 12.7 | 63.5 | 27.5
1JFS-24 U1.7/8"X12 1.1/2" 12.7 | 63.5 | 27.5

- 300 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

1JFS4

% 45° EHIINCHMELSTA HIVgES T R B2
45° JIC MALE 74° CONE/S-ERIES FLANGE

A \s1

=2 BRZL THREADE | gozsms JU =t DIMENSIONS
PART NO. E FLANGE SIZE | d1 A B S1
1JFS4-08 U3/4"X16 /2" 7.9 | 31.7 | 25 38 19
1JFS4-10-08 U7/8"X14 /2" 7.9 | 31.7 | 27 39 22
1JFS4-10-12 U7/8"X14 3/4" 8.9 [ 41.3| 27 | 40.1 | 22
1JFS4-12 U1.1/16"X12 3/4" 8.9 | 41.3| 33 |40.1| 27
1JFS4-12-16 | U1.1/16"X12 1" 8.9 | 41.3 | 37 47 33
1JFS4-16 U1.5/16"X12 1" 9.6 | 47.6 | 37 47 33
1JFS4-16-12 | U1.5/16"X12 3/4" 9.6 | 47.6 | 37 45 33
1JFS4-16-20 | U1.5/16"X12 1.1/4" 9.6 | 47.6 | 40 52 44
1JFS4-20 U1.5/8"X12 1.1/4" 10.4 | 54 40 52 44
1JFS4-20-16 U1.5/8"X12 1" 10.4 | 54 40 52 44
1JFS4-20-24 U1.5/8"X12 1.1/2" 10.4 | 54 40 | 60.5 | 44
1JFS4-24 U1.7/8"X12 1.1/2" 12.7 | 63.5 | 47 | 27.5 | 53

- 301 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

di

=g
y

1JFS9

90° FEFIIICHMELTA HNES T AV 2
90° JIC MALE 74° CONE/S-ERIES FLANGE

A S1
2 RZ0 THREADE | g 22700 2 JU < DIMENSIONS
PART NO. E FLANGE SIZE | di A B S1
1JFS9-08 U3/4"'X16 172" 7.9 | 31.7 | 33 44 19
1JFS9-10-08 U7/8"X14 172" 7.9 | 31.7 | 37 46 22
1JFS9-10-12 U7/8"X14 3/4" 8.9 | 41.3 | 37 |54.1| 22
1JFS9-12 U1.1/16"X12 3/4" 8.9 | 41.3| 40 |54.1| 27
1JFS9-12-16 | U1.1/16"X12 1" 8.9 | 41.3 | 49 | 60.2 | 33
1JFS9-16 U1.5/16"X12 1" 9.6 | 47.6 | 49 | 60.2 | 33
1JFS9-16-12 | U1.5/16"X12 3/4" 9.6 | 47.6 | 49 57 33
1JFS9-16-20 | U1.5/16"X12 1.1/4" 9.6 | 47.6 | 57 | 66.5 | 44
1JFS9-20 U1.5/8"X12 1.1/4" 10.4 | 54 57 | 66.5 | 44
1JFS9-20-16 U1.5/8"X12 1" 10.4 | 54 57 65 44
1JFS9-20-24 U1.5/8"X12 1.1/2" 10.4 | 54 57 | 79.3 | 44
1JFS9-24 U1.7/8"X12 1.1/2" 12.7 | 63.5 | 57 | 79.3 | 48

- 302 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

1FLW

g BARYNE IR
% 2 L-SERIES FLANGE/BUTT-WELD TUBE

di
D

= L oxt JU <} DIMENSIONS
PART NO. FLANGE SIZE | di D
1FLW-08-16X2 172" 16x2 7 30.2 16
1FLW-08-20X2.5 172" 20x2.5 7 30.2 20
1FLW-12-25X3 374" 25x3 7 38.1 25
1FLW-16-25X3 1 25x3 8.2 44 4 25
1FLW-16-28X3 1 28x3 8.2 | 44.4 28
1FLW-16-30X4 1 30x4 8.2 44 4 30
1FLW-16-38X5 1 38x5 8.2 44 4 38
1FLW-20-25X3 1.1/4" 25x3 8.2 | 50.8 25
1FLW-20-30X4 1.1/4" 30x4 8.2 [ 50.8 30
1FLW-20-38X5 1.1/74" 38x5 8.2 [ 50.8 38
1FLW-20-42X6 1.1/74" 42x6 8.2 | 50.8 42
1FLW-24-38X4 1.1/2" 38x4 8.2 60.3 38
1FLW-24-42X6 1.1/2" 42x6 8.2 | 60.3 42
1FLW-24-45X5 1.1/72" 45x5 8.2 60.3 45
1FLW-24-50X6 1.1/72" 50x6 8.2 | 60.3 50
1FLW-32-55X5 2" 55x5 9.8 | 71.4 55
1FLW-32-60X8 2" 60x8 9.8 71.4 60
1FLW-40-65X6 2.1/2" 65%6
1FLW-40-70X7.5 2.1/2" 70x7.5
1FLW-48-80X6 3" 80x6
1FLW-48-90X8 3" 90x8

- 303 -



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

1FSW

g HARYNE LR
% . S-SERIES FLANGE/BUTT-WELD TUBE

di
D

R V2 oxt JX ~I" DIMENSIONS

PART NO. FLANGE SIZE | di D
1FSW-08-16X2 1/2" 16x2 7.9 31.7 16
1FSW-08-20X2.5 1/2" 20x2.5 7.9 | 31.7 20
1FSW-12-16X2 3/4" 16x2 8.9 41.3 16
MFSW-12-20X2.5 3/4" 20x2.5 8.9 | 41.3 20
1FSW-12-25X4 3/4" 25x4 8.9 41.3 25
1FSW-16-25X3 1 25x3 9.6 47.6 25
1FSW-16-30X4 1 30x4 9.6 | 47.6 30
1FSW-16-38X5 1 38x5 9.6 | 47.6 38
1FSW-20-25X3 1.1/4" 25x3 10.4 54 25
1FSW-20-30X4 1.1/4" 30x4 10.4 54 30
1FSW-20-38X5 1.1/4" 38x5 10.4 54 38
1FSW-20-42X6 1.1/4" 42x6 10.4 54 42
1FSW-24-38X5 1.1/2" 38x5 12.7 | 63.5 38
1FSW-24-45X6.5 1.1/2" 45x2.5 12.7 | 63.5 45
1FSW-24-48X8 1.1/2" 48x8 12.7 | 63.5 48
1FSW-24-50X8 1.1/2" 50x8 12.7 | 63.5 50
1FSW-32-60X8 2" 60x8 12.7 | 71.4 60
1FSW-32-60X10 2" 60x10 12.7 | 71.4 60

- 304 -



Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

4FL

di

% i F R L
% L-SERIES FLANGE PLUG
o L JU <} DIMENSIONS
PART NO. FLANGE SIZE D dl | L
4FL-08 1/2" 30.2 24 7 16
4FL-12 3/4" 38.1 | 31.5 7 17
4FL-16 1 44 .4 38 8.2 17
4FL-20 1.1/74" 50.8 43 8.2 17
4FL-24 1.1/72" 60.3 50 8.2 19
4FL-32 2" 71.4 62 9.8 19
4FL-40 2.1/4" 84.1 74 9.8 40
4FL-48 3" 101.6 90 9.8 45
L
L
4FS
o 3
% RN
4 S-SERIES FLANGE PLUG
) LT JX ~) DIMENSIONS
PART NO. FLANGE SIZE D di | L
4FS-08 1/2" 31.7 24 7.9 18
4FS-12 3/4" 41.3 32 8.9 18
4FS-16 1 47.6 38 9.6 18
4FS-20 1.1/4" 54 44 10.4 18
4FS-24 1.1/2" 63.5 51 12.7 20
4FS-32 2" 79.4 67 12.7 30

- 305 -




Ningbo HAGA Metal Products Co.,Ltd (Hydraulic parts)

4FL-M

= 3
BRI

L-SERIES FLANGE PLUG

o L JU <} DIMENSIONS
PART NO. FLANGE SIZE D dl | L
4FL-08M 172" 30.2 24 7 16
4FL-12M 374" 38.1 | 31.5 7 17
4FL-16M 1 44 4 38 8.2 17
4FL-20M 1.1/4" 50.8 43 8.2 17
4FL-24M 1.1/72" 60.3 50 8.2 19
4FL-32M 2" 71.4 62 9.8 19
4FL-40M 2.1/4" 84.1 74 9.8 40
4FL-48M 3" 101.6 90 9.8 45

L
AFS-M
= 3
LRI HVE 2k

S-SERIES FLANGE PLUG

) LT J& <} DIMENSIONS
PART NO. FLANGE SIZE D dl | L
4FS-08M /2" 31.7 24 7.9 18
4FS-12M 3/4" 41.3 32 8.9 18
4FS-16M 1 47.6 38 9.6 18
4FS-20M 1.1/4" 54 44 10.4 18
4FS-24M 1.1/72" 63.5 51 12.7 20
4FS-32M 2" 79.4 67 12.7 30

- 306 -




AW

P

AT i H PR 2 B A2 25 2 ] HRSE R v] € 5 52 B
A ZE S TR P IR AR A A R A, R R P O R
HHES AR AR
AR w) R H SR B ) SRUER, (H N SR KO R i, ] RE
X7 i AR AT B S, T AR S AEAS T B, AR 24 W] 9 HL AR B BORY, 42 H
JER 7 L B, R H B ehmlidst b A P 2 T RN S5 AT AN
NOTES

The drawings in this catalogue are for reference only, and
their dimensions and proportions may be a little different from
those of the real products. Products included in this catalogue
don"t refer to all , so if customers are interested in other
products, please don"t hesitate to contact our company for further
information.

Our company has made much effort to record the correct data
in this publication. However, in order to promote our products,
we may make some changes of their size or description, which
haven®t been shown yet. We reserve the rights for explanation,
but sorry for no further notice to customer the change of
products® design, description or even stop of some products®

manufacture in future.





